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AV s 30 I7AvNH— "—ILRA bk 30 VAL 3,200
A0 33 ITAVNIH— R"—ILRA vk 33 RIAk 3,600

AV s 94 INIVARSS— TARKR—HT )L 24 A BE 2,500

AV s 1802 NYT 4L L F—HR—KA B— /L3447 8004 19,800

AV 4= 1804 INYT T4V, BT Ly 1004 3,400

AV s 1962 TUFv—HRYIR 12N 7J—hk 3,500

AV s 1963 F—F—RvIRX 12 7Y—Fhk 2,700

AV q= 3550 7ATOTFH4— FaETsy av4—5v7 IB/IB/BKFYS 2,200

AV s 3552 7ATOTo4— JFOE a3y a4—5v7 GY/BK 2,200

AV q= 3553 FATATH4— JaEY 3y av4—5v7 C/C/BKFvT 2,200

JAVII% I 3600 TATOTH48— FOeEY 3y RoT4095v7 R/R 2,200

AV s 3900 FAILT TARR—HYT)L C/7Y—k Fub 5,100

AV s 3903 FAILT TARR—HYT )L C/7Y—k 258 3,600

AV s 3904 FAITFTRANSYT 5N 7YJ—h 1,800

AV s 3915 FAILT TARKR—HYT)L C/P bk 5,100

AV s 3916 FAILT TARR—HT )L C/P 258 3,600

JAVII% I 3920 TIARY— LR TARR—HIT )L RFvE—X n\—T Fvk 6,600

AV s 3921 TARV— LR TARR—HT L AFYE—X /\—7T 258 6,200
Ea—JLTF« 1-015 AANRILAVE L 22T L—FRA 3K 6,600 |$5&) %%
Ea—JLT« 10-100-04 AALRILNAUEI HITH 4 6,600 |$5&; %%
Ex—2JLT« 10-130-03 | RAILRJLAVEIL 3 3,800 |D95
Ea—JLT« 10-130-05  |RAILRJLAVEILS 10,600 |D94
Ex—2JLT« 10-130-05A | RAILRJL/AVEIL 5A 10,600 |D94
Ea—2JLT+4 10-130-05D | RAILRJLAVEIL 5D 21,800 ($5& &
Ex—2JLT« 10-130-05E  |RAIILARJLAVKIL 3—Ov/SRBA )L 5E 10,600 |D94
Ea—JLT«  [10-130-07  [RAILRILAVEIL T 5200 |5 &
Ex—2JLT« 10-130-07K | RAILRJLAUERIL TK 6,600 [D95
Ea—JLT« 10-130-08 RAAIWRILNAUEIL ZZTL—FA 8 6,600 |$5&; %%
Ea—JL7~« 10-130-5EM | RAIL~NRJL/AVEIL I—Av/ A B A )L 5EM 10,600 |$5 &) %%
Ea—2JLT+4 10-130-70 AAIWRILNAVRILZZTL—FRA 7 6,600 |D95
Ex—2JLT« 1013005D1 AAILRILIAUE)L 5D1 21,800 |1BH &
L0 15208 TIT/ZIVIRNF2T FvoT1—X T)IL— BEE 980

AV 4= 1520BP IILT/ZIVIRINFAT FrvoT74—XEVY NT AL 980

L Ao 1520LG TILT/SVIRNF2T FYoT1—X J)—=2 F4 L 980
A0 15308 SX VORI oo T4—X ILF VT ZSTAT L TIL— EE 1,400

L Ao 1530BP SXVUORIIL T T4—RX ILFVTILZSTAT L EVY 18T )L 1,400
A0 1530LG SXOUTRIIL XX TA—R ILF LTI EITATL J)—2 5144 1,400
L0 1531B SXOUTRIIL X TA—RX ILF VTN 5D TIL— EF 1,800

AV s 1531BP SXOUTRIIL XX TA—X ILFLTIL 53— EVY INTILH L 1,800
L0 1531LG SX VORI T T4—RX ILFVTIN 5= J—2 S 4 1,800

AV s 16SLK TATOTo5— TRE ay 744 /13— R)—9 RoT42% R/R 2,400

AV 4= 17S 7ATOFH4— FaETsy 744 /8—C/C 1,100
A0 17SLK TATaTo48— FOE a3y 744 /8— X1)—% C/C 1,300
L0 1803C INYT T4V Ls )T B—)LAALT 120080 TA AR H— A 4,200

AV q= 1867C INYTI4)LL 9T A—I)LAALT 5148 11,000
Lo 20SLATEBLUE | X#RBhEEK V1T — Lk TRV x99 h5—8 KAH 24,000
N)LAo 22SLATEBLUE | X#RBhEEK VT — Lk TT7AY 2o h5—8& MNAH 22,000
A= 24SLATEBLUE |X#R[H&EK YU T — Lk TaTob4—)L 700 x99 h5—F 4| 26,600
NLAn 25CSLATEBLURX#RFEERARYINS— )T — LK INAF 10,700

AV %4 25SLATEBLUE |X#&FHEERARYIDhS— )T — LK KRAH 10,700

AV q= 26BLUE XERBHEER VT — LK X/ TaT7IL T700 2yoh5—%E KA| 44,000

AV s 26CBLUE XISFHEK VYT —ILR /T a7)IL TTaY xy9h5—HE /INA| 39,900
N)LAo 27SLATEBLUE | X#RBhEEK VT — Lk TOTI9— )L TTAY 2y h5—F /] 25300

AV s 3590YG TATOTo4— JREYay #4144 —F L—H— YG/BK 36,000
A0 3601C 74707545 — JOoEYay xa/5v7 ¢/C 1,100

AV s 3601G TATATH48— FREYay 1a/5v7 GY/GY 1,100
A0 3605B T7ATaTo4— FaEYay 3554 C/C/NVFYT 2,900
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AV q= 3605L TATATHo4— FOE 3y 35174 C/C/LVFVT 2,900

JAVII% I 3607C 74707945 — JOEYay S =1a/5vF C/C 1,100

AV q= 3607G TA70T94— FOE 3y =2 1a/5v7 GY/GY 1,100

JAVII% I 3607GB TATOTH5— JOEYay 22 1a/5vF LA42R— GY/RA 9,800

AV s 3760CG TATRTHo4— FOE 3y vy C/C/GFvT 2,700

AV s 3760CP TATRTo4— FOE 3y vy C/C/PFYF 2,700

AV s 3760CW TAT0T94— FOE 3y vy C/C/WFYT 2,700

AV 4= 3S-PHC TAT0TH94— FOE 3y 744/ — GY/GY 1,100

AV q= 3SLK TATOTo48— FREYay 744 /8— X1)—% GY/GY 1,300
Ea—JLT«  |40-060 M)A —TF4)T47B—T S3HA 2,800 |A12
Exa—JL7T4  [40-062 =M aA—F4)T478—T M3FHA 2,800 |A12
Ea—2JL7«  |40-064 =M —F4)T478—T L3IEA 2,800 |A12
Ea—2JLT«  |40-066 =M —TF4)T478—T XL 3HA 2,800 |1B# &
Ea—JL7T«  |678-001 AT L—F 678-206H (1K A) 1,600 |G8
Ea—JL7«  |678-002 AT L—F 678-303F (1K A) 1,400 |G10
Ea—JL7~« 678-011 XA ) A H—~678-111FH GEA) 1,400 |G21
Ea—2JLT+4 678-013 RA)A A9 —F678-113H GEA) 1,400 |G21
Ea—JLT« |678-014 A/ YR1/4 678-207/208/503F (6fEA) 2,000 |G21
Ea—JLT«  |678-014A /YR 1/4 678-206FF BIEA) 2,000 |G8
Ea—2JL7« |678-018 RPEARY) 21— &AYIRFX—1/8 678-303FH (1A A) 800 |G10
Ea—JL7T«  |678-020 F—F>%%— (016 x 018) 2,000 |G21
Ea—JLT«  |678-021 F—F>%%— (018 x 022) 2,000 |G21
Ea—2JLT4 [678-036 A/ YR3/16 678-207/208/503F (6fEAA) 2,000 |G21
Ea—JLT«  |678-101 AZN—HYITARRZIILIURAYE— FR—ILKR 24,000 (G4
Ea—2JLT+4 678-101L AZN—HYILT AR IR AYE— m—)LF VY 24,000 (G4
Ea—JLT« [678-102 TARZIWIURhYE—DFy ahvb 24,000 |G5
Ea—2JLT« |678-103 N—FIAx—HyH— 15° 24,000 |G5
Ea—JLT« |678-104 N—KRI4Y—hvi—E 24,000 |D118
Ea—2JLT« |678-105 Ev&UAFr—hyvi— 24,000 |G5
Ea—JLT« [678-106 STEV&AFY—HyE— 24,000 |G5
Ea—2JLT+4 678-107 IAYNSZEY &Y ATFrv—HyE— 24,000 (G5
Ea—2JL7«  |678-107L RAYOIZEV & AFr—Hya— Oy 24,000 |G6
Ea—JLT«  [678-109 RAYOIZEV &Y Fy—hvi— 15° 24,000 |G6
Ea—JLT« [678-110 <A ahyE— 24,000 |G6
Ea—JLT«  [678-111 TARZIWIURDYE—D5 v ahyb &K— LR 29,000 |G6
Ea—JL7«  [678-113 A LTARZIIURAYE—DF5v 2 vk &—ILR 29,000 |G6
Ea—JLT«  [678-114R150 XA A28 —678-114F (150fEA) 4,800 |1BE &
Ea—JLT«  [678-114R50 |1 H—k678-114F (50{@A) 2,600 (1B E
Ea—2JLT«  |678-200 DIVNSRYLITAVHIWR TS5 — 21,000 |15 &
Ea—JL7T«  |678-201 DAVHANNT S — 21,000 |G7
Ea—JL7+  |678-201L DAHANNTSA4v— ooy 21,000 |G7
Ea—JL7T«  |678-202 AYLITALHIWNTSAY— 21,000 |G7
Ea—2JLT«  |678-203 =714V —E 21,000 |G7
Ea—JLT«  |678-204 R"—T54¥— FT7tvbk 21,000 |G8
Ea—JL7T4 |678-205 INRO—T T TS5 — 21,000 |G8
Ea—JLT«  |678-206 FRE=L DY L—ELT TS5/ — 21,000 |G8
Ea—JL T4« 678-207 INURY L—— avy 21,000 |G8
Ea—JL7+« 678-208 INURY Li—/N— S3—b 21,000 (G8
Ea—JL7T«  |678-210 EVa—IIENL—TAT TSN — 28,000 |G8
Ea—JL7T«  |678-211 YHF¥—R3AT T4 — 2—> 28,000 |G8
Ea—2JLT«  |678-212 FALIMRUR TS ybRILE — 12,000 |G15
Ea—JL7T«  |678-216 FvT NI T 54— 21,000 |G8
Ea—2JLT4  [678-219 IS5 yb) Lh——E 21,000 |G8
Ea—JLT7T«  |678-220L TSy L—iN— TFF )L 21,000 |G8
Ea—JLT4  [678-221 DT &INIRDA) T T 54X — 21,000 |G8
Ea—2JLT4  |678-221M DI INIRAA) T TS5A4X— M 21,000 |1B# &
Ea—2JLT«  |678-222 RAG T4 — R F— 30,000 |G9
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Ea—JLT«  |678-225 INURHOYUELT TSA v — 21,000 |G9
Ea—7JLT« |678-225M INUROYVEVG TSA4v—M 21,000 |$BH &
Ea—JL7T«  |678-301 xS\ TS5 — 21,000 |G10
Ea—JL7T+4 |678-302 RA)=3—TF54%— 21,000 |G10
Ea—JL7T«  |678-303 AARN—TIA—Z2TTS54¥— 21,000 |G10
Ea—JL7+s |678-304 N—FRE—=9T7514¥— 21,000 |G10
Ea—JL7T«  |678-305 SARDAN—IN—FE—=9T S5/ — &t 21,000 |G11
Ea—2JLT4«  [678-306 YA—RI—TF I+ =25 F 54— Uq—FK 21,000 |G11
Ea—JL7T«  |678-307 T—FROTAT T4 — I(—F 21,000 |G11
Ea—JL7+4 |678-307S T—FROTAT T4 — IA4—F RYLZAALT 21,000 |G11
Ea—JL7T«  |678-308 LOBAXAS—TFT —FRUTATT5A4N— I/ —F 21,000 |G11
Ea—2JLT«  [678-309 YORANT—FI+—35T54 v — 21,000 |G11
Ea—JL7T«  |678-310 RO—FavTHho2) TS50 — 21,000 |G11
Ea—JL7T4 |678-311 ATSATTSAY— 21,000 |G11
Ea—JLT4 [678-312 S RY—=T3—TS5A(v— 21,000 |G11
Ea—JL7T+4 |678-315 CIRTIWNAVR) T TS5 — 21,000 |G12
Ea—JLT« [678-316 W—E T T34 — 7—avbk 21,000 |G12
Ea—JL7T4 |678-317 R"RA—Fav T TS5/ v — 21,000 |G12
Ea—JLT« [678-318 SARIAN—IN—FE—U T 51— 21,000 |G12
Ea—JLT«  [678-319 FURN—TIH+—Z2T T 54— 21,000 |G12
Ea—JL7T«  |678-320 THELRTS5A¥— 21,000 |G12
Ea—JL7T4  |678-321 VAT T 51— 21,000 |G12
Ea—JL7~« 678-322 NiTiIRUA— 3785 21,000 [G12
Ea—JL7T+4 |678-323 FTFAahINTSA4v— 21,000 |G12
Ea—JLT« |678-324 W—TIr—25T54v— 21,000 |G13
Ea—JL7T+4 |678-325 N—FE—9T514¥— hvsa—1+F 21,000 |G13
Ea—JLT«  |678-326 N—RE—=9TF54¥— 0 g 7—/3— 21,000 |G13
Exa—JLT«  [678-327 INIR—AYENITIRUA — 21,000 |G13
Ea—JLT« [678-328-20 |b—F1HTS5A¥— 020 F—1F (016 x.018) 21,000 |G13
Ea—JLT«  [678-328-21 [F—FFT5A4¥— 021 F—1F (018 x.022) 21,000 |G13
Ea—JLT« [678-330 ——FRIURILE— I 2a—T54¥— RAYLFYT 14cm 22,000 |G20
Ea—JL7T4  |678-331 Z—RIHRIWE—I22—T54NY— DARFvT 14cm 22,000 |G20
Ea—JLT«  |678-332 Z—FLRILE— R 2—T534¥— "= v—T 14cm 40,000 |G20
Ea—JL7T«  |678-340 ATYITT T4 — 1/2mm 21,000 |G13
Ea—JLT«  |678-341 ATYTTS5A4X— 3/4mm 21,000 |G13
Ea—JLT4 |678-342 ATYTTS5A4¥— 1mm 21,000 |G13
Ea—JLT«  [678-500 R LAy hyE— 24,000 |G6
Ea—JL7T4 |678-501 DILNSRYLTAVANNT S ¥— 21,000 |G9
Ea—2JLT4 [678-502 RYLINIR—AYRNTIT S5/ — 21,000 |G13
Ea—2JLT«  |678-503 AYLINVRY L—EVT TS5/ — 21,000 |G9
Ea—JL7T«  |678-504 AYLFALINRUR TSy by —H— 12,000 |G15
Ea—2JLT«  |678-505 DILRS R LNy AL Fa—T RS — I —HF— 12,000 |G15
Ea—JLT« [678-506 AYLTARBILODFINYINIR ARV IL AN 9,000 [G15
Ea—JLT+4 678-700 YA TARRZILIUR Iy E— 38,000 |G6
Ea—7JLT« |678-701 YA EV&UATFr—hvia— 38,000 |G6
Ea—JL7T+4 |678-702 YOIV DAHINWNT S/ — 35,000 |G9
Ea—2JL7«  |678-702-90 [U2HIL TALUHILNTS5A(¥— 90° 35,000 |G9
Ea—2JLT« |678-703 YR TSR ) L—ELT TS5 — 35,000 |G9
Ea—JLT4 [678-704 J2A IV INSR—AYENITIT 54— 35,000 |G13
Ea—2JL74  |678-704SER [U2HIL NUR—AYENTIT 54 ¥ —FH 1t 35,000 |G13
Ea—JLT« [678-705 DUHIL R a—T54v— 35,000 |G20
Ea—2JLT4« [678-706 YA VAF—T 1L 73— 10,000 [G15
Ea—JLT4  [678-707 JUBI VAF—T 1LY 5—UFE 10,000 |G16
Ea—2JLT«  [678-709 DRI TARST AT T5A4%— 38,000 |15 &
Ea—JLT« [678-800 )7L Ay T4T7RAYTTS5A4 v — 24,000 |G2
Ea—JL74  [678-801 HYFaALYay N—T4AILTSA4¥— 24,000 |G2
Ea—2JLT« [678-802 )7L Ay R RN TS5/4v— 24,000 |G3
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Ea—2JLT«  |678-803 HYFaALYL Ay IR— LIV F TS5 — 24,000 |G3
Ea—JLT«  |678-804 HYFaALyay ARy TS5 — 24,000 |8 E &
Ea—2JLT« |678-805 )7L Ay RF4—RUFT 54— 24,000 |8 E &
Ea—JL7T«  |678-807 JYFaALYLay hoA—Iav I IA Xy T 54— 24,000 |15 %
Ea—2JLT«  |678-808 )7L ay YAy IAL Xy T 54— 24,000 |15 %
Ea—JLT«  |678-811 gYFaLyLary A\LA9H—J54v— 24,000 |8 E &
Exa—JL74s  [678-904 AT—5— &N Ty v— 9,000 |G16
Ea—JLT«  [678-905 DAFv—TALIF— &R —F— 9,000 [G16
Ea—2JLT«  [678-906 NIRRT Yo — &S W ART—5— 9,000 |G16
Ea—JLT«  |678-907 T5H—-&IFFr—Evh—S 9,000 |G16
Ea—2JLT«  |678-908 YHF¥—TALYE— &NV Ty v— 9,000 |G16
Ea—JL7T«  |678-909 T5H—-RIAFv—EvH—L 9,000 |G16
Ea—JL7«  [678-910 S JLH5/33 R —5— 9,000 |G17
Ea—JL7~« 678-911 S JLH6/HI R —5— 9,000 |G17
Ea—JLT+4 |678-912 YHF¥— &N Ty — 9,000 |G17
Ea—2JL7T« [678-913 FILUIB R —F— (FE8) 9,000 |G17
Ea—2JLT+4 678-914 Alr—5—&Evh— 9,000 |G17
Ea—JLT« [678-916 Evh—&UAFr—T1LI5— 9,000 |G17
Ea—2JLT«  [8-905DD TAv1TS34Y— 3490 FAVYEIRF X E 905DD 56,000 (D110
Ea—JL7~« AKRO-FLEX |f#mFciERR 7/0OTJLvyI R #SS 7,800 |$BEE
Ea—2JLT+4 ALLENCARD |A TJLYBIEH—K 7LV 7,800 |D52
Ea—2JL7«  |APF2 REMRAILS— 35— 5200 [F16
Ea—JLT4 |ASPA FAEL—%— 7R a—-/8423> 23cm 11,400 |15 &
Ea—2JLF«  |ASPBI FRAEL—4— N\—F ®)LT7H9)—=% Bl 28,000 |1B# &
Ea—2JLT+«  |ASPB2 FRAEL—4— N—FK ®)LT7H9)—=% B2 28,000 |1B# &
Ea—2JLT« |ASPB3 FRAEL—45— /N—K )L I79)—=>% B3 28,000 |15 &
Ea—2JLT«  |ASPCG3 FAEL—%— a5 Azl 3 11,400 |85 &
Ea—2LT« |ASPCH FREL—3—/N\UR)L 3—TF 5K 24cm 16,000 |58
Ea—JLT«  |ASPCTI TREL—3— 9—TZUK Fy7 1 3200 |BEH &
Ea—JLT«4  |ASPCTIW FREL—4— 9—TSUK Fy7 #7Ut 1 3200 |BEH &
Ea—JLT«  |ASPCT2 FREL—8— 9—TSK Fv7 2 3200 |BEH &
Ea—JLT4  |ASPCT2W FREL—E— =TSR Fv7T it 2 3200 |BEH &
Ea—JLT«  |ASPCT3 FREL—8— 9—T5K Fv7 3 3200 |BEH &
Ea—JLT4  |ASPCT3W FREL—8— 9—T5K Fv7 it 3 3200 |BEH &
Ea—JLT«  |ASPCT4 FREL—8— =TSR FvT 4 3200 |BEH &
Ea—JLT4  |ASPCT4W FREL—4— =TSR Fvy7 4t 4 3200 |BEH &
Ea—2JLT+4  |ASPFR10 7 AEL—48— TLAH— 10 11,400 |18E&
Ea—2JLF«  |ASPFR12 FREL—4— TLAH— 12 11,400 |15 &
Ea—2JLT+4  |ASPFR6 TRAEL—3— LAY —6 11,400 |18E&
Ea—2LT«  |ASPFRS TRAEL—3— JLAH— 8 11,400 |$8E&
Ea—JL7T4  |ASPOSIT FRAEL—5— A—F /LY —Txl)— 1mm 9,000 |$5&; %
Ea—2JLT« |ASPOS2 FRAEL—5— A—F )Y —Txl)— 2mm 9,000 |$5&; %
Ea—2LT+«  |ASPOS3 FRAEL—5— A—F /LY —Tx!)— 3mm 9,000 |$5&; %
Ea—2LT« |ASPOS4 FRAEL—8— A—F )Y —Txl)— 4mm 9,000 |$5&; %
Ea—2JL74  |ASPY FRAEL—4— ¥ 2h— k2 )L 26.5cm 9,000 |$5&; %
Eai—7JLT«  [BER11 ILAR—%4— /N—F—FK 11 #504 9,000 (D33
Ea—JLT« BER11X ILAR—A— )N—F—K 11BL 11,000 |15
Ea—JLTF« BER6 ILAR—E— N\—F—F 51k 6 #504 9,000 |$5&; %
Ea—JLT« BER6X ILAR—4— N\—F—FK 54k 6BL 11,000 |15
Ea—JLTF« BER7 ILAR—E— N\—F—K LTk 7 #504 9,000 |$5&; %
Ea—JLT« BER7X ILAR—4— N\—F—FK LTIF7BL 11,000 |15
Ea—JLTF« BF12 R—2T74)L MEE 12 #522 12,000 |58
Ea—JLT« [BF126 R—2T74)L HIEE 12 #6 12,000 |$8E &
Ea—JLTF« BF1W R—2T74 )L MEE 1W #522 12,000 |58
Ea—JLT«  |BFIW6 R—2T74)L HIEE 1W #6 12,000 |$8E &
Ea—7JLT«  [BFiX R—2 D740 S5—)L/N—2 HEE 1X #522 12,000 |D38
Ea—JLT4« BF1X6 R—2I74I)L S5—)L/\—> [EHEE 1X #6 12,000 |D38
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Ea—JLT« BF21 R—2T74)L MEE 21 #522 12,000 |15
Eai—2JLT«  |BF216 R—>2T74)L HIEE 21 #6 12,000 |$8E &
Ea—JLT« BF2W R—2T74 )L MEE 2W #522 12,000 |15
Ea—JLT«  |BF2W6 R—>2T74)L HIEE 2W #6 12,000 |$8E &
Ea—JLT«4  |BF2X R—2T74IL S5—JL/N—> THEE 2X #522 12,000 |D38
Ea—JLT+« BF2X6 R—2T74I)L S5—)L/\—> [EEE 2X #6 12,000 |D38
Ea—JLT4  [BF3X R—2T74IL S5—a)L/\—2 THEE 3X #522 12,000 |D38
Ea—2JLT+4 BF3X6 R—2T74I)L S5—)L/\—2 ThEE 3X #6 12,000 |D38
Ea—JLT« BF45 R—2T74)L MEE 45 #522 12,000 |15
Ea—JLT«  |BF456 R—>2T74)L HIEE 45 #6 12,000 |$8E &
Ea—JLT« BF52 R—2T74)L MEE 52 #522 12,000 |15
Ea—JLT«  |BF526 R—>2T74)L MIBE 52 #6 12,000 |$8E &
Ea—JLT« BF64 R—2T74 )L MEE 64 #522 12,000 |15
Ea—JLT«  |BF646 R—>2T74)L HIZE 64 #6 12,000 |$8E &
Ea—JLT« BF67 R—2T74)L MEE 67 #522 12,000 |15
Ea—2JLT«  |BF676 R—>2T74)L HIZE 67 #6 12,000 |$8E &
Ea—JLT« BG 77— R—LA 20,000 |F22
Ea—JLT« BLPGREF F1—RIRTTAVIT—2 X#|FvT BLPGIA 3,600 |F24
Ea—2JL7T«  |BONEKIT FRTAR—L Fyk 120,000 |$B&i#&E
Ea—2JLT+4 BONT R—2B318— 5,800 |D108
Ea—JLT« BP300 INUR&TA¥—T v v— 300 9,000 |G18
Ea—JLT« BP300S INUR&TA¥—T vl v— 300S 9,000 |G18
Ea—7JLT4  [BPACK R—2r v h— #6 9,200 (D53
Ea—JLT« BPS1 NIRRTy v —8 R —F5— 1 6,800 |G18
Ea—JLT« BPS2 INRTYo v —8RT—F5— 2 6,800 |G18
Ea—2JLT+4 BSJO5 R—2RH9—T DanN/EvY #510 12,000 |D55
Ea—JL7~« C36/376 RYFRAIFEIL O—KRR /Ny T3> 36/37 #6 7,200 |D24
Ea—2JLT+4 C36/379 RYARUBILFEIL O—KR /\yH-T7H 3> 36/37 #9 8,200 |D24
Ea—2JL7T4 |CBBC R—=203527 24,000 |$BEH &
Ea—2JLT+4 CBFL112 R—FEIL T—H—6 12,800 |D20
Ea—JL7~« CBFL214 R—2FEIL T—H—4 12,800 |D20
Ea—2JLT+4 |CCT R—2FE€IL Frorko— REE T 6,800 |$5&) %%
Ea—JL7T+  |CCI13 R"—F €I FroF5— REE 13 6,800 |$5&) %%
Ea—2JL74 |CCl15 R"—2F €I FYoRF5— FREE 15 6,800 |$5&) %%
Ea—JL7T«  |CC2 R—2FE€IL FrobZ5— FEE2 6,800 |$5&) %%
Ea—JL74 |CC4 R"—2FEIL FrorFS5— FEE4 6,800 |$5&) %%
Ea—JL7«  |CCT R"—2FE€IL FYobS— REET 6,800 |$5&) %%
Ea—JLT«  [CC8 R—2FEIL FroRS5— KHEE S 6,800 |5 &
Ea—JL7T«  |CCY R"—2FE€IL Frob>— FEE9 6,800 |$5&) %%
Ea—2JL7T4 |CCIA A FEIERE A WEE A #10 6,800 |5 &
Ea—JLT« [CCIB TR FEIESR TXMH MWEE B #10 6,800 |5 &
Ea—2JLT«  [CCIC TR FEIESR XM MWEE C#10 6,800 |1E& &
Ea—2JLT« [CCID TR FEIESR XM MWEE D #10 6,800 |5 &
Ea—JLT«  [CCIE A FEIERE M mEE E#10 6,800 |5 &
Ea—JLT«  |CCIF TR TEIEE T MR F #10 6,800 |5 &
Ea—2JLT«  [CCIG TR TEIESR XM MWEE G#10 6,800 |1E& &
Ea—2JLT4« |CCH TR FEIESR T MWEE H#10 6,800 {5 &
Ea—JLT«  |CCl A FEIERE A MEE 1#10 6,800 |5 &
Ea—2JLT«4 |CD1/2 H—/IN— LA AR T4RaAF TEE 1/2 #41 4,800 |1BE &
Ea—2JLT« |CD3/6 A—IN— JLAAR-T4RIAF H5E 3/6 #41 4,800 |1BH &
Ea—JLT« |CD3/66 H—/N— LA AR T4RaAF THEE 3/6 #6 4,800 |1BE &
Ea—2JLT«  |CD3/67 A—IN— JLA AR - T 4RI TEZE 3/6 #7 4,800 |1BH &
Ea—2JL7T« |CD3/68 H—/N— LA AR T4RaAF THEE 3/6 #8 4,800 |1BEE
Ea—JLT«  |CD4/5 A—IN— JLAAR-T4RIAF F5E 4/5 #41 4,800 |1BE &
Ea—JLT«  |CD4/56 H—/N— LA AR T4RaAF THEE 4/5 #6 4,800 |1BEE
Ea—2JLT«  |CD4/57 A—IN— JLA AR - T 4RI WZE 4/5 #7 4,800 |1BE &
Ea—JL7«  |CD89/92 H—N— LA AR T4ROAF TEE 89/92 #41 4800 |IBEH &
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Ea—JLT«  |CD89/926 H—IN— LA AR TR FEE 89/92 #6 4,800 |1BEE
Ea—JLT« |CD89/927 H—IN— LA AR T4 XA [EE 89/92 #7 4,800 |1BEE
Ea—JLT« |CD89/928 H—/N— LA AR T4ROAF TEE 89/92 #8 4,800 |1BE &
Ea—2JLT«  |CD90B H—IN— LA AR T4RaAF THEE 90B #41 4,800 |1BEE
Ea—2JLT+4 CDWACD H—N\— JLA AR T4 ROAF THEE WACD #41 4,800 |5 &
Ea—JL7~« CG1 R—2F €I H—FF— HEE 1 4524 7,200 |D19
Ea—2JLT+4 CG2 R—2F IV H—KF— FEE 2 #524 7,200 |D19
Ea—JL7~« CG5 R—2F €I H—FF— FHEE 5 #524 7,200 |D19
Ea—2JLT4 |CG6 R—2F €IV H—KF— FHEE 6 #524 7,200 |5 &5
Ea—JL7~« CG9 R—2F €I H—FF— FHEE 9 #524 7,200 |D19
Ea—JLT4  [CI6001 R FTIESS 27 TEE 3 #41 5,800 |$5&; %%
Ea—JL7T«  |CI6056 AL ITIESS 27 TEE 4F #41 5,800 |$5&) %
Ea—2LT«  |CIGFTI BRFEESS I ILRRE1Y T LY BE 1 #41 5,800 |$5&; %%
Ea—JLT«  |CIGFT16 ERFIERS T — LR RE(Y 7L/iF~‘ rﬁi 1#6 5800 [F6
Ea—JL7T«  |CIGFT18 A FIESR J—ILRRAA12 T T EE 1 #8 5,800 |$5&; %
Ea—JL7T«  |CIGFT2 B FIES O— LR RBM2 T MEE 2 #41 5,800 |$5&; %
Ea—2JLT+4 CIGFT26 WA TFIESR J—ILRRBA2 TLFX LT TEE 2 #6 5,800 |F6
Ea—JL7T«  |CIGFT3 ERFIERS T — LR REMY 7L/ﬂF~ > THEE 3 #41 5,800 |$5&; %
Ea—2JLT+4 CIGFT36 WA TFIESR J—ILRRB12 TLF LT THEE 3 #6 5,800 |F6
Ea—JL7T+  |CIGFT38 ERRFIERS O — LR AR 7L/ﬂw~/ B8 3 #8 5,800 |$5&; %
Ea—2JLT«  |CIGFT4 ERFIESS T ILRRE Y 7l/=\‘—° P BE 4 #41 5,800 |$5&; %%
Ea—JL7T«  |CIGFT46 HRTCIESRS O—ILEREAY TLFY B8 4 #6 5,800 |$5&; %
Ea—2JLT4  [CIGFTS HRTCIESRS O—ILERELY TLFY BE 5 #41 5,800 |$5&; %%
Ea—JLT«  |CIGFT6 HRTCIESRS O—ILEREAY TLFY ﬁm‘i 6 #41 5,800 |$5&; %
Ea—2JL7+ |CIGFTMIN16 |[#ER(FEIESS O —ILRRAA2 JLX LT ThEE S21 #6 5,800 |$5&; %%
Ea—JLT« [CIGFTMIN36 |#@BiFEIERR T —ILNRBA2 JLX TP [HEE S23 #6 5,800 |F6
Ea—JL 7T«  |CIGFTMIN38 |f#ERKFTiERR T —ILRRAA JLF I WEE =3 #8 5,800 |$5&; %
Ea—2JL7«  |CIGFTMIN46 |[#ALFTIESRS J—IILRRAAY 7L/ﬂ9~/~/> BB S=4 #6 5,800 |$5&; %
Ea—JLT«  [CIGFTMINIT  [#FEIESE T —ILRRAA2 TLH O HEE 21 #41 5,800 |$5&; %%
Ea—2LT«  |CIGFTMINI3  |#RFEIESR T —ILRRBA2 JLEL T MWEE =3 #41 5,800 |$5&; M
Ea—JLT«  [CIGFTMINI4  [#FEIESE T —ILRRAA2 TLEL DD HEE 324 #41 5,800 |$5&; %%
Ea—2LT4  |CKN1/26 RYFREALFEIL JLAR—FREVX THEE 1/2 #6 6,800 |$5&) %%
Ea—2JLT+«  |CKN3 R—UF €I JLAI—-REVX 3 #524 9,400 |{BEH &
Ea—JL T4  |CKN55 R—2FEIL JLA<T— REV X 55mm #524 9,400 (D20
Ea—7JLT+4 CKN75 R—2FEIL YL AT— - REVX 7.5mm #524 9,400 |D20
Ea—JLT4 |CL84 R—2Falyk JL—AhR THEE 84 #522 8,000 |D28
Ea—JLT«  [CL846 R—2Falybk JL—HR TEE 84 #6 8,000 |D28
Ea—2JL7«  |CL84X R—>Falyk JL—HX [EE 84 BL 9,000 |$5&; %
Ea—7JLT+4 CL85 R—2FaLybk )L—AHX [MEE 85 #522 8,000 |D28
Ea—2JL7T«  |CL856 R—2Falybk JL—HR TEE 85 #6 8,000 |D28
Ea—2JLT«  |CL85X R—2Falyk JL—HX [EE 85 BL 9,000 |$5&; %
Ea—JLT«  |CL86 R—2Falyk JL—AhR ThEE 86 #522 8,000 |D28
Ea—JLT«  |CL866 R—2Falybk JL—HR ThEE 86 #6 8,000 |D28
Ea—JL7T«  |CL86X R—2Falyk JL—HX [EE 86 BL 9,000 [D14
Ea—2JLT+4 CL87 R—2FaLyb )L—HX MEE 87 #522 8,000 |D28
Ea—2JL7T«  |CL876 R—>Falybk JL—HR TEE 87 #6 8,000 |D28
Ea—2JLT+4 CL87X R—2F vk )L—AhX [EE 87 BL 9,000 |D14
Ea—JL7T« |CL88 R—2Falyk JL—AhR ThEE 88 #522 8,000 |D28
Ea—JLT«  [CL886 R—2Falvwbk JL—HX ThEE 88 #6 8,000 |D28
Ea—JL7T«  |CL88X R—>Falyk JL—HX FEE 88 BL 9,000 |$B& &
Ea—2JLT«  |CLC40C R—2F ¥R hRAOE—T3 B 40mm 66,000 [D18
Ea—7JL7T4 [CLC4OCWM  |FR—2F+x1)/8R AR 40mm 66,000 |1B# &
Ea—JLT«  |CLC4OL R—2F¥1)/XR AAFOE—C3 B 40mm 66,000 [D18
Ea—JL7«  |CLGS Fa1—RIRTTAVIT—2 VIO T A=Y 7,000 [F24
Ea—2JL74  |CLP1 BIRAEYJIRR AT 21,000 |F22
Ea—JL7T«  |CLP2 BRIRAXYYIRR AT 2 21,000 |F22
Ea—2JLT+4 CLR6 I—7— 4600 |E12
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Ea—2L7« |CMI10 R—2Falybk 25— MEE 10 #522 8,000 |D29
Ea—2JLT4  [CM106 R—>Falyk S5— MEE 10 #6 8,000 |D29
Ea—2JLT«  |CMIT R—>Falwbk 25— EE 11 #522 8,000 |D29
Ea—JLT« CM116 R—2FaLybk 25— MEE 11 #6 8,000 |D29
Ea—JLT4 |CMI12 R—>Falwbk 25— THEE 12 #522 8,000 |D29
Ea—JLT« CM126 R—2FaLybk 5— MEE 12 #6 8,000 |D29
Ea—JLT4 |CMI18 R—2FEIL U9 T7—SF 18 #524 7,000 |$E& &
Ea—JLT+« CM2 R—>F 1Lk EJLL HEE 2 #502 8,000 |D29
Ea—JL7~« CM2/4 R—2F vk L HEE 2/4 #522 8,000 |D29
Ea—JLT4 [CM2/4S6 R—2Falwk EIL- WEE 2/4 #6 8,000 |$B&IE
Ea—JL7~« CM2/4X R—>Falwyk EILL THEE 2/4 BL 9,000 |D14
Ea—2JLT4« CM26 R—2FalLyk EILL FEE 2 #6 8,000 |D29
Ea—JL7~« CM4 R—>F 1Lk EJLL HEE 4 #502 8,000 |D29
Ea—2JLT4« CM46 R—2FaLyk EILS FEE 4 #6 8,000 |D29
Ea—2JL7«  |CM4AL R—2FaLyk EJLL HEE 4L #510 8,000 |$5&IE
Ea—JL7T+4 |CM4R R—2FaLvyk EJLL HEE 4R #510 8,000 |$B&IE
Ea—JL7T+  |CM5L R—>F 2Lk EJLL HEE 5L #502 8,000 |$5&IE
Ea—JLT4 [CM6R R—>F 1Lk EJLE FEE 6R #502 8,000 |$B&IE
Ea—JLT4 |CM8 R—2Falwhk 35— EE 8 #522 8,000 |D29
Ea—JLT«  |CM86 R—>Falyhk S5— THEE 8 #6 8,000 |D29
Ea—JLT4 |CM9 R—2Falwk 35— MEE 9 #522 8,000 |D29
Ea—JLT«  |CM96 R—>Falybk 55— THEE 9 #6 8,000 |D29
Ea—2LT«  |COf RYFRDAIIFEIL Ayt (> FEE 1 #524 6,800 (D21
Ea—2LT« C02 RYFRAIVFEIL vt/ (2 FEE 2 #524 6,800 |D21
Ea—JLT« |CO26 RYARVBZIFEIL v\ F8E 2 #6 6,800 |$5&) %%
Ea—JLT+4 C036 RYFRRIFEIL At/ (> THEE 3 #6 6,800 |D21
Ea—JL T4  |CO46 RYARVBIIFEIL vt/ (2 HEE 4 #6 6,800 (D21
Ea—2JLT4 [CP1/2 FEIL MEE IT—TIILRAAYE 1/2 #41 5,800 |$5&; %%
Ea—2JL7«  |CP11/12 FEIL W EFTIL 11/12 #41 5,800 |$5&; %
Ea—2JLT4 |[CP13/14 NFyh WEE 13/14 #41 5,800 |$5&; %%
Ea—2JLT« |CP14/14 INFTyh BB AT )L 14/14 #41 5800 |$B&E
Ea—JL7T4 [CP14/14-0 |/N\Fxvk MEE A 772U 14/14—0 #41 5,800 |$5&; %%
Ea—2JLT« |CP14/14-09 |/\Fxwhk WEE A 7725 IL 14/14-0 #9 6,000 |F9
Ea—2L7« |CP15/15 INFTyh BB ATTF )L 15/15 #41 5800 |1E& &
Ea—JL7+« CP15/15-0  [/N\Fxybk MEE ATT7 )L 15/15—0 #41 5800 |$EH &
Ea—JLT«  |CP15/15-09 |/\Fxvhk MWEE A 7724 )L 15/15-0 #9 6,000 |F9
Ea—2LT« |CP15/16 INFyh [EE 15/16 #41 5,800 |$5&; M
Ea—2JL74 |CP15/166 NFyh EE 15/16 #6 5,800 |$5&; M
Ea—2L7T« |CP15/169 NFyb THEE 15/16 #9 6,000 |F9
Ea—2JLT« |CP17/18 INFyh WEE 17/18 #41 5,800 |$5&; M
Ea—2LT« |CP17/186 INFyb TEE 17/18 #6 5,800 |$5&; M
Ea—JLT« |CP17/189 INFTyh HEE 17/18 #9 6,000 |F9
Ea—JLT7T«  |CP19 R— FEE /NN 19 #40 5,800 |$5&; M
Ea—JLT+4 CP20 7R"— FBE 20 #40 5800 |1BH &
Ea—JLT4  |CP21 7"— FBE 21 #40 5800 |1B& &
Ea—JLT+4 CP21/21C "— WIBE 21/21C 5800 |1BH &
Ea—2JLT«  |CP22 7"— FBE 22 #40 5800 |1B& &
Ea—JLT+4 CP22/22C R— WIBE 22/22C 5800 |1BH &
Ea—2JL7«  |CP23 7"— JFTBE 23 #40 5,800 |$5&; %
Ea—2LT« CP24 R— FBE 24 #40 5800 |1BH &
Ea—JL7+« CP24/24C 7R— TIEE 24/24C 5,800 |$EH &
Ea—2JLT« |CP3/4 FEIL B8 7T —TILAZYE 3/4 #41 5,800 |$5&; %
Ea—2LT«  |CP30/31 T IV T+—<— iliEE 30/31 #41 5800 |1B& &
Ea—2JLT«  |CP32/33 T I T +—<— [MEE 32/33 #41 5,800 |$5&; %
Ea—JLT« |CP34/35 T IV T+—<— A 34/35 #41 5800 |1B& &
Ea—2JLT«  |CP40/41 FEIL MEE EFTIL 40/41 #41 5,800 |$5&; M
Ea—JL7+« CP44S6 INFyh MEE 44S #6 5800 |$EH &
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Ea—JLT«  |CP44S9 INFTyh THEE 44S #9 6,000 [F9
Ea—JLT4« [CP45S6 INFxyb THEE 45S #6 5800 |1B& &
Ea—JLT4« CP45S9 NFTyh 58 45S #9 6,000 [F9
Ea—JL7T«  |CP5/6 FEIL WEE I—T IILAAVE 5/6 #41 5,800 |$5&) %
Ea—2JLT«  |CP51/52 NFyh WEE 51/52 #41 5,800 |$5&; %%
Ea—2LT« |CP53/54 NFyb EE 53/54 #41 5,800 |$5&) %
Ea—2LT7T«  |CP7/10 F)L HEE B 7/10 #41 5,800 |$5&; %%
Ea—JL7T«  |CP8/9 FEIL WEE EFTIL 8/9 #41 5,800 |$5&) %
Ea—2JLT+«  |CP8/9H NFyk HEE NE— 8/9 #41 5,800 |$5&; %%
Ea—2LT«  |CP8/9H6 INFyhk HEE NE— 8/9 #6 5,800 |$5&) %
Ea—2JLT4  |CP8/9H9 INFyb W5 ANE— 8/9H #9 6,000 |$5&; %%
Ea—JL7~« CPF16 RYFRBZIVFEIL Tz T4 MEE 1 #6 7,800 |D21
Ea—2LF+« CPF26 RYFRBIVFEIL T T4 MEE 2 #6 7,800 |D21
Ea—JL7~« CPF36 RYFRBIVFEIL Tz T4 MEE 3 #6 7,800 |D22
Ea—2LT« CPF46 RYFRBIVFEIL TT4 FEE 4 #6 7,800 |D22
Ea—JL7T« |CR20 H—ELTF47 EXFH WEE 20 #41 5,800 |$5&; %
Ea—2JLT+«  |CR206 H—ELTF47 EXF WEE 20 46 5,800 [F17
Ea—JL7T«  |CR21 H—ELTF47 BEXFH WA 21 #41 5,800 |$5&; %
Ea—2JLF+4 |CR216 H—ET 47 B MEE 21 46 5,800 [F17
Ea—JL7« |CRB F—OURS5— ESayT 12,000 (D83
Ea—2L7« |CRC F—YUrSY5—2AVET 5,200 |D83
Ea—JL7~« CRCH1 DTN s—IN— DYRToEV B 9,800 |F18
Ea—JLT«  [CRCH2 D59 L—iN— JYRT 2 90° 9,800 |F18
Ea—JL7T« |CRGR 959) Ls—s3— i 28,000 (F18
Ea—2JLF4 |CRH TURT)—ARZF VY L—\— T2 TA5— KA N7 — 2,000 |$B&EE
Ea—JL7~« CRL 59N Lsi—iIN— FSATIL TER 30,000 [F18
Ea—2JLT+4 CRLABANCA |F—UVZ953— Z/\2h3A 12,000 |D84
Ea—2L7T« |CRM F—DURSY 58— SRR ER 5200 (D83
Ea—2JLT+4 CRM2 F—DIVNSD 58— r—yk -3 5,200 |D83
Ea—2L7T« |CRMS F—II)S05— HA4EY 5200 |5 &
Ea—JLT«  |CRMT F—OI)ES0 58— IRVAKRE REE X 5200 |5 &
Ea—JLT4  |CRMX F—OI)S9 58— SRVAKRER BL 5200 |5 &
Ea—2JLF+4  |CRNTI12 H—EVTF4T J3F7v% WEE 12 7,800 |5E M
Ea—JL7T+ |CRO2 F—OUNSOE— F— ) — ST4T7 L2 14,000 (D84
Ea—2JL7+4 |CRO3 F—OUNSOE— A=) hi— 35— 3 14,000 |15
Ea—JLT4 |CRPA F—OI)S9 58— R7—TS5XFvY KAR 6,800 |$E& &
Ea—JLT« |CRPC F—OI)S9 58— R7—TS5XFvY INAF 6,800 |1E& &
Ea—2L7T« |CRRP D5 9N s—i1\— "SATIL R /SYR 2,600 [F18
Ea—2JL7T+4 |CRS TURZ—ARZTF ) L—N— FyPa-T45— XA v Tk 3,000 |$B&E
Ea—JLT4 |CRSA F—HUrSHH— 21— KA 11,000 |$8E &
Ea—2JLT« [CRSPR Do IVRTLYE— Foa-FT45— 5,000 |$E& &
Ea—2JL7T« |CRTC TURZ—ARZF Y L—N— Fya-T45— XA Fv7 3,000 |1B#E
Ea—JL74 [CRU 959 s—iN— +S54T7)L LR 30,000 |F18
Eai—7JLT« |CRURBAN F—OI)S0 58— TF—\y 5200 (D83
Ea—JLT4  |CRWI F—OUrS9 58— x4 F—S 10,000 |D84
Ea—JL7T+  |CRW2 F—OURSOH8— o4 F— L 10,000 |15
Ea—JLT4  [CS24 TAURRINF 2S5 HEE 24 #41 4,800 |$B& &
Ea—2JLT« |CS246 TAURRINF 1S FEE 24 #6 4,800 |F20
Ea—JLT« |CS324 TAURRINF 2S5 FEE 324 4,800 |$B& &
Ea—JL T4 |CS6562KB YAFRVIRMORYILAUS HRE L #41 12,000 |$8E &
Ea—JLT«  |[CS6562KB6 [HAFRUITRAURYILAUS HRAL #6 12,000 |$8E &
Ea—JLT4 |CSA6 BAURR/INF LS FEE A6 4,800 |{BEE
Ea—2JLT+4 CSEUWESS6 R—2TSH—/ar T o9 — #6 9,200 |D54
Ea—7LT4  |CSLABANCAG | R—>Falyk 5/32H Tmm #6 12,000 |D55
Ea—2JLT+4 CSNT5 BTAUNRINFAT /N Ty THEE S 6,200 |$BEHE
Ex—JLT+« CSNT6 TAURRINFAT /Ty THEE 6 6,200 [F21
Ea—2LF4  [CSNT7 BAURRINF S JINTYyY WEE T 6,200 |5 &%
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Ex—2JLT« [CSNT8 TAURRINF S JNT v FEE 8 #502 6,200 |15 &%
Ea—7JL7T4  [CSOLT3/46 |RUFRFUAILFEIL V)L HEE 3/4 #6 8,800 |1B# &
Ea—JLT4 |CTG RYFRZILFE )L MEE TG #2 6,800 |D24
Ea—2JLT+4 CTG-0O RYFRAILFE )L MEE TGO #2 6,800 |D24
Ea—JLT« [CTG-06 RYFRAIILFE )L [EE TG-0 #6 6,800 |D24
Ea—2JLT+4 CTG6 RYFRAIVFE )L R TG #6 6,800 |D24
Ea—JL7~« CURBAN1 RYFRBAILFEIL T—i 1 12,000 |D24
Ea—2JLT+4 CURBAN2 RYFRAIVFEIL T—I 0 2 12,000 (D24
Ea—JLT+  |CV104 7—/3\— THEE 104 #41 4,800 |$5&E
Ea—2JL74 |CV3T HA—/\— ZF— WA 3T #41 4,800 |$B&E
Ea—JLT4  |CVAT HA—/\— BF— WEE 4T #41 4,800 |$5&E
Ea—2JL7T4  |CVST HA—/\— ZF— [EE 5T #41 4,800 |$B&E
Ea—JLT+  |CVET HA—/\— ZF— WEE 6T #41 4,800 |$5&E
Ea—JLT4  |CVAT H—/N— FUR)21— [EE 1 #41 4,800 |$B&E
Ea—JLT« |CVA2 H—/N— FUR)21— [EE 2 #41 4,800 |$5&E
Ea—2JL7T4 |CVA3 H—/N— FUR)21— [EE 3 #41 4,800 |$B&E
Ex—7JLFT« |CvCL4 H—iR— HS5yEY Y THEE 4 #41 4,800 |$B& &
Ea—2JLT+4 |CVFR2/3 H—\— TJ5—L THEE 2/3 #41 4,800 |$B&E
Ea—JLT« |CVFR2/36 H—/"\— 75—1 TEE 2/3 #6 4800 |$BEH &
Ea—2L74 |CVH1/MC2 A—N— FR—LN\y IR BEMEEE 1/2 #41 4,800 |$B&E
Ea—JL7T«  |CVHLI H—\— R—L/\wy WEE 1 #41 4,800 |$5&E
Ea—2JLT4  |[CVHL1/2 H—N\— R—L\wy THEE 1/2 #41 4,800 |$B&E
Ea—7JLFT«  |[CVHL1/26 H—/N— R—L\y% ThEE 1/2 #6 4800 |$BEH &
Ea—2JL7T4  |CVHL1/27 H—N\—R—L\yy TEE 1/2 #7 4,800 |$B&E
Ea—7JL7T«  [CVHL1/28 H—N— R—Ls\y% TEE 1/2 #8 4800 |1BEH &
Ea—2JLF4  |[CVHL1/29 H—i3— Kk—L s\’ THEE 1/2 #9 6,800 [F16
Ea—JL7T+«  |CVHL2 H—\— R—L >\ THEE 2 #41 4,800 |$5&E
Ea—2JLT4  [CVHL3 H—N— R—L s\ ThEE 3 #41 4,800 |$B&E
Ea—JLT«  [CVHL3S H—/3— R—Ls\y% [EE 3S #41 4,800 |1BE &
Ea—2JLT+4 CVHL3S6 H—i\— ik—L /N5 THEE 3S #6 4800 |F16
Ea—2JL7T4  |CVHL3S7 H—/N— R—L s\ [hEE 3S #7 4,800 |1BEE
Ea—JLT4  [CVIPC H—/\— BiiEtamE A [ IPC #41 4,800 |$B&E
Ea—2JL7T«  |CVIPC6 H—/\— [EiEtaE A WEE IPC #6 4,800 |F7
Ea—2JLT4 CVIPC7 H—/\— BEiEthmE A MBE IPC #7 4800 |{B&E
Ea—JL7T«  |CVIPC8 H—/\— [EiEtamE A ®MBE IPC #8 4,800 |$5&E
Ea—2LT4 |CVIPCOA H—\— BEHEEA MR A T7T7T L #41 4800 |$BEH &
Ea—JL7T«  |CVLY H—/3— LE« W58 L7 #41 4,800 |$5&E
Ea—2JLT4  [CVLCS V9P AD—/\— LYY TEE 5 #41 4,800 |$B&E
Ea—JL7T«  |[CVLC56 9P AH—\— LY O TEE 5 #6 4,800 |1BEE
Ea—7L74 [CVROA P AN—/\— O—F [HEE 4,800 |1BE &
Ea—JLT« |CVSA H—/\— 23— MEE SHO—A #41 4,800 |$5&E
Ea—2JLT4 [CVSPRI8 H—/"— RTLoP )L TEE 18 #41 4,800 |$B&E
Ea—JLT« |CVSPRI186 H—i"— RTLT )L ThEE 18 #6 4800 |$BEH &
Ea—2JLT4 |CVTCA/B H—/\— FFLZHJL TC EE #41 12,800 |$5& %
Ea—JLF«  |CVTCC/D H—IN— LA AR T4ROAF TC MEE #41 12,800 |$8E &
Ea—2JLT«  |CVTHI HA—/N\— H—T THEE 1 #41 4,800 |$B&E
Ea—JLT+«  |CVTH2 H—/\— Y—T THEE 2 #41 4,800 |$5&E
Ea—2JL74 |CVVH D AP— 18— R— THEE #41 4,800 |$B&E
Ea—JLT7+  |CVWI8 HA—/N\— 45K HEE 8 #41 4,800 |$5&E
Ea—JLT«  [CVWISE HA—IN— )45k THEE 8 #6 4,800 |F16
Ex—7LFT«  |CVwIgY7 H—I8\— 45K THEE 8 #7 4,800 |$B& &
Ea—2JLT4  [CVWLI H—/3— +—)L TEE 1 #41 4,800 |$B&E
Ea—JLT74  |CVWL3 H—i3— D+ —)L [HEE 3 #41 4,800 |1BE &
Ea—JLT«  |CVWRI A—/\— J—K MEE 1 #41 4,800 |$B&E
Ea—JL7T«  |CVWR2 A—/\— T—K TMEE 2 #41 4,800 |$5&E
Ex—JL74  [CWI R—2FEIL DA T4—ILK FEE 1 #524 8200 |1BH &
Ea—JLT4 |CW2 R—2FEIL DA T4— IR FEE 2 #524 8200 |{BH &
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Ea—2L7«  |DP1 Ertyk 1 4,600 |B16
Ea—2LT« |DP17 Ertyk 17 4,600 |B16
Ea—2JLT+4 DP18 Ertybk 18 4,600 |B17
Ea—JL7~« DP18JS-II Evtyb 3—9& 184S T 3,600 |B17
Ea—2JLT+4 DP18L Ertyb 18L 7,800 |B16
Ea—JL7~« DP19 Ertybk 19 4,600 |B17
Ea—2JL7«  |DP2 Ertuk 2 4,600 |B16
Ea—2JL7«  |DP3 Ertvk 3 4,600 |B16
Ea—2JLT+4 DP317 Evtybk 317 X HE 4,000 |B17
Ea—JL7~« DP318 Etyb 318 T4 AIL-A)T L 4,000 |B17
Ea—2JLT+4 DPU17 Evtyb AR 4,000 |B17
Ea—JLT« DSCFINE BANENR D Y—T =5 h—F #iH 6,600 |C28
Ea—JLT« DSCMED BANXYENRDY—T =5 h—F i H 6,600 |C28
Ea—2JL7«  |DSCSET BANEINR D v—T U5 H—FK 3tub 17,400 |C28
Ea—JLT« DSCXFINE FANXENR D v—T =5 h—F BHB 6,600 |C28
Ea—JL7~« DSG13/146  [FILAVRAYILAU $RE FH SG13/14 #6 3,000 |C32
Ea—JLT« DSG7/86 FILADAYILAU #REF SGT/8 #6 3,000 |$B&E
Ea—JLT« DSG9/106 FILAVRAYILAV #EF SG9/10 #6 3,000 |$B&E
Ea—2JL7T«  |DSH5/336 FILAVRAYILAU #E F SH5/33 #6 3,000 |C32
Ea—JLT«  |El ILAR—3— NAFTYL 1 8,800 |D32
Ex—JL74s  |ElT ILAR—3— XAk 11 8,800 |1BH &
Ea—JLT« E11A ILAR—4— XAk 11A 8,800 |$B&IE
Ea—JLT« E11LX ILAR—E— P4 R3—JBR/IN—/\UR)L 11LX 8,800 |1B&EIE
Ea—JLT« E11M ILR—E— YIS AoPa 11IM 8,800 |$B&IE
Ea—JLT« E11RX ILAR—E— 43— BaR/N—/\UKR)L 11RX 8,800 |1B&EIE
Ea—JLTF« E12LX ILAR—F— P BA—9RAR/IN—/\UR)L 121X 8,800 |$B&IE
Ea—JLT« E12M ILR—E— YIS o 12M 8,800 |1B&EIE
Ea—JLTF« E12RX ILAR—E— a2 3—0R/IN—/\2R )L 12RX 8,800 |$B&IE
Ea—JLT« E13M ILR—E— TYI50 22 13M 8,800 |1B&EIE
Ea—JLTF« E14LX ILAR—F— P B—9RAR/IN—/\UR)L 14LX 8,800 |$B&IE
Ea—JLT« E14RX ILAR—E— 43— BR/N—/\UFR )L 14RX 8,800 |1B&IE
Ea—JLT« E15 ILAR—E— yrkJ—FK 15 8,800 |$B&IE
Ea—2LF« E16 ILAR—E— yRT—K 16 8,800 |$B&IE
Ea—2JL7«  |E19 ILA—4—19 8,800 |1B# &
Ea—7JLT+4 E190 ILAR—4—190 8,800 |5 &
Ea—JLTF« E191 ILR—4— 191 8,800 |$B&IE
Ea—JLT« E1C ILR—Z— H—TSUK figPa1c 8,800 |$B&IE
Ea—2JL7T«  |EIL ILR—EF— wILT42 1L 8,800 |1B# &
Ea—JLT« E1LX ILAR—E— 43— BaR/IN—/N\UR)L 1LX 8,800 |1B&IE
Ea—JLT4 |EIR ILR—E2— w742 1R 8,800 |1B# &
Ea—JLT« E1RX ILAR—E— 13— BR/IN—/\UR )L 1RX 8,800 |1B&IE
Ea—JLT4 |E2 ILAR—3— NA(RTYY 2 8,800 |D32
Ea—2JLT+4 E20 ILAR—%4—20 8,800 |5 &
Ea—JLT«  |E21 ILR—F— =954/ %— 21 8,800 |D32
Ea—JL7T«  |E22 ILAR—H— =95/ — 22 8,800 |D32
Ea—2JL7«  |E23 ILA—%4—23 8,800 |1B# &
Ea—2JLT«  |E25 ILAR—3— J534¥— 25 8,800 |1B# &
Ea—JLT« E26 ILR—B— 54— 26 8,800 |$B&IE
Ea—JLT« E2C ILR—Z— H—TSUK figPa 20 8,800 |1B&IE
Ea—2JL7«  |E2S ILAR—3— LT 28 8,800 |1B# &
Ea—JLT« E301 ILAR—A— 7R 301 #510 8,800 |1B&IE
Ea—7JLT«  |E301W ILAR—4— E)LT 1> 301W 8,800 |1B# &
Ea—JLT« E302 ILR—R— TR 302 8,800 |1B&IE
Ea—JLT« E303 ILAR—R— 7R 303 8,800 |IB&IE
Ea—JLT« E304W ILAR—4— LT 12 304W 8,800 |1B&IE
Ea—JLT« E31 ILAR—8— D534V — 53— 31 8,800 |IB&IE
Ea—JLT« E31F ILAR—4— J)—RKI> 31F 8,800 |1B&IE
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Ea—JLT« E32 ILAR—8— 34— 53— 32 8,800 |$B&IE
Ea—JLT« E32F ILAR—4— J)—RKIY 32F 8,800 |$B&EIE
Ea—2JLT7«  |E34 ILAR—3— tILT1 34 8,800 |1B# &
Ea—JL74s  |E34S ILAR—4— &)LT 1> 34S 8,800 |D32

Ea—7JL7«  |E38 IL~R—%—38 8,800 |D33

Ea—JL7«s  |E39 ILAR—%—39 8,800 |D33

Ea—JLT4 |E3C ILA—E— H—TSUR HHPa 3C 8,800 |1B# &
Ea—2JL7«  |ESS ILR—E— tILT423S 8,800 |1B# &
Ea—JLT« E4 ILAR—E— D2 i\ (N— TRy 4 8,800 |D33

Ea—JLT« E40 ILAR—3— NA(FT)2% 40 8,800 |D32

Ea—JLTF« E41 ILAR—B— NA(RTYL% 41 8,800 |D32

Ea—JL7T+s  |E44 ILR—B— 54— 44 8,800 |D32

Ea—JLT«  |E44C ILA—4— JTSyR1J— 44C 8,800 |1B# &
Ea—2JLT+4 E45 ILAR—HF— 54— 45 8,800 |D32

Ea—JLT«  |E46 ILAR—%— 46 8,800 |D33

Ea—JLT«  |E46R ILAR—4— 46R 8,800 |D33

Ea—JL7T«  |EAL ILR—EF— wILTa2 4L 8,800 |1B# &
Ea—JLT« E4R ILAR—4— EILT12 4R 8,800 |$B&EIE
Ea—JLT« E5 ILAR—E— 22t — FRJY 5 8,800 |D33

Ea—JLT« E51 ILAR—E— h—TFT 4R 51 8,800 |1B&EIE
Ea—JLT« E52 ILAR—B— h—T4R 52 8,800 |$B&IE
Exa—JLT«  |E6 ILAR—3—KRYY 6 8,800 |1BH &
Ea—JLT« E69W ILAR—E— yRT—F 69W 8,800 |$B&IE
Ea—JLT« E6X ILAR—E— T/IR—/\UKR)L Ry 6X 8,800 |1B&EIE
Ea—2JL7T«  |E7 ILAR—3—RyY 7T 8,800 |1B# &
Ea—JLT« E71 ILR—B— 53— TFRIYTI 8,800 |1B&EIE
Ea—JLT« E72 ILR—B— 53— FARYY 72 8,800 |$B&IE
Ea—JLT« E73 ILR—B— 53— FARYY T3 8,800 |1B&EIE
Ea—JLT« E74 ILR—B— 53— TFRYY 74 8,800 |$B&IE
Ea—JLT« E77 ILAR—E—Ea—TLT 477 8,800 |1B&IE
Ea—2JLT«  [E77R ILAR—%4—T7R 8,800 |D32

Ea—JLT« E7X ILAR—E— TIR—/\UKR)L By 7X 8,800 |1B&IE
Ea—JLT« ES8 ILAR—E— JLAUEYY 8 8,800 |$B&IE
Ea—2JLT«  |ESO ILAR—%4—80 8,800 |1BH &
Ea—JLT« E81 ILAR—4— 81 8,800 |$B&IE
Ea—JLT« ES1A ILAR—45—81A 8,800 |$B&IE
Ea—JLT« ES1E ILA~—%5—81E 8,800 |$B&IE
Exa—JLT4  |[E9 IW—bFVTILR—42— FEAIL 9 #503 7,200 |$E&E
Ea—JLT« E92 ILR—3—92 8,800 |$B&IE
Ea—2JLT«  |E93 ILA—%4—93 8,800 |15 &
Ea—JLT« E94 IW—bFITILAR—4— FEE 94 #502 7,200 |5 &5
Ea—JLT« E95 IW—bFITILAR—4— FEE 95 #502 7,200 |55
Ea—2JL7T«  |E96 IW—bFITILR—E— FEAIL 9 #6 7,200 |$E&E
Ea—2JLT«  |E98 ILA—%4—98 8,800 |1BH &
Ea—JLT4  |EOL IL—bFYTILR—4— FEAIL 9L #503 7,200 |5 &
Ex—JL74s  |EIL6 IW—bFYTILR—E— FEHIL 9L #6 7,200 |$EHE
Ea—JL74  [E9R IL—bFYTILR—45— FEAIL IR #503 7,200 |5 &
Ea—JLT«  |E9R6 IW—bFVTILR—E— FEAIL IR #6 7,200 |$EHE
Ea—JLT« EA ILAR—E—aJRAIz/L A 8,800 |$B&IE
Ea—JLT« EA1C ILAR—E— H—TSUK P AIC 8,800 |1B&IE
Ea—JLT« EA2C ILAR—E— H—TSUK 9P A2C 8,800 |$B&IE
Ea—7JLT«  |EA30 ILAR—3— J54¥— A30 8,800 |1B# &
Ea—JLT« EA31 ILAR—E— U51%— A3l 8,800 |$B&IE
Ea—JLT« EA3C ILAR—E— H—TSUK 9P A3C 8,800 |1B&IE
Ea—JLT« EB ILAR—4— a5 RHz)L B 8,800 |IB&IE
Exa—2JL74  |EDI IW—bFYTILAR—4— TAERX 1 #503 7,200 |$E&E
Ea—2JLT«  |ED1O IW—bFITILAR—E— TAEX MEE 10 #2 7,200 |$E&E
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Ea—JLT«  |ED106 IW—bFYTILR—4— TAEX i5E 10 #6 7,200 |$EHE
Ea—2JL7«  |ED1T IW—bFITILAR—E— TAEX MEE 11 7,200 |$E&E
Ea—2JLT« |ED116 IW—bFYTILAR—4— TAEX MEE 11 #6 7,200 |$EHE
Ea—2JL7T« |ED16 IW—bFYTILR—4— TAER 1 #6 7,200 |$E&E
Ea—2JL74  |ED2 IW—bFYTILR—4— TAER 2 #503 7,200 |$EHE
Ea—2JL7T«  |ED26 W—bFYTILR—4— TAER 2 #6 7,200 |$E&E
Ea—2JL7«  |ED3 IW—bFYTILAR—4— TAER 3 #503 7,200 |$EHE
Ea—2JL7T«  |ED36 IW—bFYTILR—4— TAER 3 #6 7,200 |$E&E
Ea—2JL7«  |ED4 IW—bFYTILR—4— TAER 4 #503 7,200 |$EHE
Ea—JLT«  |ED46 IW—bFYTILR—4— TAER 4 #6 7,200 |$E&E
Ea—JLT« EDLL3 WIE—TAVTILAR—F— AYREZ— FERDA L3 14,000 |D36
Ea—JLT« EDLL5 WIE—TAVTILAR—F— AYREZ— FERDA LS 14,000 |D37
Ea—JLT« EDLR3 WIE—TAVTILAR—F— AYRE3— FERDA G 3 14,000 |D36
Ea—JLT« EDLR5 WIE—TAVTILAR—F— AYREZ— FERDAES 14,000 |D37
Ea—2LT« EH5 ILAR—AF— FR—H> H5 8,800 |15 &
Ea—JLT« EH6 ILAR—F— K—H> H6 8,800 |$B&IE
Ea—JLT« EHB1 IL—bhFVTILR—A— NA(RTY>Y KEE 1 #502 7,200 (D91
Ea—JLT« EHB13/14 IW—bFYTILR—E— NART )% TEE 13/14 #522 8,000 |$5&IE
Ea—JL7T« |EHB13/146 |IL—FFYTILAR—E— /\(RFT1)>2% TEE 13/14 #6 8,000 |D91
Ea—JLT« EHB13/14H  [JL—bFYTILAR—E— NART2 %Y WEE 13/14 NE— #522 8,000 |$5&IE
Ea—JLT« EHB13/14X  [IL—FFYTILAA—E— /NA(RKT1)>% THEE 13/14 BL 8,000 |$B&E
Ea—JL7« EHB2 IW—bFYTILR—E— NART)Y FEE 2 #502 7,200 |D91
Ea—JLT« EHB3 IL—bhFVITILR—A— NA(RT1>Y B8 3 #502 7,200 (D91
Ea—JL7« EHB4 IW—bFYTILR—E— NAFT)>Y FEE 4 #502 7,200 |D91
Ea—JLT« EHB5 IL—bhFVITILR—A— NA(RT1Y B8 5 #502 7,200 (D91
Ea—JL7~« EHO1 IW— b FYTILAR—E— /NT—F 1 #502 7,200 |D92
Ea—2JLT+4 EHO2 IL—rFYTILAR—E— /\T—F 2 #502 7,200 |D92
Ea—JLT« EHO2/3 IW—bFITILR—E— /NT—K 2/3 #522 8,000 |$5&IE
Ea—JLT«  |EHO2/36 IW—bFYTILR—E— /\NT—F 2/3 #6 8,000 |D92
Ea—JL7~« EHO3 IL—rFYTILAR—4— /\T—F 3 #502 7,200 |D92
Ea—JLT« EL2C WotE—T42T ILR—42— 2C#510 8,800 (D34
Ea—2JL7T«  |EL2CX Wot—T 42T TLA—4— 2CBL 9,800 |D34
Ea—JLT« EL2S WotE—T42T ITLR—42— 2S #510 8,800 (D34
Ea—2JL7T«  |EL2SX Wot—T 42T TLA—4— 2S BL 9,800 |D34
Ea—2JL7«  |EL3024 ILAR—8— ARy LBAT 3S 8,600 |D31
Ea—JL7T«  |EL3042 ILAR—F— ZRY v LBLT 1C 8,600 |D31
Ea—7JLT+4 EL3092 ILAR—E— AR v )LBALT 4C 8,600 |D31
Ea—2JLT«4  |EL3C Wo—T AT ILA—4— 3C#510 8,800 |D34
Ea—JLT« EL3CX Wot—T427 TLR—42— 3CBL 9,800 |D34
Ea—2JLT4  |EL3S Wo—T AT TLA—4— 3S #510 8,800 |D34
Ea—JLT« EL3SX Wot—T420 TLR—42— 3S BL 9,800 |D34
Ea—JLT«  |EL4014 ILAR—4— ZRY v LBALT 3C 8,600 |D31
Ea—JL7T4  |EL4031 ILAR—E— ZRY v LBAT 4S 8,600 |D31
Ea—JL7T«  |EL4032 ILAR—8— ARy LBALT 1S 8,600 |D31
Ea—JLT« EL4C WotE—T42T ILR—4F— 4C #510 8,800 (D34
Ea—JL7T«  |EL4ACX Wot—T 42T TLA—4— 4CBL 9,800 |D34
Ea—JLT« EL4S WItE—T4T ITLR—42— 4S #510 8,800 (D34
Ea—2JL7T«  |EL4SX Wot—T 4T TLA—4— 4SBL 9,800 |D34
Ea—JLT« EL5C Wot—T42 ITLR—42— 5C #510 8,800 (D34
Ea—2JL7T«  |EL5CX Wot—T 42T TL~A—4— 5CBL 9,800 |D34
Ea—JLT« EL5S WotE—T42T TLR—42— 58 #510 8,800 (D34
Ea—2JL7T«  |EL5SX Wot—T 42 TLA—4— 5S BL 9,800 |D34
Ea—JLT«  |ELKIT WO—T AT T A—E—F vk LKIT 32,000 |15 &
Ea—JLTF« ELSLIM2CSX [ILUtE—T4F TLA—4— R1)L 2C ¥3—kBL 9,800
Ea—JLT« ELSLIM2SSX [ILOtE—T4 T TLA—4— R1)L 2S 3—kBL 9,800
Ea—2JLT«  [ELSLIM3CSX |ILOUtE—Ta P ITLA_R—4— RIJL 3C3—kBL 9,800
Ea—JL T4« ELSLIM3SSX [ILYtE—T4F TLA—4— R1)L 3S &3—kBL 9,800
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Ea—JL7T«  |EMLL3 WIE—TAVTILAR—3— AYRE— FERDA L 3 14,000 |D36
Ea—2JLT+4 EMLL5 WIE—T AT ILAR—F— AYREZ— FERDA LS5 14,000 |D37
Ea—2JL7«  |EMLR3 WIE—TAVTILAR—F— AYREZ— FERDA G 3 14,000 |D36
Ea—2JLT+4 EMLR5 WIE—T AT ILAR—F— AYREZ— FERLDA G S 14,000 |D37
Ea—JL7~« EPL1 IVFA IR EVEyk 12,000 |E12
Ea—2JLT«  |EPTKIT Wo—Ta2T ATk Fyb 98,000 (D35
Ea—JLT« EPTKITX WOtE—TFT42TN\A4T )R vk BL 105,000 |$5& &
Ea—2JL7T«  |EPTLGD WoE—T42T AT )yR @A L #6 12,000 [D35
Ea—JLT« EPTLGDX Wote—T42T AT )k @A LBL 13,000 |15
Ea—7L7«  |EPTLGM WoE—T42T AT )R T L #6 12,000 [D35
Ea—JLT« EPTLGMX Wot—T42T AT )Yk EiA LBL 13,000 |$5& %
Ea—2JLT«  |EPTSMC Wo—TaT ATk Bl #6 12,000 [D35
Ea—JLT« EPTSMCX Wot—F4251\4T7) vk Bl BL 13,000 |$5& %
Ea—2JLT«  |EPTSMD WO—TaT AT )Yk RIS #6 12,000 |D35
Ea—JLT« EPTSMDX Wot—TFTa2T AT yk @A S BL 13,000 |15
Ea—JLT«  |EPTSMM WO—T 4T NAT YR T S #6 12,000 |D35
Ea—JLT« EPTSMMX Wot—Ta2T ATk A S BL 13,000 |15
Ea—2JLT4 EPTSMS WOt—TF4TN\AT YK E #6 12,000 |D35
Ea—JLT« EPTSMSX WotE—F42051\4T)yK E BL 13,000 |15
Ea—2JLT4 EPTSSP Wot—TFT40N\AT)yK B AR—K #6 12,000 |D35
Ea—JLT« EPTSSPX Wot—T42TN\AT)yk B AR—FK BL 13,000 |15
Ea—JLT« ERO REAS TLA—F—L—JL 2 A LKk 1,000
Ea—JL7T4  |ERT THAS TLAR—4—L—JL2A JL— 1,000
Ea—JLT« ER2 RS TLAR—F—L—)L 2 A FRTA+ 1,000
Ea—JLT4 |ER3 THAS TLAR—4—L—JL2A AL 1,000
Ea—JLT+« ER5 RHAS TILR—F—L—)L 2A /IO— 1,000
Ea—JLT4  |ER6 THAS TLAR—E—L—JL 2 A SARUE— 1,000
Ea—JLT« ER7 THAS ILR—F—L—IL2A T599 1,000
Ea—JLT« |ERS ZTHAS TLAR—4—L—JL2A TIL— 1,000
Ea—JLT« ER9 TEFAS TLAR—F—L—JL2A J)—> 1,000
Ea—JLT4  |ERAFT JL—FFv T ILR—4— RAF 1 #504 10,400 |$8E &
Ea—JLT«  |ERAF3KA IL—bFy T ILR—45— RAF 3 #504 10,400 |$BE &
Ea—JLT« EW1 IW—bFITILR—E— HIT X1 #1 7,200 |$5 &5
Ea—JLT« EW2 IW—bFITILR—E— HIT X} 2 #1 7,200 |55
Ea—2JLT«  |EW26 IW—bFYTILR—E— JIT Rk 2 #6 7,200 (D93
Ea—JLT« EW3 IW—bFYTILR—E— HI X} 3 #1 7,200 |55
Ea—2JLT«  |EW36 IW—bFYTILR—4— JIT X 3 #6 7,200 (D93
Ea—JLT« EW4 IW—bFITILR—E— HI X} 4 #1 7,200 |55
Ea—7JLT4  |EW46 IW—bFYTILR—F— DI Xk 4 #6 7,200 |5 &
Ea—JLT« EW5 IW—bFITILR—E— HI X} 5 #1 7,200 |55
Ea—2JLT«  |EW56 IW—bFYTILR—4— JIT X5 #6 7,200 |$E&E
Ea—JLT« EW6 IW—bFITILR—E— HIT X} 6 #1 7,200 |55
Ea—2JL7T«  |EW66 IW—bFYTILR—E— JIT X 6 #6 7,200 |$E&E
Ea—JLT« EWJL ILR—F— D= Tx—LX LIhL#504 8,800 |1B&IE
Ea—JLT« EWJR ILR—F— =9 Tx—LX S4k R#504 8,800 |$B&IE
Ea—JLT« EWJS ILAR—F— J—9q99-x—LX E S #504 8,800 |1B&IE
Ea—2JLT4  [EWS16 IW—bFYTILR—4— HJIT XL 1 #6 7,200 (D93
Ea—JLT« EX23/6 IXRITO—75— fEE 23/6 #31 2,800 |$BHEE
Ea—JLT1  |EX23/66 IXRTO—F— WGE 23/6 #6 3,000 |B6
Ea—JLT« EX3A/TU17 |[IZFRTO—5— W88 3A/TU17 #31 2,800 |$BHEE
Ex—7JLT« |EX3A/TU176 |ITFRTFO—5— MiEE 3A/TU17 #6 3,000 |B6
Ea—JLT«  |EXC125/6 IFXRAR—E— A251) v 1/83—2 THEE 125/126 #41 4,800 |1BH &
Ex—JLT+« EXC127/8 IXRAAR—B— A25) v a/88—> THEE 127/128 #41 4,800 |5 &
Ea—7LF+4  |EXC129/0 IFXRAR—E— A251) v 2/83—2 THEE 129/130 #41 4,800 |1BE &
Ea—JLT41 |EXC129/06 |TFXFRAN—Z— A5y a/33—2 [H5E 129/130 #6 4,800 |1BEE
Ea—JLT«  |EXC131/2 IFXRAR—E— A251) v 2/83—2 ThEE 131/132 #41 4,800 |1BE &
Ea—JL7+« EXC14 IXRINWAR—5— THEE 14 #41 4,800 |F11
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Ea—2JLT«  |EXC153/4 IFXRAR—E— A(251) v 2/83— ThEE 153/154 #41 4,800 |1BEE
Ea—JLT4 |EXC153/46 |THFRAN—E— A2%51)ya/\3—> [Hi5E 153/154 #6 4,800 |1BEE
Ea—JLT« EXC17 IXRAAR—5— [5E 17 #41 4,800 |$B&E
Eai—7JLT« |EXC176 IHXRANR—45— [ZE 17 #6 4,800 |F11

Ea—JLT« EXC177 IXRAR—5— MEE 17 #7 4,800 |$B&E
Eai—7JLF«  |EXC178 IHXRNR—45— @58 17 #8 4,800 |1BE &
Eai—JLF«4  |EXC179 IXRAR—4— HEE 17 #9 5800 |F11

Ea—JLTF« EXC17H IHXFRANR—45— [MEE 17 NE— #41 4,800 |$5&E
Ea—2JLT«  |EXC17H6 IFXRANR—5— [EE 17 NE— #6 4,800 |1BEE
Ea—JLTF« EXC17H7 IFRAR—Z— [HEE 17 NE— #7 4,800 |$5&E
Ea—JL T4 EXC17W IXRAANR—F— MR A—/\)L 17W #41 4,800 |F12

Ea—7JLT«  |EXC17WH IFRAR—E— [5E A—/V)L 17TW ANE— #41 4,800 |1BEE
Ea—2JLT«  |EXC17WH6 IXRAR—E— [HEE A —/\)L 1TW ANE— #6 4,800 |1BE &
Ea—JLTF« EXC18 IXRAAR—45— [5E 18 #41 4,800 |$5&E
Ea—2JLT+4 EXC186 IXRHAR—45— THEE 18 #6 4,800 |F11

Ea—JLTF« EXC187 IFXRAAN—45— [5E 18 #7 4,800 |$5&E
Ea—2LT«  |EXC188 IFRHR—45— [H5E 18 #8 4,800 |1BE &
Ea—JLT«  |EXC189 IHXRANR—45— [@EE 18 #9 5800 |F11

Ea—2LT« EXC18H IHXRANR—45— [EE 18 NE— #41 4,800 |$B&E
Eai—7JLT«  |EXC18H6 IHXRANR—45— [EE 18 NE— #6 4,800 |1BE &
Ea—2LT« EXC18H7 IXAAN—4— [EE 18 NE— #7 4,800 |$B&E
Ea—JL7~« EXC18W IXRAANR—F— MEE A—/\)L 18W #41 4800 |F12

Ea—JLT« EXC18WH IHXFRANR—5— [EE A—/\)L 18W AE— #41 4,800 |$B&E
Ea—2LT«4  |EXC18WH6 IXRAR—E— [HEE A —/\)L 18W ~NE— #6 4,800 |1BE &
Ea—JLT« EXC19 IXRAAR—5— [5E 19 #41 4,800 |$B&E
Ea—JL7~« EXC196 IXRINWAR—5— THEE 19 #6 4,800 |F11

Ea—JLT« EXC197 IXRAR—45— MEE 19 #7 4,800 |$B&E
Ea—2JLT«  |EXC198 IFRAR—F— [H5E 19 #8 4,800 |1BE &
Ea—2LF« EXC19H IXAAN—4— [HEE 19 NE— #41 4,800 |$B&E
Eai—7JLT«  |EXC19H6 IHXRANR—45— [EE 19 NE— #6 4,800 |1BEE
Ea—2LF« EXC19H7 IXAARN—4— [EE 19 NE— #7 4,800 |$B&E
Ea—JLTF« EXC19W IXRAAR—5— [MEE 19W #41 4,800 |$5&E
Ea—JLT« EXC19WH IHXFRANR—5— [EE A—/V)L 19W AE— #41 4,800 |$B&E
Ea—JLTF« EXC220/1 IXRAAR—E— g #—E—R1)— F—/\)L 220/221 #41 4,800 |$5&E
Ea—7JLT«  |[EXC220/16 |ITHFRARN—A— g8 #—E—R1)— F—/\)L 220/221 #6 4,800 |1BE &
Ea—JLT4  |EXC242 IHFRAAR—E— A5y 2/88— T— )LERBA A #41 4,800 |1BEE
Ea—2LF« EXC243 IHFRAR—EZ— A1)y 2/33—2 THEE 243 #41 4,800 |$B&E
Ea—JLT4  |EXC244 IXRAR—EZ— A(251) v 2/33—2 THEE 244 #41 4,800 |1BEE
Ea—JLT« EXC245 IFRAR—EZ— A1)y 2/33—2 THEE 245 #41 4,800 |$B&E
Ea—JLT« EXC246 IFRAR—E— A21) v 2/33—2 THEE 246 #41 4,800 |$5&E
Ea—2JLT4 EXC2469 IXRNWR—EF— A271)y2/83—2 [IEE 246 #9 5,800 |F13

Ex—JLT+« EXC31L IHFRAAR—E— TN WMEE 31L #41 5000 [E11

Ea—JLT« EXC31L6 IFXRANWR—4— IR M58 31L #6 5,000 |$5&; %
Ea—JLTF« EXC31LX IFRAHWR—4— IKFF MEE 31L BL 5,800 |$5&; M
Ea—2JLT+4 EXC31W IXRAR—4— TURF WA 31W #41 5,000 |E11

Ea—JLTF« EXC31WX IFRAHWAR—4— IFF isE 31WBL 5,800 |$5&; M
Ea—JLT«  |EXC32L IXRAHR—4— TURF HEE 32L #41 5,000 |E11

Ea—JLTF« EXC32L6 IFXRANR—4— IR WA 32L #6 5,000 |$5&; %%
Ea—2LT« EXC32LX IXAHN—4— TURF 88 32L BL 5,800 |$5&; %
Ea—JL7+« EXC33L IXRAR—4— TURF W8 33L #41 5,000 |E11

Ea—JLT« EXC33L6 IFXRANR—4— IR M58 33L #6 5,000 |$5&; %%
Ea—2LT«  |EXC33LX IFXRHAR—4— TURF B8 33L BL 5800 |1B& &
Ea—JLT« EXC36/37 IHXRHR—45— @58 36/37 #41 4,800 |$B&E
Ea—JLT« |EXC36/376 |TF¥ARHA—%— [EEE 36/37 #6 4,800 [F12

Ea—JLT« EXC38/39 IHXRHAR—45— @58 38/39 #41 4,800 |$B&E
Eai—JLT« |EXC38/396 |TF¥ARHA—%— [EEE 38/39 #6 4,800 |F11

Ea—JLT« EXC38/397 |I¥RAAR—4A— MEE 38/39 #7 4,800 |$B&E
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Ea—2JLT« |EXC38/398 |IHFRHA—%— [HEE 38/39 #8 4,800 |1BE &
Ea—JLT+« EXC40/41 IFXFRANR—4— [EE TL—FK 40/41 #41 4800 |F12
Ea—JLT+«  |EXC44/45 IFXFRANR—45— [EE TL—K 44/45 #41 4,800 |$5&E
Ea—JLT+« EXC44/456 |IZFxRANR—4— [MBE JL—K 44/45 #6 4800 |F12
Ea—JL7~« EXC6 IHXINR—5— [HEE 6 #41 4,800 |F11
Ea—2JLT«  |EXC61/62 IHXRNR—45— 58 61/62 #41 4,800 |F12
Ea—2JLT«  |EXC63/64 IHXRNR—45— @58 63/64 #41 4,800 |1BEE
Ea—JLT+« EXC63/646 |T¥FRH~N—~A— Tlj5E 63/64 #6 4800 |F12
Ea—JL7~« EXC65/66 I X RHAR—5— H5E 65/66 #41 4800 |F12
Ea—2JL7+  |EXCEl IXRAAR—45— [5E E1 #41 4,800 |$B&E
Ea—JL7~« EXCE16 IXRINWAR—5— THEE E1 #6 4,800 |F11
Ea—2JL7+4  |EXCE2 I X RAAR—45— [5E E2 #41 4,800 |$B&E
Ex—JLT+« EXCE26 I X INAR—5— TH5E E2 #6 4800 [F11
ta—2JLF+4  |EXCE3 IFRHR—%4— [EE E3 #41 4,800 |F11
Ea—2LT«  |EXCGL2 IFXRANWR—4— IR J1)yy MEE 2 #41 5800 |5 & &
Ea—JLT« EXD1 IFXRTO—5— MEE 1 #31 2,800 |$BHEE
Ea—2LT«  |EXD11/12 IXRTO—F— WEE 11/12 #31 2,800 |B4
Ea—7JLT« |EXD11/126 |THFERTA—5— EE 11/12#6 3,000 |B4
Ex—JLT+« EXD11/127 |ZFRTA—5— MEE 11/12 #7 3,200 |B4
Ex—7JLT« [EXD11/128 |ITFRTO—5— MEE 11/12#8 3200 |BEH &
Ea—2JLT4 |EXD11/12A6 |THFRTO—F5— FIF3—T7A47 WEE 11/12 #6 3,000 |B4
Ea—JLT«  |[EXD11/12A7 |ZXRTO—5— 7I748—T747 WEE 11/12 #7 3200 |B4
Ea—7JLT4 |EXD11/12A8 |TXRTO—5— 7I4—T7A47 WEE 11/12 #8 3200 |BEH &
Ea—2JLT4 EXD11/12AF [THFRTO—F— F7IRZ—T747 W5E 11/12 #31 2,800 |B4
Ea—JL7T«  |EXD16 IXRTO—5— EE 1 #6 3,000 |B5
Ea—JLT« EXD2 IFRTO—5— isE 2 #31 2,800 |$BHEE
Ea—JL7T«  |EXD26 IXRTO—5— ili5E 2 #6 3,000 |B5
Ea—JLT«  |EXD27 IXRTO—5— Wi5E 2 #7 3200 |$BEH &
Ea—2JLT«  |EXD28 IXRTO—5— iH5E 2 #8 3,000 |$B&E
Ea—JLT«  |EXD2A IFXFRTO0—-5— EvYF—IL MEE 2A #31 2,800 |$B&EE
Ea—JL7~« EXD2A6 IFXRTO—5— EvIT—)L MEE 2A #6 3,000 |B5
Ea—JLT«  |EXD2H IFRTO—7— i5E 2H #31 2,800 |$B&EE
Ex—JLT+« EXD2H6 IFRTO—7— f5E 2H #6 3,000 |B5
Ea—JL7T+4  |EXD2R/2L IXRTO—7F— WEE 2R/2L #31 2,800 |$BHEE
Ex—JLT+« EXD2R/2L6 |TFRTAO—S— MEE 2R/2L #6 3,000 |B5
Ea—JLT«  |EXD2R/2L7 |TFRTO—5— M5E 2R/2L #7 3200 |BEH &
Ex—JLT+« EXD2XTS IFRTO—F— XTS i5E 2 #6 3,200 |B7
Ea—2JLT«  |EXD3 IFRTO—5— i5E 3 #31 2,800 |$BHEE
Ea—JL7T«  |EXD36 IFRTO—5— ii5E 3 #6 3,000 |B5
Ea—2JL7+4  |EXD3CH I*RJTO—F— fEE 3CH #31 2,800 |$BHEE
Ea—2JL7T«  |EXD3CH6 I ¥ RTA—7— W5E 3CH #6 3,000 |B5
Ea—2JLT+4 EXD3CH7 IFRTO—7— ii5E 3CH #7 3,200 B5
Ea—2LT«  |EXD3CH8 I*RJTO—7— MEE 3CH #8 3200 |BEH &
Ea—2JLT+4 EXD3CHXTS |ITFRTA—F— XTS ho7R—> 758 3CH #6 3,200 |B7
Ea—2LT«  |EXD3ES IFRTO—7— i5E 3ES #31 2,800 |$B&E
Ea—JLT+4 EXD3ES6 IFRTO—5— il5E 3ES #6 3,000 |B5
Ea—2LT«  |EXD3ES7 I*RJTO—7F— MEE 3ES #7 3200 |BH &
Ea—2JLT«  |EXD3ESS8 I*RJTO—75— fHEE 3ES #8 3200 |BEH &
Ea—JL7+« EXD5 IFRTO—5— 5E 5 #31 2,800 |B4
Ea—JLT+4 EXD56 IXRTO—5— HEE 5 #6 3,000 |B4
Ea—JL7« EXD57 IXRTO—5— WHEE 5 #7 3,200 |B4
Ea—2JLT+4 EXD5XTS IFXRTO—5— XTS HEE 5 #6 3,200 |B7
Ea—JLT«  |EXD6 IXRTA—7F— MEE 6/3 #31 2,800 |$B&E
Ea—JLT+4 EXD66 IFxRTO—5— 5 6/3 #6 3,000 |B6
Ea—JLTF« EXDEN1 IXRTA—F— WEE ENT #31 2,800 |$5&E
Ea—2JLT+4 EXDEN16 IFRTO—5— ili5E ENT #6 3,000 |B6
Ea—2JL7T«  |EXDG16 IFXRTO0—5— IR 58 DG16 #31 4,000 [E10
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Ea—2JLT« |EXDG16/17 |[IFRTA—5— TKF M58 DG16/17 #31 4,000 |E10
Ea—JLTF« EXDG16/17X |ZFRTO—5— TUFHF MEE DG16/17 BL 5,000 |$5&; %%
Ea—2JLT+4 EXDG16/23 |[TFRTO—7— TKF M58 DG16/23 #31 4,000 |E10
Ea—JLTF« EXDG16/23X |ZHFRTO—5— TUFHF M8 DG16/23 BL 5,000 |$5&; %%
Ea—2JLT4 EXDG166 IXXT7O0—5— TURA @5E DG16 #6 4,000 |E10
Ea—JLTF« EXDG167 IXRTSO0—5— TURF W58 DG16 #7 4,000 |$5&E
Ea—JLT« EXDG16T IFXRTO—5— TUFF W58 DG16 K& #31 4,000 |$BHEE
Ea—JLTF« EXDG16X IXRSO0—5— TURF W8 DG16 BL 5,000 |$5&; %%
Ea—JLT« EXE5250 IFXFRANR—4— IR M5E 31W #6 5,000 |$5&; %
Ea—2JLT«  |EXS17 IXRTO—F— FEE 17 #30 2,200 (1B E
Ea—2JLT4 EXS176 IXRTO—5— FEE 17 #6 2,200 |B3
Ea—2JLT«  |EXS23 IXRTO—5— xT77—KTvY KEE 23 #30 2,200 (1B E
Ea—2JLT4 EXS236 IXRTO—5— 2 xT77—KTvY FEE 23 #6 2,200 |B3
Ea—JLTF« EXS237 IXRTA—5— 2xT77—KT7vY HEE 23 #7 2,400 |$BHEE
Ea—2LT«  |EXS238 IFXFRTO—5— 2z T77—KT7vY FEE 23 #8 2,400 (1B E
Ea—7JL7T«  |EXS3 IFRTO—5— FEE 3 #30 2,200 (1B E
Ea—2JLT+4 EXS36 IXRTO—5— HEE 3 #6 2,200 |B2
Ea—JL7~« EXS3A IFRTO—F— FEE A #30 2,200 |B2
Ea—2JLT+4 EXS3A6 IFRTO—5— FEE3A#6 2,200 |B2
Ea—JL7~« EXS3A7 IFRTO—F— FEE3A#T 2,400 |B2
Ea—2JLT«  |EXS3AS IFRTO—5— FEE A #8 2,400 (1B E
Ea—JLT«  |EXS54 IXRTO—F— FEE 54 #30 2,200 (1B E
Ea—2JLT+4 EXS546 IFRTO—5— F5E 54 #6 2,200 |B3
Ea—7JLT«  |EXS6 IFRTO—5— FEE 6 #30 2,200 (1B E
Ea—2JLT+4 EXS66 IXRTO—5— HEE 6 #6 2,200 |B3
Ea—2JLT«  |EXS68 IFxRTO—5— FEE 6 #8 2,400 (1B E
Ea—JLT4  |EXS6A IXRTO—F— FEE 6A #30 2,200 |1B#EE
Ea—JL7~« EXS6A6 IFRTO—F5— FEE 6A #6 2,200 |B3
Ea—JLT«  |EXS6L IXRTO—F— FEE 6L #30 2,200 |1B#EE
Ea—JLT4  |EXS6L6 IFRTO—75— FEE 6L #6 2,200 |1BEE
Ea—JLT4  |EXS6L8 IF¥RTO—5— FEE 6L #8 2,400 (1B E
Ea—2LT4  |EXS6XL IXRTA—F— FEE 6XL #30 2,200 |1BEE
Ea—JLT«  |EXSS8 IFRTO—5— FEE 8 #30 2,200 |1B#EE
Ea—JL7+« EXS86 IXRTO—5— HEE 8 #6 2,200 |B3
Exa—JLT«  |EXS9 IFRTO—F5— FEE 9 #30 2,200 |1B#EE
Ea—JL7+« EXS96 IXRTO—5— KHEE 9 #6 2,200 |B3
Exa—JLT«  |EXTU17 IXRTO—5— I(ILFUR/BTYKRER KEE TUTT #30 2,200 |1B#EE
Ea—JLT« EXTU17/23 |[IZFXFRTO—5— Jq)LF DR/ FT7YREE HEE TU17/23 #31 2,800 |$B&E
Ea—7JLT+4 EXTU17/236 |IZFRTO—5— Dq)LFUR/FTVYREE MHEE TU17/23 #6 3,000 |B5
Ea—JLT« EXTU17/237 |ZFRTA—5— DqILFDR/FTVYREE MEE TU17/23 #7 3,200 |B5
Ea—JL7~« EXTU17/238 [IZFRTO—5— DqILXDR/FTYREE [MHEE TU17/23 #8 3,200 |$B&EE
Ea—JL7+« EXTU1723XT [THFRTO—F— XTS D/ILF IR/ FTYRFERHEE TU17/23 #6 3,200 |B7
Ea—2JLT4 EXTU176 IXRTO—F5— JqLFIUR/FTYKREER FEE TUIT #6 2,200 |B3
Ea—JLT4  |EXTU178 IFXFRTO—5— 9q0)LFX DR/ BTYKREE K58 TUIT #8 2,200 (1B E
Ea—2LT« F1 IREEHF TLOToovIL RAVF—R 1 24,800 |D47
Ea—JLT« F101 wEsHF TLoT o)L /NIL 101 24,800 |D45
Ea—JLT« F10S s+ TLoToovIL 108 24,800 |D43
Ea—2JL7T«  |F13XS R F 7RSO AT 13 32,000 |5 &
Ea—2JL7T«  |F13XSD s F AP ERFRL 13 36,000
Ea—JLT« F150 REHF TLOoToovIL V74— 2=/ —H)L150 24,800 |D47
Ea—JLT« F150A WESHF TLOToovIL 9545 — INSLILE—4150A 24,800 |D47
Ea—JLT« F150AS HEsHF TLoToovIL RT)yhE—2 150AS 24,800 |D47
Ea—JLT« F150K R+ /MNRA 150K 24,800 |1B# &
Ea—JLT« F150S R F TLoT oo v )L IMNRA 1508 24,800 |D48
Ea—JLT« F150SR wEsHF LT oovIL INRR 1508 LA 2h— 26,000 |D48
Ea—JLT« F150XAS s+ /MR A 150XAS 24,800 |D48
Ea—JLT« F151 wEsHF TLOoToovIL U544 — 1 =/\—HJL151 24,800 |D45
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Ea—JL7T«  |F151A REHF TLOToovIL V54— INSLILE—Y151A 24,800 |D45
Ea—JLT« F151AS wESHF TLoToovIL RTYYRE—S 151AS 24,800 |D45
Ea—JLT« F151K s+ /NEA 151K 24,800 |1B# &
Ea—JLT« F151S IREEHF TLoToov )L INRA 1518 24,800 |D49
Ea—JLT« F151SR wEsHF LT vIL INRR 1518 LAV R— 26,000 |D49
Ea—2JLT+4 F151XAS s+ /NEA 151XAS 24,800 (D49
Ea—2JL7T«  |F16 hE#F TLoToovIL hok—2 16 24,800 |D46
Ea—JLT« F16M W F hoR—> 16M 24,800 |1B# &
Ea—JLT« F16S sl F /NRA 16S 24,800 |D48
Ea—JLT« F17 wESHF TLOToovIL NJR 1T 24,800 |D46
Ea—JLT« F18L IREEHF TLoT oo v L /NJR 18L 24,800 |D43
Ea—JLT« F18R REEHF TLoToo v )L /NJR 18R 24,800 |D43
Ea—JLT« F1S e F /NER 1S 24,800 |D48
Ea—JLT« F1XS IREEHF TS OAT7 REAVA—F 1 32,000 |D40
Ea—2JLT4« [FIXSD RS F ¥ AV EVRT RS RAUA—FK 1 36,000
Ea—JLT« F203 wEsHF LT vl 203 24,800 |D45
Ea—JLT« F210H s+ LTIl 210H 24,800 |D44
Ea—JLT« F210S s+ Lo ToovIL 2108 24,800 |D44
Ea—JLT« F217 hE#F Ea—JLT 1 217 30,000 |1B# &
Ea—2JL7T«  |F21XSD s F AV ERST R 21 36,000
Ea—2JLT4  |F222 R F TLoToovIL 222 24,800 |D46
Ea—JLT« F23 IREEHF TLoT oo v L hoR—2 23 24,800 |D46
Ea—JLT« F23K s F /NRA hok— 23K 24,800 |1B# &
Ea—JLT«  [F23S s+ /MNRA hok— 23S 24,800 |D49
Ea—JLT« F23XS R+ 750 AT AoR—2 23 32,000 |D41
Ea—JLT« F286 hEsHF TLOToovIL 286 24,800 |D47
Ea—JLT« F300 s+ TLoToovIL Ea—TLT 1 300 30,000 |D50
Ea—JL7«  |F301 s F Ea—2JL T« 301 30,000 |D50
Ea—2JLT7«  |F32 R F /N—L)—TILEAT— 32 24,800 |1BH &
Ea—JLT«  |F32A R F /A—L)—TILEAS— 32A 24,800 |1BH &
Ea—JLT« F35XS REsHF 75O AF 35 32,000 |D40
Ea—JLT«  [F35XSD s+ A Y EVRESA R 35 36,000
Ea—JLT« F36XS REsHF TS IAT 36 32,000 |D40
Ea—JL7T«  |F36XSD s+ 1Y EVLESA X 36 36,000
Ea—JLT« F39 st F /NNRA 39 24,800 |D49
Ea—JLT«  |F3FS R F vk J—F 3FS 24,800 |1BH &
Ea—JLT« F40 st F /NRA 40 24,800 |D49
Ea—JLT« F53L wEsHF Lo Toov)L 531 24,800 |D43
Ea—JLT« F53R s+ Lo ToovIL 53R 24,800 |D43
Ea—JLT« F62 IREEHF TLoToov )L 62 24,800 |D45
Ea—JLT« F65 R F TLoT oo v )L 65 24,800 |D50
Ea—2JLT+4 F67XS R F 7RSO AT 67 32,000 (D40
Ea—JLT« F67XSD IR F A AV EVRA R 67 36,000
Ea—JLT« F69 R F LT v )L b—LX 69 24,800 |D50
Ea—JLT« F88L IREEHF TLOToov L REDX 88L 24,800 |D44
Ea—JLT« F88R IREEHF TLOToov )L REDX 88R 24,800 |D44
Ea—2JL7«  |F89 s+ vy 89 43,000 |15 &
Ea—2JL7«  |F90 s+ v 90 43,000 |15 &
Ea—JLT« F99C IREEHF TLoToov L LK 99C 24,800 |D47
Ea—JLT« FAF1 IREEHF TLoToovIL TEHIL RAUA—K AFT 24,800 |D42
Ea—JLT« FAF150 wEsHF TLOToovIL TEAIL 2 =/3—H)L AF150 24,800 |D42
Ea—JLT« FAF151 wEsHF TLOToovIL TEAIL 2 =/3—4)L AF151 24,800 |D42
Ea—JLT« FAF1XS REEHF 7S OAT TEDIL REF—F 1 32,000 |D40
Ea—JLT« FAF222 IREEHF TLOToovIL TEAIL 222 24,800 |D42
Ea—JLT« FAF35XS s+ 7RSI AT TEAIL 35 32,000 |D41
Ea—2L7«  |FAF35XSD RS F ¥4V EVRS AN PEAIL 35 36,000
Ea—JLT« FAF36XS s+ 7S IAT TEAIL 36 32,000 |D41
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Ea—2JLT+4 FAF36XSD Rt F S AV EVRS AN FEAIL 36 36,000
Ea—JLT4  |FAFX67A s F 3—Ow/SRE34)L FEAIL AF6TA 24,800 |$B& &
Ea—JLT+« FAFX74N REEgEF 3—0v/XREAJ)L TEAIL AF74N 24,800 |$5& &
Ea—JLT« FB11/12 RYFRRIVTF7AIL 739% [EE 11/12 #522 9,800 |$5&) %
Ea—2JLT« |FB11/126 RYFRUAILT7AIL 739% TEEE 11/12 #6 9,800 |D39
Ea—JLT« |FE/LD T4)AVIFRRTO—F—=&I)AFv—T 1L 75— 7,000 [G18
Ea—JLT« FH3/7 T7AIVAT—5— /\—>27x)Lh ThEE 3/7 #2 5,000 |$5&; %
Ea—JLT«  [FH3/76 T7AIWNART—5— /N—aTx)Lh 58 3/7 #6 5,600 [C26
Ea—JLT« FH5/11 T7AIVAT—5— /N\—>2Tx)Lh TEE 5/11 #2 5,000 |$5&; %
Ea—JLT« [FH5/116 T7AIVART—5— N\—22T7x)Lh THEE 5/11 #6 5,600 [C26
Ea—JLT«  [FH9/10 T7AIVART—F5— /\— 2T/ TEE 9/10 #2 5,000 |$E& &
Ea—2JLT«  [FH9/106 T7AIVART—5— /N—2T7x)Lh TEE 9/10 #6 5,600 [C26
Ea—JLT«  |FMDT R F S—K 1 32,000 |5 &
Ea—JLT4  |FMD2 R F S—F 2 32,000 |15 &
Ea—2JLT«  |FMD3 s+ S—F 3 32,000 |5 &
Ea—2JL7T«  |FMD4 Rt F S—K 4 32,000 |15 &
Ea—JLT« FO10/11 T7AINWNRYr—Z5— A—/\> @58 10/11 #2 5,000 |$5&; %
Ea—2JL7« |FO10/116 T7AIWRT—F5— F—/\> [MEE 10/11 #6 5,600 [C26
Ea—JLT« FO12/13 T7AINRYr—Z5— A—/\> @5E 12/13 #2 5,000 |$5&; %
Ea—2JL7T« |FO12/136 T7AIWRT—F5— F—/\> [EE 12/13 #6 5,600 [C26
Ea—JLT«  |[FQUINCEY1X [rURUDGTADRIIILAUE D422 — MEE 1 BL 12,000 |D8
Ea—JLT4  |FQUINCEY2X |RoRUTAVRYILAUE AL — [EE 2 BL 12,000 (D8
Ea—2JL7«  |FRCE ILAR—4— D=7 14,000 |$8E &
Ea—JLT« FS T7AINv—TFH— 7,600 |C29
Ea—JLT«  [FS1/2S RYFRUBIILTFAIL S aHf—< > [EE 1S/2S #2 9,800 |D39
Ea—2JL7T«  |FS1/2S6 RYFRUBILTF7AIL a2 HH—< > WEE 1S/2S #6 9,800 (D39
Ea—2JLT«  |FS3/4S RYFRUBIILTFAIL S aHf—< > [EE 35/4S #2 9,800 |D39
Ea—JLT«  |FS3/4S6 RYFRUBILTF7AIL 2 HH—< > [WEE 3S/4S #6 9,800 (D39
Ea—JLT« FS9/10S RYFRAIVTF7AIL 22 )b—H— iEE 9/10 #522 9,800 |$5&; M
Ea—JLT« FS9/10S6 RYFRUBITF7AIL 2 )b—H— TEE 9/10 #6 9,800 |$5&) %
Ea—JLT« FST T7ANI—TF—T 7,600 |C29
Ea—2JLT4  |FX1 REHHF I—0Ov/SREM)L 1 32,000 |5 &
Ea—JLT«  [FX13 Rt F 3—0Ov/RZREA)L 13 32,000 |5 &
Ea—JLT« FX13E W F I—OV/NRAA)L 13 TyhT4=vyia 37,000 |1B# &
Ea—JLT«  |FX17 REHF I—0Ov/SREM)L 17 32,000 |5 &
Ea—JLT« FX17E W F I—OV/NREA)L 17 TyhT4=via 37,000 |1B# &
Ea—JLT«  [FX18 Rt F 3—Ov/RXEA)L 18 32,000 |5 &
Ea—JLT« FX18E R F I—OV/NRAA)L 18 TyhT4=vyia 37,000 |1B# &
Ea—JLT« FX1CE IREEHF I—0Ov/RRAA)L 1C Iy T1=via 37,000 |1B# &
Ea—JLT« FX1E WEEHF I—OV/NREA)IL 1 TYhTs=Zvia 37,000 |1B# &
Ea—JLT«  [FX22 Rt F I3—Ov/SREA)L 22 32,000 |5 &
Ea—JLT« FX22E W F I—OV/NRAA)L 22 TR T4=vPa 37,000 |1B# &
Ea—JLT«  [FX233 s F 3—Ov/ SR 5 1)L 233 32,000 |5 &
Ea—JLT« FX2CE W F I—Ov/NREA)L 2C Ty T4=via 37,000 |1B# &
Ea—JLT«  [FX33 Rt F 3—0Ov/SREA)L 33 32,000 |15 &
Ea—JLTF« FX35E g+ I—0v/ARA4M)L 35 TybT1=wia 37,000 |1B# &
Ea—JLT« FX3CE IREEHF I—0Ov/NRAA)L 3C Iy Tr=via 37,000 |1B# &
Ea—JLT4  |FX44XSD s F AV ER TR 44 36,000
Ea—2JLT+4 FX45XS IR F TS OAT 45 32,000 (D41
Ea—JLT« FX45XSD IR F A AV EVRA R 45 36,000
Ea—JLT« FX46L g F I—Ov/NREA)L 46L 24,800 |1B# &
Ea—JLT4  |FX49 Rt F I3—0Ov/SZREA)L 49 24,800 |1BH &
Ea—JLT« FX4CE IREEHF I—0OV/NRAA)L 4C Ty T4=via 37,000 |1B# &
Ea—JLT« FX51 W F I—0Ov/RRE2A )L 51 32,000 |1B# &
Ea—JLT4« FX51E REEHF 3—OvNNREAMI)L 51 IyhTr=Zyda 37,000 ({5EE
Ea—JLT« FX51XS R+ 75O AT 51 32,000 |D41
Ea—JLT« FX5CE IR F I—0Ov/NRAA)L 5C Ik Tr=wia 37,000 |1B# &
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Ea—2JLT«  |FX67A s F 3—Ov/SREAJL 67A 32,000 |15 &
Ea—JLT« FX6CE IREEHF I—0Ov/NRAA)L 6C Ty Tr=via 37,000 |1B# &
Ea—JLT4  |FXT7 RE#HF I—Ov/SREA)L 7 32,000 |15 &
Ea—JLT«  [FX73 Rt F 3—Ov/RREA)L 73 32,000 |15 &
Ea—2JLT4  |FX73XS R F 7RSO AT 73 32,000 |15 &
Ea—JLT«  |FX74 Rt F 3—Ov/SREA)L 74 32,000 |15 &
Ea—JLT«  |FX74N R F 3—0Ov/ S REA)L 74N 32,000 |$B&
Ea—JLT«  |[FX76S st F 3—Ov/SREA )L 76S 32,000 |15 &
Ea—2JLT4  |FX79 Rt F 3—Ov/SZREA)L 79 32,000 |15 &
Ea—JLT4« FX79E REHF I—OvNREAIL 79 IVhTa=vPa 37,000 ({5EE
Ea—2JLT4  |FX79XS R F 7RSO AT 79 32,000 |15 &
Ea—JLT4« FX7CE wEHF I —Ov/AREA(J)L 1C IYybT1=via 37,000 ({5EE
Ea—JLT« FX7E WEEHF I—OV/NREAIL T YR T4=via 37,000 |1B# &
Ea—JLT« FX97 W F I—0Ov/RREA L 97 24,800 |1B# &
Ea—JLT« FX97E W F I—0OV/NRAA)L 97 TyhT4=vyia 37,000 |1B# &
Ea—JLT« GCP113 DT\ )La—R/yH— TEE 113 #41 5,000 |$5&; %
Ea—JLT« [GCP1136 U NILa—Kyh— THEE 113 #6 5,000 [F17

Ea—JLT« GCP113NS DN La—R/\yh— [EE 113 NS #41 5,000 |$5&; %
Ea—JL7~« GCP65356 DN )La—F/\yh— [MEE 113NS #6 5,000 |$E& &
Ea—JLT+« GCPBAL DU La—K\yh— [HEE /NLY #41 5000 |58
Ex—JLT+« GCPBN1 DU\ La—R/\yh— [EE BN1 #41 5000 [F17

Ea—JLT+« GCPCSI1 DD N ILa—R/\yA— [MEE CSI #41 5,000 |$BE &
Ea—7JLT« |GCPCSI6 oY NLa—K/\yh— lEE CSH #6 5,000 |$5& &
Ea—2JLT+4 GCPCSIINS |22 P/8)La—K/8yh— [EE CSI1 NS #41 5,000 |$E& &
Ea—JLT4 |GCPG7 DUV NIVa—R/\yAh— WEE AV T #41 5,000 |$5& &
Ea—JLT« GCPG76 DoV NVaA—RN\yh— [EE AV 7 46 5,000 |$5&; %
Ea—7JLT«  |GCPGINS DUV N\ILa—F/Ryh— WEE AN T NS #41 5,000 |$5& &
Ea—JLT« GCPG7NS6 DUV NVa—R/\yh— [EE A 7 NS #6 5,000 |$5&; %
Ea—JLT4 |GCPS6 UV NILA—R\yh— THEE S6 #41 5,000 |$5& &
Ea—2JLT+4 GCPS66 ST NILa—R/yh— [EEE S6 #6 5,000 |F17

Ea—JL7~« GCPYD1 DTN )La—F\yH— WEE VY —F')— 1 #41 5,000 |F17

Ea—2JLT+4 GCRO 59N [s—IN— T— JLRREA(> B 5,800 |F19

Ea—JL T«  |GCR45 959 ) s—N— T— )LERBA> 45° 5800 [F19

Ea—2JLT«  |GCR90 559 s—\— T— LR REA> 90° 5800 [F19

Ea—JLT« GCROS 959 Ls—iIN\— T— LR REBAY BREERA 5,800 |F19

Ea—JLT« GF36 R—>F € )L FEE GF36 #4 5,800 |$5&; M
Ea—JLT« GK14L H—ELTFA47 T—ILRI+A)L WHEE 14L 6,000 |$5&) 5
Ea—JLT«  |[GK29 H—ELTF47 T—ILETAHAIL KEE 29 4,600 |1BE &
Ea—JLT« GK2S H—ELT 47 T—ILRTAA)L ThEE 2S 6,000 |$5&; %
Ea—JLT« GK7 H—ELTFAT7 T—NURI+A4IL TS99 REET 4,600 |$5EE
Ea—JLT« GPHF H—E/Rvh—Ea—TL T4 #2 7,800 |5 &5
Ea—2JLT+4 GPHF6 H—E/\yh— Ea—TLT 1 #6 7,800 |D51

Ea—JLT« GRK1 DUDNIWI NS UE— 40— #41 6,400 |$5&) %%
Ea—JLT«  |GRMI U NS HB— RAF—I 51 #41 8,400 |1BH &
Ea—JL7« |GRM2 DUUNWNSOR— RAF— 12— 2 #41 8,400 |IBH &
Ea—JLT«  |GRM3 DUUNWNSOA— RAF——F D 3 #41 8,400 |1BH &
Ea—JLT4 |GRM4 DUUNWINSORA— RAF— 12— 4 #41 8,400 |IBH &
Exa—JLT«  |HI WEMEHF 71)— & 1 9,800 |D56

Ea—JLT4  [H2 LEMgHF 41)— Hh 2 9,800 (D56

Exa—JLT4  [H3 IFMEHF RILRTYR-ERF—k Bl 3 9,800 |D56

Eai—JLT«  |H4 IFMEHF RILRTYR-ERXF—FE 4 9,800 (D56

Exa—JLT4 [H5 IEMEHF E S 12,800 |D56

Ea—JL7T«4 |HAC W mEHF 7RV Bh 12,800 |D57

Ea—2JLT+4 HAS I+ 7EVU E 12,800 |D57

Ea—2JL7T«  |HCBI1 AVROYNT S NUR)IL A 3200 |BEH &
Ea—JLT«  |HHC 1EMHF /N—h> B 9,800 |1BHI &
Ea—JLT4  |HHS 1M+ N—rT2 E 9,800 |1BH &
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Ea—2JLT+4 HKC 1IE M F a—Fv— #f 9,800 |D57
Ea—JLT4 |HKRC IE Mg+ 7)—-S2% 2 i 9,800 |D57
Ea—JLT«  |HKRS IEmgHF 7)—-SF D E 9,800 |1BHI&E
Ea—JL7~« HOEXTERT RYFH—TANF 2Ly AP RE— [EEE 1 #6 6,200 |D26
Ea—JLT« HOEXTER2 RYFH—HILF 2Ly AR SZ— [HEE 2 #6 6,200 (D26
Ea—JL7~« HOEXTERS RYFH—TANF 2LV AP RE— [EE 3 #6 6,200 |D26
Ea—2JLT74« HOEXTER4 RYFRF— )L NG R5— THEE 4 #6 11,400 |D80
Ea—JLT4 |HRPC IEMEHF OF T RE—- 7> i 9,800 |D57
Ea—2JLT7T« |IL/OL TJL—Y— Fvoa-T45— MBE 1UL—/AL—F #6 5,800 |$5&; %%
Ea—2JL7« |ILS IMS;E;BRTL— 236ml 3,000 |A10
Ea—2JL74  |IM1000 IMShtybrER 2)vT EVCAVRYILAVRAE 2A 2,600 |A6
Ea—7JLT«  [IM1001 IMSHEYRER ——KRILXvyTHRILE—2A 2,600 |A6
Ea—2JL74  |IM1005 IMSAHtYk DT RFYy—FER 2)vT IWAYDYU DRIV T 1A 1,200 [A6
Ea—2LT«  |IM1005N IMSHtEYr 1V T4=TFT4FR 2)vT 3WAYL YLD RY)YT 1A 1,200 |15 # &
Ea—2JL7«  |IM1006 IMSAHtEYr ZFTITYvh—FR V)vT IWAYD YU RAYUvT 1A 1,200 [A6
Ea—2LT«  |IM30HUORL |3&#2fHS US/HPH S v k&I avRhy/i—tyk LR 1,200 ({54
Ea—2LT«  |[IM3OHUIRL |3Z#:FES US/HPH S wyh &I avAby/i—tyk FL— 1,200 (5%
Eai—7JLT«  [IM30HU2RL |3Z#:FAS US/HPA S ¥ bk &S Jav Ry S—tyk I/ + 1,200 ({54
Ea—JLT+« IM30OHU3RL  |X#:HS US/HPA S vk &I JaVRbyIR—tyk AL 1,200 |$5&
Ex—JLT+« IM30HUSRL | #:FS US/HPH S wwb &I JavRbyN—tyk /1T O— 1,200 |$5&
Ea—2JLT+4 IM30HU6RL |3 #FHS US/HPA S vk &I AV RIS —t vk SRUA— 1,200 |$5&
Ea—2LT«  |IM30HUSRL |Z#FHS US/HPH S v yh&IavAky/i—tyk J)IL— 1,200 |15 # &
Ea—2LT«  [IM30HUSRL |3Z#EFES US/HPH S wyh & YavAhy—tyk 51)—> 1,200 |18 # &
Ea—JLFT«  |IM4160 IMShtyb o %xFv— 164KRH Lyk 19,800 |A3
Ea—2JLT4« IMA160RAIL  |R#AS 16KH L—IL&IaAVAMy/A\—1Yk LYk 2,400 |f5E &
Ea—JLT«  |IM4161 IMShtvb O % Frv— 16 KA JL— 19,800 |A3
Ea—JLT« IM4161RAIL  |X#EFAS 164KH L—I/L &I YavAbyn\—tyk FL— 2400 |{B&E
Ea—JLT«  |IM4162 IMSht vk o %xFrv— 16K RTA+ 19,800 |1BE &
Ea—2JLT4 IM4162RAIL  |R#FAS 16 KH L—I/L&I)AVAMY/INA—tyk FRTA+ 2400 |B&E
Ex—7LT«  [IM4163 IMShtyb O %xFrv— 16 KA ALY 19,800 |1BE &
Ea—2LF«  |IMA163RAIL |XRH#EFS 164K L—/IL&IJaVAy\—tyk LD 2,400 |$B&EE
Ea—JLT«  |IM4165 IMShtvb O %Fv— 16 KA 1TO— 19,800 |15 &
Ea—7LT«  [IMA165RAIL |RHAS 16 KA L—IIL&IIAVAMY/IA— Yk 1T O— 2,400 (1B E
Ea—2LT«  |IM4166 IMShtyb ST %2 Fv— 16 KA ST — 19,800 |1BE &
Ea—2JLT4« IM4166RAIL  |RRHFAS 16KA L—IL &I AV AR MyN—tyb SRUF— 2,400 |55 &
Ex—JLT+« IM4168 IMShtyb O %Frv— 16 KA JI)IL— 19,800 |A3
Ea—JLT4 |IM4A168RAIL |RMFES 164K L—IL&IYaAVAy/IA—tyk TIL— 2,400 |$BEE
Ea—2LT«  |IM4169 IMShtyb o2 Frv— 16KRH J)—> 19,800 |1BE &
Ea—7L T«  [IMA169RAIL |IHAS 16 KA L—IL&IIAVARMYIS—tyk F1)—> 2,400 |1BHEE
Ea—JLFT«  |IM4200 IMShtyb o %Fv— 20K Lyk 19,800 |A3
Ea—JL T«  |[IM4200RAIL |ZHEFES 20K L—IL &SIV R My/A—tyk LR 2,600 |$BHEE
Ea—2JLT«  |IM4201 IMShtyb o5 %xFv— 20KH JL— 19,800 |A3
Ea—2JLT« IM4201RAIL | #FS 20KA L—IL &I YavAbynN\—tyk FL— 2,600 |{B&E
Ea—JLT«  |IM4202 IMShtyb o %Fv— 20KH RTA+ 19,800 |1BE &
Ea—2JLT4 IM4202RAIL  |XR#FS 20KH L—IL&V)AVAMYIA—t Yk FRTA+ 2,600 |$B&E
Ex—7JLT«  [IM4203 IMSht b O %xFv— 20KRH ALY 19,800 |1BE &
Ea—2LF 4  |IM4203RAIL |ZK#EFS 204K L—IL&IJavAyi—tyk LD 2,600 |$BHEE
Ea—JLFT«  |IM4205 IMShtvb O %xFv— 20KH 1TO— 19,800 |15
Ea—7L T«  [IMA205RAIL  |ZHEFAES 20K L—IL &I AV ARMy/IA—t Yk 1T O— 2,600 |$BHEE
Ea—2LT«  |IM4206 IMSht vk O %2Fv— 20KA SRF— 19,800 |1BE &
Ea—JLT4« IM4206RAIL | RR#LFS 20KA L—IL &P AV R MyN—tyb SRUF— 2,600 |55 &
Ex—JLT+« IM4208 IMSht vk o5 %xFv— 20KH JI)L— 19,800 |A3
Ea—JLT4 |IM4208RAIL |RMEFES 204KH L—IL&IYaAVAMy/RA—tyk T IL— 2,600 |$BHEE
Ea—2LT«  |IM4209 IMSht vk O %xFv— 20KRH J)—> 19,800 |1BE &
Ea—7L T«  [IMA209RAIL  |ZHEFAES 20KA L—IL &I AV ARMyIS—t1yk F1)—> 2,600 |$BHEE
Ea—2LT«  |IM5080 IMShtvb o5 %xFv— 8KA Lk 15,800 |D35
Ea—2JLF«  |IM5080RAIL |ZX#EFS 8AR L—IL&IJavAky/i—tyhk LR 1,400 |18 85
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Ea—JL7T«  |IM5081 IMShtyb o %Fv— 8RR JL— 15,800 (A2

Ex—7JLT«  [IM5081RAIL |XHAS 8AH L—IL&IIaAVAMyIN—tyk FL— 1,400 |18 85
Ea—JL7T«  |IM5082 IMShtvb o5 %xFv— 8KA RITA+ 15,800 |15
Ea—JL7+ |IM5082RAIL |ZX#EFS 8AH L—IL&IaAVAMy/IS—tyk RTAk 1,400 |18 85
Ea—2JL7«  |IM5083 IMShtyb o %xFrv— 8RR ALY 15,800 |15
Ea—7JL7+  |IM5083RAIL |XRMEFAS 8AR L—I/IL&IYaVAy/A—tyk AL 1,400 |18 85
Ea—2JLF«  |IM5085 IMShtvb o %xFv— 8RR ATO— 15,800 |15
Ea—2JLT74« IM5085RAIL [ #2FES 8&KH L—IL &IV AMy/N—tyh 1 O— 1,400 |BEE
Ea—2JL7«  |IM5086 IMShtyb O %2Fv— 8RR SRF— 15,800 |15
Ea—JL74  |IM5086RAIL RS 8AKR L—IL&IJaAVAMY/IN—tYk FARUAE— 1,400 |18 85
Ea—2JL7«  |IM5088 IMSht vk o7 %xFrv— 8RR JIL— 15,800 (A2

Ea—JL7«  |IM5088RAIL |XRMEFAS 8AR L—IIL&IJaVAy/A—tyk TIL— 1,400 |18 85
Ea—2JL7«  |IM5089 IMShtyb o %xFv— 8KR J)—> 15,800 |15
Ea—JL7+s  |IM5089RAIL |RIEFAS 8AR L—IIL&IJaVAy/A—tyk J1)—> 1,400 |18 85
Ex—JLT+« IM5100 IMSht vk o %Fv— 10KRH Lyk 15,800 |A3

Ea—JLT+« IM5100RAIL | R#AAS 10KH L—I/L&IaAVAMy/A\—1yk Lyk 1,400 |$5&
Ea—JL7«  |IM5101 IMShtyb O %xFv— 10KAH JL— 15,800 |A3

Ea—JLFT« |[IM5101RAIL |3HEFES 10KA L—IL &IV A My/A—tEyh FL— 1,400 |18 85
Ea—2JLT«  |IM5102 IMSht vk o %2Fv— 10KRH RTA+ 15,800 |15
Ea—2JLT4 IM5102RAIL | R#AAS 10KH L—IL &IV AMyIN\—tyb FRTA+ 1,400 |$5&
Ea—2LT«  |IM5103 IMShtyb O %2Fv— 10KRA ALY 15,800 |1BE &
Ea—2LF«  |IM5103RAIL |ZR#ERES 104K L—/IL&IYavAy\—tyk LD 1,400 |18 8
Ea—2JLF«  |IM5105 IMShtvb O %2 Fv— 10KH 1TO— 15,800 |15
Ea—JLT+« IM5105RAIL | R#AS 10KH L—/L &IV AMy/N\—yb 1T O— 1,400 |$5&
Ea—2LT«  |IM5106 IMShtyb ST %2Fv— 10KA SRF— 15,800 |1BE &
Ea—JLT+« IM5106RAIL  |RR#FAS 10KA L—IL &YV AR MyN—tyb SRUF— 1,400 |$5&
Ea—JL7~« IM5108 IMShtyb O %Fv— 10KH JI)IL— 15,800 |A3

Ea—JLT+« IM5108RAIL  |XX#2AS 10AH L—IL &IV AbyI—tyk TI)L— 1,400 |$5&
Ea—2LT«  |IM5109 IMShtyb o %Fv— 10KRH J)—> 15,800 |1BE &
Ea—7L T«  [IM5109RAIL |ZHAS 10AA L—IIL&IAVARMyIS—1yk F1)—> 1,400 |18 8
Ea—7LT«  |IM6050 IMShtyb O %xFv—5KA (VL Lk 12,000 (A2

Ea—7JL7T4  [IM6O50RAIL |R¥ASSAKA ATV H L L—IL&IYIAVRIyIA—1 Yk YR 1,000 |18 # &
Ea—JL7T«  |IM6051 IMSHtYL ST RFr—5KAB AJH L JL— 12,000 (A2

Ea—7JL7T«  [IM6051RAIL |R#ASSAKA AT H L L—IL&IYIAVRIIS—1Yk FL— 1,000 |18 # &
Ea—JLT4  |IM6052 IMShtyk L5 %Fv— 5KH AT H L RIS+ 12,000 |$8E &
Ea—JLT«  [IM6052RAIL RIS S5AKFH AUV L L—IL&IIAVRMyN—t Yk RTA 1,000 |18 # &
Ea—7LT«  |IM6053 IMShtyk 5 %Fv—5KAB (TH L FLoD 12,000 |$8E &
Ea—JLT«  [IM6053RAIL |REFASSAKA AU H L L—IL&IYIAVRIYIN—tyk ALY 1,000 |$8# &
Ea—2JLF«  |IM6055 IMSHtYk TR Fr— 5KHA (JH L 40— 12,000 |15
Ea—JLT«  [IM6O55RAIL RIS SAKMH AU H L L—IIL&IIAVRMyN—tYk 1T O— 1,000 ({54
Ea—7LT«  |IM6056 IMShtyk LT R2Fv—5KA (TH L SAUE— 12,000 |$8E &
Ea—JLT«  [IM6056RAIL RIS SAKA AU H L L—IL&IYIAVRIYIR—tyk SRS — 1,000 |$8# &
Ea—JLT«  |IM6058 IMShtyk L5 %Fv—5KB (TH L TI)IL— 12,000 (A2

Ea—7L7T«  [IM6058RAIL |RMASSAA ATV H L L—IL&IYIAVRIYIA—Yk TIL— 1,000 |$8# &
Ea—JLT«  |IM6059 IMShtyk T %Fv—5KB (THL J)—> 12,000 |$8E &
Ea—JLT«  [IM6O59RAIL [RIEASSAKA ATV L L—IL&IIAVRMyN—tYk J1)—2 1,000 |$8# &
Ex—JLT+« IM60HO IMShtyb ¥ %Fv— US/HPRA L Lk 12,000 |A5

Ea—7LT«  [IM6OHORAIL |3Z#:FES US/HPHA L % yb &I avAhy/i—tyb LR 2,000 |1B# &
Ea—JL7T«  |IM6OH1 IMSht vk o5 %Fv— US/HPALJL— 12,000 (A5

Ea—JLT+4 IMBOHTRAIL |3 #2FHS US/HPHA L vwb &I ARy —tyk JL— 2,000 |5 &
Ea—7JLT«  [IMBOH2RAIL |3Z#EFAS US/HPA L wwhk & YavRbysi—tyk RT A+ 2,000 |58
Ea—2JLT+4 IMBOH3RAIL |3 #2FHS US/HPHA L vk &I AV A byi—tybk AL 2,000 |5 &
Eai—7JLT«  |IMBOH5RAIL |3Z#EFAS US/HPA L wwhk&I YAV A by/A—tyk 4T O— 2,000 |{BEE
Ea—2JLF4  |IMBOH6RAIL |ZFKMEFES US/HPA L T yh&IJaAVAy/A—tyk SARUA— 2,000 |$B&EE
Ea—JLT«  |IMBOHS IMShtvb o5 %Fv— US/HPRA L J)L— 12,000 |A5

Ea—JLT«  |[IMBOHSRAIL |3Z#:FES US/HPH L % yb &I avAhyA—tyk JIL— 2,000 |$B&EE
Ea—7JLT«  [IMBOHIRAIL |3Z#EFAS US/HPA L wwhk & YavRby/i—tyk 51— 2,000 |58
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Ea—2JL74  |IM8120 IMSHt Yk ST RFv— 1288 VT FR 59k LR 18,800 |A3

Ea—2JL7T«  |IM8120RAIL |R#AS 12KA VJFRAyk L—IL&I)AVRbyIA—t vk YR 2,400 (1B E
Ea—2JLT«  |IM8121 IMSHtE Yk V5 2Fv— 12K S5+ REvs FL— 18,800 |A3

Ea—JLT« |IM8121RAIL |XR#AS 12K JFR4yk L—IL &I YAV RIyIs—t1yk FL— 2,400 (1B E
Ea—2JLT«  [IM8122 IMSHt Yk VT RF¥— 12K LT FREYE RTA+ 18,800 |15&i &
Ea—7JLT« [IM8122RAIL |KRIAS 12KH LU FREYk L—IL &I )AVRAMyIA—tyk RIA 2,400 (1B E
Ea—2JL74  |IM8123 IMSHt Yk VT RF¥— 12KR VI FREYN F LoD 18,800 |15&i &
Ea—JLT« |IM8123RAIL |X#AS 12K VJFRAYk L—IL&IYIAVRIyIS—t1 vk AL 2,400 (1B E
Ea—2JL74  |IM8125 IMSHt Yk VT RF¥— 12KR VT FREvk 41TO— 18,800 ({B& &
Ea—JLT«  |IM8125RAIL |XR#AS 12K JFR4vk L—IL &I YAV RIyIs—t vk /IO 2,400 |1BE &
Ea—2JL74s  |IM8126 IMShtyk VT R2Fv— 12KH VT FREYE SRUE — 18,800 |15&i &
Ea—JLT« |IM8126RAIL |R#AS 12K JFREYk L—IL&IYIAVRIyIS—t1yk SR 2,400 (1B E
Ea—2JL74  |IM8128 IMSHt Yk VT RF¥— 12KR VT FREvk TIL— 18,800 |A3

Ea—JLT« |IM8128RAIL |XR#AS 12K JFR4yk L—IL &I YIAVRIyS—t vk T )L— 2,400 (1B E
Ea—2JL74s  |IM8129 IMSHt Yk VT RF¥— 12KR VT FREvN F1)—> 18,800 |15&i &
Ea—JLT« |IM8129RAIL |R#AS 12K JFRAvk L—IL &I YIAVRIyIS—tyk F1)—] 2,400 (1B E
Ea—2JL74  |IM9080 IMSAHtYk VTR Fr— 8KRA AT ILTvh— Lk 19,800 |A4

Ea—JLT«  [IMI08ORAIL |KMAAS8KA AT ILTvh— L—IL&IYIAVAMY/IA—tYk LYk 2,000 |1B#E
Ea—JL7T«  |IM9081 IMSAHtYk T %Fv— 8RR FTINTVvA— JL— 19,800 |A4

Ea—JL7T« |IMIOSIRAIL |R#ASSARA #TITvh— L—IL&IIAVAMYIN—tyb TL— 2,000 |$B&E
Ea—JL7«  [IM9082 IMSAHtYr T 2Fv— 8RR FTILTvA— R"TAb 19,800 |1BE &
Ea—JLT«  |IMI082RAIL |XK#AS 8AKRA AT ILTvhH— L—IL&I)IAVRIyIA—t Yk FRTA 2,000 |$B&E
Ea—7LT«  [IM9083 IMSAHtYk T 2Fv— 8RR FTINTvh— ALY 19,800 |1BE &
Ea—JLT«  |IMIO83RAIL |X#AS 8KRA #TITvh— L—IL&IIAVRIyIA\—t Yk AL 2,000 |1B#E
Ea—7LT«  [IM9085 IMSAHtYk T 2Fv— 8RR ¥ TILTVvh— A(TO— 19,800 |1BE &
Ea—JLT«  |IMIO85RAIL |XR#AS KA #TITvh— L—IL&I)IAVRIy/IA—t Yk 11O 2,000 |$BEH &
Ea—2JL7T«  [IM9086 IMSAHtEYr T 2Fv— 8RR FTINTvH— ST — 19,800 |1BE &
Ea—JLT«  |IMI086RAIL |X#AS 8KRA AT ITvh— L—IL&IIAVRIYINA—t Yk SR 2,000 |1B#E
Ea—2JL74  |IM9088 IMSHtYk T 2Fv— 8RR FTILTVvA— TI)L— 19,800 |A4

Ea—JLT«  |IMI08SRAIL |X#AS8AKRA #TITvh— L—IL&I)IAVRIyIA—t Yk T )L— 2,000 |1B#E
Ea—7L7«  [IM9089 IMSAtYk T 2Fv— 8RR FTINTVvh— J)—> 19,800 |1BE &
Ea—JLT«  |IMIO8IRAIL |XK#AS 8AKRA #TITvh— L—IL&I)IAVRMyIA—t Yk F1)— 2,000 |1B#E
Ea—2JL74  |IM9140 IMSHt Yk VT RF¥— 14KR FTILTvh— Lyk 21,000 |A4

Ea—JLT4 |IM9140-OR |IMSHEYL ST RF¥— F—YRoTa9IS T ITYvh— Lk 22,000 |1B# &
Ea—JLT«  [IMO140RAIL [R#EEAS 14KA FTILTvh— L—IL &IV Rby/A—tyhk Ly 2,400 |$BEE
Ea—JL T«  |IM9141 IMSHtyk VTR Fry— 14KR FTINTvh— JL— 21,000 |A4

Ea—JL7T« [IMI141-OR |IMSHEYk I RF¥— A—VYRoT4vIS AT ILTVvH— JL— 22,000 |1B# &
Ea—JLT« [IMIT41RAIL |RAS 14KA FTILTYh— L—IL&I)AVAMyIA—tyk LA 2,400 |$BHEE
Ea—JLT«  [IM9142 IMSHhtyk VT 2Fv— 14KRB FTILTvh— RIA+ 21,000 |15 &
Ea—JLT4 |IM9142-OR  |IMSHEYL T RF¥— F—VYR2T49IS FTILTYvh— RTA+ 22,000 |1B# &
Ea—JLT«  [IMO142RAIL  [REEAS 14KA AT ILTvh— L—IL &YV Rby/RA—t vk 7R 1 2,400 |1BHEE
Ea—2JLF«  |IM9143 IMShtyk T2 Fv— 14KR FTITvh— AL 21,000 |1B# &
Ea—JL7T«  [IMI143-OR  |IMSHtYk I T RF¥— A—VYRoTavIS FTINTYVh— FLD 22,000 |1B# &
Ea—JLT«  [IMI143RAIL |RAS 14KA FTILTYvh— L—IL&I)IAVAMy/IA—tyk F L2 2,400 (1B E
Ea—7LT«  [IM9145 IMSHhtyk VT 2Fr— 14KRA 5T ILTyvh— (TOo— 21,000 |15 &
Ea—JLT4  |IM9145-OR  |IMSHtEYL ST RF¥— FA—YRoTavIS FTILTYh— ATO— 22,000 |1B# &
Ea—JLT«  [IMI145RAIL  [REEAS 14KA AT ILTvh— L—IL &YV by/RA—tyk 110 2,400 (1B &
Ea—JLF«  |IM9146 IMSHtYE TR Fr— 14KA FTINTIH— SANUE— 21,000 |1B# &
Ea—JLT«  [IMI146-OR  [IMSHEYE DT RFv— A—YFRTavIS FTILTvA— SAUE— 22000 |$BH E
Ea—JLT4  |IM9146RAIL |R#AS 14KRA 4T ILTvH— L—IL&IYIAVRIyIA—t Yk SR 2,400 (1B E
Ea—2JL74  |IM9148 IMSHtYk VT RFr— 14KR FTINLTvh— TIL— 21,000 |A4

Ea—JLT«4 |IM9148-OR |IMSHEYL T RF¥— FA—VYRTavIS ZTITYvh— TIL— 22,000 |1B# &
Ea—JLT«  [IMI148RAIL [REEAS 14KA AT ILTvh— L—IL &I YAV byRA—tyk T 2,400 |$BHEE
Ea—JLF«  |IM9149 IMSht vk T R2Fv— 14KB FTINTvh— J1)—> 21,000 |1B# &
Ea—JL7T«  [IMI149-OR  |IMSHtYk ST RF¥— A—VYKRTav IS BT INTVH— J1)—> 22,000 |15 &
Ea—JLT«  [IMI149RAIL |RIAS 14KA FTILTYvh— L—IL&I)AVAMIA—tyk J1)+ 2,400 (1B E
Ea—2JL74  |IM9200 IMSHt Yk VT RF¥— 20KH FTILTvh— Lyk 25,000 |A4
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Ea—JLT«  [IMI9200RAIL |HEFS 20KA #TILTvh— L—IL&I)IAVAMyIA—tyk LYK 3,800 |1B#EE
Exa—JL7T«  |IM9201 IMSHht b VT %2Fv— 20KB FTILTvh— FL— 25,000 (A4

Ea—JLT4  |IM9201RAIL |X#AS 20K 4T ILTvh— L—IL&IYIAVRIyIs—t vk FLA 3,800 |$B&E
Ea—JL7«  [IM9202 IMSht vk V5 %2Fv— 20KH F T ILTvh— RIAh 25,000 |15 &
Ea—JL7~« IM9202RAIL  |R¥FAS 20K #TILTvh— L—IL&I)AVARy/IA—1 Yk 7R 3,800 |{BHE
Ea—7L7«  [IM9203 IMShtyk LT %Fv— 20KR FTILTvh— FLoP 25,000 |15 &
Ea—JLT«  |IM9203RAIL |R#AS 20KA 4T ILTvh— L—IL&IYIAVRIyIA—t vk AL 3,800 |$B&E
Ea—7LT«  [IM9205 IMShtyk LT 2Fv— 20KH # T ILTvh— ATA— 25,000 |15 &
Ea—JLT«  |IM9205RAIL |R#AS 20K 4T IILTvh— L—IL&IYIAVRMy/A—t Yk 1T 3,800 |$B&E
Ea—JL7T«  [IM9206 IMSHEYR VT RF¥— 20KA FTINTYvH— SANUE— 25,000 |15 &
Ea—JLT«  |IM9206RAIL |R#AS 20K AT ILTvhH— L—IL&IYIAVRIyIA—t Yk SR 3,800 |$B&IE
Ea—2JL74  |IM9208 IMSHt Yk VTR F¥— 20KR FTILTvh— TIL— 25,000 |A4

Ea—JLT«  |IM9208RAIL |XH#AS 20KA AT ILTvh— L—IL&I)IAVRIyISA—t vk T LA 3,800 |$B&IE
Ex—7L7«  [IM9209 IMShtyk V5 2Fv— 20KH T INTvh— J)—> 25,000 |15 &
Ea—JL7~« IM9209RAIL  |R¥AS 20K #TILTvh— L—IL&IAVARyIA—1 Yk 1) 3,800 |{BHE
Ea—2JLT«  |IMCO-FIL3M |IMSiEE TR #7115 — 2,200 |1BE &
Ea—2LT«  |IMCO-INDNA |IMSHEEIVTFTR /1o H—4—h—F 3,000 |1B# &
Ea—7JLT«  |[IMCOM-SEAL |IMSEEI>TF+A SvFEHEMBIES—IL 3,600 |$B&EE
Ea—2JLT«  |IMDINCOOM [IMSEEILTF AL 39,000 ($5E &
Eai—2JLF« |IMDINCOIM |IMSEEIVTFH RAE—IL 40,000 |15 &
Ea—2LT« |IMDINCO2M |IMSEEILTF STA47 L 41,000 |$BEH &
Eai—2JLF« |IMDINCO3M |IMSEEIVTF+ 5—2 43,000 |15 &
Ea—JL7~« IMECC128 IMSHEYS 1V T4=FT« BEAVTFA 12K T)L— 31,000 ($5& &
Ea—7LF7«  [IMN30OHUO IMSAtYk 12 T74=F4 US/HPR S Lk 13,000 |$BE &
Ea—2LT«  |IMN30OHU1 IMSAtYk 12 74=F4 US/HPR S JL— 13,000 |$8E &
Ea—2JLT+4 IMN30HU11 IMSht Yk 42 T74=FT4 US/HPAR S A— v T )L— 13,000 |$B&; &
Ea—2LT«  |IMN30HU2 IMShtyh 12 T74=FT4 US/HPH S FRTJ Ak 13,000 (5%
Ea—7LT«  |[IMN30OHU3 IMShtyh 12 TJ4=FT4 US/HPR S ALY 13,000 |$BE &
Ex—JLT+« IMN30HU4 IMSAtYk 12 T74=F4 US/HPR S /=T )L 13,000 |$5E &
Ea—2JL7+  |IMN30HUS5 IMSHtYh 12T74=T4 US/HPFH S 1T O— 13,000 |$5& &
Ea—2JLT«  |IMN30HU6 IMSHtYr 12 T4=T 4 US/HPA S SRUA— 13,000 |$8E &
Ea—2L7T4  |IMN30HU? IMSAt Yk 12 T74=F4 US/HPR S T5vY 13,000 |1B& &
Ex—JLT+« IMN30HUS IMSAtYr 12 T74=F 4 US/HPA S 7 )L— 13,000 |$5E &
Ea—JLT«  |[IMN30OHU9 IMSAtYk 12 T74=F 4 US/HPA S J)—> 13,000 |1BE &
Ea—2LT«  |IMN4120 IMShtyb 1V T74=T4 12KA Lk 24,000 |$BEH &
Ea—7LF4  [IMN4121 IMShtvb 12 74=FT412KRA JL— 24,000 |$BEH &
Ea—JLT1  [IMN41211 IMSAEYN 1V T4=TFT 1 12KRA A= %2 T )L— 24,000 |1BH &
Ea—JLT«  |IMN4122 IMSAtEYr 12 T4=F 1 12KA R"TA+ 24,000 |$BEH &
Ea—2LT«  |IMN4123 IMShtyh A1V T4=T4 12KA ALV 24,000 |$BEH &
Ea—JLT«  [IMN4124 IMSAHtEYr 1V T4=FT1 12KA =T )L 24,000 |$BEH &
Ea—2JL7«  |IMN4125 IMSHtEYs 12 T4=T 1 12KA 40— 24,000 |1B# &
Ea—JLT«  |IMN4126 IMSAtEYr 1V T4=T 1 12KA ST — 24,000 |1BEH &
Ea—JLT4  |IMN4127 IMSAHtEYr 1V T4=FT1 12KA T3vY 24,000 |1BH &
Ea—JLT«  [IMN4128 IMShtyb 12 74=F412KRA T )L— 24,000 |15 &
Ea—JLT«  |IMN4129 IMSAtEYr 12 T4=FT 1 12KA J1)—> 24,000 |1BH &
Ea—2JLT«  |IMN4160 IMShtyb 12 74=FT4 16 KA Lk 24,000 |15 &
Ea—2JLT«  |IMN4161 IMSHtEY 12 T4=T1 16 KR JL— 24,000 |$BEH &
Ea—JLT4  |IMN41611 IMSHt Y AV T4=F 4 16 KR +— 2T IL— 24,000 |1BE &
Ea—2JLT«  |IMN4162 IMShtybk 12 T74=T4 16 KA KRITA+ 24,000 |1BEH &
Ea—2JLT«  |IMN4163 IMSAtEYr 1V T4=FT1 16 KA ALY 24,000 |15 &
Ea—JLT4  [IMN4164 IMSAtEYr 12 T4=FT1 16 KA /=T 24,000 |1BEH &
Ea—2JL74  |IMN4165 IMSAHtYs 12 T74=T1 16 KA 40— 24,000 |1BH &
Ea—2LT«  |IMN4166 IMSHEYr 1V T4=T 4 16 KA ST — 24,000 |1BEH &
Ea—JL7T«  [IMN4167 IMSAHtEYS 1V T4=FT1 16 KA T5vY 24,000 |$BEH &
Ea—2LT«  |IMN4168 IMSAHtEYr 12 T4=FT4 16 KA TI)L— 24,000 |$BEH &
Ea—JLT«  |IMN4169 IMSAHtEY: 12 T4=FT1 16 KA J1)—> 24,000 |$BEH &
Ea—2LT«  |IMN4200 IMShtybk 12 T74=T4 20KA Lk 24,000 |$BEH &
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Ex—JL7T4  [IMN4201 IMShtyb 12 74=F4 20KRA JL— 24,000 |15 &
Ea—7JLT4  [IMN42011 IMSAtEYR 12 T4=T 4 20K A— %> T )L— 24,000 |$BEH &
Ea—JL7T«  |[IMN4202 IMSAtEYr 12 T74=F 1 20KA RTA+ 24,000 |15 &
Ea—2LT«  |IMN4203 IMShtybh 412 T74=T4 20KA ALV 24,000 |$BEH &
Ea—JLT4  |IMN4204 IMSAHEYr 12 T4=F4 20KA /=T )L 24,000 |1BEE
Ea—JLF«  |IMN4205 IMSHtYs 12 T4=T4 20 KA 40— 24,000 |1B# &
Ea—7JLT«  |IMN4206 IMSAEYR 12 T4=F 4 20KH ST — 24,000 |15 &
Ea—2JLT4  [IMN4207 IMSAtEYr 12 T4=F4 20KA T5v7 24,000 |$BEH &
Ex—JLT«  |[IMN4208 IMShtyb 12 74=F4 20K T )L— 24,000 |15 &
Ea—2LT«  |IMN4209 IMSAtEYr 12 T4=F 1 20KA J1)—> 24,000 |$BEH &
Ea—JLT«  |IMN5080 IMShtvb 12 74=FT4 8KA LYK 19,000 |$8E &
Ea—2JL T«  |IMN5081 IMSHtEYr 12 T74=T1 8K JL— 19,000 |15
Ea—JLT«  [IMN50811 IMShtEvb 1V 74=T4 8 KA A= v T IL— 19,000 |$8E &
Eai—7JLT«  [IMN5082 IMSAHtEYr 12 T74=T« 8 KA RTA+ 19,000 |$BE &
Ea—7LT«  |[IMN5083 IMShtyb 1V 74=FT4 8RR AL 19,000 |18E &
Ea—2JL T«  |IMN5084 IMSAHtEYr 12 T4=F4 8KA /=T )L 19,000 |$5 &%
Ea—2JL7+  |IMN5085 IMSAHtYs 1V T74=T 1 8KA 40— 19,000 |$5& &
Ea—2JLF«  |IMN5086 IMSAHtEYr 12 T4=T 4 8RR IAUHT— 19,000 |15
Ea—2JL7T«  [IMN5087 IMShtvb 12 74=T4 8RR T5vY 19,000 |18E &
Ea—2JLF«  |IMN5088 IMSAtYr 12 T74=F 4 8KA TIL— 19,000 |$5 &%
Ea—2JL7+  |IMN5089 IMShtyb 12 74=FT48KR J1)—> 19,000 |$5& &
Ea—2LT«  |IMN5100 IMShtybh 12 T74=T4 10KA LYk 19,000 |$BE &
Ex—JL74  [IMN5101 IMShtyb 12 74=FT4 10KRA JL— 19,000 |$BE &
Eai—7JLT«  [IMN51011 IMSAtEY 1V T4=T4 10K A— %> T )L— 19,000 |$BE &
Ea—JL7«  |[IMN5102 IMSAtEYr 12 T74=FT 4 10KA R"TA+ 19,000 |$BE &
Eai—7JLF«  [IMN5103 IMSAtEYr 12 T4=T4 10KA ALY 19,000 |$BE &
Ea—JL7T4  |IMN5104 IMSAtEYr 12 T4=FT4 10KA /=T 19,000 |5 &%
Ea—2JLF«  |IMN5105 IMSHtEYs 12 T4=T4 10KA 4TO0— 19,000 |15
Ea—7JLT«  |IMN5106 IMSAHEYR 1V T4=T 4 10KA ST — 19,000 |$BE &
Ea—2LT«  |IMN5107 IMSAtEYr 1V T4=T4 10KA T5vY 19,000 |$BE &
Ea—7LT«  [IMN5108 IMShtyb 12 74=FT4 10KH T )L— 19,000 |$BE &
Ea—2LT«  |IMN5109 IMSAtEYr 12 T4=FT14 10KA J1)—> 19,000 |$BE &
Ex—JLT«  |[IMN6050 IMSHtEY 1V T4=FT4 5KA ATH L Lk 14,000 |$8E &
Ea—2JL T«  |IMN6051 IMSAHEY 1V T4=T4 SRR ATH L JTL— 14,000 |15
Ea—2LT4  |IMN6051T IMSHEY A1V TA=FTA4 SRR AT L F—2rv2T)L— 14,000 |15
Ea—2JLT«  |IMN6052 IMSAHtEYr 1V T4=FT 4 5KA AT H L KT+ 14,000 |85 &
Ea—2JLT«  |IMN6053 IMShtyb 1V T74=FT4 5KRB ATV L ALY 14,000 |$8E &
Ea—2JL T«  |IMN6054 IMSHEYE AV T4=T A 5KB AT H L IX\—=T L 14,000 |15
Ea—2JL7+  |IMN6055 IMShtvb 1V 74=T45KRA ATV L ATO0— 14,000 |15
Ea—2LT«  |IMN6056 IMShtybk A1V 74=TFT4 5KR ATH L SRUE— 14,000 |$8E &
Ea—JL7T4  |IMN6057 IMShtyb A1V T74=T45KRB ATV L T5vY 14,000 |15
Ea—2JLF«  |IMN6058 IMSHtEY 1V T4=FT 4 SRR ATH L TIL— 14,000 |15
Ea—2JL7+  |IMN6059 IMShtyb 1V T74=FT4 5KRB AT L J)—> 14,000 |15
Ea—7JLF«  |[IMN6OHO IMSAtYk 12 T4=F4 US/HPHA L Lk 14,000 |$8E &
Ea—JL74  |[IMN6OHT IMSAtY 12 T74=FT4 US/HPR L JL— 14,000 |$8E &
Ex—JLT+« IMNG6OH1 1 IMShtEYk /12 T74=FT4 US/HPAR L A— v T )L— 14,000 |$5E &
Ea—JLT«  [IMN6OH2 IMShtybk 12 74=F4 US/HPR L RD A+ 14,000 |$8E &
Ea—7JLT«  [IMNGOH3 IMSHtYr 12 T4=T4 US/HPR L ALY 14,000 |$8E &
Ea—JLT«  |[IMN60H4 IMSAtYr 12 T4=F4 US/HPA L /A\—T )L 14,000 |$8E &
Ea—2JLF«  |IMN6OH5 IMSHtYs 412 T4=T 4 US/HPE L AZA— 14,000 |15
Ea—2JL7«  |[IMN60H6 IMShtyb 12 74=FT4 US/HPR L SRUA— 14,000 |$8E &
Ea—2JL T«  |IMN6OH7 IMSAtYr 12 T74=F 4 US/HPA L T5vY 14,000 |15
Ea—2JL7«  |[IMN6OHS IMSAtYr 12 T74=F4 US/HPAR L T JL— 14,000 |$8E &
Ea—2JLF«  |IMN6OH9 IMSAtYk 12 T74=FT 4 US/HPR L J1)—> 14,000 |15
Ea—27LT«  |[IMN7000 IMSHtEY 1V T4=T 4 SOATS574—H 18,000 |1BE &
Ea—2JLF«  |IMN8120 IMSAHtEYS 1V T4=FT 1 12KA T FR29k LYK 22,000 |$BEH &
Ea—JLT«  [IMN8121 IMSHE YR AV T4=T 4 12K L5 FRBvk FL— 22,000 |15 &
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Ea—2JLT«  |IMN81211 IMSHtEYR 1V T4=TFT 1 12KRA VT FREYN A= v T )L— 22,000 |1B# &
Ea—JL7T+4  |IMN8122 IMSHt Yk A2 T4=F 1 12K V5 FRByk RTAk 22,000 |1B# &
Ea—2JLF«  |IMN8123 IMSHt Y AV T4=TFT 1 12K VT FREYN F LD 22,000 |1B# &
Ea—JL7T4  |IMN8124 IMShtybk A1V 74=FT4 12KH 5 FREyk 1I—=TF )L 22,000 |1B# &
Ea—2JL7«  |IMN8125 IMSAtEYr 12 T4=FT 1 12KA T FREvk 4T O— 22,000 |1B# &
Ea—2JL7+  |IMN8126 IMShtybk A1V 74=FT4 12KH VT FREYE SRUE— 22,000 |1B# &
Ea—JL T«  |IMN8127 IMSAHEYS 1V T4=TFT 1 12K LT FREYN TS99 22,000 |1B# &
Ea—2JL7+  |IMN8128 IMSHtEYs A1V T4=FT 4 12KAB V5 FR A9k TI)L— 22,000 |1B# &
Ea—2JLF«  |IMN8129 IMSHEYS 1V T4=TFT 1 12KRA LT FREYE J1)—> 22,000 |1B# &
Ea—2JL7+  |IMN9080 IMSHtYE 1V T74=T4 8RB T ILTvh— LK 23,000 |1B# &
Ea—2LT«  |IMN9081 IMSAtEYS 1V T4=T4 8KA FTITvh— JL— 23,000 |1B# &
Ea—2LT4  |IMN9081T IMSAHEY 1V T4=TFT4 8RR FTINTYh— A—vTIL— 23,000 |1B# &
Ea—2LT«  |IMN9082 IMSAHtEYr 12 T74=F4 8KA FTILTvh— KT+ 23,000 |1B# &
Ea—2JL7+  |IMN9083 IMSAHtEY 12 T4=T4 8RR FTITvh— ALY 23,000 |1B# &
Ea—2LT«  |IMN9084 IMSAtEYS 12 T4=T4 8RR FTILTvh— IS—=T)L 23,000 |1B# &
Ea—2JL7+  |IMN9085 IMSAtEY 1V T74=FT4 8KA FTITvh— A4T0O— 23,000 |1B# &
Ea—2JLF«  |IMN9086 IMSAEYS 1V T4=T 4 8KA FTITVvh— IRUF— 23,000 |1B# &
Ea—JL7T4  |IMN9087 IMSHtEY 1V T4=T4 8RR FTITvh— TIvY 23,000 |1B# &
Ea—2JLF«  |IMN9088 IMSHtEY 12 T4=T4 8RR FTITVvH— TI)L— 23,000 |1B# &
Ea—2JL74  |IMN9089 IMSAHtEYS 1V T4=FT4 8KA FTINTvh— )=V 23,000 |1B# &
Ea—2JLFT«  |IMN9140 IMSHtEYS 1V T4=TFT 1 14KA FTILTvh— LyF 24,000 |1B# &
Ea—2JLT+4 IMN9140-0  [IMShtyb 12 T4=FT4 A—YS FT LT vh— Lk 25,000 ($5E &
Ea—2LT4  |IMN9141 IMSAHEY 1V T4=T4 14KA FTITVvh— JTL— 24,000 |$BEH &
Ea—7L7«  [IMN9141-0 |IMShEYk A2 T74=FT4 A—VYS ZTILTvh— JL— 25,000 |15 &
Ea—JL7T«  |IMN91411 IMShtEYb 1V T74=T4 14RB FTNTIh— A= T IL— 24,000 |1B# &
Ea—2JLT+4 IMN91411-0  [IMSHAEYS 1V T4=FT4 A—YS FT LT Yh— A= ¥ T)L— 25,000 ($5E &
Ea—JL T«  |IMN9142 IMSAtEY: 1V T4=FT 4 14KA FT T vh— KRITAh 24,000 |1B# &
Ea—JL7T«  [IMN9142-0 |IMSHtYk A12T74=FT4 A—VYS T ILTvh— KT+ 25,000 |15 &
Ea—2JLF«  |IMN9143 IMSHtEY 1V T4=T 4 14KRRA FTITvh— ALY 24,000 |1B# &
Ea—JL7T«  [IMN9143-0 |IMSHEYk 12 T74=FT4 A—VYS ZTILTvh— AL 25,000 |15 &
Ea—2JL T«  |IMN9144 IMSAHEYS 1V T4=T 4 14KRRA FTILTvh— IR—=T)L 24,000 |$BE &
Ea—JLT« [IMN9144-0 |IMSHEYL A2 T4=T4 A—VYS ZTILTvh— =T 25,000 |1B# &
Ea—JLF«  |IMN9145 IMSHtEY 1V T4=FT4 14KA FTITYvh— A4T0O— 24,000 |1B# &
Ea—JL7T«  |IMN9145-0 |IMSHtYk /2 T74=FT4 A—VYS ZTILTvh— AT O— 25,000 |15 &
Ea—JLF«  |IMN9146 IMSAHEYS 1V T4=TFT 4 14KRA FTITYvh— IRUF— 24,000 |1B# &
Ea—JLT« [IMN9146-0  [IMSHEYr 1V T4=FT4 A—YS T ILTyh— SRUHE— 25,000 |15 &
Ea—JLF«  |IMN9147 IMSHEYS 1V T4=T4 14KRRA FTITvh— TIvY 24,000 |$BE &
Ea—JL7T« [IMN9147-0 |IMSHhtYh 12 T4=F4 A—VYS ZTINTvh— T3vH 25,000 |1B# &
Ea—JLF«  |IMN9148 IMSAtEY 1V T4=T 4 14KRRA FTITvHh— TI)L— 24,000 |1B# &
Ea—7JLT+4 IMN9148-0  |IMShtyb 1V T74=FT4 A—YS ZTILTVvh— TIIL— 25,000 ($5E &
Ea—JLF«  |IMN9149 IMSAEYS 1V T4=FT4 14KA FTINTvh— J)—> 24,000 |1B# &
Ea—JL7T«  [IMN9149-0 |IMShtYk A2 T74=FT4 A—VYS ZTILTvh— J1)—> 25,000 |15 &
Ea—2JLF«  |IMN9200 IMSHt Y A2 T74=T4 20KH FTILTvh— LYk 29,000 |1B# &
Ea—JL7T4  |IMN920T IMSHt Y AV T74=FT 4 20KR £ TINTvh— FL— 29,000 |1B# &
Ea—2JLT«  |IMN92011 IMSHEYS 12 T4=FT 4 20KA FTINTYh— F—vTIL— 29,000 |1B# &
Ea—JLT4  |IMN9202 IMShtyb 12 74=F4 20KH #TILTvh— KITAh 29,000 |1B# &
Ea—2JLF«  |IMN9203 IMSHtEYr 12 T4=T 1 20KA FTITvh— ALY 29,000 |1B# &
Ea—JL7T4  |IMN9204 IMSHtYE AV T4=T4 20K ZTINTvh— =T )L 29,000 |1B# &
Ea—2LT«  |IMN9205 IMSHtEYr 12 T4=F 4 20KA FT)LTvh— A4T0O— 29,000 |15 &
Ea—2JL74  |IMN9206 IMShtyb 12 74=T4 20KA T ITvh— SRE— 29,000 |1B# &
Ea—JLF«  |IMN9207 IMShtyb 12 74=FT4 20KA T INTVvh— TS99 29,000 |$BEE
Ea—2JL74  |IMN9208 IMShtybk 12 74=FT4 20KAB T ILTvh— TIL— 29,000 |1B# &
Ea—2LT«  |IMN9209 IMSAtEYS 12 T4=F 4 20KA FTITvh— JT)—> 29,000 |15 &
Ea—7LT«  |[IMNORTHL4 |IMSHtYk A2T4=FT4 A—Y L&EE )X—=T )L 27,000 |$BEH &
Ea—2LT«  |IMNORTHL8 |IMSHtwk /2 TJ4=F4 A —Y LER J)L— 27,000 |5 &
Ea—2JLT«  |[IMNORTHLY [IMSHEYr AU T4=TFTa A=Y LBE H)—> 27,000 |$BEH &
Ea—7JLT4 [IMNORTHS4 |IMSHtYk A2T4=T4 4A—Y S EE /=T )L 22,000 |5 &
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Ea—2LT«  |[IMNORTHS8 |IMSAhtwk /2 04=F4 #A— S &E& J)L— 22,000 |$BEH &
Ea—2JL7«  |IMNORTHSY9 [IMShtvyk A2 T4=F4 A—Y S &E& J1)—> 22,000 |1B# &
Ea—7L74  [IMNOSO IMShtyb A1V T4=T4 A—F )Y —Dxl)— Lk 37,000 |15 &
Ea—2LT4  |IMNOST IMSAEY 1V T4=FT o A—TNWNHY—Dx)— JL— 37,000 |1B# &
Ea—2JLT+4 IMNOS11 IMSHEYE AV T4=T 4 A—FNH—Dx)— F— % T I)L— 37,000 |$5& &
Eai—7JLT«  [IMNOS2 IMShtyb A1V 04=T4 A—F )Y —Dxl)— RIS+ 37,000 |$BEH &
Ea—27LT«  |IMNOS3 IMShtyb AV 04=T4 A—F Y —Dxl)— FLoD 37,000 |15 &
Ea—JL7~« IMNOS4 IMSAEYS 1V T4=FT 4 A=Y —Dx)— R—=T)L 37,000 ($5& &
Ea—2JLT+4 IMNOS5 IMShtyh 1V 04=T4 A—F )Y —D1))— 4T A— 37,000 |$5& &
Ea—2JLF«  |IMNOS6 IMSAEYS A1V TA=TFT o A=Y —Dx)— ST — 37,000 |1B# &
Ea—2L7T4  |IMNOS7 IMSAEYS A1V T4=FT o A=Y —x)— T5vY 37,000 |1B# &
Ea—2LT«  |IMNOSS IMSHEY 1V T4=FT 4 A—FNHY—Dx)— T)L— 37,000 |$BEH &
Ea—27LT«  |IMNOS9 IMSAtEYS 1V T4=FT o A—TNHY—Dxl)— J1)—> 37,000 |5 &
Ea—JL7~« IMORTHLG8  |IMSHtYh VT RFr— A—V L &EH J)L— 23,000 (A5
Ea—2JLF4  |IMORTHSM8 [IMShtyk 5 %Fv¥— F+—Y S &R J)L— 18,000 |A5
Ea—2JLF«  |IMOSO IMSHtYk VT 2Fv— A—FILH—Dx)— Lk 32,000 |A5
Ea—2JLF4  |IMOSORAIL |X#RAS A—JILHY—Cx)—F L—IL &P aVRby—tyk Lyl 3,800 |$B&EE
Ea—JL7T4  |IMOST IMSAHtEYr DT RFv— A—TIWH—Dx)— JL— 32,000 |A5
Ea—7LT« [IMOSIRAIL |REAS A—FIY—Tx)—HFH L—IIL&IYaAVRMyA—tyk L 3,800 |$B&EE
Ea—2JLT«  |IMOS2 IMSHtYk DT 2Fv— A—F)LH—Tx)— RIAk 32,000 |5 &
Ea—JL74 |IMOS2RAIL |RMAS A—JILH—Tx)—A L—IL &IV RMyI—t Yk R 3,800 |$B&EE
Ea—2JL7«  |IMOS3 IMSHtEYE DT RFv— A—FILH—Dxl)— AL 32,000 |1B# &
Ea—7LT« [IMOS3RAIL |RAS A—FIY—Tx)—H L—IL&IYIAVRMIS—tyk AL 3,800 |$B&EE
Ea—2JLF«  |IMOS5 IMSAHtYr VT RFv— A—FLH—Px)— /T O— 32,000 |1B# &
Ex—7LT« [IMOS5RAIL |RAS A—FIY—Tx)—H L—IL&IYIAVRIIS—EYh (T 3,800 |$B&EE
Ex—7LT«  |IMOS6 IMSHtEYr DT RFv— A—FIH—Dxl)— SRUH— 32,000 |5 &
Ea—7LT« [IMOS6RAIL |R¥AS A—FIY—Tx)—HFH L—IL&IYIAVRIyIS—tyk SR 3,800 |$B&EE
Ea—2JL7«  |IMOSS IMSAtYr T RFv— A—FH—Dx)— T)L— 32,000 |A5
Ea—2JLF4 |IMOSSRAIL |XR#FAS A—JILHY—Cx)—F L—IL&SaVvRby—tyk T4 3,800 |$B&EE
Ex—7LT«  |IMOS9 IMSHtYk VT 2Fv— A—SLH—Dx)— J1)—> 32,000 |5 &
Ea—2JLT« |[IMOSORAIL [K#AS A—FIWH—Cx)—F L—IL&IAVAMyA—tyk )] 3,800 |1BH &
Ea—JLT4  |IMP204SDT |4V TSURRT—5— FA32 204SD #6 9,800 |$5&) %
Ea—JLT4  [IMP300 YAFRYTRADRYIL A THEE 300 #4 12,000 |$5& %
Ea—JLT«  [IMP3006 YAFR)ITR R YIL AU TEE 300 #6 12,000 |D104
Ea—7JLT+4 IMP300SIM YAFR)IA DAYV AU 24 [EE #6 12,000 |D104
Eai—7JLT«  |[IMP300X YAFR)ITR R YIL AU THEE 300 BL 13,000 |1BE &
Ea—2JLT«  [IMP6343S YAFRITADRYIL AU TEE 725 #522 12,000 |$5& %
Ea—2JLT4  |IMP6343S6  |HAFRUTRAURYILA HEE 725 #6 12,000 |D104
Ea—2JLT«  [IMP6344S YAFRITADRYIL AU TEE 709 #522 12,000 |58
Ea—2JLT4  |IMP6344S6  |HAFRUTRAURYILAT HEE 709 #6 12,000 |D105
Ea—JLT4  [IMP6345-71 |[HAFRYTRADRYILA EEE 3mm #10 12,000 |$8E &
Ea—2LT4  |IMP6345S YAFRYTRA DR YL A THEE 3mm #522 12,000 |15
Ea—2JLT+4 IMP6345S6 | B A FRIITRARYIJLAU [EE 3mm #6S 12,000 |D104
Ea—2LT4  |IMP6346S YAFRYITA R YL AN THEE T #522 12,000 |15
Ea—JLT«  |IMP6346S6 | HAFRUTRAURYILA [EEE 7 #6 12,000 |D105
Ea—2LT«  |IMP6347S YAFRYTRADRYIL AU THEE 914 #522 12,000 |15
Ea—JLT«  |IMP6347S6  |HAFRUTRADRYILAUN THEE 914 #6 12,000 |D105
Ea—JLT«  |IMP6522 R—2USTRR9—T #10 13,800 |D55
Ea—JLT«  |IMP65226 R—=2FS5T0R9—T 46 13,800 |D55
Ea—2LT4  |IMP6522X R—2U5T0R9—T BL 14,800 |1BE&
Ea—JL T4« IMP6523S YAFRI)ITA R YILAUS [EE 6523S #10S 12,000 |$5E &
Ea—JLT«  [IMP6523S6  |HAFRUTRAURYJLAL [HFE 6523S #6 12,000 |D105
Ea—JL T4« IMP6524S YAFR)ITA U RYILAUS [EE 6524S #10S 12,000 |$5E &
Ea—JLT1  [IMP6524S6 | HAFRUTRAURYJLAL [HFE 6524S #6 12,000 |D105
Ea—2JLT+4 IMP6577SC | HAFTRUTRAVRAYVILAVE JLAI—-FREVX THEE 6577 #10S 12,000 |$B&; &
Ea—JLT4  |IMP6577SC6 |HAFRUTRAURYILAUE JLAT—REVX A 6577 #6 12,000 |D106
Ea—2JLT+4 IMP6577SCX | HAFTARUTRAVRYVILAVE HLAI— - FEVX TiEE 6577 BL 13,000 |D106
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Ea—JL7T«  |IMP6578 YAFR)IMMURYIL AU JLAT— REVX TEE 6578 #2 12,000 |$8E&
Ea—2JLT+4 IMP65786 YAFRAYTA DRV AU HLAT— REV X [EE 6578 #6 12,000 |D106
Ea—JLT4  |IMP6578SX |HAFRUTFAURYILAUE JLAT—REX THiEE 6578 BL 13,000 |D106
Ea—JLT«  |IMP7044K HAFRAVIRDRYIL AU THEE T044K #6 13,000 |$BE &
Ea—2L7«  |IMPBC R—=2059v— 36,000 |5 &
Ea—2JLT«  |[IMPHDL6 AVTSH5T IN\URIL #6 2,000 |1B# &
Ea—2LT«  |IMPJO6 YAFRYTADRYILAUS D3/N/EW) 6 TEE #522 12,000 |$8E &
Ea—2JLT+4 IMPJOG66 YA FRVIAVAYILAUS D378 /E ) 6 THEE #6 12,000 |D106
Ea—7JLT«  |IMPJO76 HAFRAVIRURYIL AV Das\/EwY T TEE #6 12,000 |D108
Ea—2JLT+4 IMPL204S A5 71 Fv7 BEAEH 204S 1248 9,600 |C24
Ea—JLT«  |IMPL204S6 |42 TS5 71 ¥k B 204S FyT 1248 /\UF VTR 11,200 |(C24
Ea—2JLT+4 IMPLAR/AL (A2 TS4 71 Fv7 2AVET7KRESR 4R/4L 1248 9,600 |C24
Ea—JLT4 |IMPLAR/ALE |42 TS 71 Fyb aOVETRZER AR/4AL FyT 1248 N\F VIR 11,200 |(C24
Ea—JLT« |[IMPLBH5/6 |[4>F34 710 Fv7 /3—/NJLE5/6 1248 9,600 |1E& &
Ea—JLT« |IMPLBH5/66 |A>F354 71T Fvbk/N—2n\JLk5/6 FyT1288 NURILIK 11,200 |15
Ea—2JLT+4 IMPLG1/2T (AT SUMRY—5— FHAY SUH— 1/2 #6 9,800 |$BH &
Ea—2L7T«  |IMPLH6/7 AT T 0 Fy7 EELTHH6/HT 1248 9,600 |C24
Ea—2JLT4« IMPLH6/76 AT T Fyb FELTR H6/HT FyT 1288 N\URILTK 11,200 |C24
Ea—2JL7« |IMPLLG1/2 (AT 70 Fv7 20— 1/2 1248 9,600 |C24
Ea—2LT« IMPLLG1/26 |A 7545710 vk S0H—1/2 FyT1288 N\URILIKR 11,200 |C24
Ea—2JL7«  |IMPLSORT ATS5T7 0 FvT 77—k 1248 9,600 |C24
Ea—2LT« IMPLSORT6 (/27354710 Fyb 7Y—b Y TURF—)L FvT1248 11,200 |C24
Ea—2L7T«  |IMPM1/2T AVTIUNRT—5— FRAUZ=T747 1/2 #6 9,800 |$5&; %
Ea—2L7T4  |IMPMI1/12T |[AVTSURRT—5— FRUZZT747 11/12 #6 9,800 |$5&; M
Ea—JL7«  |IMPMI3/14T [AVTSURRY—5— FAU SZTJ747 13/14 #6 9,800 |$5&; %
Ea—JLT4 [IMPROMP16 |HAFRYITRAVRYILAVE AR 1 #6 12,000 |D106
Ea—2LT4  |IMPROMP26 |HAFRUTRURYILAUE AVRY 2 #6 12,000 |D107
Ea—JLT4  [IMPROMP36 |HAFARVITRAVRAYILAVE AV 3 #6 12,000 |D107
Ea—2LT«4  |IMPSIMI HAFRA)IRVRAYIL AN THEE 1 3.5mm #10S 12,000 |$8E &
Ea—JLT«  |IMPSIM16 HAFRA)IRURAYIL AN THEE 1 3.5mm #6 12,000 |$8E &
Eai—JLT«  |IMPSIM36 A2TF5ohT0—T V34 #6 5,000 (D58
Ea—2JLT+4 IMPSTE1/26 |HAFTRUTRAURYILAVE B—F—-TRXO— #6 6,200 |$EH &
Ea—JLT4  [IMPURBAN16 |HAFRUTRAVRYJLAUS T—/ 2 1 #6 12,000 |D107
Ea—7JLT+4 IMPURBAN26 |HAF+RUTRAURYILAUS T—I\2 2 #6 12,000 |D107
Ea—2LT4  |IMPURBAN36 |HAFRUITRAUVRYILAVL T—1\2 3 #6 12,000 |D107
Ea—2JLF4  |IMS-1200H [IMSHY)—=LFE=4— HRILE— 1A 6,200 [A13
Ea—JLT« [IMS-1200U |IMSHY—=JE=4— BEIRESEF[ASOA 14,000 |A13
Ea—2JLT4 IMS-1200W  [IMSHOY—Z=2 T E=R— DAY v—TARA2 75— 50A 14,000 (A13
Ea—2JLF«  |IMS-1210 IMSA—FoL—T5v7 L 610X610mm 500 A 32,000 |A15
Ea—2JL74s  |IMS-1210H  [IMSA—kIL—T 3% L 610X610mm 100 A 6,600 |A15
Ea—2LT«  |IMS-1211 IMSA—FoL—T 57 S 380X380mm 1000 A 27,000 |A15
Ea—2JL74 |IMS-1211H  |[IMSA—FIL—T3v7 S 380X380mm 100 A 3,000 |A15
Ea—2JLT4  |IMS-1212 IMSA—FoL—T 57 L 508X508mm 500 A 25,000 |A15
Ea—2LT«  [IMS-1212H  |IMSA—FIL—T 5w L 508X508mm 100A 5200 |A15
Ea—2JLF«  |IMS-1213 IMSA—roL—T 57 S 305X305mm 1000 A 20,000 |A15
Ea—2JL74 |IMS-1213H  [IMSA—FIL—T3v7 S 305X305mm 100 A 2,200 |A15
Ex—JLT+« IMS-1214 IMSA=/3—% L5y L 610X610mm 500 A 26,000 |EEE
Ea—JL T4« IMS-1214H  |IMS1=/\—%)L5v 7 L 610X610mm 100 A 5400 |$BH &
Ea—2JLT«  |IMS-1215 IMS2=/3—¥)L5vT S 380X380mm 1000 A 23,000 |1B# &
Ea—7JLT4  |IMS-1215H  [IMSA=/\—4 /L5y S 380X380mm 100 A 2,600 |$BHEE
Ea—2JLT«  |IMS-1216 IMS=/N\—% LS5y L 508X508mm 500 A 24,000 |1BEH &
Ea—JL T4« IMS-1216H  |IMS1=/\—% )L 5w L 508X508mm 100 A 5,000 |$E& &
Ea—2LT«  |IMS-1217 IMS2=/3—%)L5v T S 305X305mm 1000 A 20,000 |1B# &
Ea—7JLF«  [IMS-1217H  [IMS2=/A—#/LS5vT S 305X305mm 100 A 2,200 |1B#EE
Ex—7JLT«  [IMS-1218 IMS FA1)—41)—> 2.27KG 14,800 |1BE &
Ea—JL T4« IMS-1220 IMS T A1)—%1)—> 500G 4,800 |A10
Ea—JLT«  |IMS-1222 I HAIVIR B Fa—TRA4T 40N 14,000 [A11
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Ea—2JLT«  [IMS-1226 I AT YIR & RRILRAT 3800ml 1A 15,600 |15
Ea—2JL7«  |IMS-1226P [I HA<vU R RMLARLT 3800mIMH 800 |$B&IE
Ea—2JLT+4 IMS-1229 I HFAIYIR RTL—T )L 709ml 2,800 |A12
Ea—JL7T«  |IMS-1230 I AT VIR ¥ iRk ILEAT 800G 1 A 8,200 |A11
Ea—2JLT«  |IMS-1234 IMS IDZ~)L 50 A 4,600 |1BEE
Ea—2JLT«  |IMS-1235 IMS ID¥—H— 1,400 [A7
Ea—JLT«  |IMS-1236 IMS/\S T B/ S F 89X229mm 200 A 2,400 |A16
Ea—JL7~« IMS-1237 IMS/\S T & /8 F 190X330mm 100 A 3,000 |A16
Ea—2JLT+4 IMS-1238 IMS/\S TR E 7\ F 254X356mm 100 A 5,600 |A16
Eai—7JLT«  [IMS-1239 IMS/ A TR &/ S™F 305X432mm 100 A 7,400 |A16
Ea—2JLT+4 IMS-1240 IMSA> o r—A—Z M)y TR 250 A 4,800 |A14
Ea—JLF«  |IMS-1241 IMS 95 R5 A7 45L—4— AR)yTZX 100A 3,800 |A14
Ea—7JLT«  [IMS-1243 IMSE=2—FT—T #— 3200 |{BEH &
Ea—JLT«  [IMS-1247 IMSE=4—T—7 R#E 3200 |{BEH &
Ea—JLT«  |IMS-1248 IMSE=4—T—7 41 # 3200 |{BEH &
Ea—2LT«  |IMS-1251 IMSE=4—T—7 7YILHL 3200 |{BEH &
Ex—7LT«  [IMS-1252 IMSE=4—7—7 C&B 3200 |BEH &
Ea—2JLT«  |IMS-1253 IMSE=2—T—7 A K 3200 |{BEH &
Ea—2JLT«  |IMS-1254 IMSE=4—T—7 aVRI vk 3200 |BEH &
Ea—2LT«  |IMS-1255 IMSE=4—FT—7F TUK 3200 |1B#E
Ea—7JLT«  |IMS-1256 IMSE=42—T—T 2& 3200 |$BEH &
Ea—2JLT«  |IMS-1257 IMSE=42—7—7 {kiF 3200 |{BEH &
Ea—7JLT«  [IMS-1258 IMSE=A2—T7—7 R#F 3200 |1B#E &
Ea—2LT4  |IMS-1259 IMSE=42—7—7 % 3200 |{BEH &
Ea—7LT«  [IMS-1260 IMSE=42—F—T /NR 3200 |$BEH &
Ea—2LT4  |IMS-1262 IMSE=42—FT—T JL— 3200 |{BEH &
Ea—7LT«  |IMS-1263 IMSE=A—FT—TF AL 3200 |$BEH &
Ea—JL7~« IMS-1264 IMSE=A2—FT—T /=T )L 3,200 |A16
Ea—JLT«  |IMS-1265 IMSE=42—F7—7 4T0— 3,200 |A16
Ea—JL7~« IMS-1266 IMSE=2—F7T—7 Lk 3,200 |A16
Ea—2JLT7«  [IMS-1267 IMSE=2—FT—T J1)— 3,200 |A16
Ea—JL7~« IMS-1268 IMSE=A—F7—T J)L— 3,200 |A16
Ea—7LT«  [IMS-1269 IMSE=S—T—T T35v¥ 3,200 |A16
Ea—2LT«  |IMS-1270 IMST—TTAAR Y — 9K 13,600 |A16
Ea—JLT«4 |IMS-1270H |[IMST—TTFTARARUY— 4KA 13,000 |A16
Ea—JL7+« IMS-1271 IMS/A—YiRy I X(S) 4,600 |A6
Ea—7JLT+4 IMS-1273 IMS/S—YiRw 9 R (L) 6,200 |A6
Ex—JLT+« IMS-1275 IMSTURRAUR 24K A 10,400 |A6
Ea—2JLT74« IMS-1275D IMSTURRAUR 48KF 10,400 |A6
Ea—JL7+« IMS-1278 IMSAHEYRL D VERYUYT L3WAYD YT R 1,400 (A6
Ea—JL74s  |IMS-1279 IMSAHEYRL O VERY)YT S 3WAYD VD 1,400 |18 8
Ea—2JLF«  |IMS-1280 IMSHhS—a—K>% 90N 7Y—hk 3,600 |A7
Ea—2JLF«  [IMS-1280L  |[IMSHS—a—KYL%4 L9OA 7Y—hk 3,600 |A7
Ea—2JLT«  |IMS-1281 IMSHhS—a—K>% 50 ' L— 2,000 |A7
Ea—2JL74  |IMS-12810 IMSHhS—a—K1J>%J 50N EVY 2,000 |A7
Ea—2JLT«  |IMS-12810L |IMSHS—a—KYL 4 L50A EVY 2,000 |A7
Ea—2JLT7T«  |[IMS-12811 IMSHhS—a—KRJ2% 50 A SRUA— 2,000 |A7
Ea—2LT«  |IMS-12811L [IMSAS—a—KYL%S L50A SRUA— 2,000 |A7
Ea—JLF«  |[IMS-1281L  |IMSHAS—a—KYL 4 L50A FL— 2,000 |A7
Ea—2JLT«  |IMS-1282 IMSAS—a—K1J>YJ 50 A RITAk 2,000 |A7
Ea—JLT«  [IMS-1282L  |[IMSHS—a—KY2% L50A FRTAk 2,000 |A7
Ea—2JLF«  |IMS-1283 IMSHhS—a—K>%Y 50N ALV 2,000 |A7
Ea—JLF«  [IMS-1283L  |IMSHS—a—FKY24 L50A ALY 2,000 |A7
Ea—2LT«  |IMS-1284 IMSHhS—a—K1>% 50N TS5V 2,000 |A7
Ea—JLFT« [IMS-1284L  |[IMSHS—a—KYL4 L50A TS5 2,000 |A7
Ea—JLT«  |IMS-1285 IMSHhS—a—K>% 50 A 1 TO— 2,000 |A7
Ea—2JLFT«  |[IMS-1285L  |IMSHAS—a—KY %4 L50A 1TA— 2,000 |A7
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Ea—JLF«  |IMS-1286 IMSHhS—a—FK1J>% 50 Lk 2,000 |A7
Ea—2JLF+4  |IMS-1286L  [IMSHS—a—KI% L50A LyK 2,000 |A7
Ea—2JLT«  |IMS-1287 IMSHhS—a—K1>%J 50 J1)—> 2,000 |A7
Ea—JLFT«  [IMS-1287L  |[IMSHS—a—FKYL%4 L50A H1)—> 2,000 |A7
Ea—2JLF«  |IMS-1288 IMSHhS—a—K1J>% 50 A T )L— 2,000 |A7
Eai—2JLFT«  [IMS-1288L  |[IMSHS—a—KY%4 L50A JI)L— 2,000 |A7
Ea—JLT«  |IMS-1289 IMSAZ—a—KJ>J 50 T5v9 2,000 |A7
Ea—JLT«  |IMS-1289L  |IMSAS—a—KYL4 L50A T5v4 2,000 |A7
Ea—2JLT«  |IMS-1290N  |IMS h5—4TJ 5A Lk 1,800 (5%
Eai—JLT«  [IMS-12910N |IMS h5—4T 5A EvY 1,800 (5%
Ea—7JLT«  [IMS-12911IN |IMS AS5—4T 5A A— %> T )L— 1,800 (5%
Ea—2JLF4  |IMS-12912N [IMS A5—4T 9A 7Y—F 3,000 |A7
Ea—2JLT«4  |IMS-1291N  |IMS h5—4T 5A ¥L— 1,800 (5%
Ea—JLT«  [IMS-1292N  |IMS h5—4T 5A RTA+ 1,800 |$5&i %%
Ea—JLT4  |IMS-1293N  |IMS h5—%T 5A AL 1,800 (5%
Ea—JLFT4  [IMS-1294N  |IMS h5—4T 5A /8—F)L 1,800 |$5&i %%
Ea—JLT«  |IMS-1295N  [IMS h5—4J 5A 4T O— 1,800 |15 # &
Ea—JLFT4  [IMS-1296N  |IMS h5—%T 5A SRU4— 1,800 |$5&i %%
Ea—JLT«4  |IMS-1297N  |IMS h5—%4T 5A 599 1,800 (5%
Eai—JLT«  |IMS-1298N  |IMS h5—4T 5A JI)IL— 1,800 |$5&i %%
Ea—2JLT«  |IMS-1299N  |IMS h5—4T 5A 4)—> 1,800 (5%
Ea—2JLT+4 IMS-1345 IMS/\S T @&/ F 330X508mm 100 A 7,800 |A16
Eai—7JLT«  |IMS-1346 IMS/\S T & /™9 F 57X102mm 200 A 1,600 |A16
Ea—2JLT+4 IMS-1347 IMS/\S T iRE /8 F 70X229mm 200 A 2,000 |A16
Eai—JLT«  [IMS-1348 IMS/\NS TR E /S F 133X254mm 200 A 3,200 |A16
Ea—JL T4« IMS-1372S  |IMS/N\—9wP 3> S 12K H 4,600 |A6
Ex—JLT+« IMS-1372SH |IMS/\—%wS 3> S 64 3,400 |A6
Ea—2JLT+4 IMS-1372T  |IMS/N\—%wi 3> T12KA 4,600 |A6
Ea—JLT«  [IMS-1372TH |IMS/N—%4wiay T 64K 3,400 |A6
Ea—2JL74s  |IMS-1400 IMS LT % Fr¥—47 arT)—kyk LYK 8,000 [A8
Ea—2JLT4  |IMS-1405 IMS 5 % Fv—4AT 2 T)—hkyk 1T 00— 8,000 |A8
Ea—2JL7+s  |IMS-1408 IMS LT+ Fv—47 avT)—kyk TIL— 8,000 [A8
Ea—JLF«  |IMS-1410 IMS T Fx¥—45T Lyk 2,600 |A8
Ea—2JLT4 IMS-1415 IMS 5 2 Fv—A2T 4TO— 2,600 |A8
Ea—2JLF«  |IMS-1418 IMS T Fx¥—45T T)L— 2,600 |A8
Ea—7JLT«  [IMS-1420 IMS L5 2 Fv—2T A 73— Oyt 2,800 |1B# &
Ea—JLT«  |IMS-1421 IMS LT 3% Fv—2TH RS5/4Fb— £U1F 1,200 ({54
Ea—2JLT«  [IMS-1422 IMS LT 3% Fv—2TH RS5MFb— U1 1,200 |A8
Ea—2JLF«  |IMS-1423 IMS T 32 Fv—R2TH 12—k — 2,000 |A8
Ea—2JLT«  |IMS-1424 IMS T 3% Fv—R2TH 78445 —X S 800 |$BHIE
Ea—JLT«  |IMS-1425 IMS LT 32 Fv—2TH 73445 —X M 800 |$5&IE
Ea—JL74s  |IMS-1426 IMS T 32 Fv¥—2TH 73445 —X L 1,800 [A9
Ea—JLT4  |IMS-1427 IMS ST Fr¥—42TH 1] 1,800 (5%
Ea—JLT«  |IMS-1428 IMS T 32 Fv¥—42TH S4+——+ 800 |15 &
Ea—JLF«  |IMS-1429 IMS ST F¥—2T R V)yTARILE— hTtIL 1,800 [A9
Ea—2JL74s  |IMS-1430 IMS U R FX¥—R3T R )y THURILE— 2)od 1,800 [A9
Eai—7JLT«  [IMS-1431 IMS U Fr¥—4TH DO REUK 20KH 3,600 |A9
Ea—JL7T«  [IMS-1432 IMS T3 Fv—2TH DU PRAUR 10KREBMNA 1,800 |A9
Ea—2JLF«  |IMS-1433 IMS ST Fr¥—2T R v 3% 12,400 (A9
Ea—JLT+4 |IMS-1434 IMS U Fr¥—2T R v 4B 12,400 |A9
Ea—JLT4  |IMS-1455 AU Za— RTFAUETGAN) L—/8— 2004 1,200 [A10
Ea—JLT«  |IMS-1461 BERAOr—3—7—7 1,800 (154
Ea—2JL7«  |IMS-CABL IMSHtYRA RFYTAIR—a—F 1,400 |A6
Ea—2JL74s  |IMSS70 IMShtvb O %2Fv— TRKRA AR—Xt—/3— LYk 14,800 (A2
Eai—7JLT«  |IMSSTORAIL |XMEAAS 7KA AR—Rt—/\— L—/L &I YJaVRby/S—tvk LY 2,600 |$B&
Ea—JL74  |IMSST71 IMSht vk O %2Fv— TR AR—Xt—/\— JL— 14,800 (A2
Ex—JLT+« IMSS7T1RAIL |R¥AS 7TAR AR—RAt—/\— L—)L&IJaAVRAy/s—1 vk JLU 2,600 |$B&E
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Ea—JLT«  [IMSS72 IMSHtEYE DT 2Fv— TR AR—XE—/\— KTk 14,800 |18E &
Eai—7JLT«  [IMSS72RAIL |XMEAS 7KA AR—Rt—/\— L— /L& YJAV Ry S—tyk 777 2,600 |58
Ea—2JL74  |IMSS73 IMSHtEYE DT RFv— TR AR—RE—/N—FLoY 14,800 |15 &
Eai—7JLT« [IMSS73RAIL |XMEAS 7KA AR—Rt—/\— L—/L &I Yav Ry S—tyk AU 2,600 |$B&
Ea—2JL74  |IMSS75 IMSHtYk DT RFv— TR AR—XE—/"\— 4/IT0O— 14,800 |15 &
Ex—JLT+« IMSS75RAIL | RS TR AR—Xt—/\— L— L&AV R by/N—t vk /T 2,600 |55 &
Ea—2JL74  |IMSS76 IMSHtYk DT 2Fv— TAR AR—Rt—/N\— FRUF— 14,800 |15 &
Eai—7JLT«  [IMSS76RAIL |XIEAAS 7KA AR—Rt—/\— L— /L& YJAVRMy/S—t vk 54 2,600 |$B&
Ea—2JL74  |IMSS78 IMShtyb O %xFv— TRKA AR—Xt—/3\— T )L— 14,800 (A2
Ea—JL7~« IMSS78RAIL |R#AS TAR AR—RAtE—/\— L—/)L &IV Ry —t vk T 2,600 |BEE
Ea—2JL74  |IMSS79 IMSHtYE DT RFv— TR AR—RE—/N—J1)—> 14,800 |15 &
Eai—7JLT«  [IMSS79RAIL |XIEAS 7KA AR—Rt—/\— L—/L &I YavRbyi—tyk 5 2,600 |$B&
Ea—2L7«  |INLINEREF F1—RIRTTAVIT— R|FVT 410542 3N 3,600 |F24
Ea—JLF«  |IPZ1 RYFRF— )L J421\A Ls TI5E 1 #522 9,800 |$5&)
Ea—2JLT«  |IPZ16 RYFRF— )L J421\A Ls THEE 1 #6 9,800 |$5&; M
Ea—JLF«  |IPZ2 RYFRF— )L J42/\A L\ T5E 2 #522 9,800 |$5&)
Ea—2JLT«  |IPZ26 RYFRF— )L I/ \A L\ TH5E 2 #6 9,800 |$5&; M
Ea—2JLF«  |IPZ3 RYFRF— )L J421\A L\ W58 3 #522 9,800 |$5&)
Ea—2JLT«  |IPZ36 RYFRF— )L J42/\A L\ T5E 3 #6 9,800 |$5&; M
Ea—2L7« |IR =AW 03— AT SURA 30,000 |D85
Ea—JLT« KB3/46 RYFRRILF AT 1\v% TEE 3/4 #6 8,200 |D62
Eai—JLT4 |KB5/66 RYARBILFAT 1\v% THEE 5/6 #6 8,200 |D62
Ea—JLT«  |KCK3 RYFRUBIFAT LA hT 5 WEE 3 #2 8200 |1BH &
Ea—JLT«  |KCK366 RYFRUBIFAT LA hT 52 WEE 3 #6 8,200 |D62
Ea—2JLT+4 KGF116 RYFRAINFAT T—ILRTUTH VYR HEE 11 #6 8,200 [D63
Ex—JLT+« KGF11X RYFRANFAT7 T—ILRTUTHYH X WEE 11 BL 10,600 D8
Ea—2JLT+4 KGF76 RYFRBIVFAT T—ILRIUTH VDX WEE 7 #6 8,200 |D62
Ea—JLT4  |KGF86 RYARBIFAT T—ILRI 2T+ v X TEE 8 #6 8,200 |D63
Ea—2JLT+4 KGF96 RYFR A FAT T—ILRI2TAyI X THEE 9 #6 8,200 |D63
Ea—JLT«  |KK15/166 RYFRUBIF AT h—HS52K TEE 15/16 #6 8,200 |D61
Ea—2JLT+4 KK15/169 RYFRBIVFAT h—9 52k HEE 15/16 #9 9,200 |D61
Ea—JLT1  |KK15/16X RYFRUBIF AT h—HS52K [EE 15/16 BL 10,600 |D9
Ea—2LF« KKN116 RYFRAINFAT JLAI—-FREVX [EE 11 #6 8,200 |D61
Ea—JL7+« KKN76 RYARVAINFAT JLA<T— - REVX THEE 7 #6 8,200 |D61
Ea—2JLT4 |KO1/26 RYARVAIFAT A—/\> THEE 1/2 #6 8,200 |D60
Ea—JL7T«  |KO1/29 RYARVAIFAT A—/\> THEE 1/2 #9 9,200 (D60
Ea—7JLT+4 KO1/21U6 RYARVAIFAT A—/\> TR O 1/2 #6 8,200 |D60
Ea—JLT4  |KO1/2X RYARAIFAT A—/\> HEE 1/2 BL 10,600 |D8
Ea—JLT«  |KO12KP3R49 [RUARUAILFAT 7L 7A—AYK [HEE #9 9,200 |{BEH &
Ea—JLT« KO12KP3R4X [RUFF2R)LF4A4T FL> 7A—AYK [5E BL 10,600 |$5& 4%
Ea—JLT4  |KO12KPO3A6 |RUFARUAILFAT A—/\> MEE PLUHEE 1/2 #6 8,200 |D60
Ea—JLT4  |KO12KPO3A9 |RUARUAJLFAT F—/\> W5E PLUHREBE 1/2 #9 9,200 |D60
Ea—2JLT+4 KO12KPO3AR [RUFARU A FAT A—/\> WZE FLUHEER 1/2R #6 8,200 |D61
Ea—JLTF« KO12KPO3AX [RUFARU A FAT A—/\> WEE FLUHEE 1/2 BL 10,600 (D9
Ea—JLT4  |KO12KPO3R9 |RUFARUAILFAT A—/\> WEE PLUHEE 1/2R #9 9,200 |D61
Ea—2LT4  |KO12KPO3RX | RUARURJLFAT A—/\> W88 PLUHEBE 1/2RBL 10,600 |D9
Ea—2JLT+4 KPA RYFRBIVFAT FL2 HEEE #6 8,200 |D61
Ea—JLT«  |KPAX RYARAIF4A4T 7L W5 BL 10,600 D9
Ea—JLT«  |KPQ P % YAV AN 39,000 |15 &
Ea—JLT«  |KRDYT RYARUBIFA4T LT« hEE EE 1 46 8200 |1BH &
Ea—JLT«  |KRDY2 RYFRUBIFAT LT« 5B EE 2 #6 8200 |1BH &
Ea—JLT4  |KS1/26 RYFRUBIFAT Y5 —X W5 1/2 #6 8,200 |1B# &
Ea—JLT«  |KSOLT1/26 |NRUFRLAJLFAT V)L [EEE 1/2 #6 8200 |1BH &
Ea—JLT41  |KUSC6 RYARBILF AT 2—F— USC ii5E 19/20 #6 8,200 |1B# &
Ea—2JL74  [LDI YHFv—TFT4LY5— Byh— 9,000 [G18
Ea—2L7«  |LDG2 DAF¥Y—T4L9E— DTSR 9,000 [G18
Ea—2JL7«  [LDP DHFv—T ALY E—_&T5H— 5800 |G19
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Ea—JLT« LDT YHFv— Fvh— 9,000 |G19
Ea—JLT« LPTS BERETIV TAMRTAYY 4,000 |C32
Ea—JL7T4 |LRK XAS SvFFTEIT)— Fuk 11,000 |$8E &
Ea—JLT« LS7 BIRR/NNF15 KEET 5200 |$B&EE
Ea—JLTF« LS8R BIRBAX/N\F15 KEE8R 5200 |$B&EE
Ea—JLT« LSM13 HERETI/IL OOVET7 X aLlybk 13 15,000 [C32
Ea—JLT« LSM14 BERAETIL JL—>—Falyb 14 15,000 [C32
Ea—JLT«  [LSM30 BERETIL O¥TrybRr—35— 30 15,000 |C32
Ea—JLT4  |LSMH6 BERETIL OVIILRT—F— Hb 15,000 |C32
Ea—JLT« LSS4 BERETI O¥v—T=FR—24 7,800 |C32
Ea—JLT7« LT XEAS SvFT7TEVT)—2A 1,200 ({54
Ea—7L74 [LT-OR RM|AS A—VI9vF7 T )—2A 1,400 (154
Ea—2LT4  |LWSS JyYRARINF 1T TWEE SS 6,200 |15 &%
Ea—2JLT+4 MALT <Lvk =—F 22,000 (D63
Ea—JLT4 |MAR-AACS5 |7EAITSH— 7HRSX WEE Bl 0.5 6,800 |$5& &
Ea—JLT« MAR-AACH TFEAIWLTSH— 7RSSR WHEE # 1 6,800 [E7
Ea—JLT4 |MAR-AAC15 |7EAITSH— 7HRSX WA R 1.5 6,800 [E7
Ea—JLT« MAR-AAC2 [7EHILTS5H— 7HRSX HEE #h 2 6,800 [E7
Ea—JLT4 |MAR-AAC3 |7EAILTSH— 7HRSX WEE Bl 3 6,800 |1E& &
Ea—JLT« MAR-B1 FEDILNZYSv— PRSRX FEE A1 6,800 |$5&) %%
Ea—JLT« MAR-B2 FEDINZYSvy— FRSRX FEE A 2 6,800 |E9
Ea—JLT« MAR-B3 FEAINZYSvy— FHRZRX FEE B3 6,800 |$B&EE
Ea—JLT« MAR-B4 FEDILINZYSv— PRSR FEE Bl 4 6,800 |$B&EE
Ea—JLT« MAR-B5 FEAIWNZYvy— FHRZRX FEEM S 6,800 |E9
Ea—JLT« MAR-CT IFXRAAR—E— 2/ —Tx)—F 7HRSX MEE 1 7,000 (E4
Ea—JLT« MAR-C2 IXRAAR—E— 2103 —x)—A 7RSSR HHEE 2 7,000 [E4
Ea—7JLT« [MAR-C3 IFRAR—E— 3490 —Tx)—F FARSR WEE 3 7,000 |E4
Ea—JLT« MAR-C4 IXRAAR—E— 20— x)—A 7RSS X HEE 4 7,000 [E4
Ea—JLT« MAR-EX 1 IXRTA—5— 3499 —2x)—F 7RSSR MEE 1 4,000 |E5
Ea—JLT« MAR-EX2 IXRTA—5— w49 —2x)—F FRSR BEE 2 4,000 |E5
Ea—JLTF« MAR-EX3 IFXRTO—5— v4q4yo08—2xl)—F 7HRSX MHEE 3 4,000 |$5HE
Ea—JLT« MAR-EX4 IXRTAO—5— w14 —21)—F 7RSSR KFEE 4 4,000 |E5
Ea—JLT« MAR-EX5 IFXRTO—5— 3v4/4y08—2xl)—F 7RSX FEES 4,000 |E5
Ea—JLT« MAR-EX6 IXRTO—5—v1ya8—Ix)—R 7HRSRX FEE6 4,000 |E5
Ea—JLT4 |MAR-SAC5 |7EAILTSH— 7HRSX WEEE 05 6,800 |$E& &
Ea—JLT« MAR-SACT TFEAWLTSH— 7HRSX HEE E 1 6,800 [E7
Ea—JLT4 |MAR-SAC15 |7EAILTSH— 7HRSX WEEE 1.5 6,800 [E7
Ea—JLT« MAR-SAC2 [7ZEHILTSH— 7HRSX HEE E 2 6,800 [E7
Ea—JLT4 |MAR-SAC3 |7EAILTSH— 7HRSX WA E 3 6,800 |$E& &
Ea—JLT« MAR-SB1 FEAINZYvy— PHRSRX FEE 1 6,800 |$B&EE
Ea—JLT« MAR-SB2 FEAIWNZYSvy— FHRZRX FEEE 2 6,800 |$B&EE
Ea—JLT« MAR-SB3 FEAIWNZY¥y— FHRZRX FEE 3 6,800 |$B&EE
Ea—JLT« MAR-SB4 FEDINZY o vy— FPRSR FEE E 4 6,800 |$B&EE
Ea—JLT« MAR-SB5 TFEANWNZYvy— FHRZXA FEES 6,800 |$B&EE
Ea—JLT« MAR-SC1 R—2Falbyk w400 —2x)—FH 7HRSR FEE 1 7,000 [E4
Ea—JLT« MAR-SC2 R"—rFaLyk 74909 —2x)—F 7RSSR FEE 2 7,000 (E4
Ea—JLTF« MAR-SC3 R"—2Falbyk w4083 —2x)—H 7HR5X FEE 3 7,000 [E4
Ea—JLT« MAR-SC4 R"—rFaLyk 24909 —2x)—F 7HRSR FEE 4 7,000 (E4
Ea—JLT« MCBLL FTEDIAVRAYILAUS [EE LT L 4,400 |$5EE
Ea—2JLT+4 MCBLM FTEAIWADRAYILAUS BEE LTEM 4400 |E8
Ea—JLT4  |MCBLS FTEAIADRAYILAUS TR LTE S 4,400 |ES
Ea—JLT« MCBRL FTEDIAVRAYILAU [EE SA L 4,400 |$BEE
Ea—JL7+« MCBRM TEAIWADRYILAUS HEE SAEM 4400 |E8
Ea—2JLT+4 MCBRS TEAIWADRYILAUS HEE A4S 4,400 |E8
Ea—JLTF« MCBUL FTEDILADRYILAUS @BE 2 =/N—H )L L 4,400 |$5EE
Ea—2JLT+4 MCBUM FTEDILADRYILAUS @EE A =/N\—H )L M 4,400 |E8
Ea—JL7T«  |MCBUS FEAIADRYIL AL HEE A =/A—H)L S 4,400 |ES
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Ea—2JLT«  [MCUPE AZ2=FARF—IL hvT JS5TR 4,200 |D52
Ea—JLT« MEX 1 IFXRTO—5— 3449089 —2x)—F 7EAHIL WHEE 1 4,000 |E5
Ea—JLT« MGA YIRX Y BN KA 36,000 (D87
Ea—JLT« MGC E4pV.E 2V I WIIVN:: 36,000 (D87
Ea—JLT« MGI IVRE¥xYT EILL R 36,000 (D87
Ea—JL7~« MH1 SS—N\URIL a—=2Y 4k #1 2,200 |B20
Ea—2JLT+4 MH24 SS—N\URIL aA—2Y ks #24 2,200 |B20
Ea—JLT4  |MH6 SS5—/\URL a—V4 vk #6 2,600 |B20
Ea—JLT« MH6692K SS—NURIL a—2V 4y BEEfT FEE #1 3,800 |$B&EE
Ea—JLT« MH6B S5—/\VR)La—2v4yk BL 2,800 |$5&E
Ea—2JLT+4 MH7 SS—N\URIL A=Yk #7 2,600 |B20
Ea—JLT4  |MHS8 SS5—/\URL a—V4 b #8 2,600 |1BEE
Ea—2JLT+4 MIR3HD S5—kyTHD HE 3 1A 1,400 [B19
Ea—JL7~« MIR4/12 SS— b7 FE412A 10,400 |B19
Ea—JLT« MIR4/3 S5— b FEA43A 2,800 |B19
Eai—7JLF«  |MIR4DS/3 S5— hy7 @@ 4 3A 3,800 |B19
Ea—JLT« MIR4DS/6 SS— by EEA46A 7,400 [B19
Ea—JL7~« MIR4DSHD SS—kyTHDEE 4 1A 1,600 [B18
Ea—2JLT+4 MIR4DSHD6 (35— HD i 4 6 A 9,400 |B18
Ea—JL7~« MIR4HD S5—kyTHD HE 4 1A 1,400 [B19
Eai—JLFT«  |MIR4HD12 35—y HD K@ 4 12A 15,000 |$8E &
Ea—JLT«  |MIR4HD3 S5—hy7 HD K@ 4 3A 3,800 |1B#E
Ea—JLT« MIR5/12 S5— by FES5 12A 10,400 |B19
Ea—JLT« MIR5/3 25— b7 FES53A 2,800 |B19
Ea—JLT« MIR5DS/3 25— by W@ 5 3A 3,800 |B19
Ea—JLT« MIR5DS /6 25— by @56 A 7,400 [B19
Ea—2JLT+4 MIR5DSHD SS5—ky7HDEE S5 1A 1,600 [B18
Ea—JL7~« MIR5DSHD6 (35— HD i 5 6 A 9,400 |B18
Ea—2JLT« |[MIR5DSHDB |35—hky7 HDBL @& 5 1A 2,000 |1B# &
Ea—JL7~« MIR5HD S5—ky7HD HE S5 1A 1,400 [B19
Ea—JLT«  [MIR5HD12 SS5—hy7HD K@ 5 12A 15,000 |$8E &
Ea—2JL7«  |MIRSHD3 S5—hky7 HD A 5 3A 3,800 |1B#E
Ea—2JLT«  [MIR5HDB 35—y HDBL FE5 1A 1,800 |$5&i %%
Ea—2JL7«  |MMI S5— Aoy —oz)—R 1 15,000 |E2
Ea—7JLT+4 MM2 5—vAqyny—Ix)—RA 2 15,000 |E2
Ea—JLT4  |MM3 35— Moy —oxl)—H 3 15,000 |E2
Ea—7JLT+4 MM4 SS5—hyT 24— x1)—FH 4 3mm 14,000 |E3
Ea—JLT4  |MM5 S5—hy7 4oy — ) )—F 5 5mm 14,000 |E3
Ea—JLT« MM7 S5—byT 4o Y—x)—R 7 7X2mm 14,000 |15
Ea—JLT4  |MM8 S5—hyT 24908 —2x1)—H 8 9X3mm 14,000 |E3
Ea—7JLT+4 MMR S5—vAqyny—Ix)—RAL 15,000 |E2
Ea—JLT4 |MMRS 25— A4y —ox)—HES 15,000 |E2
Ea—JLT« MMVELT 25— a4y —xl)—FH NJL/A—k 1 15,800 |E3
Ea—2LT4  |MMVEL2 25— vAay—Iz)—fF N)LN—k 2 15,800 |E3
Ea—2JLT+4 MP48 RIRTAYT =)L STvIRT)— N S 2 A 5,800 |D87
Ea—JL7+« MP52 IORTAYT I—4 )L STYIRT)— INA 2 A 5,800 |D87
Ea—2JLT+4 MP54 RIRTAYT =)L STYIRT)— KAA 28 A 5,800 |D87
Ea—JL7T« |MRFL BRFIERR LAY MEE L 4,400 |E6
Ea—JLT« [MRFR B FTIERR LOT) S MEE R 4,400 |E6
Ex—JLT+« MT232TBM9  |X—I R — ky)L—/\)L [HIEE 232 #9 5,800 [F10
Ea—2LT« MT232TM9 T—UURN)T— Ryh— EE 232 #9 5,800 |F10
Ea—JLT«  |MT233TBM9 |X—PUR)T— key)L—/N)L THEE 233 #9 5800 |F10
Ea—2JLT+4 MT233TM9 T—UURN)T— Ryh— EE 233 #9 5,800 |F10
Ea—JLT« MT26 I—I M) — THEE 26 #41 5,800 |$5&) M
Ea—JLT« MT26H6 I—U VM) — TEE 26 NE— #6 5,800 |$5&; M
Ea—JLT« MT27 I—I M) T — THEE 27 #41 5,800 |$5&) M
Ea—JLT« MT27H6 I—UUN)T— TEE 27 NE— #6 5,800 |$5&; M
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Ea—JLTF« MT28 I—I M) — THEE 28 #41 5,800 |$5&) %
Ea—JLT« MT286 Y—UUN) 7 — THEE 28 #6 5,800 |$5&; %%
Ea—2JLT«  |MT289 Y—U UM< — THEE 28 #9 5800 [F10
Ea—JLT« MT28H6 I—U VM) — TEE 28 ANE— #6 5,800 |$5&; %%
Ea—JLTF« MT29 I—I M) — THEE 29 #41 5,800 |$5&) %
Ea—JLT« MT296 Y—U VM) — THEE 29 #6 5,800 |$5&; %%
Ea—2LT«  |MT299 Y—U UM — THEE 29 #9 5800 |F10
Ea—JLT« MT29H6 I—UUN)T— B 29 NE— #6 5,800 |$5&; %%
Ea—JLTF« MT77/78 I—TUR)T— TEE 77/78 #41 5,800 |$5&) %
Ea—JLT« MT79/80 I—I ) — TR 79/80 #41 5,800 |$5&; %%
Ea—2L7T«  |NASTACR TURS)—ARZF ) s—/N\— F9ya-TAF5— 13,000 |F20
Ea—JLT« NH5020 ¥r$128 hAMOE—>3 & 5020 75,000 |D67
Ea—JLT« NH5020M Brétes ¥ M/U0AXMOE—23 E 5020M 75,000 |D64
Ea—JLT« NH5020R ¥ét3 hAMOE—23 E 5020R RH 75,000 |D67
Ea—JLT« NH5021 Fr$t28 hAOE—23 #h 5021 75,000 |D67
Ea—JLT« NH5021M BrEtes ¥4/ 0AXMOE—T3 B 5021M 75,000 |D64
Ea—JLT« NH5024 ¥r$t28 hAMOE—>3 B 5024 77,000 |D67
Ea—2JLT4 NH5024CORT |#%£18% hArOE—Y3 30—F)—=ERH 77,000 (D64
Ea—JLT« NH5024R ¥ét3 hAMOE—23 B 5024R RH 77,000 |D67
Ea—JLT« NH5024RC 8138 ARAMOE—>3 #h 5024RC RH 77,000 |D67
Ea—JLTF« NH5024SIM  [#8t28 hAMOE—T3 U342 E RH 77,000 |D67
Ea—JL7T4  [NH5032 3 4 —7 5032 30,000 |D68
Ea—JLT« NH5034 BEtas ANH—/\DLH—kF— 5034 30,000 |1B# &
Ea—JLT« NH5036 8135 7/R)Lt1 5036 30,000 |1BH
Ea—JLT4  |NH5037 Frétas /R)Lt4 5037 30,000 |D68
Ea—JLT4  [NH5038 BEt3R V541wl 5038 30,000 |D68
Ea—JLT« NH5042 F8t38 A3 —~H— 5042 30,000 |D68
Ea—JLT« NH5044 8138 AM3—-~FH— 5044 30,000 |D68
Ea—JLT« NH5046 FrEtE8 FRAF— 5046 30,000 |1BHE
Ea—JLT« NH5050 FrEtE8 HMT 2> 23— 5050 38,000 |1BH
Ea—JLT« NH5052 Fétas Aoxz—T /53— 5052 38,000 |D69
Ea—JLT4  [NH5068 BétaR ALt~ — 5068 38,000 |D69
Ea—JLT« NH5074 HEt8s v 1—a—F+v— 5074 40,000 |D69
Ea—2JLT4 NH5074E Hetas v a—a—Fv— 5074E 40,000 |BEE
Ea—JLTF« NH5082 Brét2s v 10/ X% 15— 5082 40,000 |1B# &
Ea—JLT« NH5084 8128 v /01X ¥ 15— 5084 40,000 (D69
Ea—JLT« NH5092 Brétas S=54/44— 5092 40,000 |1B# &
Ea—JLT«  [NHC BétaR a7 — 20,000 |15 &
Ea—JLT« NHCV #4138 hRAOE—D3 52,000 |D65
Ea—2JLT«  [NHCV18 #1288 AXOE—T3 18 70,000 |5 &
Ea—JL T4  |NHCW FrgtER V510 ovk 20,000 |D70
Ea—2JLT« [NHD Bétsm 4 —7 20,000 |15 &
Ea—JLT« NHDCPV ¥8t38 v 1o nAXAE—>3 #h DCPV 82,000 |D66
Ea—JLT« NHDCPVN ¥rét3s ¥/ RAXMOE—T3 B DCPVN 82,000 (D66
Ea—JLT« NHDPV #8138 v/ 0AXAE—>3 E DPV 82,000 |D65
Ea—2JLT4« NHDPVN #ét3s ¥~/ 0hXOE—23 E DPVN 82,000 |D66
Ea—JL7+« NHGILFINE Hitzsm X —X 714> 30,000 | E &
Ea—2JLT«  [NHHB BEtam AH— IO LH—— 20,000 |15 &
Ea—7LT«  |NHLBPSE Betes JeToRILY 40,000 |15 &
Ea—2JLT4« NHM Bitss va— 30,000 [D70
Ea—JLT« NHM-5025R |[#58t8§ ¥ /Y OhAOE—Y3 E 5025R RH 70,000 |D64
Ea—JLT« NHM-5026R [#58t3§ ¥4V OhAMAE—Y3 E 5026R RH 70,000 |D64
Ea—JLT« NHM-5027 ¥it3s v 1onARMAE—T3 Bl 5027 70,000 |D65
Ea—JLT« NHM-5028 Bétes Y1V 0ARMOE—D3 E 5028 70,000 |D65
Ea—JL7« NHMH BEtaR AT—-~H— 20,000 |D70
Ea—JLT«  |NHOH Bétes FLteont— 30,000 |15 &
Ea—JLT« NHTMBH ¥$t28 v/ 0hROE—>3 E F4> TMBH 145,000 |D66
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Ea—JLT«  [NHW BétaR VI RE— 20,000 |15 &
Ea—2LT«  |NIPRO TayazyN—ahd—vr =70 25,000 (D117
Ea—2JLT+4 NIPS FavaZyIN— T— LRIV ITH9IR 25,000 (D117
Ea—JLT« [NTIPC RF—75— Fvia-TA5— BHEEREA #6 5600 |$E& &
Ea—JLT«  [NTIPK N—ELTFAT Fvia-TA5— ThEE BEiEaEER A 46 5200 |5 &
Ea—JLT« OK5A HIRBAX/INF155A 2,800 |$5&E
Ea—JLT« 0SS6518S ARTAR—L E 6518 4mm 17,600 |15
Ea—7JLT« |0SS6519CS |ARTAR—L B 6519 4mm 17,600 |15
Ea—JLT« 0SS6520S FATAR—L E 6520 7.5mm 17,600 |15
Ea—JLT« 0SS6521CS (A RTA—L #6521 7.5mm 17,600 |15
Ea—JLT+« OSTJOS8 ARTAI—L D3/8/EYY 6mm 14,000 |D73
Ea—JLT« OSTMGRIFF  [ART#AR—L FX HA/N\FL 10,000 |D71
Ea—2JLT+4 OSTMPU27  |ARTHAbF—L FRERX IRV IX E 2.7mm 4,200 |D72
Ea—JLT« OSTMPU27A [ARTHAR—L FFRKX 224747 B 2.7mm 4,200 |D72
Ea—2JLT+4 OSTMPU32  |A#RTHAF—L FERX IRV IX E 3.2mm 4,200 |D72
Ea—JLT« OSTMPU32A [ART#HR—L FFRKX 224747 B 3.2mm 4,200 |D72
Ea—2JLT+4 OSTMPU37  |A#RTHAbF—L FERX IRV IX E 3.7mm 4,200 |D72
Ea—JLT« OSTMPU37A [ART#HR—L FFRKX 224747 B 3.7mm 4,200 |D72
Ea—2JLT+4 OSTMPU42  |ARTHI—L FRRX IRV IX E 42mm 4,200 |D72
Ea—JLT« OSTMPU42A [ARTHAR—L FFRKX 224747 B 4.2mm 4,200 |D72
Ea—2JLT+4 OSTMPU50  |ARTHAbF—L FERX I2RYIX E 5.0mm 4,200 |D72
Ea—JLT« OSTMPU50A [ART#AR—L FRKX 224747 B 5.0mm 4,200 |D72
Ea—JLT« OSTMSH27  |[ARTFTAbP—L FFRKX 22447 7—/3— E 2.7mm 4,200 (D72
Ea—JLT« OSTMSH27A |ARTAb—L FFKX 22447 7—/3— 1 2.7mm 4,200 |D72
Ea—JLT+4 OSTMSH32  |[ARTFTAb—L FFRKX 22447 7—/3— & 3.2mm 4,200 |D72
Ea—JLT« OSTMSH32A (ARTAb—L FRFKX 22447 7—/3— 1 3.2mm 4,200 |D72
Ea—JLT+4 OSTMSH37  |[A#RTFTAb—L FFRKX 22447 7—/3— E 3.7mm 4,200 |D72
Ea—JLT« OSTMSH37A |ARTAb—L FRFKX 22447 7—/3— 1 3.7mm 4,200 |D72
Ea—JLT« OSTMSH42  (ARTFTAP—L FHRKX 2247 7—/3— E 4.2mm 4,200 (D72
Ea—JLT« OSTMSH42A (ARTAb—L FHEKX 224747 7—/3— B 4.2mm 4200 [D72
Ea—JLT+4 OSTMSH50 AR FTAb—L FFKX 22447 7—/3— E 5.0mm 4,200 |D72
Ea—JLT« OSTMSH50A A RTAb—L FFKX 22447 7—/3— 1 5.0mm 4200 [D72
Ea—2JLT+4 OSTMSP27  [AARTHr—L FRK AVRYI X T—/3— E 2.7mm 4,200 |D71
Ea—JLT« OSTMSP27A [ARTHA—L FEBRX AVRyHYR 7—/3— #1 2.7mm 4,200 |D71
Ea—JL7T4 |OSTMSP32 |#ARTFTHAb—L FRAX IRYIRX T—/3— E 32mm 4,200 D71
Ea—JLT« OSTMSP32A [A#RTHI—L FEBX VXYY R 7—/3— 1 3.2mm 4,200 D71
Ea—7JLT+4 OSTMSP37  [AARTHr—L FRK Ry I X 7—/3— E 3.7mm 4,200 |D71
Ea—JLT« OSTMSP37A [A#RTH—L FEBX VXYY R 7—/3— #1 3.7mm 4,200 D71
Ea—2LF« OSTMSP42  [AARTHI—L EFRK ARV I X 7—/3— E 4.2mm 4,200 |D71
Ea—JLT« OSTMSP42A (ARTHA—L FEBRX AVRyHY R 7—/3— #1 4.2mm 4,200 |D71
Ea—7JLT+4 OSTMSP50  [AARTHr—L FRK 2Ry I X 7—/3— E 5.0mm 4,200 |D71
Ea—JLT4 |OSTMSP50A |ART#AR—L FFEHX 32"y H X 7—/3— B 5.0mm 4,200 D71
Ea—2JLT+4 OSTPAL1 FAATAHR—L12.T7mm 16,000 |D73
Ea—JLT« |OSTPAL2 ARTFHb—L 2 32mm 16,000 |D73
Ea—2JLT+4 OSTPAL3 ARTAR—L 3 3.7mm 16,000 |D73
Ea—JLT+« |OSTPAL4 ARTHb—L 4 42mm 16,000 |D73
Ea—JLT« P1 RYARF— )L RT ¥R W5 1 #522 8,000 |$B&IE
Ea—JL7+« P12/115B6 |h5—3—KF70O—7 88 CP12/11.5B #6 6,600 |$5H &
Ea—JLT« P12S RYFZF—)L KRRk 12S #522 8,000 |$B&IE
Ea—JLT« P12S6 RYARF— )L KRRy 12S #6 8,000 |$5&E
Ea—JLT+« P14 RYARF—IL T—ILRIUTA VY R THEE 14 #2 8,000 [D75
Ea—JLT4 |P146 RYARF—)L T—ILRIUTAYH R TEE 14 #6 8,000 |D75
Ea—JLT« P149 RYZZAF—)L 149 #522 8,000 |$B&IE
Ea—2JLT« |P1496 RYARF—)L 149 #6 8,000 |1B# &
Ea—JLT« P14X RYFRF—)L T—ILRR2TAYH X MEE 14 BL 9,000 |$5&; %
Ea—2JLT4  |P15 RYZFRF—)L 7V)—7 15 #522 14,000 |15
Ea—2JLT+4 P15/115B6 |h5—3—KF70—7 iMEE UNC15/11.5B #6 6,600 |B13
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Ea—JLT« |P156 RYARF—)L TY—7F 15 #6 14,000 |D75
Ea—JL74s |P16 RYFRF—)L 7)—7 16 #522 14,000 |18E &
Ea—JLT« |P166 RYARF—)L TV)—7 16 #6 14,000 |D75
Ea—JLT« P1H6 RYARF— )L RT ¥ X THEE 1 #6 8,000 |$B&IE
Ea—JLTF« PN RrybFTO0—7T RA/3—X 8B 1N #31 4,600 |$5HE
Ea—2JLT74« P1N6 RrybZT0—7T RA/3—X THEE 1N #6 4,600 |B14
Ea—JLT« P2 RYARF— )L RT ¥R THEE 2 #522 8,000 |$5&IE
Ea—JLT«  |P20 RYARF— )L /N\—>2 7))Lk fEE 20 #2 8,000 |D74
Ea—JLT«  |P206 RYARF—)L /N—27x)Lb TEE 20 #6 8,000 |D74
Ea—JLT« P20SIC RYARF— )L 217 WEE 20 #2 8,000 |$B&IE
Ea—JL 7T«  |P20SIC6 RYFRF—IL )7 WEE 20 #6 8,000 |D74
Ea—2JLT+4 P23 RNYARF—IL ©ILT 12 23 12,000 |D75
Ea—2JLT«4 |P24G RYARF—)L Wli5E 24G #2 8,000 |D75
Ea—JLT« P24GSIC RYFRAF—)L LT 24G #522 8,000 |$B&IE
Ea—JLT«  |P24GSIC6 RYFRF—IL LT 24G #6 8,000 |D77
Ea—JLT« P24GSP RYZZAF—)L 3—k/\UF L 24GSP #5 8,000 |$B&IE
Ea—JLT«  |P24GSP6 RYARF— )L 23—k 2R L 24GSP #6 8,000 |D75
Ea—JLT« P24GSPX RYFZZAF—)L 3—k/\UR )L 24GSP BL 9,000 |$5&; %
Ea—JLT« P26 RYARF— )L RT ¥ X THEE 2 #6 8,000 |D76
Ea—JLT«  |P26G RrybTn—7J J)vo<> FEE 26G #30 4,000 |1BE &
Ea—JLT« |P26G6 RrybTn—7J 1)y <> FEE 26G #6 4,400 (1B E
Ea—JLT« P2N Rryh70—T RA/\—X [EE 2N #31 4,600 |$5EE
Ea—JLTF« P2N6 RrybZT0—7T RA/3—X THEE 2N #6 4,600 |B14
Ea—JLT« P3 RYFZFRAF—)L 3—F 3 #522 8,000 |$B&E
Ea—JLT« P3/4 Rryh70—7J Hyb—= TEE UT3/4 #31 5,000 |$5&; %%
Ea—JLT« P3/46 Rryh70—7 Hyb—= 58 UT3/4 #6 5,000 |$5&; %
Ea—JLT4  |P36 RYARF—)L 3—K 3 #6 8,000 |D76
Ea—JLT« P3N Rryh70—7T RA/\—X T8 3N #31 4,600 |$5EE
Ea—JLT« P5 RYAZRF— )L EJLk 5 #502 8,000 |$5&IE
Ea—JLT« P8D RYZZAF—)L 8D #522 8,000 |$B&IE
Ea—2JL7«  |P8D6 RYZFZRF—)L 8D #6 8,000 |D76
Exa—JLT4  |P9 RYARF— )L EJLH HEE 9 #522 8,000 |D74
Ea—JLT« P9/PA RYZRF—)L 58 P9/PA #522 8,000 |$5&IE
Ea—JLT« P9/PA6 RYZRF—)L 58 P9/PA #6 8,000 |$B&I &
Ea—JL7+« P96 RYZZRF—)L EJLI THEE 9 #6 8,000 |D74
Ea—JLT« P9A RYFZRAF—)L 7L WiEE 9A #522 8,000 |$B&I &
Ea—2JLT«  |P9A6 RYARF—)L T TEE 9A #6 8,000 |D76
Ea—JLT« POH RYARF— )L /NT—K WEE 9H #522 8,000 |$B&IE
Ea—2JLT«  |P9H6 RYFZRF—)L /\NT—R TEE 9H #6 8,000 |D76
Ea—7JLT+4 P9X RYZAZRF—)L EJU #EE 9 BL 9,000 |D6
Ea—JLT«  |PAPREF F1—RIRTTAVIT—2 INEZ 3A 3,600 |F24
Ea—JLT« PBQ RYFRF—)L RoF— #522 8,000 |$B&IE
Ea—JLT« PBQ6 RYFRF—)L R F— #6 8,000 |$5&IE
Ea—JLT« PBTPB NZ—Ea1—T0—T NAF24T ZF|FvT(12A) T )L— 12,600 |B10
Ea—JLT« PBTPG HZ—Ea—T0—T NAF24T J|FvT(12N) J)—> 12,600 |B10
Ea—JLT« |PBTPKIT12 |AT—Ea—T0—T NAF34T R3—5—F vk 14,000 |B10
Ea—JLT« PBTPW HZ—Ea—T0—T NAF24T Z|FvT12A) mITAk 12,600 |B10
Ea—JLT« PCP10 H5—a—K7FO—7 HKEE CP10 #30 4,000 |B11
Ea—JLT« PCP106 HS5—a—K7FO0—7 KEE CP10 #6 4,200 |B11
Ea—JLT« PCP107 HS5—a—K7FO0—7 KEE CP10 #7 4,400 |$BEE
Ea—JL7«  |PCP108 HS5—a—K7FO0—7 KEE CP10 #8 4,400 |$BEE
Ea—JLT« PCP11 Hh5—a—K7FO—7 KEE CP11 #30 4,000 |B11
Ea—JL7+« PCP11.5B Hh5—a—KF7F0—7 KFEE CP11.5B #30 4,000 |B12
Ea—2JLT+4 PCP11.5B6 Hh5—a—K7F0—7 HKEE CP11.5B #6 4,200 |B12
Ea—JL7+« PCP11.5B7 HS5—a—K70—7 HKEE CP115B #7 4,400 |B12
Ea—JL7« |PCP115B8 |h5—a—F7F0—7 KEE CP11.5B #8 4,400 (1B &
Ea—JLT« PCP116 HS5—a—K7FO0—7J HKEE CP11 #6 4,200 |B11
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Ea—JLT+« PCP117 HhS5—a—K7FO0—7J HEE CP11 #7 4,400 |B11
Ea—JL7~« PCP118 HS5—a—K70—7 KEE CP11 #8 4,400 |5 &
Ea—JLF4  |PCP12 HS5—a—K7O0—7J K88 CP12 #30 4,000 |B11
Ea—JL7« PCP12/115 |h5—a3—K70—7J i&EE CP12/11.5B #31 6,000 |15 & &
Ea—JLT+« PCP12/QOW6 (A5—a—KF70O0—7 g8 CP12/QOW #6 6,000 |$EH &
Ex—JLT+« PCP126 HS5—a—K70—7 HEE CP12 #6 4,200 |B11
Ea—JLT+« PCP127 HhS5—a—K7FO0—7J HEE CP12 #7 4,400 |B11
Ea—2JL7«  |PCP128 HS5—a—K7O0—7 KEE CP12 #8 4,400 (1B &
Ea—JLT+« PCP15/115 |h5—3—KF70—7 WMEE UNC15/11.5B #31 6,000 |$EH &
Ea—2LT«  |PCP18 H5—a—K7FO—7 FEE CP18 #30 4,000 |1BEE
Ea—2JLT« |PCP186 HS5—a—K7O—7 KEE CP18 #6 4200 |1BE&E
Ex—JLT+« PCP2 HS5—a—K70—7 KEE CP2 #30 4,000 |B11
Ea—2JLT+4 PCP26 HhS5—a3—KF0—7J KEE CP2 #6 4,200 |B11
Ea—JL7T«  |PCP6500 H5—a—k7T0—T 4TSV RR—HY— FEE 20mm #30 5200 |{E& &
Ea—2JLF«  |PCP65006 H5—a—k70—T AUTSURRR—Y— FEE 20mm #6 5200 |D58
Ea—JL7T«  |PCP8 HS5—a—K 70— HKEE CP8 #30 4,000 |B11
Ea—2JLT4  |PCP86 HS5—a—K7O0—7 K88 CP8 #6 4200 |B11
Ea—2JLT7«  |PCPGF/W H5—a—KR7T0—70 T—ILRIUTAYIR/94)F7 LR TEE #31 6,000 |$5& &
Ea—JLT+« PCPGF/W6 H5—a—K70—7 T—)LRIVITAVIR/ D4 )7 LX ThHEE #6 6,000 |$E& &
Ea—2JL7«  |PCPMDBIU AZ—a—RTO—T X)—FR/ET1vhk FEE #30 4,000 |1BEE
Ea—2LT«  |PCPNTI1 JINTyHT0—TJ KEE CP11 #30 4,400 |B13
Ea—JL7~« PCPNT115B |//\7v4~7J0—7 K8 CP11.5B #30 4400 |{BEE
Ea—2JLT4 PCPNT12 JINTwHFa—7 K88 UNC 12 #30 4400 |{BEE
Ea—JL7« PCPNT126 JINT9HTA—T FEE UNC 12 #6 4,600 |B13
Ea—2JLF74  |PCPNT15 JiI\T9HFO—T K88 UNC 15 #30 4,400 (1B &
Ea—JL7~« PCPNT156 JINT99TA—T FEE UNC 15 #6 4,600 |B13
Ea—2LT« PCPNT2 JINTvHo 70— KEE CP12 #30 4,400 |B13
Ex—JLT+« PCPNT26 JINT9HTA—T FEE CP12 #6 4,600 [B13
Ea—2JLT4 PCPNT27 JINTyHTO—T KEE CP12 #7 4,800 |$B&EE
Eai—7JLT« |PCPNT28 JINTyHT0—T HEE CP12 #8 4,800 |1BEE
Ea—7JL74  |PCPNT2W JINTyoT0—T Y4 )7 LX FEE #30 4,400 (1B E
Ea—2JLT« |PCPNTOWS |//\TwHTO—T L oq)7LX FEE #8 4,600 |1BE &
Ea—7LT« |PCPQOWI15 |hS—a—KTA—T L o417 L X/115B [EE #31 6,000 |$5&; %%
Ex—JLT+« PCPUNC12 HZ5—a3—K70—7J K& CPUNC12 #30 4,000 [B12
Ea—JLT+4 PCPUNC126 |h5—3—K70—7J 88 CPUNCI12 #6 4,200 |B12
Ea—JL7+« PCPUNC127 |[h5—3—K7B0—7 88 CPUNCI12 #7 4,400 |B12
Ea—2JLT«4 |PCPUNC128 |h5—3—F7O—7 FEE CPUNC12 #8 4,400 |$BEE
Ex—JLT+« PCPUNC15 HZ5—a3—K70—7J KFEE CPUNC15 #30 4,000 [B12
Ea—JLT+4 PCPUNC156 |h5—3—K70—7J /88 CPUNC15 #6 4,200 |B12
Ea—JL7+« PCPUNC157 |[h5—3—K70—7 /B8 CPUNCI15 #7 4,400 |B12
Ea—2JLT« |PCPUNC158 |h5—3—F7O—7 B8 CPUNC15 #8 4,400 |$BEE
Ea—7JLT« [PCVIIKITI2 |h5—Ea—70—7 L& vk FEE 1146 13,800 |1BE &
Ea—2JLT+4 PCV11KIT6 H5—E1—7B8—7T S* vk KEE 11 #6 8,600 |B8
Ea—2JLT4  |PCVIIPT H5—Ea—70—T K|FvT(12A) 1 12,600 (B8
Ea—2LT« PCV12KIT12 |HS5—Ea—70—7 L& vk KEE 12 #6 13,800 |58
Ex—JLT+« PCV12KIT6 Hho—Ea1—70—7 S¥vbk FEE 12 #6 8,600 |B8
Ea—2JLT4  |PCVI2PT H5—Ea—70—7 KBFvT(12A)12 12,600 (B8
Ea—JL7« PCVNCKIT12 |h5—Eax—70—7 L& vk FEE UNC #6 13,800 |5 &%
Ea—2JLT«  |PCVNCKIT6 |hS5—Ea—7BO—7T SFwbk FEE UNC #6 8,600 (B8
Ea—2LT« |PCVO12PT |hS5—Ea—T70—7J K®|FYT12A) AVIRTH—F 12,600 |15
Ea—2JLT4  |PCVOKIT6 H5—Eax—70—7 SF¥yk FEBE A VI RT+—F #6 8,600 |$B&IE
Ea—JLT4«  |PCVUNCI2PT |h5—Ea—TB0—7J RK®FvT(12A) UNC 12,600 (B8
Ea—JLT+4 PCVWKIT6 H5—Eax—70—T S¥vyk FEE D)7 LX #6 8,600 |B8
Ea—2L7T«  |PCVWPT Ho5—Ea—T0—7 K|FVT (12A) D1UT7 LX 12,600 (B8
Ea—7JLF«  |PDEMIRELS6 |RUARXF—)L F=L /L [M5E #6 12,000 |$8E &
Eai—7JLT«  |PEREURG RYZFb—L DA X #6 8,400 |IBH &
Ea—JLT+4 PEREURX RYAb—L 74X BL 9,400 |D10
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Ea—JLT«  |PESIMI YA FRYTA DRIV AL FEE PESIMT #40 12,000 |$8E&
Ea—2JLT74« PESIM16 HBAFRYTA VAL A FBE PESIMT #6 12,000 |D107
Ea—JLT« PFI1 TR FEIE SR MR 1 #41 5,800 |$5&) %
Ea—2JLT4 PFI11 TR IEIERS THEE 11 #41 5800 |iBE &
Ea—JLTF« PFI116 R FEIE AR MR 11 #6 5,800 |$5&) %
Ea—2LF+« PFI179 TR IEIRZE MR 179 #41 5,800 |$5&; %%
Ea—JLTF« PFI49 WA TFIES R— LR MEE 49 #41 5,800 |$5&) %
Ea—JLT« PFISA TR IEIRZE THEE 8A #41 5,800 |$5&; %%
Ea—JLTF« PFI8AG R FEIE 2R TR BA #6 5,800 [F7
Ea—JLT« PFISABK6 WA FEIERR Ay MEE #6 5,800 |E6
Ea—JLTF« PFIA6 R FEIE SR MEE A6 #41 5,800 |$5&) %
Ea—JLT« PFIA66 TR FTIE SR [MIEE A6 #6 5,800 |$5&; %%
Ea—JLTF« PFIA67 TR FEIE SR ISR A6 #7 5,800 |$5&) %
Ea—JL T« PFIA68 R FEIE 2R [TIER A6 #8 5,800 |$5&; %
Ea—2LT«  |PFIABI WA FIESR RIS 7 > MIZE AB1 #41 5800 |1B& &
Ea—JLT« PFIAB16 MR FEIESR RO 7 MEE AB1 #6 5,800 |$5&; %%
Ea—2LT«  |PFIAB2 B FIESR AR 7 > MIEE AB2 #41 5800 |1B& &
Ea—JLT« PFIBEQ1 MR FEIESR 7T 1> MEE BEQ1 #41 5,800 |$5&; %%
Ea—JLT« PFIDD1/2 ERFIERS T—F aAVRRAHILT 1/2 #SS 5,800 |F8
Ex—2JLT«  |PFIDD3/4 HRTCIERS T—F 2RI vk 3/4 #SS 5800 |F8
Ea—JLTF« PFIDD5/6 HRFEIESRR T4—F 2RI vk 5/6 #SS 5,800 |F8
Ea—2JLT«  |PFIDD7/8 HRTCIERS T—F 2RI Yk 7/8 #SS 5800 |F8
Ea—JLT« PFIDD9/10 BRFEIES T—F 2RI Yk 9/10 #SS 5,800 |F8
Ea—JLT«  |PFIDDCASS | FESR T4—F 22RO vbFyh #SS 38,000 |F8
Ea—7JLT«  |PFIDP6 R FEIERR 4 —E— - ~R1)— 88 DPT6 #40 5800 {5 &
Ea—2LT« PFIDPT6 A IEIEZE T EE DPT6 #40 5,800 |$5&; %%
Ea—JLT« PFIG TR FEIEAR MIEE G #41 5,800 |$5&; %
Ea—JLT«  |PFIG4/5 WA TIESR ULy TEE 4/5 #41 5800 |1E& &
Ea—JL7~« PFIGML1 WRFEIESE O 1 MEE 1 #41 5800 |iBE &
Ea—JLT+« PFIGML2 MR FTIERE O T MEE 2 #41 5800 ({5
Ea—JLT« PFIGML26 R FIESS O 1 @EE 2 #6 5,800 |F7
Ea—2JLT4 PFIHF1 ERFTIESS Ea— DL T« THEET #41 5800 |iBE &
Ea—JLTF« PFIHF2 R ITIESS Ea—T LT« ThEE 2 #41 5,800 |$5&; M
Ea—JLT« PFIHS16 HRTEIES: N TEE 1 #6 5,800 |$5&; M
Ea—JLT« PFITR1/2 R FEIESR M) EEE 1/2 #41 5,800 |$5&; M
Ea—JLT« PFIUP26 A FEIEZR HEE UP2 #6 5,800 |$5&; M
Ea—JLT« PFIW1 R FEIE ST SR W1 #41 5,800 |$5&; M
Ea—JLT« PFIW3 HRALIEIERS THEE W3 #41 5,800 |$5&; M
Ea—JLTF« PFIW36 TR FEIE AR MIER W3 #6 5,800 |$5&; M
Ea—JLT« PFIW38 TR FEIE AR MIEE W3 #8 5,800 |$5&; %
Ea—JLTF« PFIWDST WA TFTIERR VYRV MEE 1 #41 5,800 [F7
Ea—2JLT4 PFIWDS16 HMETEIESR VYR WIEE 1 #6 5,800 |D77
Ea—JLTF« PFIWDSTMK  [RUZFRF— )L S=3— W{EE I/ /05— H)L #6 8,000 |$5&IE
Ea—JLT« PFIWDSTMKX [RUARF—)L S=3— [H{5E ¥4/ H4—TAHJL BL 9,000 |$5&; %
Ea—7JLT4 |PFIWDS1S6 |RUARF—IL RV MEE 1 #6 8,000 |1B# &
Ea—2LT« PFIWDS1X RYFRF—)L ykV> MEE 1 BL 9,000 |$5&; %
Ea—JLT« PFIWDS2 WA TFTIESR VYRV MEE 2 #41 5,800 |$5&; %
Ea—JLT« PFIWDS26 M FTIES VYRV TEE 2 #6 5800 |F7
Ea—JLT« PFIWDS3 WA FIESR VYRV MEE 3 #41 5,800 |$5&; %
Ea—2L7«  |PFN RYARF—)L 7)—7 24 X)L 12,000 |$8E &
Ea—JLT« PGF Rryb70—7 J—ILRIU T4 VIR FEE #30 4,000 |$5HE
Ea—JLT« PGF/W Rroh70—T T—ILEIUTAYIR/94) T L X THEE #31 4,600 |$5EE
Ea—JLT« PGF/W6 RrybT0—7 T—ILRIVTAY IR/ A1) T L X TWiEE #6 4,600 |$5HE
Ea—JLT« PGF/W7 RrybT0—T T—ILRIVTAY IR/ A1) T L X WEE #7 4,600 |$5EE
Ea—JLT« PGF/W8 RrybZT0—7 J—ILRIVTAY IR/ 4T L X ThEE #8 4,600 |$5EE
Ea—JLT« PGF6 Rryb70—7 J—ILRIUTA VIR FEE #6 4,200 |$BHEE
Ea—2JL7« |PGR1 RYARF—I)L JYRTA)L HEE #6 11,400 |85 &
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Ea—JLT« PH1 RYARF— )L h—1H 21 12,000 |$5& %
Ea—JLT« PH2 RYARF— )L "—1UH> 2 #41 8,000 |$5&IE
Ea—2JLT+4 PH26 RYFRF—)L k—UH 2 #6 8,000 |D77
Ea—JLT« PH26M RYARF—)L h—UH> 2 RyhT4=y 1 #6 8,000 |$5&IE
Ea—2JLT+4 PH6 H5—a—F7T0—T h5—Ea—FH/N\2RIL #6 2,200 |B8
Ea—2LT«  |PH6CH H5—a—k70—T AS—Ea—R/\UFJL #SS 2,200 (1B E
Ea—JLT« PHOG6 H5—a—KF7F0—7 A5—Ea1—R/\UF)L UNC15 #6 3,600 |$BHEE
Ea—JLT« PICH JL—Y— MWhEE #41 5,800 |$5&) %
Ea—2JLT+4 PICH6 JL—Y— MEE #6 5800 |1BH &
Ea—7JLT«  |PICHS JL—Y— MhEE #8 5800 |1E& &
Ea—JLT« PINT11 TL—Y— /\TvY WEE 11 #2 5,800 |$5&; %%
Ea—2JL7«  |PJO/1 RYFRUZIILFEIL O3/8/E99 1 4mm #10 9,400 |{BEH &
Ea—2JLT+4 PJO/16 RYFRAILFEIL D3/8/EVD 1 4mm #6 9,400 |D23
Ea—JLT«  |PJO/2 RYFRUZILFEIL ©3/8/E9%9 2 5mm #10 9,400 |{BEH &
Ea—2JLT« |PJO/26 RYFRUAILFEIL ©3/8/E9%9 2 5mm #6 9,400 |D23
Ea—JL7~« PJO/2M6 RYFREDRIFEIL Da/N/EVY 2= 2 #6 9,400 |D23
Ea—JLT«  |PJO/3 RYFRUZILFEIL ©3/8/E9%9 3 6mm #10 9,400 |{BEH &
Ea—JLT« |[PJO/36 RYFRUAILFEIL ©3/8/E9%9 3 6mm #6 9,400 (D23
Ea—2JLT+4 PJO/3M6 RYFRAIFEIL D3/8/EVD S= 3 #6 9,400 |D23
Ea—2LT«  |PK-30HUORL |ZX#tfIUS/HPA S vyb& I avAby/i—tyk LR 1,400
Ea—JLT« PK-30HU11R [X#RIUS/HPA S T yh& AR MyI—tyb A— %2 T )L— 1,400
Eax—7JLT«  |PK-30HUIRL |3Z#:RIUS/HPA S ¥ yb& I )avRbhyss—tyk FL— 1,400
Ea—JL T4« PK-30HU2RL |X#:FAIUS/HPA S Twyk&I)aAVAMy/N\—t vk FRTA+ 1,400
Ex—JLT+« PK-30HU3RL |X#AIUS/HPH S Zwvb&IJavRbynN—tyk AP 1,400
Ea—2JLT+4 PK-30HU4RL |ZX#:AIUS/HPH S vk & I Yav Ry s—tyk /=T )L 1,400
Ex—JLT+« PK-30HU5RL |&#:AIUS/HPH S wwb&IJavRby/N—tyk /T O— 1,400
Ea—JLT« PK-30HU6RL |[3X#FI US/HPHA S ¥ yb &I JavAy/i—tyk SAUE— 1,400
Ex—JLT+« PK-30HU7RL |3Z#:FIUS/HPA S Zwk &I JavRby\—tyk T3599 1,400
Ea—JLT« PK-30HUSRL |[3Z#:fHI US/HPHA S ¥ whk& I JavRky/i—tyhk J)L— 1,400
Eai—7JLT«  |PK-30HU9RL |3Z#EFEIUS/HPA S ¥ yk& I )aAVRby/S—tyk 51— 1,400
Ea—JLT« PK-60HORL  [3Z#:FHI US/HPHA L % vk &I JavAky/i—tybk LR 2,300
Ea—JL7~« PK-60H11RL [3#FAHIUS/HPA L ¥ yh&IJaVAMyA—tybk F— v T )L— 2,300
Ea—2LF« PK-60H1RL |3Z#2FI US/HPA L ¥yb &I aVvRAy/s—tyk FL— 2,300
Exi—7JLT+« |PK-60H2RL |3X#:FRIUS/HPA L ¥ yb&I)avRbyss—tyb RIAk 2,300
Ea—JLT«  |PK-60H3RL |3#EFIUS/HPA L vyk&IJavAbys—tyk AL 2,300
Ex—JLT+« PK-60H4RL |3X#:FI US/HPA L ¥vb & )av Ay S—tyk 18— )L 2,300
Ea—JLT« PK-60H5RL |3 #aFHI US/HPH L 9wk &I )avRhy/A—tyh 10— 2,300
Ea—JLT«4 |PK-60H6RL |ZX#AAIUS/HPA L T yk&AVARY/A—t Yk SRS — 2,300
Ea—7JLT+4 PK-60H7RL |X#AIUS/HPH L v vk&IJarvAky\—tyk TS99 2,300
Eax—7JLT« |PK-60HS8RL |3X#:FHIUS/HPA L wyb&Iav Ry Si—tyk TIL— 2,300
Ea—JLT« PK-60HORL  [3#aFI US/HPH L vyhk &I AV R byA—tyk J1)—> 2,300
Ea—7JLT« [PK-9080RL |3#:FAI8AM DD L—/L &IV AMY/A—tyk LYk 2,300
Ea—2JLT+4 PK-90811RL |3Z#:FI8AMA DD L—/L &Y AV AMyN—tyk F—2 %2 T )L— 2,300
Ea—JLT« [PK-9081RL |#:FHI8AM DD L—/L&IAVAMY/IA—tvk FL— 2,300
Ea—2JLT+4 PK-9082RL  |3#:FAI 8A M DD L—/L &YV A by\—tyk FRTAk 2,300
Ea—JLT4 [PK-9083RL |3X#FI8AM DD L—/L &I YAVAM/N—tEYs AL D 2,300
Ea—2LT« PK-9084RL  |3Z#:FA1 8A M DD L—/L & aVvAhyN\—tyk /R—=T)L 2,300
Ex—JLT+« PK-9085RL |3 #:AI 8AF DD L—/L & )aVAMy/A—tyh 4T O— 2,300
Ea—JLT+4 PK-9086RL  |3Z#:FHI 8 M DD L—I/L &I AV AR IyN—t vk SRUA— 2,300
Ea—JL7+« PK-9087RL  [X#FI8AHA DD L—I)L & aAVRMy/IS—1Yk TS99 2,300
Ea—JLT« PK-9088RL (3 #tFI 84 DD L—/L &> JaVRAbysi—tyk T)L— 2,300
Ea—2JL7T«  [PK-9089RL  [Z#F18AM DD L—IL& YAV RMy/IA—tyk J1)—> 2,300
Ea—JLT«  |[PK-91400R [R#AI14KFH A#—YSDD L—/L &I )IAVAMy/IA—tyk Lk 2,800
Ea—7JL7T4 [PK-9140RL |X#EAI 144 DD L—/L &I aAVRMy/A—tyk LYR 2,800
Ea—2JLT4 |PK-914110R |31 14KH A —YSDD L—IL &I )IAVRy/A—tyk F— 4] 2,800
Ea—JL7+« PK-91411RL |3Z#:F1 14A&FH DD L—IL &ALV RIYIS—tyb A— % T )L— 2,800
Ea—JLT« PK-91410R [Z#FHI 14AH +—YS DD L—/L &I JavAky\—tyk FL— 2,800
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Ea—JLT« [PK-9141RL |KR#AI14AKFA DD L—I)L & YAVAMY/ISA—tyk FL— 2,800
Ea—JLT+« PK-91420R |3Z#:FI 144KH #—YS DD L—J/L &I AR bys—tyk I Ak 2,800
Ea—2JLT4 |PK-9142RL |ZX#AI14KH DD L—/L&IJaAVAMy/A—tyk RISk 2,800
Ea—2JLT4« |PK-91430R |31 14KH A—YSDD L—IL&I)IAVRMy/IA—tyh ALY 2,800
Ea—2LT« |PK-9143RL |R#AI14KHDD L—/)L&IJIAVAMYIN—1Yk FLD 2,800
Ea—JLT« |PK-91440R [R#AI14KH A#—YSDD L—JL &I )IAVAMyIA—tyb /3—=T )L 2,800
Ea—2JL7T«  [PK-9144RL  [Z#MAI 14K DD L—/L &IV RAMy/A—t Yk /3—T )L 2,800
Ea—JLT+« PK-91450R |3X#aFI 144AFH #—YS DD L—/)L &I AVRAMy/A—t Yk /10— 2,800
Ea—JLT« |PK-9145RL |3X#aFEI 144K DD L—IL& YAV A My/A—tyk 1T O— 2,800
Ea—2JLT+« |PK-91460R |3 14KH A —YSDD L—IL &I )IAVRRy/A—tyk SAUH 2,800
Ea—JLT« |PK-9146RL |#AI14ARFH DD L—/L &I IAVAMY/IS—tYk SRUE— 2,800
Ea—JLT« |PK-91470R [R#AI14KFH #—YSDD L—JL &I )IAVAMyIA—tyt TTvH 2,800
Ea—JL7~« PK-9147RL  [3#FI 14K DD L—J)L & )aAVRAbyIN—tyk TS99 2,800
Ea—JLT+« PK-91480R [ZZ#:FHI 14AH +—YS DD L—/L &I JavAky/\—tyk T )L— 2,800
Ea—JLT« [PK-9148RL |XK#AI14AKFH DD L—/L&)AVAMY/IA—tyk T)L— 2,800
Ea—JLT« |[PK-91490R |R#AI144KH #—VYSDD L—)L &I )IAVAby/S—tyk J1)—> 2,800
Ea—JL7~« PK-9149RL  [3#:FI 144K DD L—JL &IV R MyI—tyk J1)—> 2,800
Ea—2JLT«  |PK-9200RL |3Z#:FHI 20K F DD L—I/L &I YAV A MysAi—tyk LyR 4,200
Ex—JLT+« PK-92011RL |3Z#:F1 204&F DD L—IL &P JaAVRIyIS—tyb A=%D )L— 4,200
Ea—JLT« |PK-9201RL |3Z#RFE1 204F DD L— /L&A R ys/A—tyk FL— 4,200
Ex—JLT+« PK-9202RL  |3&#2FI120A&F DD L—JL &2V Rby/A\—t vk RTAk 4,200
Ea—2JLT«  |PK-9203RL |3Z#EFHI 20KF DD L—/L &I AV R MyIA—twyh ALY 4,200
Ex—JLT+« PK-9204RL  [3#2FI 20A&H DD L—JL & )aVRbyN\—tyk N—=T )L 4,200
Ea—2JLT«  |PK-9205RL |3#RFHI 204K DD L—I/L &I AV A My/A—tyk 1T O— 4,200
Ex—JLT+« PK-9206RL  [3Z#2FHI 20A&F DD L—J)L &IV R MyIN—t Yk RIS — 4,200
Ea—JLT« PK-9207RL  [3Z#:FHI 20A& R DD L—JL & )aAVRbyR—tyk TSS90 4,200
Ea—JL7~« PK-9208RL  |3Z#:FAI 204 M DD L—JL &P JavRby—tyk T)L— 4,200
Ea—JLT«  |PK-9209RL |3Z#EFHI20KF DD L—/L &I YAV R MyA—t1yh H1)—> 4,200
Ex—7JLT« |PK-ORTLAL |X#EAIA—Y LERAL—IL&IYAVAIIS—Ys =T )L 2,300
Ea—JLT+4 PK-ORTLSL (XR#ERAIA—Y LEHRA L—IIL&IIAVRMy/IA—tyh T)L— 2,300
Ea—JL7~« PK-ORTLIL [R#ERAIA—Y LEHRA L—IIL&IIAVRMyIA—yh F1)—> 2,300
Ea—7JL7+s |PK-ORTS4L |XK#AIA—Y SEEAL—IL&IYIAVAMI—tyk /=T )L 2,300
Ea—JL7~« PK-ORTSSL [X#ERAIA—Y S EEA L—IL&IIAVAMy/INA—tyk TIL— 2,300
Ea—JLT+4 PK-ORTSOL [R#ERAIA—Y S EEA L—IL&IYIAVAyI—tyk J1)—> 2,300
Ea—2JLT«  |PK2-5080RL |ZX#fHI8AMH L—IL&IYaAVAMy/Si—tyk LYK 1,600
Ea—7JLT+4 PK2-50811R |3X#:FI 8AR L—IIL &I AV RIYIN—tyb A= T )L— 1,600
Ea—JL7+« PK2-5081RL |3X#:FI 8ARA L—IL &I YaVRbyN\—tyk FL— 1,600
Ea—7JLT+4 PK2-5082RL |X#AI 8K L—IL &I aAVAMy/IA—t Yk FRTAk 1,600
Ea—7JLT«  |PK2-5083RL |X#AI8AH L—IL&aAVARyN—EYL FLUD 1,600
Ea—7JLT+4 PK2-5084RL |3Z#:FI 8AA L—IL &I YavAbyN\—tyk /—=T)L 1,600
Ea—7JLT4 |PK2-5085RL |X¥AISAH L—IL&PAVAMy/IA—tyk (I O— 1,600
Ea—2LT« PK2-5086RL |3X#:FI 8AR L—IL &I YAV ARIyN—t Yk SRUA— 1,600
Ea—JL7+« PK2-5087RL |3X#:FI 8AAH L—I/L &YV AMyN—tyk TS5vH 1,600
Ea—JLT+4 PK2-5088RL [X#FAI8AH L—IL&IYavRAky/i—tyk T)L— 1,600
Ea—7JLT«  |PK2-5089RL |ZX#AI8AH L—IL &ALV AyN—tYL J1)—2 1,600
Ea—2JLT4 PK2-5100RL |R#AI 10AKH L—IL&I)IVAMyN—H Yk LYk 1,600
Ea—JL7+« PK2-51011R |3Z#RAI 10A&H L—IL &I JaAVRIIS—tyb A— % T )L— 1,600
Ea—JLT+4 PK2-5101RL [XR#AI10KRH L—IL &I JaVAMyi—tyk FL— 1,600
Ea—JLT«  |PK2-5102RL |X#AI10AH L—IL &ALV AyN—tyk RIS+ 1,600
Ea—7JLT« |PK2-5103RL |3#AI10AKH L—IL &V AN—EYL FLUD 1,600
Ea—7JLT4 [PK2-5104RL |X#EAI10AH L—I/L & YaAVRMyIN—tyk /S—T )L 1,600
Ea—2JL7+ |PK2-5105RL |XR#EFAI10AA L—IL&IIAVRbyIN—1yk (T O— 1,600
Ea—JL7+« PK2-5106RL [ZR#AI10AKRA L—IL&IYaAVAMy/IA—tyk SRUE— 1,600
Ea—JL7+s |PK2-5107RL |REAI10AA L—IL&IIVAMYIN—tYk TS99 1,600
Ea—7JLT« [PK2-5108RL |X#ARI10AR L—/L &> YavRby/—tyk TIL— 1,600
Ea—7JLT« |PK2-5109RL |Z#AI10AKH L—IL &V AMyN—tYE J1)—2 1,600
Ea—JLT«  |PK2-6050RL |X#AISAR 1T F L L—IL&IYIAVRIyISA—1Yk YR 1,200
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Ea—JLT« PK2-60511R [X#AISAR /L L—IL&IJAVAMIIS—ty F—2 v T ) 1,200
Ea—JLT« PK2-6051RL [X#FAISAR 41U L L—IL &I IAVAMyN—t Yk FL— 1,200
Ea—7JLT« |PK2-6052RL |R#AISAR 1YL L—IL&IIAVRMYIA—tYb FRTAF 1,200
Ea—JLT« PK2-6053RL |X#AISAR /L L—IL&IaAVAM/S—tyk AP 1,200
Ea—7JL7T«  |PK2-6054RL |R#AISAR 1YL L—IL&IIAVAMYIA—tYb /S—=T )L 1,200
Ea—JL7~« PK2-6055RL |XX#RISAR 1YL L—IL&IAVAM/—tys 1T A— 1,200
Ea—JLT« PK2-6056RL [3#FAISAR /U H L L—IL&IIAVAMYN—t1 Yk SRS — 1,200
Ea—JLT« PK2-6057RL [X#AISAR /L L—IL&IaAVAM/IS—tyk TSS9 1,200
Ea—JLT« PK2-6058RL |[X#FAHISAR 41U H L L—IL&IIAVRAyN—tyk TI)L— 1,200
Ea—JLT41 |PK2-6059RL |R#AISARA (UYL L—IL&IIAVRMyN—tYk J1)—> 1,200
Ea—JLT« PKE-4120R [X#AI12&H L—L&IJavAy/i—tyk LR 2,800
Ea—JL7~« PKE-41211R |31 12488 L—IL &I JAVRIyIS—tyb A= v T )L— 2,800
Ea—2JLT+4 PKE-4121R [X#AI 12K L—/IL &I JavAMy/i—tyk FL— 2,800
Ea—JL7~« PKE-4122R |X#RAI 12KH L—IL &I AVRby/A—t vk RTAE 2,800
Ea—JLT« |PKE-4123R |[X#AI 12K L—I/IL & YavRbyR—tyk LoD 2,800
Ea—JLT« |PKE-4124R |XZ#AI12AH L—IL&IIAVAMIA—t Yk =T )L 2,800
Ea—JLT« PKE-4125R [X#AI12KRH L—I)L &I YAV Ay —tyk 41T O— 2,800
Ea—JLT« |PKE-4126R |X#AI12AKH L—IIL&IIAVAMYIS—t Yk SAUE— 2,800
Ea—JLT« PKE-4127R [X#AI 124K L—IL &I JavAhyi—tyk TS99 2,800
Ea—2LT« |PKE-4128R |XZ#AI12AKH L—IL &IV Ay/RA—tyk TIL— 2,800
Ea—JLT« PKE-4129R [X#AI12&KH L—/IL &I JaVAMy—tyk F1)—> 2,800
Eai—7JLT4 |PKE-4160R |MEAEI164KA L—/L &S YaAVR by Si—tyk LyR 2,800
Ea—2JLT+4 PKE-41611R |3X#RAI 16 &H L—IL &I JaAVRIIS—tyb =% T )L— 2,800
Ea—2LT« |PKE-4161R |X#AI16AH L—IL&I)IAVAMyIA—tyh FL— 2,800
Ea—JL T4« PKE-4162R |X#AI16AKH L—IL&I)IAVAMy/N—Hyb KT+ 2,800
Eai—7JLT« |PKE-4163R |X#AI16AH L—/IL&YaAVR yR—tyk ALY 2,800
Ea—JLT« PKE-4164R [X#AI16KH L—IL&IYaVRAMy/S—tyk /=T L 2,800
Ex—7JLT« |PKE-4165R |X#ERAI16AH L—I/IL&PAVRAMY/ISA—Fyh (T O— 2,800
Ea—JLT« |PKE-4166R |X#EAI 164K L—IL &I UAVRMYIN—tYk SRS — 2,800
Ea—JL7~« PKE-4167R [X#AI16 KR L—IIL&IJaVAMy/A—tyk T5vY 2,800
Ea—JLT« |PKE-4168R |Z#AI16AKH L—IL &IV Ay/RA—tYk TIL— 2,800
Ea—JL7~« PKE-4169R [X#AI16 &R L—IIL&IJaVAMy/IA—tyk F1)—> 2,800
Ea—7JLT«  |PKE-4200R |3 20KH L—IL &V ARyN—tyk LYK 3,000
Ea—JL7+« PKE-42011R |3Z#2FI 204K FH L—IL &ALV RMyIS—tyh A= v T )L— 3,000
Ea—7JLT+4 PKE-4201R [X#MAI20KH L—/IL &I JaVAMy/i—tyk FL— 3,000
Ea—JLT«  |PKE-4202R |X#AI20AKH L—IL &V Ay\—tyk RIS+ 3,000
Ea—JLT« |PKE-4203R |X#AI 20K L—/IL &> YavRbyR—tyk LoD 3,000
Ea—7JLT«  |PKE-4204R |XH#AI20AKH L—IL&IIAVAMyIS—t Yk =T )L 3,000
Ea—7JLT« |PKE-4205R |3HAI20KH L—I/L&¥aAVAby/A—tyh 41T A— 3,000
Ea—JL7+« PKE-4206R  [Z#MAI20KH L—IL &I JaAVARy/IA—tyk SR — 3,000
Ea—JLT« PKE-4207R  [3Z#FAI 20K L—IL &I JavAyi—tyk TS99 3,000
Ea—JL7+« PKE-4208R  [Z#MAI20KH L—IL &I YaV Ay i—tyk T)L— 3,000
Ea—JLT« |PKE-4209R [X#AI 20K L—IL &IV R yS—tyk J1)—> 3,000
Ea—JL7+« PKE-8120R [XR#ERI 12K 5 FR 4yt L—IL &I )IAVRIyA—t vk LYk 2,800
Ea—JLT« PKE-81211R [R#RAI 12K 5 FR4vk L—IL &I )IAVRIyIA—t1 vk £—4 2,800
Ea—JLT« |PKE-8121R |R#AI12AKH >V FRAYM L—IL&IAVAMYIN—tyk FL— 2,800
Ea—2LT« PKE-8122R [R#ERI 12K 5 FR4yk L—IL &I )IAVRIys—t1 vk FRT AN 2,800
Ea—JL7+« PKE-8123R [R#ERI 12K JFR 4yt L—IL&IYIAVRIyIA—tyk ALY 2,800
Ea—JLT« PKE-8124R [R#ERI 12K 5 FR4vk L—IL &I )IAVRIys—t1 vk 18—T 2,800
Ea—JLT« |PKE-8125R |X#AI12AH L9 FRAYk L—IL&IIAVARY/IN\—t Yk £ T O 2,800
Ea—JLT« PKE-8126R [R#ERAI 12K 5 FR vk L—IL&IYIAVRIyIA—t1 Yk SRUA 2,800
Ea—JLT« PKE-8127R [R#ERI 12K JFR 4yt L—IL &I YAV RIyIs—tvk T594 2,800
Ea—JLT« PKE-8128R [XR#ERI 12K 5 +R 4yt L—IL &I )AVRIyIA—t vk TIL— 2,800
Ea—JLT« PKE-8129R  [R#ERI 12K 5 FR 4yt L—IL &I YAV RIys—t1yk F1)— 2,800
Ea—JLT« PKE-OSOR  [X#MAIOSH L—/L&IJavAhy/i—tyk Lyk 4,400
Ex—JLT+« PKE-OS11R [X#MAIOSH L—I/IL&IJaVAMyIA\—tyk F— %2 T L— 4,400
Ea—JLT« PKE-OS1R [X#MAIOSH L—/IL&IJavAhy/i—tyk FL— 4,400

40 /68 "—




Ea—ILF 1T N —T Rk

(FidR) 20244%3A21BKYER

Ex—7JLT« |PKE-0S2R |X#AIOSH L—IL&IIAVAMy/A—tyk KT Ak 4,400
Ea—JLT« PKE-OS3R  [X#tFHI OSH L—I/L &I JavRbys—tyk AL 4,400
Ex—7JLT« |PKE-0S4R |X#ERIOSAH L—IL&IaAVAby/S—tyb =T )L 4,400
Ea—JLT« PKE-OS5R  [X#:FHI OSH L—IL &I JavRAby/S—tyk AT A— 4,400
Ea—7JLT+« |[PKE-OS6R |X#AIOSH L—IL&IIAVAIY/IA—tYk SRUE— 4,400
Ea—2LF+« PKE-OS7TR  [X#FHIOSH L—I/L &I JavR by Si—tyk TS99 4,400
Eai—7JLT« |PKE-OS8R |X¥EAEIOSA L—I/L&IIAVAMy/A—tyk TI)L— 4,400
Ea—2JLT« |PKE-0S9R |X#AIOSH L—IL&IYAVAMyIA—tyk J1)—> 4,400
Ea—2LT«  |PKN1 RYFRF— )L HLA<—-REVX EE 1 #41 8,000 |D77
Ea—2LF+« PKN152 RYFRF—IL YLAI—-REVX [MEE 152 #2 8,000 |D77
Ea—JLT4  |PKN1526 RYFRF—)L HLAX—-REVX ThEE 152 #6 8,000 |D77
Ea—2LF+« PKN152X RYARF—)L YA —-REVX 88 152 BL 9,000 |D7
Ea—JL7~« PKN16 RYFRF—IL YLAI—-REVX TEE 1 #6 8,000 |D77
Ea—JLT«  |PKTI DYIRALVAYIL AU PKh—< R THEE 1 #41 4,800 |F23
Ea—2LT«  |PKT2 DIPAAVAYIL AU PKE—T R THEE 2 #41 4,800 |F23
Ea—2JLT+4 PKT3 TYPRALDRAYIL AV PKE—<T X THEE 3 #41 4800 |F23
Ea—JLT4  |PKT36 DIPRALVAYIL AU PKE—T R THEE 3 #6 4,800 |1BEE
Ea—JLT« PKT3R DYGRAVRAYIL A PKE—< X TEE 3R #41 4,800 |$B&E
Ea—2JLT«  |PKT3R6 TYYRALAYIL A PKh—T X [EE 3R #6 4,800 |1BE &
Ea—JLT« |PKT4 DYIRALVAYIL AU PKh—T R THEE 4 #41 4,800 |F23
Ea—2JLT«  |PKT5 DIPRAAVAYIL AU PKh—T R TEE 5 #41 4,800 |F23
Ea—JLT« PLGBK6 IW—bXvFILTS5H— hv vyt HEE #6 4,800 |E6
Ea—JLT« PLGGR1 R—2TS5H— JURTAIL #6 6,600 |D54
Ea—7L74  |PLGGR1X R—2TS5H— JURTAILBL 7,000 |D17
Ea—JLT« PLGJO/4 R—2TS5H— Dan/Evy 4 #522 6,600 |D53
Exa—JLT«  |PLGJO/46 R—2TS5H— PanN/Evy 4 #6 6,600 [D53
Ea—JLT« PLGJO/4X R—2T5H— Pa/,\/EvY 4BL 7,000 |$5&; 5
Ea—2JLT«  |PLGJO/56 R—2TS5H— PanN/Evy 5 #6 6,600 |D54
Ea—JL7~« PLGLABANC6 |(R—>TS5H— S/ HiEE 3x1.5mm #6 6,600 |D53
Ea—JLT« PLGLABANCX |R—>TF5H— S/ HiEE 3x1.5mm BL 7,000 (D17
Ea—JL T4  |PLGRFI IW—bXvFILTSH— LbaD4) ) TEE 1 #41 4,800 |E6
Ea—JL7«  |PLGRF2 IW—bXvFIVTSH— LbaD4) ) ThEE 2 #41 4,800 |E6
Ea—JLT« PLGROMP1X [R—2T5H— Oy SEEEIA BL 7,000 |$5&; 5%
Ea—JLT« PLGROMP2X [R—2TFS5H— oAy =i BL 7,000 |$5&; 5
Ea—JLT4  |PLGTAHM YAFRYTAVRYILAUS 3—< 1T ThHEE #6 12,000 |D108
Ea—7JLT+4 PLGVEL56 IW—rX ¥ FILTS5H— R)L/\—| THEE #6 5,800 |E6
Ea—JLT« PLPK T5H—-RIAFr—EvH— 4,000 |G19
Ea—JLT« |PMB RyykFO—7 A1JybB FEE #30 4,000 |1BE &
Ea—JLT« PMB6 RrykFO—7T AJybB FEE #6 4,200 |$5HE
Ea—JLT« PMP7002 ATLTL—H— BB E 46 9,000 |$5&; %
Ea—JLT« PMPI ATLoTL—H— #2 6,600 |$5&) %%
Ea—JLT« PMPI6 ATLTL—H— #6 6,600 |$5&; M
Ea—JLT« PMPIE ATLTL—H— 21— #6 6,600 |$5&) %%
Ea—2JLT+4 PMPIX AT TL—H—BL 9,000 |D53
Ea—2JLT7«4 |PO RryhFo—7 224> 0 FEE #30 4,000 |1BEE
Ea—JLT«  |PO6 RoryhFo—7 32HY 0 HEE #6 4200 (1B &
Ea—2JLT4  |POW RrybT0—T 2247 L X OW FEE #30 4,000 |1BEE
Ea—JLT«  |POW6 RrybT0—T 2247 LX OW B8 #6 4200 |1BE &
Ea—2JLT«  |PP25 RYARF—)L 25 16,000 |D80
Ea—JLT«  |PP5504 RYARF—)L Zya R/L FEE #510 12,000 |$8E &
Ea—2JLT«  |PP5590SIM | RUFARF—)L O34 hEE #6 12,000 |$8E &
Ea—JLT+« PPAEL RNYARF—)L 7L WEE #6 11,400 (D79
Ea—JL7+« PPAELA RNYFRF—)L 7L MEE B #6 11,400 |D79
Ea—2JLT+4 PPAELAX RNJARF—)L 7L MEE s A BL 12,000 (D6
Ea—JL7+« PPAELP RNYFRF—)L 7L MEE BAEF #6 11,400 |D79
Ea—2LT« PPAELPX RNYFRF—)L 7L MEE A BL 12,000 |D7
Ex—JLT+« PPAELX RNYARF—)L 7L WEE BL 12,000 |D6
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Ea—JLT+« PPBUH2M2X [RUFRF— )L T—H—7h—1H> KB E HEE SBL 12,000 |$5& %
Ea—JLT« PPBUH2MX  [RUARF— )L T—H—-7h—H> B E HEE LBL 12,000 |15
Ea—2JLT+4 PPBUSE1/26 [RUARUAILFEIL T—H—1/2 #6 7,800 |D22
Ea—JL7~« PPBUSE1/36 [RUARUAILFEIL T—H—1/3 #6 7,800 |D22
Ea—2JLT+4 PPBUSE2/36 [RUARUAILFEIL T—H—2/3 #6 7,800 |D22
Ea—JLT« PPBUSER RYARF— )L T—H— [lEE #10 8,000 |D79
Ea—7JL7T«  |PPBUSER1/2 |RUFZRUALFEIL T—H— 1/2 #10 7,800 |$EHE
Ea—JLT« PPBUSER1/3 [RUZRUAILFEIL T—H— 1/3 #10 7,800 |$5 &)
Ea—2JLT+4 PPBUSER12X [RUARUAILFEIL T—H—1/2BL 8,800 |D22
Ea—2JL7T«  |PPBUSERI3X |RUFAR AJLFEIL T—H—1/3 BL 8,800 |D22
Ea—7JL7T«  |PPBUSER2/3 |RUFZRLUAILFEIL T—H—2/3 #10 7,800 |$EHE
Ea—2JLT«  |PPBUSER23X |RUZAR AJLFEI)L T—H—2/3 BL 8,800 |D22
Ea—JLT« PPBUSERG RYARF— )L T—H— ThEE #6 8,000 |D79
Ea—JLT« PPBUSERX  [RUZARF— )L J—H— fHEE BL 9,000 |D7
Ea—2LT« PPLABANC26 |NUARF—IL T/ 7 A RE! HEE 2 #6 12,000 |D78
Ea—2LT«  |PPLABANC36 |NUZRF—)L J/\H HBEE MHEE 3 #6 12,000 (D78
Ea—2LT« PPLABANC3X [RUZFRF—IL S/30h B E [MEE 3 BL 13,000 |$5& &
Ex—JLT+« PPLABANCA [RUZAZRF— )L T/ 27 MEE 1 #10 12,000 (D78
Ea—2LT« PPLABANCA2 |RUZARF— )L T/ A A RE! HEE 2 #41 12,000 |D78
Ex—JLT+« PPLABANCA6 |NUZARF—JL T/ 71 MEE 1 #6 12,000 (D78
Ea—2JLT+4 PPR3 RYARF—)L F1)F+v—K THEE PR3 #522 8,000 [D78
Ea—JLT« PPR3/9A RYZFRF—)L W5E 3/9A #522 8,000 |$5&IE
Ea—2JLT+4 PPR3/9A6 RYFRF—)L HEE 3/9A #6 8,000 |D78
Ea—JLT« PPR36 RYARF— )L F)Fr—F iH5E PR3 #6 8,000 |D78
Ea—JLT« PPR3S RYARF— )L FT1)Fr—F PR3S #522 8,000 |$B&E
Ea—2LT«4  |PPR3X RYFZRF— )L F)F+—K WEE PR3 BL 9,000 |D6
Ea—2JLT+4 PPS10KIT12 |hS5—Eax—70—7 RUYFRH)—2 LX vk KHEE 10 #6 13,800 |iB& &
Ex—7JLT« |PPSI10KIT6 |hS5—Ex—T0—T RUFRYJ—> SFub FEE 10 #6 8,600 |B9
Ea—JLT« PPS10PT HAZ—Ea—T0—T RYAXRY)—> X|AFYT(12A) FEE 10 12,600 |B9
Ea—JL7~« PPS12KIT12 |hS5—Eax—70—7 RYFRH)—2 LE vk KHEE 12 #6 13,800 |iBH &
Ea—2LF« PPS12KIT6 |HhS5—Ea—70—7J RYARH)—> SEHyb KEE 12 #6 8,600 |B9
Ea—JL7~« PPS12PT Ho5—Ea—T0—T RYARH)—> ZTAFYIT(12A) FEE 12 12,600 |B9
Ea—JLT« PPSG12PT HZ—Ea—T70—7 [|FvT (12A) T—ILFRELY 12,600 |$5& %
Ea—JLT« PPSGKIT6 H5—Eax—70—7 SF*vybk FEE I—ILFRAAL #6 8,600 |$5HIE
Ea—JLT4  |[PPSPAHR6  [RUARF—)L R/\— /NES #6 12,000 |$8E &
Ea—2JLT«4 |PPSPROMO10|hS5—Ea—T70—7J RYFRHY—> Pk KEE 10 #6 2,600 (1B E
Ea—7JLT+4 PPSPROMO12 [h5—Ea—70—7 RYFRY1)—2 Pk FEE 12 #6 2,600 |55 &
Ea—2JL7T«  |PPSTEIG RYARF— )L RTATI RT1)vA— ThEE #SS 12,000 |D80
Ea—7JLT+4 PQ2N H5—a—F7F0—T R4/3—X 5B Q2N #31 6,000 |B14
Ea—JL7+« PQ2N6 H5—a—k70—T RA/3—X [EE Q2N #6 6,200 |B14
Ea—7JLT+4 PQ2N7 H5—a—F7FT0—T RA/\—X 8B Q2N #7 6,400 |B14
Ea—JLT« [PQ2N8 AZ—a—KRT0—T RA/\—X TH5E Q2N #8 6,400 |$5& &
Ea—2JLT4 |[PQOW H5—a—k70—T o) 7 LX FEE OW #30 4,000 |1BE &
Ea—JLT« PQOW115B6 |(A5—a—KR70—7 L oq)7LX /1158 MEE #6 6,000 |$5&; %
Ea—2JLT+4 PQOWS6 H5—a—k70—T Lo4)F7 LR FEE OW #6 4,200 |B12
Ea—JLT« PQOW?7 H5—a—k70—T o) F7 LR FEE OW #7 4,400 |$5EE
Ea—JLT« [PQOWS H5—a—k70—T Lo 4)F7 L X FEE OW #8 4,400 (1B &
Ea—JLT« |PQW AZ—a—KRTA—T 4)F7 LX FEEW#30 4,000 |1BEE
Ea—JLT«  |PQW6 H5—a—KRT0—7 Y47 LX FEE W #6 4200 |1BE &
Ea—JLT« PQW7 H5—a—k70—T D47 LX FEEW#7 4,400 |$5EE
Ea—JLT«  |[PQWS H5—a—k70—T D47 LX FEE W #8 4,400 (1B &
Ea—JLT« PROCLHDLS |Fa—XIRTTavo5—Y BERNVEIL 2,600 |F24
Ea—JLT« PROGS Fa1—RIRTTavIT—2 TAR—ay 7,000 [F24
Ea—2JLT«  |PTI RN)A~—L EE 1 FIE A #6 5,800 |D82
Ea—JLT«  |PTIX R)A+—L WEE 1 FEA BL 6,200 [D10
Ea—2JLT4  |PT2 R)A~—L THEE 2 A #6 5,800 |D82
Ea—JLT«  |PT2X A ~—L 58 2 AIEA BL 6,200 [D10
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Ea—2JLT74 |PT3 ~R)ZAb—L F5E 3 FIEF #6 5,800 (D82
Ea—2JLT4 PT3X ~NFh—L FEE 3 FAE A BL 6,200 |D10
Ea—2JLT7« |PT4 NR)Ab—L F5E 4 B #6 5800 (D82
Ea—2JLT4 PT4X ~NFAh—L FEE 4 FAE A BL 6,200 |D10
Ea—2JLT4 |PT5 AR)Ab—L FEE 5 B #6 5800 (D82
Ea—2JLT4 PT5X ~NFh—L FEE 5 ATE A BL 6,200 |D11
Ea—2JLT«4 |PT6 A)Ab—L F5E 6 B #6 5800 (D82
Ea—2JLT4 PT6X ~NFh—L FEE 6 A& BL 6,200 |D11
Ea—2JL7T« |PTAA FREL—4— AT 45— 3200 |{BEH &
Ea—JLT« PTFS FREL—4— TLAH— XT1LYk 15¢cm 4,800 |$B&E
Ea—JLT« PTFSB FREL—4— TLAH— XT1L Yk 21cm 4,800 |$5&E
Ex—2JL7«  |PTI-0008 KHAS 8AKA FTINTYvH— AT —LRAMyS— 1A 2,200 |1BE &
Ea—2JL7«  |PTI-0029 TEAS 14K AT IVTvh— AT —LRMy/A— 1A 1,000 (5%
Ea—7JLT«  |PTI-0050 KHAS 20K FTINTvH— AT —LRARyS— 1A 2,800 |1B# &
Ea—2JLT«  |PTIO RYA—L T]E FvT 77 )L EEDA 7,400 |D81
Ea—2LT« PTI7 RYA—L ZH]E F9T AL—F L 7,400 (D81
Ea—JLT« PTI8 RYA—L TH]E FvT XL—F S 7,400 (D81
Ea—2LT« PTI9 RYAb—L TH]B FvT 7T 7,400 (D81
Ea—2JLT7« |PTH RYAb—L THE AR 7,400 |D81
Ea—2JLT+4 PTIKIT RYAb—L TH}E Tk 35,000 (D81
Ea—JLT«  |PTNFMI JLYbIUR 4OV 1A 2,800 |1BEE
Ea—JLT« PTROM16 RYZZRF—)L kAN THEE 1 #6 8,000 |$B&E
Ea—JLT4 |PTRTA RIVRXYYT K|RAFvT KAH 1,200 |D87
Ea—2JLF74 |PTRTC RIRXYT RAFvT N 1,200 |D87
Ea—JLT« PTRTCL TRAEL—3— WA Fa1—T 474—b 5,800 |$5&; %
Ea—JLT«  |PTRT RIRXYT XAFVT $HR 1,200 |D87
Ea—JLT« PTS TSRFYITARRT A9 6 A 2,400 [C29
Ea—JLT« PW Rrok7n—7J 4)7 L X FEE #30 4,000 |B14
Ea—JLT« PW6 RrohT0—7T 47 L X FEE #6 4200 |B14
Ea—JLT« PW7 Rroh7n—7J 4 )7 LX FEE #7 4,400 |$BEE
Ea—JLT4  |PW8 RrohT0—7T H4)7 L X FEE #8 4,400 (1B E
Ea—JLT« PWD Ryt 0—7 D4 )7 LX A7ty HEE #31 4,600 |$5EE
Ea—2JL7«  |PWD6 Rroh70—7T )7 LX A7y HEE #6 4,800 |1BEE
Ea—JLT« PWILL RYFRF—)L 94— KEE 8,000 |D74
Ea—JLTF« R1 BH#F Ea—TLT 11 42,000 |D88
Ea—2JL74 [R15 B#F E2a—TJLT 415 42,000 |$BEH &
Ea—JLT4 |RI18 B#F E2a—TJLT 18 42,000 |15 &
Ea—JLT« R18M FHF Ea—TLTA FTILTI30 18M 66,000 |$5HE
Ea—JLT« R1A FHHF I—F 1A 42,000 |1BH &
Ea—7L7«s  [R3H BEF 71— 3H 50,000 |1B# &
Ea—JLT« R4 FHF V)—TSUK 4 50,000 |D88
Ea—JLT« R4A FHF V=T SUK 4A 50,000 |$5&iE
Ea—JLT« R5 FHHF VU—TSUK5 50,000 |$5#iE
Ea—JLT« R5S FHF V1)—T 5K 58 50,000 |D88
Ea—7JLT4 |RASP R—2SRT #6 6,600 |D54
Ea—JLT« RBEY FHHF RAY—FTILTHay 52,400 [D90
Ea—JLT« RBL B#F JIL—A2A)L 30° 42,000 |D89
Ea—JLT« RBL45 BEF JIL—A2 AL 45° 42,000 |D89
Ea—2JLT«  [RBL9O BT TIL—A2%)L 90° 42,000 |$BEH &
Ea—7L74 |RBOE BF X—5— FTILT7 U ay 66,000 |5 &
Ea—2JLT4« [RCP1/3 IW—bXvFILTS5H— MmEE 1/3 4,800 |E16
Ea—JLT« RCP1/3X IL—bX Y FIILTSH— WEE 1/3 BL 5,800 |$5&; %
Ea—JLT« RCP10 IL—b¥r )L TS5H— BEHeA FEE 10 4800 |E18
Ea—JLT« RCP10-1/2 |[JL—hFrFILTS5H— FEAEA FEE 10—1/2 4,800 |$B&E
Ea—2JLT4 [RCP10-1/2A |JL—hF¥+FIILTS5H— Rt HEE 10—1/2 4,800 |1BEE
Ea—JLT« RCP10A IL—bXv LTS5 — RiEA FEE 10A 4800 |E18
Ea—JLTF« RCP11 I—bXv I TS5H— A FEE 1 4800 |E18
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Ea—JLT« RCP11-1/2 |[JL—hFrF I TSH— FAEA FEE11—1/2 4,800 |$B&E
Ea—2JLT4 [RCP11-1/2A |JL—hFrFIILTS5H— R FEE 11—1/2 4,800 |1BEE
Ea—JLT« RCP11A I—rE Y FILTSH— FiERA FEE 1A 4800 |E18
Ea—JLTF« RCP12 IW—bXvFILTS5H— BEH FEE 12 4800 |E18
Ea—JLT« RCP12A I—rEYFILTSH— BiERA FEE 12A 4800 |E18
Ea—JLT4  |RCP40 IL—bhXvFILTS5H—1SO HEE 40 4,800 |1BEE
Ea—JLT« RCP5/7 IW—rX¥FILTS5H— WEE5/7 4,800 |E16
Ea—JLT« RCP5/7X IL—bF Y FIILT5H— WEE5/7 BL 5,800 |$5&) %
Ea—2JLT«  |RCP50 IL—bFX v FI)LT5H—1SO KEE 50 4,800 |1BEE
Ea—2LT«4  |RCP60 IL—brXvFILTFS5H—1SO HEE 60 4,800 |1BEE
Ea—JLT« RCP8 IL—bXv LTS5 — BEtaA HEE 8 4800 |E18
Ea—JLT« RCP8-1/2 I—bXv L TS5H— BEtaAHREE 8-1/2 4,800 |$5&E
Ea—JLT« RCP8-1/2A |IL—hFvFILTSH— RiEA FEE 8-1/2A #32 4,800 |$B&E
Ea—JLT« RCPSA IL—bhXvFILTS5H— RiEA HEE 8A 4800 |E18
Ea—JLT« RCP9 I—bhXvFILTS5H— BtA FEE 9 4800 |E18
Ea—JLT« RCP9-1/2 IL—bXv LT S5H— B FEE 9-1/2 #32 4,800 |$5&E
Ea—JLT« RCP9-1/2A |IL—hFrFILTSH— BiEA FEE 9-1/2 #32 4,800 |$B&E
Ea—JL7~« RCP9/11 IL—hEX¥FILTS5H— MHEE 9/11 4800 |E16
Ea—JLT« RCP9/11X IL—bhXvFILTS5H— MEE 9/11 BL 5,800 |$5&; %%
Ea—JLT« RCP9A IL—bhXvFILTS5H— RiA FEE9A 4800 |E18
Ea—2JLT«  |RCPGLI IW—bXvFILTSH— J)vy HEE 1 #41 4,800 |E16
Ea—2LT« |RCPGL16 =X FILTSH— J)vy HEE 1 46 4,800 |E16
Ea—JLT«  |RCPGL17 IW—bXvFITSH— J)vy WEE 1 #7 4,800 |1BE &
Ea—JLT4  |RCPGLIX IW—bXvFILTS5H— )y WEE 1 BL 5800 |1B& &
Ea—JLT« RCPL1 IW—bXvFILTS5H— SvH X FEE LI 4,800 |$B&E
Ea—JLT« RCPL2 IW—bXvFILTSH— S99 R REE L2 4,800 |$5&E
Ea—2JLT«  |RCPL3 IW—bXvFILTS5H— S99 R REE L3 4,800 |1BE &
Ea—JLT« RCPL4 IW—bXvFILTS5H— 599X FEE L4 4,800 |$5&E
Ea—JLT« RCPM1/2 IW—hE¥FITSH— <P 21— MEE 1/2 #41 5,800 |$5&; %%
Ea—JLT« |RCPM3/4 IW—bFXrFILTSH— < 21— WHEE 3/4 #41 5800 |1B& &
Ea—2JLT4 RCPSL172 W—bFYFILTSH— ALATY REE 1 #7 5,800 |E17
Ea—2LT«  |RCPSL275 IW—bXvFILTSH— A4 KEE 2 #7 5800 [E17
Ea—2JLT+4 RCPSL376 IW—bFYFILTSH— AL HEE 3 #7 5,800 |E17
Ea—JL7T4  |RCPSL478 =X FITSH— ALAT REE 4 #7 5800 [E17
Ea—7JLT+4 RCPSL577 IW—bFYFILTSH— AL HEE 5 #7 5,800 |E17
Ea—JLT« RCS00A IL—bFXvFILRT LA — mEk= gita A 58 00A 4,000 |$5HE
Ea—JLT« RCSO0P IL—bhEXvFILRT LA — mzk= Bt A 58 00P 4,000 |$BHE
Ea—JL7T4  |RCSOA IL—bFXvFILRT LA — mzE= st A HEE 0A 4,000 |1BEE
Ea—JLT« RCSOP =X FIILRTLF— nEh BHEA F5E 0P 4,000 |$BHE
Ea—JL7+« RCS25NT IL—hEX¥FILRAT LA — NT FEE 25 #7 5,000 |E15
Ea—7JLT+4 RCS25SNT IW—bF ¥ FILRATLA— NT HEE 258 #7 5,000 |E15
Ea—JL7T4 |RCS3 IL—bX v FILRTLE— nz FEE3 4,000 |E15
Ea—JLT«  |[RCS30 IL—hF ¥ FIILRATLE—ISO FEE 30 4200 |1BE&E
Ea—JL7+« RCS3NT IL—hEX ¥ FILRAT LS — NT FEE 3NT #7 5,000 |E15
Ex—7L74  |RCS40 IL—hF ¥ FIILRATLE—ISO FEE 40 4200 (1B &
Ea—JL7+« RCS40SNT IL—hF ¥ FILRT LS — NTHEE 40S #7 5,000 |E15
Ea—JLT«  |[RCS50 IL—bF ¥ FIILRATLE—ISO FEE 50 4200 |1BE &
Ea—JLT« RCS60 IL—hX¥FILRATLHF—ISO KEE 60 4,200 |$5EE
Ea—JLT« RCSD11 IL—bhFXvFILRATLA— KEE D11 #30 4,000 |E14
Ex—JLT+« RCSD11NT IW—bF¥FILRATLA— NT HEE D11 #7 5,000 [E15
Ea—JLT+« RCSD11S IL—rF¥FILRAT LA — FEED11S #30 4,000 |E14
Ea—JLTF« RCSD11T IL—hX ¥ FILRATLSF— HFEEDIIT#30 4,000 |E14
Ea—2JLT4 RCSDI1TNT  [JL—hFrFI)LRTLSF— NT HEE D11T #7 5,000 |E15
Ea—JLTF« RCSD11TS IL—bhFvFILRTLA— FEEDI1TS #30 4,000 |E14
Ea—2JLT4 RCSD11TSNT [JL—hFrF)LRTLA— NT FEE D11TS #7 5,000 |E15
Ea—JLT« RCSD11TSX |JL—hF+vFILRTLA— KFEEDI1TS BL 4,800 |$5&E
Ea—JLT« RCSD11TX IL—bFvFILRATLA— KFEEDIITBL 4,800 |$B&E
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Ea—JLT« RCSD11X IL—hrE¥FIILRATLS— KFEE D11 BL 4,800 |$5&E
Ea—JLT+« RCSGP1 IL—hF¥FILRAT LS — HEE GP1 #30 4,000 |E14
Ea—JLT« RCSGP1X IL—rFE¥FILRAT LS — HEE GP1 BL 4,800 |$5&E
Ea—JLT+« RCSGP2 IL—bhXvFILRT LA — =X FEE GP2 4,000 |E15
Ea—JLT« RCSGP3 IL—bhFXvFILRT LA — X FEE GP3 4,000 |$5HE
Ea—2LF+« RCSMA57 IL—bFXYFILRATLE — MEK HEE MAS7 4,000 |E15
Ex—JLT+« RCSMA57NT  [JL—kF v FILRT LA — NT /88 MA5T #7 5,000 [E15
Ea—JLT« RCSMA57X | IL—hF¥vFILRT LA — FEE MA57 BL 4,800 |$B&E
Ea—2JL7«  |RCSWIS IW—bX Y FIVRTLE— Tha4{ KEE 1S 4,000 |1BEE
Ea—JLT«  |[RCSW2S W—bX Y FIVRTLE— Tha4 KEE 2S 4,000 |1BEE
Ex—JLT+« RDAF6 IN—FLITL—L KAA 4,800 |E23
Ea—JLT+« RDCF5 SIN—FLIL—L N 4800 |E23
Ea—JL7~« RDCMO SIN—FLYZ0T 2yMELEF NEEA 0 2,400 |E20
Ea—2LF+« RDCMO00 SIN—F L5507 TyMELET BisEA 00 2400 |E20
Ea—2JLT+«  |RDCMOOX SIN—FLYF5T 2 yMEEIT B 00 BL 2,600 (1B E
Ea—JLT« RDCMOX SIN—FLY50T <yMEEIF /MEEA 0BL 2,600 |$BHEE
Ea—JL7~« RDCMT SIN—FLY5T <yMELEIF MNEERA 1 2,400 |E20
Ea—JLT« RDCM10 SIN—FLY50T <yMEEIF KBERA 10 2,400 |E21
Ea—JLT« RDCM10X SIN—FLYF5T 2yMEEF KE®A 10BL 2,600 |$5HE
Ea—2LT« RDCM1 1 SN—=F L5207 TyMEEIF XKBEERA 1 2400 |E21
Eai—7JLT« |RDCM11X IN—FLYF5T 2yMEEIF KE®A 11BL 2,600 (1B &
Ea—2LT« RDCM12A SIN—FLYZ50T TyMEEF REB®EA(TEE) 12A 2400 |E22
Ea—JLT« RDCM12AX  |SN\—FLY52T <yMt LI KEAEA(T5E) 12ABL 2,600 |$5HE
Ea—JLT« RDCM13A SN—=FLY50T <yt LI KEAEA(TEE) 13A 2,400 |E22
Ea—JLT« RDCM13AX  |SN\—FLHY52 T <yMt LI KEAEA(T5E) 13ABL 2,600 |$5HE
Ea—2LT« RDCM14 SN—FLY50T 2yMEEIF KBBER 14 2400 |E21
Ea—JL7~« RDCM14A TINN—FLYF0T 2yMEEIF KE®A 14A 2400 |E21
Ea—JLT« RDCM14AX  |Z/\—FLH52F vyt EIF KEAER 14ABL 2,600 |$BHEE
Ea—JL7~« RDCM14X SIN—FLY50T < yMEEIF KE3ERA 14BL 2,600 |55 &
Ea—JLT« RDCM18 SN—=FLY50T <yMEEIF KEAERA 18 2,400 |E21
Ea—JLT« RDCM18X SN—FLYF5T 2yMEEIF KE®A 18BL 2,600 |$5&E
Ea—2LF« RDCM1A SN—=FLY50T 2yMEEIF NEER 1A 2400 |E20
Ea—JL7~« RDCM1AX SN—FLY5T <yMELEIF /NEER 1ABL 2,600 |55 &
Ea—2LF« RDCM1 X SIN—FLY5T <yMEEIF MEERA 1BL 2,600 |55 &
Ea—JL7+« RDCM2 SN—FLY50T 2yMEEIF EER 2 2,400 |E20
Ea—JLT« RDCM201 SN—=F L5 7 < yMEEIF KEIEA (L) 201 2,400 |E22
Ea—JLT« RDCM201X SIN—FLY50F 2yMEEIF KBE®A(LSE) 201 BL 2,600 |$5&E
Ea—2LF« RDCM205 SIN—F L5507 TyMEEF REI®A(L5E) 205 2400 |E22
Ea—JLT« RDCM205X SIN—FLY50F 2yME LT KBE®A(LSE) 205BL 2,600 |$5HE
Ea—2LF« RDCM209 SIN—FLY50T <yMELEIF INEERA 209 2400 |E20
Ea—JLT« RDCM209X FIN—F LYF5T 2 yMEEF /NI 209 BL 2,600 |$5HE
Ea—2LT« RDCM212 SIN—FLYZ0T TyMELEIT miEA 212 2400 |E20
Ea—JL7+« RDCM212SA |SN\—ZLH52T <yMt LI AitEA 212SA 2,400 |E20
Ea—2LT« RDCM212SAX [SN\—4 LH52T <yMELEIT BisEA 212SABL 2,600 |55 &
Ea—JLT4 |RDCM212X  |SN\—HLHS52T <yt EIF BiaRE 212 BL 2,600 |58 &
Ea—2LT« RDCM24 SIN—FLY50T 2yMEEIF KBBER 24 2400 |E21
Ea—JL7+« RDCM24X SIN—FLY50T < yMEEIF KEERA 24 BL 2,600 |55 &
Ea—JLT« RDCM25 SIN—=FLY50T <yMEEIF KBERA 25 2,400 |E21
Ea—JLT« RDCM25X SINN—FLYFT 2yMEEIF KE®A 25BL 2,600 |$5HE
Ea—JLT« RDCM26 SIN—FLY50T TyMEEIF KEBERA(T5E) 26 2,400 |E22
Ea—7JLT+«  |RDCM26N SIN—FLY50T <yt LT KEA®A (L) 26N 2,400 |E22
Ea—2LT« RDCM26NX  [Z/N\—FLH50T <yMEEF KEI®EA(L3E) 26N BL 2,600 |55 &
Ea—JLT« RDCM26X SN—=FL950T 3 yMEEIF KEIEA(T3E) 26 BL 2,600 |$5HE
Ea—2LT« RDCM27 SN—=FLY5T <yMEEIF KBERA 27 2400 |E21
Ea—JL7+« RDCM27N SINN—FLYF5T 2 yMEEF MEEA 27N 2,400 |E20
Ea—2LT« RDCM27NX  [ZN\—FLHS52T <yMEEF /INEIEEA 27N BL 2,600 |55 &
Eai—7JLT« |RDCM27X SIN—FLYFT 2yMEEIF KE®A 27BL 2,600 (1B &
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Ea—JLT« RDCM28 SIN—FLY50T 2yMEEIF KEBERA(T5E) 28 2,400 |E22
Ea—JLT« RDCM28X SN—=FL950T < yMEEIF KEIERA(TEE) 28BL 2,600 |$5HEE
Ea—JLT« RDCM29 SN—FLY50T <yMEEIF NEERA 29 2,400 |E20
Ea—JLT« RDCM29X SNN—FLYFT 2yMEEF MEEA 29 BL 2,600 |$5HEE
Ea—2LF+« RDCM2A SIN—=FLY50T 2yMEEIF NEER 2A 2400 |E20
Ea—JL7~« RDCM2AS SIIN—FLYF5T 2yMEEIF INEATA 2AS 2,400 |E20
Ea—JLT« RDCM2ASX  |S/\—ZLH52 T <yt EIF /INEAERA 2AS BL 2,600 |$BHEE
Ea—JL7~« RDCM2AX SIN—FLY5T <yMELEIF /NEERA 2ABL 2,600 |55 &
Ea—2LF+« RDCM2X SIN—FLY5T <yMEEIF MEERA 2BL 2,600 |55 &
Ea—JLTF« RDCM3 SN—FLY50T TyMEEIF KEBERA(TSE) 3 2400 |E22
Ea—2LF+« RDCM30 SIN—F L5207 T yMEEIF KEB®ERA(LSE) 30 2400 |E22
Ea—JLT« RDCM30X SN—=F L9507 < yMEEIF KEIEA(LSE) 30BL 2,600 |$5HE
Ea—2LF+« RDCM31 SN—FLY5T <yMEEIF KBEA(L3E) 31 2400 |E22
Ea—JLT« RDCM31X SN—=F L9507 < yMEEIF KEIEA(LSE) 31BL 2,600 |$5HE
Ea—2LT« RDCM32 SIN—=FLY5T <yMEEF PMEEA 32 2400 |E20
Ea—JL7~« RDCM32X SN—FLY50T T yMEEIF /N8R 32 BL 2,600 |55 &
Ea—2LT« RDCM33 SN—FLY5T <yMEElF KEIEA(TSE) 33 2400 |E22
Ea—JLT« RDCM33X SN—=FLH50TF <yt LI KEAEA(T58) 33 BL 2,600 |$5HE
Ea—JLT«  |RDCM3X SIN—FLY50T < yMMELEIF KE®MA(TEE) 3BL 2,600 |1BE &
Ea—JLTF« RDCM4 SIN—FLY50T <yMEEIF KEEA(L3E) 4 2400 |E22
Ea—JLT« RDCM4X SN—=F L5 7 <yt LI KEAEA (L) 4BL 2,600 |$BHEE
Ea—JLTF« RDCM5 SN—FLY50T 2yMEEIF KEBERA(LSE) 5 2400 |E22
Ea—2LT« RDCM56 SIN—=FLY50T 3yMEEIF KEAERA 56 2400 |E21
Ea—JL7~« RDCM56S SIN—ZLY50F 2yMEEIF KE®A 56S 2400 |E21
Ea—2LT« RDCM56SX  [Z/1N\—4LHS52T <yt L KEI#A 56S BL 2,600 |{B&E
Ea—JLT« RDCM56X SIN—FLYF5T 2 yMEEIFf KEIA 56 BL 2,600 |$5HE
Ea—JLT+4  |RDCM5X SIN—F L5 T <yMEEIF KEAEA (L) 5BL 2,600 |1BE &
Ea—JLTF« RDCM6 SIN—FLYS50T 2yMELEIT Rl 6 2,400 |E20
Ea—JLT« RDCM6X SIN—FLY5T <yME LI AIEA 6 BL 2,600 |$BHEE
Ea—2LT«  |RDCM7 SN—FLY50T TyMEEIF KEBERA(TSE) 7 2,400 |E22
Ea—2LF« RDCM7A SN—FLY50T 2yMEEIF KEBERA (TS 7A 2400 |E22
Ea—JLT« RDCM7AX SN—=FLH50T <yt LI KEAEA(TEE) 7JABL 2,600 |$5&E
Ea—JLT« RDCM7X SN—=F L5207 <yt LI KEAEA(TE) 7BL 2,600 |$BHEE
Ea—JLTF« RDCM8 SN—FLY50T 2yMEEIF KEIERA(LSE) 8 2400 |E22
Ea—2LF« RDCMSA SN—FLY50T 2yMEEIF KEBERA 8A 2400 |E21
Ea—JL7+« RDCM8AD SIN—FLY50F 2yMEEIF KE®EA 8AD 2400 |E21
Ea—JLT« RDCM8ADX  |S/\—#LH52 7 <yt EIF KEA%EA 8AD BL 2,600 |$BHEE
Ea—JLT« RDCMB8AX IN—FLYFT 2 yMEEITf KE8A 8ABL 2,600 |$5HE
Ea—2JLT«  |RDCM8X SIN—FLY50T < yMELEIF KEA®MA(L3E) 8BL 2,600 |1BEE
Ea—JLTF« RDCM9 SIN—FLHY50T 2yMEEIT Rl 9 2,400 |E20
Ea—2LF« RDCM9S SIN—FLYS50T TyMEET B 9S 2400 |E20
Ea—2JLT« |RDCMISX FIIN—FLYF5T 2 yMEEIF B8R 9S BL 2,600 (1B &
Ea—JLT« RDCM9X SIN—FLY5T <yME LI AIEA 9 BL 2,600 |$BHEE
Ea—JL7+« RDCMW14A  [S/1\—FLH52T 2yMEEF KE®EA WI4A 2400 |E21
Ea—JLT« RDCMW14AX |S/\—F L9507 <yt LT KEAEA W14A BL 2,600 |$BHEE
Ea—JL7+« RDCMW2 SIN—FLYZ50T TyMELET INEEA W2 2,400 |E20
Ea—JLT« RDCMW2X SIN—F L5207 T yMEEIF /MNEERA W2 BL 2,600 |$BHEE
Ea—2LT«4 |RDCMW3 SN—=FL950T <yMEEIF KEIERA(TEE) W3 2,400 |E22
Ea—2LT« RDCMW3X SN—FLHY5 T 2yMEEIF KBE®A(TSE) W3 BL 2,600 |{B&E
Ea—JL7+« RDCMW4 SIN—ZLY50T TyMEEIF KEWwA(LSE) W4 2400 |E22
Ea—JLT« RDCMW4X SN—F L5 T 2yME LT KE®A(LSE) W4 BL 2,600 |$BHEE
Ea—JL7+« RDCMW?7 SN—FLY50F 2yME LT KBE®EA(TSE) W7 2400 |E22
Ea—JLT« RDCMW7X SN—=FLH50T <yt LI KEAEA(TEE) W7 BL 2,600 |$BHEE
Ea—JLT« RDCMWSA IN—FLYFT 2 yMEEIF KEIEA WBA 2,400 |E21
Ea—JLT« RDCMWBAX  |Z/1\—&LH52T <yt LT KEIEA WSABL 2,600 |$BHEE
Ea—JL7T« |RDCOB SIN—BLGST F—HFAPUTHR—F 8,600 |E24
Ea—JLT« RDCSET7 TIN—ZLIFT yk1 15,000 (E24

46 /68 R—




Ea—ILF 1T N —T Rk

(FidR) 20244%3A21BKYER

Ea—JLT« RDF IS T I —tvT 18,000 |E23
Ea—2JLT+4 RDF4 IS T 74—ty 4 24,000 (E23
Ex—JLT+« RDKIT FN—F Lx vk 72,000 |E24
Ea—2JLT74« RDP SIN—H LINUF 40,000 [E23
Ea—JL7~« RDPA SIN—FLINTF TAVRT—R 38,000 (E23
Ea—2JLT+4 RDTFDI SIN—5 LTTL—hk FDI 1,400 |E24
Ea—2LT«  |RDTUNIV SN—=FLToTL—k 2=/ —H)L 1,400 |E23
Ea—JLT« |RF FHF J7—FkT 42,000 |D89
Ea—JLT« RF45 Y L—N\IVIH—1yT RTAT1)9Y 45° 28,000 |E12
Ea—JLT« RF90 ) L—N\ILIA—tvT XTA451)9Y 90° 28,000 |E12
Ea—JLT4 |RFP JL—N\)LITH+—tyT E—h 45° 16,000 |1BE &
Ex—2L74 |RFSTR YL—N\IVIA—tvT RTAT)9Y B 28,000 |E12
Ea—JLT4 |RKN FHF ILAT—-REVX 55,000 (D88
Ea—JLT« RL-ELV-BLK |Z#tHl TLAR—4—L—JL2A T35 1,200
Ea—JL74  |RL-ELV-BLU |X#AHI TLA—4—L—J)L2A T)L— 1,200
Ea—2JLT+4 RL-ELV-GRN [3#:FHl TLA—4—L—)L2A F1)—> 1,200
Ea—2JL7T«  |RL-ELV-GRY |X#AI ILAR—4—L—JL2A JL— 1,200
Ea—JLT+« RL-ELV-LVN [Z#HI TLARA—4—L—)L 2 A SRS — 1,200
Ea—JLT4  |RL-ELV-OCN |Z#fl TLAR—F—L—JL 2 A A—>v2 T )L— 1,200
Ea—JLT« RL-ELV-ORG |Z#tAl TLA—4—L—JL2A L 1,200
Ea—JLT«  |RL-ELV-PRP |XR#AI TLA—2—L—)L2A /=T 1,200
Ea—JLT« RL-ELV-RED |ZX#aFI TLAR—4—L—JL 2A LK 1,200
Ea—2LT«  |RL-ELV-WHT |&#AI TLRX—5F—L—)L 2 A RTA+ 1,200
Ea—JLT« RL-ELV-YLW |X#RI TLR—4—L—)L 2A /1ITA— 1,200
Ea—JLT« RMF FHF I =DJ)—FT> 42,000 |D89
Ea—2JLT+4 RMF90 BiF I=2)—k<> 90° 57,000 |D89
Ea—2L7«  |ROLLUP10 Lyka—)L7vy7 10KA 2,400 (1B E
Ea—2JLT«  |ROLLUP5 LyRO—)L7v7 5KH 1,400 (154
Ea—JL7T«  |RSMIDT Y—CAWI NS OB— SRILR—TD 23,000 |D85
Exa—JLT«  |[St (& 1)— 1 16,000 |D102
Ea—2JL7«  |S10 [F&H Ea—TLT1 H# 10 16,000 |D100
Ea—2JLT« [S103/1066 |R&—5— Hyh—= 58 103/106 #6 5600 |1E& &
Ea—JLT« |S104/1056 |/ R—RZ—S— Hybh—= 7lEE 104/105 #6 5600 |$5& &
Ea—JLT« S$107/1086  |R4—35— F73wyb—= TEE 107/108 #6 5,600 |$5&; 5%
Ex—2JL7« [S107/1087 |R5—5— hyb—= [EE 107/108 #7 5600 |$5& &
Ea—JLT« |S107/1088 |R&#—S5— Hhvb—= @EE 107/108 #8 5,600 |1B# &
Ea—JLT« [S107/108S |R&—F— Ayb—= HEE!HEE 107/108S #2 5,000 |$E& &
Ea—JLT«  [S10SC (F&H R—/8—Hhyb Ea—TLT 1 B 10 22,000 |D100
Ea—2JLT4  |S11 (A By il 11 16,000 |D103
Ea—JLT« S11/12S6 Ar—Z5— <va—)L W88 11/12S #6 5,600 |$5&; 5%
Ea—JLT4  |S12 (Z&H Avo) B 12 16,000 |D103
Ea—JLT« S129 ARlr—>— R Itk 129 #2 5,000 |$5&; %
Ea—JLT« S1296 ARlr—>— WA FAE A 129 #6 5,600 |$5&) 5%
Ea—2JLT+4 S13 FESH BEER E2—TL T 13 16,000 |D102
Ea—JL7+« S13K/13KL [ RUARUAILFEIL h—95F HEE 13K/13KL #2 6,800 |D25
Ea—2JLT+4 S13K/13KL6 | RUARURIILFEIL h—9 5k MEE 13K/13KL #6 6,800 |D25
Ea—JLT4  [S13K/13KLY | RUARUAILFEIL H—HFF MR 13K/ 13KL #9 7,800 (D25
Ea—JLT« S13K/13KLX [RUFRUZIILFEIL h—HS5F MEE 13K/13KL BL 7,800 |5 &M
Ea—JLT« [S13K/TG RYFRUBIILFEIL h—9 5K WEE 13K/TG #2 6,800 (D25
Ea—2JLT+4 S13K/TG6 RYFRURIFEIL h—DOFK MEE 13K/ TG #6 6,800 |D25
Ea—JLT«  [S13K/TGY RYFRUBIILFEIL h—9 5K W88 13K/TG #9 7,800 (D25
Ea—JLT« S13K/TGS6  [RUFARUAILFEIL h—HS5 K MEE 13K/TG #6S 6,800 |$5&) %%
Ea—JLT«  [S13K/TGX RYARUBIILFEIL h—9 52k WEE 13K/TGBL 7,800 |{EHE
Ea—2JLT+4 S13S FEH EER E2—TJL T 13S 16,000 |D102
Ea—2JLT7« |S14 FSH 59500 1 14 16,000 |D100
Ea—JLT« [S14SC [FSH R—N—hvb 55500 h 14 22,000 |D100
Ea—JLT« S14SCX FEH TS5VI54 RA—I"—hvk 555001 Bh 14 26,000 |D4
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Ea—JL74  [S15 [F&H )32 15 16,000 |D103
Ea—JLT4 |S16 [F&H T—ILEIUTAvHI R Bl 16 16,000 |D100
Ea—JLT« [S16SC [F&H R—/8—Hyb T—ILKUTH+v o X B 16 22,000 |D100
Ea—JLT4  |S16SCX [FEH T5VITA42 R—IN—hyk T—I)LRIUTAYI R B 16 26,000 |D4
Eai—JLF4  [S17 [F&H FAURE 1T 14,000 (D101
Ea—JLT4 |S17SC [FEH R—/—hYr FAURE 17 18,000 |D10T
Ea—JLT4« S17SCX [ZE&H TSI 54 R—IN—hyb TAI)RE 17 26,000 (D5
Ea—JL7~« S18 (F&H 7A)R B 18 14,000 |D101
Ea—2JLT+4 S18SC (FEHAH R—/N—Hvbk TA)X Bl 18 18,000 |D101
Ea—JLT4  |S18SCX [F&H TS59I54/4 RA—/18—hybk PAJX Hi 18 26,000 |D5
Ex—JL74  [S19SCX [FEH TSVI5A4Y Z—18—HYk AyYTNY L 26,000 |D101
Ea—JLT« S1L (F&A 71)— B 1L 16,000 |15
Ea—JLT« S2 FEH 7)— B 2 16,000 |$5&; %
Ea—JLTF« S204 Rlr—>— [HEE 204 #2 5,000 |$5&; %%
Ea—JLT«  [S2046 Rlr—Z— [H5E 204 #6 5600 |$E& &
Ea—JLTF« S204S Rlr—Z— WEE 204S #2 5,000 |$5&; %%
Ea—JLT« S204S6 Rr—7— TEE 204S #6 5,600 |$5&) %
Ea—JLTF« S204S7 ARr—7— EE 204S #7 5,600 |$5&) %%
Ea—JLT«  |S204S8 ARlr—Z— THEE 204S #8 5,600 |$5&E
Ea—JLT«  |S204S9E2 Rr—7— T5E 204S #9E2 6,000 [C2
Ea—2JLT« [S204SC8E2 |R~—3S5— [HEE 204S #C8E2 5800 [C2
Ea—JL7~« S204SD2 ARr—Z— TEE 204SD #2 5,000 |C2
Ea—2JLT+4 S204SD6 ARUr—7— TEEE 204SD #6 5,600 |C2
Ea—JL7~« S204SD7 ARlr—Z— EE 204SD #7 5,600 |C2
Ea—JLT«  |S204SD8 ARlr—>— [H5E 204SD #8 5,600 |$5&E
Eai—JLT« [S204SD9E2 | R4 —S5— [&EE 204SD #9E2 6,000 [C2
Ea—2JLT«  [S204SDC8E2 |R4—5— iH5E 204SD #C8E2 5800 [C2
Eai—7JLT« [S204SDXE2 |R4—5— [EE 204SD #XE2 6,400 |5 &
Ea—JLT«  [S204SXE2 Rr—7— TH5E 204S #XE2 6,400 55 &
Ea—JLT« S20SCX FEH TI5YI540 R—iIS—hyb T— LRIV TAVIR E 26,000 |D101
Ea—JLT« S21 (F&H — SR B 21 14,000 |15
Ea—JLT« S22 (F&H —HESA R B 22 14,000 |15
Ea—2JL74s  [S23 (A —AZSVELR #h 23 14,000 |$8E &
Ea—JLT« S2L (F&H 71)— 2L 16,000 |15
Exa—JLT4 [S3 (S A(3— B 3 14,000 |$8E &
Ea—JLT4  |S31 [F&H ARAE—T3 31 46,000 |D97
Ea—JLT« S4 FEH A(I— B 4 14,000 |15
Ea—2JLT«  |S40 [F&H RAFSERTR E 14,000 |$8E &
Ea—JLT« S44/45 RYARVBIFEIL LIUL THEE 44/45 #2 6,800 |$5&) %%
Ea—JLT« S44/456 RYARVBIFEIL LIUL THEE 44/45 #6 6,800 |$5&) %%
Ea—JLT« S5 [F&H DJF—ES5 14,000 (D102
Ea—JLT« S5001 (& IN—<v—T 4r1)— H 5001 42,000 |D98
Ea—JLT« S5002 (FEH IX—Iv—T 71)— E 5002 42,000 |D98
Ea—JLT« S5009 (F&H =< v—T FT4—2 5009 42,000 |D98
Ea—JLT«  [S5011 [F&H N—Tv—T Ay B 5011 42,000 |D98
Ea—2JL7T«  |S5012 [F&H N—Tv—T Ovyr E 5012 42,000 |D98
Ea—JLT« S5054 (FEH =T v —T AyYz/\) L B Tk 5054 42,000 |1BH &
Ea—JL7T«  |S5055 [FEH IN—T v —T AyYz\) L gl TS5k 5055 42,000 |D99
Ea—JLT«  [S5056 (FEH =T v—T AyYz/i) L B RAUk 5055 42,000 |15 &
Ea—JLT« S5057 (FEH =T v —T Ay Yz L g RAR5057 42,000 |D99
Ea—JLT«  [S5069 [FSH IN— v —T Ayyz/ L # 71)4—bk 5069 42,000 |15 &
Ea—JLT4  |S5080 [F&EH =T v—T T—ILRIUTAvH R E 5080 42,000 |D99
Ea—JL T4« S5081 ([FEH IN—T % —T T—I)LRIUT+vH R Bl 5081 42,000 (D99
Ea—JL7T«  |S5082 [F&H I8N—<v—T FAR E 5082 42,000 |D99
Ea—JLT«  [S5083 [&H IN—<v—T TA1R B 5083 42,000 (D99
Ea—JLT« S5095 (FSH = %v—T DAY —hyT12%7 F 5095 42,000 |1BH &
Ea—2LT+« S6 (FSH 7T F—@h 6 14,000 (D102
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Ea—JLT4 |S7 (FSH DT F+H— T RAUR T 14,000 |$8E &
Exa—JLT« [S8 [F&H V4 E—8 16,000 |$BE &
Ea—JLT4  [S9 [FEH T4—2 9 16,000 |D103
Ea—JLT«  |SAS1/2 JL—o—Falbyb 2207747 RAUA—F TEE 1/2 #2 5,000 |C16
Ea—JLT« [SAS1/26 JL—o—Falbyb 220747 RAUA—F TEE 1/2 #6 5,600 [C16
Ea—2JLT4  [SAS1/27 JL—o—Fabyb 220747 REUA—F WEE 1/2 #7 5,600 |C16
Ea—JLT« [SAS1/28 JL—o—Falbyb 220747 RAUA—F TEE 1/2 #8 5600 |$5& &
Ea—JLT«  [SAS1/29E2 [JL—1—FalybI=T747 RAUA—K MEE 1/2 #9E2 6,000 |$E& &
Ea—2LT«  |SAS1/2C8E2 |JL—L—Falyb IZT747 REUA—K 58 1/2 #C8E2 5800 |1B& &
Ea—2JLT+4 SAS1/2R JL—o—Falbybk 227747 YD YK TEE 1/2 #2 5,000 |C16
Ex—2JLT« [SAS1/2R6 J—i—Falbybk 227747 YD K WEE 1/2 #6 5,600 [C16
Ea—2JLT+4 SAS1/2R7 JL—o—Falbybk 227747 UYDYK WEE 1/2 #7 5,600 |C16
Ea—JL T« SAS1/2R8 JL——Falbyb 2=T7747 YUk WHEE 1/2 #8 5,600 |$5&; 5
Ea—JLT« SAS1/2R9E2 [JL—>—Falwk Z=T747 UK THEE 1/2 #9E2 6,000 |$5&; %%
Ea—JLTF« SAS1/2RC8E2 [/ L—>—Falbybk 2=T747 )k EE 1/2 #C8E2 5,800 |$5&; %
Ea—JLT«  [SAS1/2RXE2 [JL—L—FalybI=T747 YIwK [MHEE 1/2 #XE2 6,400 55 &
Ea—JLT4 [SAS1/2XE2 |JL—>—Falwk 3277470 RAH—K TEE 1/2 #XE2 6,400 55 &
Ea—JL7T4 [SAS11/12 TJ——Falbyb 327747 XA —F WEE 11/12 #2 5,000 |C17
Ea—7JLT4 [SAS11/126 |JL—>—FalwbkI=T7A47 RAH—K WEE 11/12 #6 5,600 |C17
Ea—JLT4  [SAS11/127  |JL—P—FalLybZ=TJ747 RAUF—K WEE 11/12 #7 5,600 [C17
Ea—7JLT4 [SAS11/128 |JL—>—Falwk S=T7A47 RAH—K WEE 11/12 #8 5600 |5 &
Ea—JLT«  [SAS11/129E2 [FL—L—Falyb 32077470 RBUA—K [lEE 11/12 #9E2 6,000 |$5& &
Ea—JLTF« SAS11/12C8E445'L——Falwb I=7747 RAS —K 788 11/12 #C8E2 5,800 |$5&; %
Ea—2JLT+4 SAS11/12R  [JL—>—Falbwbk 220747 YD UK WHEE 11/12 #2 5,000 |C17
Ea—JL7~« SAS11/12R6 [JL—>—Falwybk Z=T7747 YD UK THEE 11/12 #6 5,600 |C17
Ea—2JLT+4 SAS11/12R7 [JL—>—Falbybk 227747 YDk WEE 11/12 #7 5,600 |C17
Ea—JLTF« SAS11/12R8 [JL—>—Falwybk I=T747 UK WHEE 11/12 #8 5,600 |$5&; 5%
Ea—JLT« SAS11/12R9EZF L—>—Falbybk S=T7747 Yk lEE 11/12 #9E2 6,000 |$5&; %%
Ea—JLTF« SAS11/12RC8{ ' L——Falwbk S=T7747 Y yk WEE 11/12 #C8E2 5,800 |$5&; %
Ea—JLT4  [SAS11/12RXE{YL—L—Falyb 2=T747 YD 8B 11/12 #XE2 6,400 55 &
Ea—2LT4  |SAS11/12XE2 | S L—L—Falbyb 327747 REUS—K [MEE 11/12 #XE2 6,400 55 &
Ea—JLT« [SAS11/146 |JL—1—Falyb3I=T7747 RA A —FK TEE 11/14 #6 5600 |1E& &
Ea—JLTF« SAS11/147 [JL—1—Falyb ZS=J747 RAHF—F R 11/14 #7 5,600 |$5&) 5%
Ea—JLT4 [SAS11/148 |JL—>—Falwbk 3277470 RAH—K WEE 11/14 #8 5600 |5 &
Ea—2LT«  |SAS11/149E2 |FL—L—FalLyb S2T747 REUA—K TR 11/14 #9E2 6,000 |$5& &
Ea—JLT« SAS11/14C8E4S'L——Falwb =747 RAS —K 788 11/14 #C8E2 5,800 |$5&; M
Ea—JLTF« SAS12/136 |[JL—1—FalybZS=TJ747 RAHF—K THEE 12/13 #6 5,600 |$5&) 5%
Ea—JLT4 [SAS12/137 |JL—1—Falyb 327747 RE4—FK WhEE 12/13 #7 5600 |$E& &
Ea—JLT« SAS12/138 |[JL—1—FalwybZ=TJ747 RAH—K HEE 12/13 #8 5,600 |$5&; 5%
Ea—JLT«  [SAS12/139E2 [JL—L—Falyb 3277470 RBU4—K [EE 12/13 #9E2 6,000 |$5& &
Ea—JLTF« SAS12/13C8E445 L——Falwb 327747 RAS —K 788 12/13 #C8E2 5,800 |$5&; M
Ea—JL7T+« |SAS13/14 J——Falbyb 327747 XA —F WEE 13/14 #2 5,000 |C17
Ea—7JLT4 [SAS13/146 |JL—>—FalwkI=T7A47 RAH—K W8 13/14 #6 5,600 |C17
Ea—JLT« [SAS13/147 |JL—1—FalLybZ=TJ747 RAUF—K WEE 13/14 #7 5,600 |C17
Ea—7JLT4 [SAS13/148 |JL—>—FalwbkI=T7A470 RAH—K WEE 13/14 #8 5600 |5 &
Ea—JLT«  [SAS13/149E2 [FL—L—Falyb 327747 RBU4—K [EE 13/14 #9E2 6,000 |$E& &
Ea—JLTF« SAS13/14C8E4S L——Falwb S=77(47 RAS —K 7HEE 13/14 #C8E2 5,800 |$5&; %
Ea—2JLT+4 SAS13/14R  [JL—>—Falwbk 227747 UK THEE 13/14 #2 5,000 |C17
Ea—7JLT4 [SAS13/14R6 |JL—>—FalwkI=T747 YUK MEE 13/14 #6 5,600 |C17
Ea—2JLT+4 SAS13/14R7 |[JL—>—Falbybk S=T747 Yk WlEE 13/14 #7 5,600 |C17
Ea—JLT« SAS13/14R8 [JL—>—Falwybk Z=T747 UK THEE 13/14 48 5,600 |$5&) 5%
Ea—JLT« SAS13/14R9EZF L—>—Falbybk S=T747 Yk 5 13/14 #9E2 6,000 |$5&; %%
Ea—JLTF« SAS13/14RC8{ ' L——Falyb S=T7747 Y yk TEE 13/14 #C8E2 5,800 |$5&; %
Ea—JLT«  [SAS13/14RXE{YL—L—Falyb 2=T747 YK [EE 13/14 #XE2 6,400 |55 &
Ea—2LT4  |SAS13/14XE2 |FL—L—FaLyb 327747 REUS—K [MEE 13/14 #XE2 6,400 |55 5%
Ea—JL7T4 [SAS15/16 J——Falbyb 327747 XA —F WEE 15/16 #2 5,000 |C17
Ea—7JLT4 [SAS15/166 |JL—>—FalwkI=T7A47 RAH—K TEE 15/16 #6 5,600 |C17
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Ea—JLT« [SAS15/167 |JL—I—FalybZ=TJ747 XA —K 88 15/16 #7 5,600 [C17
Ea—7JLT4 [SAS15/168 |JL—>—FalwkI=T7A(47 RAH—K EE 15/16 #8 5600 |5 &
Ea—JLT«  |SAS15/169E2 |JL—L—Falwyb 2=TJ747J XAA—K THEE 15/16 #9E2 6,000 |$E& &
Ea—JLTF« SAS15/16C8E4 4/ L——Falwb 327747 RAS —K 788 15/16 #C8E2 5,800 |$5&) %
Ea—JL7T4 [SAS15/16R |JL——FalwybI=TJ747 YDy MBE 15/16 #2 5,000 |C17
Ea—7JLT4 [SAS15/16R6 |JL—>—FalwkI=T7A47 YUK MEE 15/16 #6 5,600 |C17
Ea—JLT«  [SAS15/16R7 [JL—L—FalybI=T747 YD wK BB 15/16 #7 5,600 |C17
Ea—JL7~« SAS15/16R8 [/ L—>—Falwbk Z=T747 UK THEE 15/16 #8 5600 |$5H &
Ea—2LF+« SAS15/16R9EZ 4/ L—>—Falbwybk S=T747 Yk A 15/16 #9E2 6,000 |$5&; %%
Ea—JLTF« SAS15/16RC8{ ' L——Falwbk S=T7747 )P vk WHEE 15/16 #C8E2 5,800 |$5&) %
Ea—JLT«  [SAS15/16RXE{Y L—L—Falyb 2=T747 YK [HEE 15/16 #XE2 6,400 55 &
Ea—2JLT4  |SAS15/16XE2 |FL—L—Falbyb 3=T7747 RES—K [MEE 15/16 #XE2 6,400 55 &
Ea—JLT« [SAS17/18XE2 |FL——Falwb 32077470 RBUA—K THEE 17/18 #XE2 6,400 55 &
Ex—JLT4 [SAS3/4 JL—o—Falbyb 227747 RAUA—F TEE 3/4 #2 5,000 [C16
Ea—JLT+«  |SAS3/46 JL—o—Falbyb 220747 REUA—F TEE 3/4 #6 5,600 |C16
Ex—JLT«  [SAS3/47 JL—o—Falbyb 220747 REUA—F M5E 3/4 #7 5,600 [C16
Ex—JLT«  [SAS3/48 JL—o—Falbyb 220747 RAUA—F TEE 3/4 #8 5600 |5 &
Ea—7JLT4 [SAS3/49E2 |JL—>—Falwk I=T7A4T RAH—K EE 3/4 #9E2 6,000 |$5& &
Ea—JLT+«  [SAS3/4C8E2 |JL—i—FalwbI=TJ747 RAUF—K THEE 3/4 #C8E2 5800 |1E& &
Ex—JLT« [SAS3/4R J—i—Falbyb 227747 YD K WEE 3/4 #2 5,000 [C16
Ea—JLT«  [SAS3/4R6 J—i—Falbybk 227747 YDwK WEE 3/4 #6 5,600 |C16
Ea—JLT41  [SAS3/4R7 J—i—Falbybk 227747 YOwK WEE 3/4 #7 5,600 [C16
Ea—JLT+ [SAS3/4R8 JL——Falbyb 227747 YUk HEE 3/4 #8 5600 |$5& &
Ea—JLTF« SAS3/4R9E2 (JL—>—Falwbk Z=T747 UK THEE 3/4 #9E2 6,000 |$5&; 5%
Ea—2JLT«  [SAS3/4RC8E2 [JL—L—Falyb 2=T747 YK [HEE 3/4 #C8E2 5800 |1E& &
Ea—7JLT4 [SAS3/4RXE2 |JL—>—FalwkS=T7A47 YUK MEE 3/4 #XE2 6,400 55 &
Ea—JLT«  [SAS3/4XE2 |JL—1—Falybk3I=T77470 RAA—K ThEE 3/4 #XE2 6,400 55 &
Ex—JLT« [SAS5/6 JL—o—Falbyb 227747 RAUA—F TEE 5/6 #2 5,000 [C16
Ea—2JLT« |SAS5/66 JL—o—Falbyb 227747 REUA—K [5E 5/6 #6 5,600 |C16
Ex—JLT« [SAS5/67 JL—o—Falbyb 227747 REUA—K MEE 5/6 #7 5,600 [C16
Ea—JLT« [SAS5/68 JL—o—Falbyb 227747 RAUA—K TEE 5/6 #8 5600 |$E& &
Ea—JLT4 [SAS5/69E2 |JL—>—FalwhkI=T7A(T RAH—K fEE 5/6 #9E2 6,000 |$5& &
Ea—JLT«  |[SAS5/6C8E2 |4JL—L—Falwhk3I=TJ747 R4S —K EE 5/6 #C8E2 5800 |1E& &
Ex—JLT« [SAS5/6R J—o—Falbyb 227747 YD wK EE 5/6 #2 5,000 [C16
Ea—JLT4«  [SAS5/6R6 J—i—Falbybk 227747 YDwK TEE 5/6 #6 5,600 |C16
Ea—JLT4«  [SAS5/6R7 J—i—Falbyb 2207747 YDwK WEE 5/6 #7 5,600 [C16
Ea—JLT+ [SAS5/6R8 J—i—Falbybk 227747 YDk TEE 5/6 #8 5600 |5 &
Ea—JLTF« SAS5/6R9E2 [FJL—>—Falwk Z=T747 UK THEE 5/6 #9E2 6,000 |$5&; %
Ea—2LF« SAS5/6RC8E2 [/ L—>—FalLvyhk 2=T747 )k fEE 5/6 #C8E2 5,800 |$5&; M
Ea—7JLT4 [SAS5/6RXE2 |JL—>—FalwkI=T7A(7 YUK MEE 5/6 #XE2 6,400 55 &
Ea—JLT« [SAS5/6XE2 | L—1—Falybk3I=T747 RAA—F THEE 5/6 #XE2 6,400 155 &
Ea—JLT« [SAS7/8 JL—o—Falbyb 220747 RAUA—F TEE 7/8 #2 5,000 [C16
Ea—JLT«  |SAS7/86 JL—o—Falbyb 220747 REUA—K TEE 7/8 #6 5,600 |C16
Ex—JLT«  [SAS7/87 JL—o—Fabyb 220747 REUA—F MEE 7/8 #7 5,600 [C16
Ex—JLT+ [SAS7/88 JL—o—Falbyb 2=2T747 RAA—K TEE 7/8 #8 5600 |5 &
Ea—7JLT4 [SAS7/89E2 |JL—>—FalwkI=T7A470 RAH—K TEE 7/8 #9E2 6,000 |$5& &
Ea—JLT«  |[SAS7/8C8E2 |4JL—L—Falwbk3I=TJ747 RA4—K EE 7/8 #C8E2 5800 |1B& &
Ea—JLT4 [SAS7/8R J—i—Falbybk 2207747 YDyK EE 7/8 #2 5,000 [C16
Ea—JLT«  [SAS7/8R6 J—i—Falbybk 227747 YDwK TEE 7/8 #6 5,600 |C16
Ex—JLT«  [SAS7/8R7 J—i—Falbybk 227747 YDwK WEE 7/8 #7 5,600 [C16
Ea—JLT+ [SAS7/8R8 JL——Falbyb 2=T7747 YUk HEE 7/8 #8 5600 |$5& &
Ea—JLTF« SAS7/8R9E2 (JL—>—Falwhk I=T7747 UK THEE 7/8 #9E2 6,000 |$5&; %%
Ea—2LT« SAS7/8RC8E2 |4/ L—>—FalLvyhk 2=T747 )k THEE 7/8 #C8E2 5,800 |$5&; %
Ea—7JLT4 [SAS7/8RXE2 |JL—>—FalwkI=T7A47 YUK MEE 7/8 #XE2 6,400 |55 5%
Ea—JLT« [SAS7/8XE2 |JL—1—Falywbk3I=T7470 RAA—F THEE 7/8 #XE2 6,400 55 &
Ea—JLTF« SB2/3 Rr—5— R—)L WEE 2/3 #2 5,000 |$5&; %
Ea—JLT«  [SB2/36 Rr—5— R—)L WEE 2/3 #6 5,000
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Ea—JLT« SB5/6 ARlr—7— i"—)L W58 5/6 #2 5,000 |$5&; %%
Ea—2JLT+4 SBH1/2 A=Y )LFalbyb 8=\ L THEE 1/2 #2 5,000 |$B& &
Ea—JL7~« SBH1/26 A=N—H)LFalbybk /N\—/\ )L TEE 1/2 #6 5600 |$5H &
Ea—2JLT+4 SBH1/27 A= N—H)LFalbyb A=\ JLk THEE 1/2 #7 5,600 |$EH &
Ea—JL7~« SBH1/28 A=N—HI)LFalybk /A= \ )L TEE 1/2 #8 5600 |$5H &
Ea—JLT« SBH1/29E2 |[Z1=/8—H)LFalyk /N—>s\)Lb [EEE 1/2 #9E2 6,000 |$5&; %%
Ea—JLTF« SBH1/2C8E2 |2=/\—H)LFalwyb /8A—>2/\JLk [HEE 1/2 #C8E2 5,800 |$5&) %
Ea—JLT« SBH1/2R AZ/N—HI)LFalyk N—2N L YOYR TEEE 1/2 #2 5,000 |$5&; %
Ea—JLTF« SBH1/2R6 A=N—H)LFalbyk N—=NJLk YDy [EEE 1/2 #6 5,600 |$5&; 5%
Ea—JLT« SBH1/2R7 AZ/N—HI)LFalbyk N—2N L YUK [EEE 1/2 #7 5,600 |$5&) %
Ea—JL T« SBH1/2R8 A=N—H)LFalbyk N—=NJLk YDy [EEE 1/2 #8 5,600 |$5&; 5
Ea—JLT« SBH1/2R9E2 2=/ N\—H)LFalwyb /N—2/\ LM YDk [EE 1/2 #9E2 6,000 |$5&; %%
Ea—JLTF« SBH1/2RC8E2 (1 =/\—H)LFalLwbk /A= JLk YD WK THEE 1/2 #C8E2 5,800 |$5&) %
Ea—2JLT+4 SBH1/2USC9E{ 1=/ \—H)LFaLwbk /3—2/\)Lk UNC TI5E 1/2 #9E2 6,000 |$EH &
Ea—JLT« [SBH5/6 A=N—H)LFaLybk /N—2\ L THEE 5/6 #2 5,000 |$5& &
Ea—2JLT+4 SBH5/66 A=N—H)LFalybk /A= \ )Lk TEE 5/6 #6 5,600 |$B& &
Ea—JLT«  [SBH5/67 A= /N—H)LFalyb A=\ )Lk [HEE 5/6 #7 5600 |$E& &
Ea—JLT« [SBH5/68 A=N—H)LFalybk /N—2\)Lh THEE 5/6 #8 5600 |$5& &
Eai—7JLT« [SBH5/69E2 |Z=/S—H)LFxalyb /A—2/\)Lk [HEE 5/6 #9E2 6,000 |C7

Ea—JLT« SBH5/6C8E2 |1—=/N—H)LFxalwyb /S—2/\JL [@EE 5/6 #C8E2 5,800 |$5&; %%
Ea—JLT« SBH5/6R AZ/N—H)LFalbyk N—2N Lk YO YR [EEE 5/6 #2 5,000 |$5&; %%
Ea—JLT« SBH5/6R6 A=N—HI)LFalbyk N—=2\Lk YDyR [EEE 5/6 #6 5,600 |$5&) %
Ea—JLT« SBH5/6R7 AZ/N—H)LFalbyk N—2N Lk YO YR [EEE 5/6 #7 5,600 |$5&) %%
Ea—JLT« SBH5/6R8 A=N—H)LFalbyk N—=\Lk YDyR [EEE 5/6 #8 5,600 |$5&; 5%
Ea—JLT« SBH5/6R9E2 |1 =/\—H)LFalwybk /N—2/\JLE Dk [EHEE 5/6 #9E2 6,000 |$5&; 5%
Ea—JLT« SBH5/6RC8E2 (1 =/\—H)LFalwybk /A= JLk YD K THEE 5/6 #C8E2 5,800 |$5&; %%
Ea—JLT« SBH5/6USC9E{ L=/ \—4)LFaLwbk /3—>/\)Lk UNC Ti5E 5/6 #9E2 6,000 |$5&; 5%
Ea—2JLT+4 SBN1/2 AZN—H)LFalbyb NoT425 WEE 1/2 #2 5,000 |$E& &
Ea—JLT« |SBN1/26 AZN—HIILFaLyb NTA2Y TEE 1/2 #6 5600 |$E& &
Ea—JLT+« |SBN5/6 AZN—HI)ILFalLyb NTo2% TEE 5/6 #2 5,000 |$E& &
Ea—JL7~« SBT13/14S  |A=/N\—H)LFaLyk RAY B8 13S/14S #2 5,000 |$E& &
Ea—JLT« SC13/14 AZN—HI)LFalyb aOVET KEE MBS 13/14 #2 5,000 |$5&; %%
Ea—JLT« SC13/146 A=N—HY)LFalbyb a0DETKEER HEE 13/14 #6 5,600 |$5&) 5%
Ea—JLT« SC13/147 AZN—HI)LF by aAVET KEE HEE 13/14 #7 5,600 |$5&; 5%
Ea—JLT« SC13/148 A=N—H)LFalybaOUET7KRES MEE 13/14 #8 5,600 |$5&; 5%
Ea—2JLT4 SC13/149E2 |21 =/3—H)LFalyba0VET7KESE! MEE 13/14 #9E2 6,000 [C7

Ea—JLT« SC13/14C A=N\—H)LFalbyb a0DETKEER MEE #H 13/14 #2 5,000 |$5&; %%
Ea—2JLT4 SC13/14C8E2 [ =/\—H)LF 2Lyt JOVET7 KRFE! [HEE 13/14 #C8E2 5,800 [C7

Ea—JLT« SC13/14R A=N—H)LFalbyb a0 ETRER YD YR WEE 13/14 #2 5,000 |$5&; %%
Ea—JLT« SC13/14R6 [ =/A\—H)LFalLybaRVETKER YUK THEE 13/14 #6 5,600 |$5&; 5%
Ea—JLT« SC13/14R7 |2=/N\—H)LFalyban E7RER YOyK MEE 13/14 #7 5,600 |$5&) 5%
Ea—JLT« SC13/14R8 [ =/\—H)LFalyb aAVETRER YDy MEE 13/14 #8 5,600 |$5&; 5%
Ea—JLT« SC13/14XE2 [ =/A—H)LFalybk a0OVET7 KFEE! MEE 13/14 #XE2 6,400 |$5& &
Ea—JLT« SC2R/2L AZN—HI)LFalyb aOVET KEE HEE 2R/2L #2 5,000 |$5&; %%
Ea—JLT« SC2R/2L6 A=N—HY)LFalbyb a0 ETKER HEE 2R/2L #6 5,600 |$5&) 5%
Ea—JLT« SC2R/2L7 AZN—HI)LFalyb a0VET KEE MEE 2R/2L #7 5,600 |$5&; 5%
Ea—JLT« SC2R/2L8 A=N—HY)LFalbyb a0 ETKER HEE 2R/2L #8 5,600 |$5&) 5%
Ea—JLT« SC2R/2L9E2 [ =/A—H)LFalvbh a0OVET7 KER! MEE 2R/2L #9E2 6,000 |$5&; 5%
Ea—JLT« SC2R/2LC8E2 [1=/3—H)LFalyb 2OVET7 KEH! MEE 2R/2L #C8E2 5,800 |$5&; %
Ea—JLT4  [SC2R/2LXE2 |Z=/A—H/L¥alvb a0VET7XFEE MEE 2R/2L #XE2 6,400 |55 &
Ea—JLT« SC4R/4L AZN\—H)LFalbyb a0 ET7 KER HEE 4R/4L #2 5,000 |$5&; %%
Ea—JLT« SC4R/4L6 A-N\—HYI)LFalyk aAVET KREE FEE 4R/4L #6 5,600 |$5&; 5%
Ea—JLT« SC4R/4L7 AZN\—H)LFalbyb a0 ET KER HEE 4R/4L #7 5,600 |$5&) %%
Ea—JLT« SC4R/4L8 A=N—HY)LFalbyb a0DETKESR HEE 4R/4L #8 5,600 |$5&; %%
Ea—JL7+« SC4R/4L9E2 |1 =/ \—H)LFalvyb aOVETKRFE [MEE 4R/4L #9E2 6,000 |C7

Ea—2JLT4 SC4R/4LC8E2 [ =/N\—H)LFalLwb JOVET KFE! [5E 4R/4L #C8E2 5,800 [C7

Ea—JLT« SCAR/4ALXE2 [A1=/3—H)LFalyba0VET7KEE! MEE 4R/4L #XE2 6,400 |$5& &
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Ea—JLT« [SCGC [d&# £ h 12,000 |D103
Ea—2L7T«  |SCGCP A £EA /MR 12,000 |$8E&
Ea—2JLT+4 SCGS FH €A E 12,000 |D103
Ea—JLT4  |SCl6 Rr—5—Cl KEE 1 #6 5600 |$E& &
Ea—JLT« SCI2/3 A4r—5— CI 58 2/3 #2 5,000 |$5&; %
Ea—JLT« SCI2/36 A4r—5— CI 58 2/3 #6 5,600 |$5&; 5%
Ea—JLT« SCI2/37 A4r—5— CI W58 2/3 #7 5,600 |$5&) %
Ea—JLT« SCK6 A—5— LA HhT52 [MEE 6 #2 5,000 |$5&; %%
Ea—JLT« SCK66 Ar—5— LA hT52 [HEE 6 #6 5,600 |C4
Ea—JLT« SCK6D Ar—5— LA HhT52 [MEE 6D #2 5,000 |$5&; %%
Ea—JLT« SCM152 Ar—5— X213 MEE 152 #2 5,000 |$5&; %
Ea—JLT4 [SCM1526 A —F— X132 hEE 152 #6 5600 |$E& &
Ea—JLT« SCNEVI1 Rir—75— FE4 WEE 1 B #6 5,600 |C3
Ea—2JLT«  |SCNEVI17 Rlr—Z— RE4 WEE 1 BIEA #7 5,600 [C3
Ea—JL7T«  |SCNEVIiS Rlr—Z— RE4 WEE 1 At #8 5600 |$5& &
Eai—7JLT« [SCNEVII9E2 |Ry—5— RE« MEE 1 B #9E2 6,000 [C3
Ea—JLT« SCNEVI1C8E2 (R4 —F5— HRE« MIEE 1 BiTtEF #C8E2 5,800 |C3
Eai—7JLT« [SCNEVIIXE2 |RH—5— RE WMEE 1 BisE A #XE2 6,400 |5 &
Ea—JLT« SCNEVI2 Rir—75— RE4 W5 2 FIEF #6 5,600 |C3
Ea—JLT«  |SCNEVI2T ARlr—Z— *E4 WEE 2 EAA #7 5,600 [C3
Ea—JLT4  |SCNEVI28 ARlr—Z— RE4 W58 2 EAta A #8 5600 |$5& &
Eai—7JLT«  [SCNEVI29E2 |R&—5— RE MEE 2 A #9E2 6,000 [C3
Ea—2JLT+4 SCNEVI2C8E2 (R4 —F5— HRE« MIEE 2 EItEF #C8E2 5,800 |C3
Eai—7JLT«  [SCNEVI2XE2 |R&H—5— RE WMIEE 2 FAtEFH #XE2 6,400 55 &
Ea—2JLT+4 SCNEVI39E2 (R4 —F5— HRE« MIEE 3 EIt A #9E2 6,000 |C3
Ea—7JLT«  [SCNEVI3SC8E2 |R4y—5— RE WMiEE 3 FI8EF #C8E2 5800 [C3
Ea—2JLT«  [SCNEVI3XE2 [R5 —5— HRE« 58 3 FItE M #XE2 6,400 |5 &
Eai—7JLT« [SCNEVI49E2 |Ry—5— RE MEE 4 A #9E2 6,000 [C3
Ea—2JLT+4 SCNEVI4C8E2 (R4 —F5— HRE« MIEE 4 It #C8E2 5,800 |C3
Eai—7JLT« [SCNEVI4XE2 |RH—5— RE WMEE 4 FA8EFH #XE2 6,400 55 &
Ea—2JLT+4 SCORT (FE&H a—TFT1)—=Hh 14,000 |D101
Ea—JLT« [SCORTSC [F&H R—/\—Hyk a—F1)—= @k 18,000 |D101
Ea—JLT«  [SCU6T FEIWRT—5— U9 FEE 61 #1 5,000 |$E& &
Ea—JLT4  |SCU62 FEIWRT—5— U9y FEE 62 #1 5,000 [C25
Ea—JLT« SDCM/D7 T7AINART—5— FAXEIRTYY MEE EDA #7 10,200 |C27
Ea—JLT« SDCN7 T7AIWNART—5— ZANEIRTYY WEE R /\—X #7 10,200 |C27
Ea—JLT« SDH1009E2 (R —5— E 77 )L [@EE #9E2 6,000 |$5&; %%
tEa—2LT«  |SDH100C8E2 |R4—5— LT =7 /L ilj5E #C8E2 5800 |5 &
Ea—2JLT«  [SDKCLIP RmEV)YT (A FvIR) 2,400 (1B E
Ea—2JLT4  |SDKGPLATE |HARTIL—r(HAFxvoA) 2,000 |1BEE
Ea—JLT4«  [SDKGPSCREW [HARTL—rRHY 21— (HARXvHH) 2,400 (1B E
Ea—7JLT«  [SDKKIT YARFvy dv—T=27 %9k 66,000 [C28
Ea—2JLT+4 SDKSTCOARS |53y X+ —2 B (HAFFvIR) 3,800 [C28
Eai—7JLT« [SDKSTONEC |t53IvHR—2(HAFFv5H) 3,800 |C28
Ea—JLT«  |[SDM16 T7—4—arFalybk T/ TEE 1 #6 6,000 [C23
Ea—JLT«  |SDM26 TJ7——arFalbyk 7L MEE 2 #6 6,000 [C23
Ea—JLT« SDP5/6K FEIWRy—F5— F—E—R1)— THEE 5K/6K #2 5,000 |C25
Ea—JL7+« SDP9/11K FEIWRG—F5— F—E—-~1)— {58 9K/ 11K #2 5,000 |C25
Ea—JLT«  [SG1/2 JL—o—Fabyb FYDFIL REUF—K W5 1/2 #2 5,000 [C12
Ea—JLT« SG1/26 JL—o—Fabyb FYDFIL RAF—K T5E 1/2 #6 5,600 |C12
Ea—JLT«  |SG1/27 JL—o—Fabyb FYDFIL REUF—K R 1/2 #7 5,600 [C12
Ea—JLT« [SG1/28 JL—o—Fabyb FYDFIL REUF—K WHEE 1/2 #8 5600 |$5& &
Ea—7JLT«  |SG1/29APE2 |/AT4VY SAbFalyh MEE 1/2 #9E2 6,000 [C19
Ea—JLT« SG1/29E2 JL——Fabyb VO FIL REUF—K THEE 1/2 #9E2 6,000 [C12
Ea—JLT4  [SGI/29LCE2 [FL—L—Falyb (AP xk WEE 1/2 #9E2 6,000 |$E& &
Ea—JLT« SG1/2C8E2 [JL—i—Falyb FYDFIL REUSF—K 58 1/2 #C8E2 5,800 [C12
Ea—JLT+« [SG1/2R6 TJL——Fabyb FYDFIL YDk THEE 1/2 #6 5,600 [C12
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Ea—JLT«  [SG1/2R7 JL——Fabyb FYDFIL YDk TEE 1/2 #7 5,600 [C12
Ea—JLT« SG1/2R8 JL——Falbyb FYDFIL YDk TEE 1/2 #8 5,600 |$5&; %%
Ea—JL7~« SG1/2R9E2  [FJL—>—Falbyb AUTDFIL YDy [EE 1/2 #9E2 6,000 |C12
Ea—2JLT+4 SG1/2RC8E2 |4/ L—>—Falyk AUDFIL )Py MEE 1/2 #C8E2 5,800 |C12
Ea—2JLT4 [SGI/2RXE2 |JL—>—FalykAUIFIL JIOYR THEE 1/2 #XE2 6,400 55 &
Ea—JLT«  |SG1/2XE2 J—i—Falbyb FYDFIL REUHF—K 5B 1/2 #XE2 6,400 ({5 &
Ea—JLT« SG11/12 JL——Falbyb VO FIL REF—K THEE 11/12 #2 5,000 |C13
Ea—JLT«  [SG11/126 J—i—Falbyb FUDFIL REHF—K THEE 11/12 #6 5,600 [C13
Ea—JLT« SG11/127 TJL——Fabyb ANVOFIL REUF—K R 11/12 #7 5,600 |C13
Ea—JLT« SG11/128 JL——Fabyb VT FIL RAF—K THEE 11/12 #8 5,600 |$5&; %%
Ea—JLT1  [SGI1/129APEZ/\T 4> SAMF 2Ly W5E 11/12 #9E2 6,000 [C19
Ea—2JLT+4 SG11/129E2 [ L—>—Falbyk AUDFIL RAF—K [EE 11/12 #9E2 6,000 |C13
Ea—JLT« SG11/129LCE Y L——Falbyb NAAD b [EE 11/12 #9E2 6,000 |$5&; 5%
Ea—2JLT+4 SG11/12C8E2 [/ L—>—Falbyk AUDFIL RAF—K B8 11/12 #C8E2 5,800 |C13
Ea—JLT« SGI11/12ER6 [JL——Falyb FYDFIL EXUD VK TEE 11/12 #6 5,600 |$5&) %%
Ea—2JLT+4 SG11/12ER7 [ L—>—Falbybk AUDFIL EXYD YR TEE 11/12 #7 5,600 |C13
Ea—JLT« SG11/12ER8 |[JL——Falyb #YDFIL EXUSD YR TEE 11/12 #8 5,600 |$5&; 5%
Ea—2JLT+4 SG11/12R6  [FL—>—FalbybAUDFIL YDy [EE 11/12 #6 5,600 |C13
Ea—2JLT4 [SGI1/12R7T |JL—>—FalykAYDFIL YDy WEE 11/12 #7 5,600 [C13
Ea—JLT« SG11/12R8  [JL—>—Falbyk AUDFIL YD yK MEE 11/12 #8 5,600 |$5&; 5%
Ea—JL7~« SG11/12R9E2 [ L—>—Falbyk AUDFIL YD yK MEE 11/12 #9E2 6,000 |C13
Ea—2JLT+4 SG11/12RC8EZ Y L—>—Falbybk AU FIL Yy [EE 11/12 #C8E2 5,800 |C13
Ea—2JLT4 [SGI1/12RXE2 |JL—>—Falybk AP FIL YDOwK THEE 11/12 #XE2 6,400 55 &
Ea—JLT«  [SGI1/12XE2 [FL—L—Falyb FYDFHIL RBUF—K [EE 11/12 #XE2 6,400 |5 &
Ea—JLT« [SGi11/14 J—i—Falbyb FUDFIL REE—K HEE 11/14 #2 5,000 |$5& &
Ea—JLT«  [SG11/146 J—i—Falbyb FUDFIL REUHF—K THEE 11/14 #6 5600 |1E& &
Ea—JLT«  [SG11/147 J—i—Falbyb FUDFIL REUF—K WEE 11/14 #7 5600 |$E& &
Ea—JLT« SG11/148 JL——Fabyb VO FIL RAF—K THEE 11/14 48 5,600 |$5&; 5%
Ea—7JLT« [SGI1/149E2 |FL—>—Falyk AV HIL REA—K [EE 11/14 #9E2 6,000 |$5& &
Ea—JLT«  [SG11/14C8E2 [FL—L—Falyb AP HIL ABUF—K [EE 11/14 #C8E2 5800 |1E& &
Ea—JL7T« |SG12/13 J—i—Falbyb FUDFIL REHF—K TEE 12/13 #2 5,000 |$5& &
Ea—JLT« SG12/136 TJL——Fabyb VO FIL REA—K THEE 12/13 #6 5,600 |$5&) %%
Ea—JLT« SG12/138 JL——Fabyb VO FIL REF—K THEE 12/13 #8 5,600 |$5&; 5%
Ea—JLT«  [SG12/139E2 [4JL—L—Falyb AUTHIL REUH—K [@EE 12/13 #9E2 6,000 |$E& &
Ea—2JLT«4  |SG12/13C8E2 |FL—L—Falyb AYTHIL RBUA—K 758 12/13 #C8E2 5800 |1B& &
Ea—7JLT+4 SG13/14 JL—o—Falbybk FIVOFIL RFSF—FK THEE 13/14 #2 5,000 |C13
Ea—JLT« SG13/146 JL——Fabyb VT FIL REF—K THEE 13/14 #6 5,600 |C13
Ea—7JLT+4 SG13/147 JL—o—Falbyk FVOFIL RAUA—K HIEE 13/14 #7 5,600 |C13
Ea—JLT« SG13/148 JL——Fabyb VO FIL REF—K THEE 13/14 #8 5,600 |$5&; 5%
Ea—JLT4  [SG13/149APEZ/NT 4V SAbF L yb fHEE 13/14 #9E2 6,000 [C19
Ea—JLT« SG13/149E2 |JL——FalLyb FUYDFIL REF—K 5 13/14 #9E2 6,000 |C13
Ea—JLT«  [SGI3/149LCEQ S L—L—Falbyb (AP k MEE 13/14 #9E2 6,000 |$5& &
Ea—JLT« SG13/14C8E2 [JL——Falbyb #YPFIL RASF—K [H5E 13/14 #C8E2 5,800 |C13
Exa—JLT«  [SGI3/14ER6 [FJL—L—Falyb FDFIL EXUD YR TEE 13/14 #6 5600 |$E& &
Ea—JL7+« SG13/14ER7 [JL—>—Falbyb AU FIL EXYD YK TEE 13/14 #7 5,600 |C13
Ea—JLT« SG13/14ER8 |JL——Falyb #YDFIL EXUSUF TEE 13/14 #8 5,600 |$5&) 5%
Ea—2JLT4 [SGI3/14R6 |JL—1—FalybkAYIFIL YIOYK THEE 13/14 #6 5,600 [C13
Ea—2JLT+4 SG13/14R7  [JL—>—Falbyb AUDFIL YDy [EE 13/14 #7 5,600 |C13
Ea—JLT« SG13/14R8  [JL—>—Falbyk AUDFIL YDy B 13/14 #8 5,600 |$5&) 5%
Ea—2JLT+4 SG13/14R9E2 [ L—>—Falyk AUDFIL YDy MEE 13/14 #9E2 6,000 |C13
Ea—JL7+« SG13/14RC8EZ Y L—>—Falbybk AU FIL Y wK [EE 13/14 #C8E2 5,800 |C13
Ea—JLT4  [SGI3/14RXE2 |FL—L—Falybk AYDFIL YIwK TEE 13/14 #XE2 6,400 |55 &
Ea—2JLT« |SGI3/14XE2 |FJL—L—Falyb AUTHIL RBUF—K lEE 13/14 #XE2 6,400 |5 &
Ea—2JLT+4 SG15/16 JL—o—Falbyk FIVOFIL RFSF—FK THEE 15/16 #2 5,000 |C13
Ea—JLT« SG15/166 JL——Fabyb VO FIL RAF—K THEE 15/16 #6 5,600 |C13
Ea—2JLT+4 SG15/167 JL—o—Falbyk FVOFIL RAUA—K HEE 15/16 #7 5,600 |C13
Ea—JLT« SG15/168 JL——Fabyb VT FIL RAFZ—K THEE 15/16 #8 5,600 |$5&) 5%
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Ea—JLFT« [SG15/169E2 |FL——Falwb AYSHIL R4S —K [EEE 15/16 #9E2 6,000 [C13
Ea—JLT« SG15/16C8E2 [JL——Falyb #YPFI)L RASF—K 58 15/16 #C8E2 5,800 |C13
Ea—JLT« [SGI5/16R6 |JL—I—FalybkAYIFIL YIOyK THEE 15/16 #6 5,600 [C13
Ea—JL7~« SG15/16R7  [JL—>—FalbybkAUDFIL YDy [EE 15/16 #7 5,600 |C13
Ea—JLT« SG15/16R8  [JL—>—FalykAUDFIL YDy TEE 15/16 #8 5,600 |$5&; %%
Ea—JL7~« SG15/16R9E2 [ L—>—Falyk AUDFIL YDy MEE 15/16 #9E2 6,000 |C13
Ea—2JLT+4 SG15/16RC8EZ 4/ L—>—Falybk AU FIL Y yK [EE 15/16 #C8E2 5,800 |C13
Ea—7JLT4 [SGI5/16RXE2 |JL——Falybk AT FIL YIOwK THEE 15/16 #XE2 6,400 55 &
Ea—JLT«  [SGI5/16XE2 [JL—L—Falyb AT HIL RBUF—K [5E 15/16 #XE2 6,400 ({5 &
Ea—JLT« SG17/18 JL——Fabyb VO FIL REF—K THEE 17/18 #2 5,000 |C13
Ea—JLT« [SG17/186 J—i—Falbyb FUDFIL RESF—K THEE 17/18 #6 5,600 [C13
Ea—JLT« SG17/187 JL——Falbyb ANVOFIL REUF—K THEE 17/18 #7 5,600 |C13
Ea—JLT« SG17/188 JL——Fabyb AVOFIL RAF—K THEE 17/18 #8 5,600 |$5&; 5
Ea—JLT« SG17/189E2 |JL——FalLyb AUDFIL REF—K TH5E 17/18 #9E2 6,000 |C13
Ea—2JLT+4 SG17/18C8E2 [/ L—>—Falyk AUDFIL RAF—K W88 17/18 #C8E2 5,800 |C13
Ea—2JLT4 [SGI7/18R6 |JL—1—FalykAYIFIL YIOyK THEE 17/18 #6 5,600 [C13
Ea—2JLT+4 SG17/18R7  [FL—>—FalbybAUDFIL YDy [EE 17/18 #7 5,600 |C13
Ea—JLT« SG17/18R8  [JL—>—FalbykAUDFIL YDy MEE 17/18 #8 5,600 |$5&; 5%
Ea—2JLT+4 SG17/18R9E2 [ L—>—Falbyk AUDFIL YDy MEE 17/18 #9E2 6,000 |C13
Ea—JL7~« SG17/18RC8EZ 4/ L—>—Falybk AU FIJL Yy [EE 17/18 #C8E2 5,800 |C13
Ea—JLT«  [SGI7/18RXE2 |[JL—L—Falybk AYDFIL YIyK TEE 17/18 #XE2 6,400 55 &
Ea—2JLT« |SG17/18XE2 |FL—L—Falyb AUTHIL RBUA—K lEE 17/18 #XE2 6,400 55 &
Ea—JLT« [SG3/4 JL—o—Falbyb FYDFIL REUF—K W5E 3/4 #2 5,000 [C12
Ea—JLT« SG3/46 JL——Fabyb FYDFIL REF—K TEE 3/4 #6 5,600 |C12
Ea—JLT«  |SG3/47 JL—o—Fabyb FYDFIL REUF—K [5E 3/4 #7 5,600 [C12
Eai—JLT« [SG3/48 JL——Fabyb FYDFIL REUF—K TH5E 3/4 #8 5600 |$5& &
Ea—JLT«  [SG3/49E2 J—i—Falbyb FUDFIL RESF—K WEE 3/4 #9E2 6,000 [C12
Ea—JLT« SG3/4C8E2 [JL—i—Falyb FYDFIL REUSF—K [Hi5E 3/4 #C8E2 5800 [C12
Ea—JLT+4 [SG3/4R6 JL——Fabyb FYDFIL YDk ThEE 3/4 #6 5,600 [C12
Ea—JLT« SG3/4R7 JL——Fabyb FYDFIL YDk TEE 3/4 #7 5,600 |C12
Ea—JLT« SG3/4R8 JL—o—Falbyb FYDFIL YDk TEE 3/4 #8 5,600 |$5&; 5%
Ea—JLT« SG3/4R9E2 (L —>—Falbyb AUTDFIL YD yK [EE 3/4 #9E2 6,000 |C12
Ea—JLT«  [SG3/4RC8E2 |FJL—1—FalykAYIFIL JIyK MEE 3/4 #C8E2 5800 [C12
Ea—7JLT4 [SG3/4RXE2 |JL—1—FalykAUIFIL JIOYK TEE 3/4 #XE2 6,400 55 &
Ea—JLT«  |SG3/4XE2 J—i—Falbyb FYDFIL REUH—K [HEE 3/4 #XE2 6,400 55 &
Ea—JLT« SG5/6 JL—o—Fabyb FYDFIL REF—K H5E 5/6 #2 5,000 |C12
Ea—JLT« [SG5/66 JL—o—Fabyb FYDFIL REF—K H5E 5/6 #6 5,600 [C12
Ea—JLT« SG5/67 JL——Fabyb FYDFIL REF—K WHEE 5/6 #7 5,600 |C12
Ea—JLT« [SG5/68 JL—o—Fabyb FYDFIL REF—K TH5E 5/6 #8 5600 |$5& &
Ea—JLT« SG5/69E2 JL——Fabyb VT FIL RAUF—K THEE 5/6 #9E2 6,000 [C12
Ea—JLT« [SG5/6C8E2 [ L—L—FalybFUDFIL REUH—K 5B 5/6 #C8E2 5800 [C12
Ea—JLT« SG5/6ER6 JL——Falbyk FUDFIL EXYD YK TEE 5/6 #6 5,600 |$5&) 5%
Ea—JLT«  |SG5/6ER7 TJL——Falbyk AUDFIL EXYD YR TEE 5/6 #7 5,600 [C12
Ea—JLT« SG5/6ER8 JL——Fabyb AU FIL EXYD YK [EE 5/6 #8 5,600 |$5&; 5%
Ea—JLT« |SG5/6R6 JL——Fabyb FYDFIL YDk THEE 5/6 #6 5,600 [C12
Ea—JLT« SG5/6R7 JL——Falbyb FYDFIL YDk TEE 5/6 #7 5,600 |C12
Ea—JLT« SG5/6R8 JL——Falbyb FYDFIL YDk THEE 5/6 #8 5,600 |$5&) 5%
Ea—JLT« SG5/6R9E2  [JL—>—FalbybAUDFIL D yK [EE 5/6 #9E2 6,000 |C12
Exa—JLT«  [SG5/6RC8E2 |FL—1—FalykAYIFIL JIyK MEE 5/6 #C8E2 5800 [C12
Ea—7JLT4 [SG5/6RXE2 | L—>—FalykAUIFIL JIOYK THEE 5/6 #XE2 6,400 |55 5%
Ea—JLT«  |SG5/6XE2 J—i—Falbyb FYDFIL REH —K 5B 5/6 #XE2 6,400 ({5 &
Ea—JLT« SG7/8 JL——Fabyb FYDFIL REF—K HEE 7/8 #2 5,000 [C12
Ea—JLT«  [SG7/86 JL—o—Fabyb FYDFIL REF—K 5 7/8 #6 5,600 [C12
Ea—JLT« SG7/87 JL—o—Fabyb FYDFIL REUF—K WEE 7/8 #7 5600 [C12
Ea—JLT« SG7/88 JL—o—Fabyb FYDFIL REF—K HEE 7/8 #8 5,600 |$5&) 5%
Ea—JLT4  [SG1/89APE2 |/8T 4V SAFal vk [EEE 7/8 #9E2 6,000 [C19
Ea—JLT«  [SG7/89E2 J—i—Falbyb FUDFIL REUSF—K TEE 7/8 #9E2 6,000 [C12
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Ea—JLT« SG7/89LCE2 [JL—>—Falwyk NAAD b HiEE 7/8 #9E2 6,000 |$5&; 5%
Ea—JLT« [SG7/8C8E2 [FJL—i—FalybFUTFIL REUH—K [HEE 7/8 #C8E2 5800 [C12
Ea—JLT« SG7/8ER6 JL——Falbyk AUDFIL EXYD YK TEE 7/8 #6 5,600 |$5&; 5%
Ea—JLT«  |SG7/8ER7 J—i—Falbyb FYDFIL EXUD YR ThEE 7/8 #7 5,600 [C12
Ea—JLT« SG7/8ERS JL——Fabyb AU FIL EXYD YK [EE 7/8 #8 5,600 |$5&; %%
Ea—JLT« |SG7/8R6 TJL——Fabyb FYDFIL YDk THEE 7/8 #6 5,600 [C12
Ea—JLT« [SG7/8R7 JL——Falbyb FYDFIL YDk TEE 7/8 #7 5,600 [C12
Ea—JLT« SG7/8R8 JL——Falbyb FYDFIL YDk TEE 7/8 #8 5,600 |$5&; %%
Ea—7JLT4 [SG7/8R9E2 |JL—1—FalykAYIFIL JIOYK THEE 7/8 #9E2 6,000 [C12
Ea—2JLT+4 SG7/8RC8E2 |4 L—>—Falyk AUDFIL )Py HEE 7/8 #C8E2 5,800 |C12
Ea—7JLT4 [SGI/8RXE2 |JL—1—FalykAUIFIL JIOYK THEE 7/8 #XE2 6,400 55 &
Ea—JLT«  |SG7/8XE2 J—i—Falbyb FYDFIL REUS —K [HEE 7/8 #XE2 6,400 ({5 &
Ea—JLT« SG9/10 JL——Falbyb VD FIL RFF—K THEE 9/10 #2 5,000 |C13
Ea—JLT«  [SG9/106 JL——Falbyb VI FIL RFF—K THEE 9/10 #6 5,600 [C13
Ea—JLT« SG9/107 JL——Falbyb VD FIL REF—K 5B 9/10 #7 5,600 |C13
Ea—JLT« SG9/108 JL——Falbyb VD FIL REF—K THEE 9/10 #8 5,600 |$5&; 5%
Ea—JLT« SG9/109E2  [JL—>—Falyk AUDFIL RAF—K [EE 9/10 #9E2 6,000 |C13
Ea—JLT« [SG9/10C8E2 |HL——Falwb AYTHIL REH—K TEEE 9/10 #C8E2 5800 [C13
Ea—2JLT« [SG9/10R6 JL——Fabyb FYDFIL YDk TEE 9/10 #6 5,600 [C13
Ea—JLT«  |SG9/10R7 JL—o—Fabyb FYDFIL YDk TEE 9/10 #7 5,600 [C13
Ea—JLT« SG9/10R8 JL——Fabyb FYDFIL YDk TEE 9/10 #8 5,600 |$5&; 5%
Ea—JLT« SG9/10R9E2 [FL—>—Falyk AUDFIL )k HEE 9/10 #9E2 6,000 |$5&; %%
Ea—7JLT4 [SGI/10RXE2 | L—1—FalykAYIFIL JIYK MEE 9/10 #XE2 6,400 55 &
Ea—JLT4 [SG/10XE2 [FJL—i—Falbyb FUDFIL REUH—K [HEE 9/10 #XE2 6,400 55 &
Ea—JLT« [SGC1/26 EYarvh—A~yh MEE 1/2 46 5,600 [C22
Ea—JLT« [SGC11/126 |[E¥arh—Ayk @EE 11/12 #6 5,600 [C22
Eai—7JLT« [SGC13/146 |ETavh—A~yhk [MEE 13/14 #6 5,600 [C22
Ea—2JLT« [SGCSUB-06 |E¥arh—Ayk MEE 47 €046 5,600 [C22
Ea—7JLT« |SGF16 AHF—5— d— LRIV TA+vH X WEE 1 #6 5,600 [C5
Ea—JLT« SGF216 Ar—5— d— LRI T7+vY R THEE 21 #6 5,600 |$5&) %%
Eai—7JLT4 [SGF21S/33 |RH—5— T— LRIV ITAYIR/ ¥4y HEE 21S/33 #2 5000 |5 &
Ea—JL T4« SGF26 A-N—H)ILFalyb T—=ILRIUTA VY X TEE 2 #6 5,600 [C5
Ea—7JLT4 |SGF36 AZN—Y)ILFaLyb T—ILRIU T+ VY R ThEE 3 #6 5,600 [C5
Ea—JL T4« SGF46 A-N—H)ILFalyb T—=ILRIUTA VY X TEE 4 #6 5,600 [C5
Ea—JLT4 |SGO1/2 JL——Fabyb 42347 HEE 1/2 #2 5,400 |C19
Ea—2JLT4 [SGO1/27 JL—o—Fabyb #7524 7 W5 1/2 #7 6,800 |1E& &
Ea—2JL7« |SGO11/12 JL—o—Fabyb 7 3247 W5 11/12 #2 5,400 |C19
Ea—JLT« [SGO11/127 [JL—L—Falbyb 45447 WEE 11/12 #7 6,800 |1E& &
Ea—JLT4 |SGO13/14 JL——Fabyb #7324 7 W58 13/14 #2 5,400 |C19
Ea—JLT« [SGO13/147 [JL—i—Falyb 45447 WEE 13/14 #7 6,800 |1E& &
Ea—JL7T« |SGO3/4 JL——Falbyb #4224 MEE 3/4 #2 5,400 |C19
Ea—JLT«  [SGO3/47 JL—o—Falbyb #7324 7 W58 3/4 #7 6,800 |1E& &
Ea—JLT4 |SGO5/6 JL——Falbyb #4224 M5E 5/6 #2 5,400 |C19
Ea—JLT« [SGO5/67 JL—i—Fabyb #7324 7 WEE 5/6 #7 6,800 |1E& &
Ea—2JL7T« |SGO7/8 JL——Falbyb 7432347 MEE 7/8 #2 5,400 |C19
Ea—JLT4 [SGO7/87 JL—o—Fabyb #7524 7 WEE 7/8 #7 6,800 |1E& &
Ea—JLT4 |SG09/10 JL—o—Fabyb #7324 7 W5E 9/10 #2 5,400 |C19
Ea—JLT«  [SGO9/107 JL—i—Fabyb #7324 7 WEE 9/10 #7 6,800 |1E& &
Ea—JLT«  [SGP1/2 JL—Y—Falbyk TRT74— MEE 1/2 #2 5,000 |$E& &
Ea—2JLT4  [SGP1/27 JL—y—Falbyb FO074— WEE 1/2 #7 5600 |$E& &
Ea—JLT«  [SGP3/47 JL—Y—Falbyk TRT74— MEE 3/4 #7 5600 |$E& &
Ea—JLT« |SGP5/6 JL—y—Falbyb FO74— WEE 5/6 #2 5,000 |$E& &
Ea—JLT« [SGP5/67 JL—Y—Falbyk TRT74— MEE 5/6 #7 5600 |$E& &
Ea—2JLT« |SGP7/8 JL—y—Falbyb FO74— WhEE 7/8 #2 5,000 |$E& &
Ea—JLT« [SGP7/87 JL—Y—Falbyk TOT74— WEE 7/8 #7 5600 |$E& &
Ea—2JLT4 [SGR1/2R JL——Fabyb FYDFIL YDk THEE 1/2 #2 5,000 [C12
Ea—7JLT4 [SGR11/12R |JL—>—FalykAYDFHIL YIOYK HEE 11/12 #2 5,000 [C13
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Ea—JLT« SGR11/14R  [JL——FalLyb FYDFIL YDk THEE 11/14 #2 5,000 |$5&; %
Ea—JLT« SGR12/13R  [JL——Falbyb FYDFIL YDk TEE 12/13 #2 5,000 |$5&; %%
Ea—JLT4 [SGR13/14R |JL—1—FalybAYDFIL YIOyK THEE 13/14 #2 5,000 [C13
Ea—2JLT4 [SGRI5/16R |JL—>—FalykAYIFIL YIOyK THEE 15/16 #2 5,000 |C13
Ea—2JLT+4 SGR17/18R [ L—>—Falbyb AUDFIL YDy [EE 17/18 #2 5,000 |C13
Ea—JLT« SGR3/4R JL——Falbyb FYDFIL YDk TEE 3/4 #2 5,000 |C12
Ea—2JLT4 [SGR5/6R JL——Fabyb FYDFIL YDk ThEE 5/6 #2 5,000 [C12
Ea—JLT« [SGR7/8R JL——Falbyb FYDFIL YDk TEE 7/8 #2 5,000 [C12
Ea—2JLT« [SGR9/10R JL—o—Fabyb FYDFIL YDk TEE 9/10 #2 5,000 |C13
Ea—JLT4  |SGRT YA F X153 — SGRT #504 12,000 |D86
Ea—JLT« [SGRTB YAFR)S95— TLF— #510 12,000 |$8E &
Ea—JLT« SH3/4 Rr—Z— D¥/rybk W8 H3/H4 #2 5,000 |$5&; %%
Ea—JLT« SH3/46 Rir—Z— D¥/rybk W8 H3/H4 #6 5,600 |$5&) %
Ea—JLT«  [SH5/33 Rr—Z5— FHE LT MEE H5/33 #2 5,000 |C2
Ea—2JLT«  |SH5/336 Rir—5— FHE LT MEE H5/33 #6 5,600 |C2
Ea—JLT4  |SH5/337 Rir—Z5— FHE LT MEE H5/33 #7 5,600 |C2
Ea—JLT«  |SH5/338 Rir—Z5— FHE LT MEE H5/33 #8 5600 |$5& &
Ea—JL7~« SH5/339E2 (R —5— @£ MiEE H5/33 #9E2 6,000 |C2
Ea—7JLT«  |SH5/33C8E2 |R&—5— A4+ M8 H5/33 #C8E2 5,800 |C2
Ea—JLT«  |SH5/33XE2 |R&7—5— B4+ MEE H5/33 #XE2 6,400 |5 &
Ea—2LT« SH5/U15 ARlbr—>— FELTR/2—F—MEE H5/U15 #2 5,000 |$5&; %
Ea—JLT« SH5/U156 Rlr—>— FELTH/2—F—MBE H5/U15 #6 5,600 |$5&) %%
Ea—2JLT+4 SH6/7 Rlr—5— B+ A WEE H6/HT #2 5,000 |C2
Ea—JLT« |SH6/76 Rr—5— F4E LT F WEE H6/HT #6 5,600 |C2
Ea—2JLT+4 SH6/77 Rlr—5— B+ A WEE H6/HT #7 5,600 |C2
Ea—JLT« SH6/78 Rlr—>— BT MBE H6/HT #8 5,600 |$5&; 5%
Ea—2JLT+4 SH6/79E2 Rlr—Z— B4+ A WEE H6/HT #9E2 6,000 |C2
Ea—JL7~« SH6/7C8E2 R4 —35— @i MBE H6/H7 #C8E2 5,800 |C2
Ea—2LF« SH6/7XE2 Rlr—Z5— B+ A WEE H6/HT #XE2 6,400 |$BEE
Ea—JLT« SHAW1 DIGRAVRAY LA 35— THEE 1 #41 4,800 |$5&E
Ea—JLT« SHAW2 DIGRAVRAY LA 35— THEE 2 #41 4,800 |$B&E
Ea—JLT« SHAW3 A—/\— 3— MEE 3 #41 4,800 |$5&E
Ea—JLT« SHAW?7 RINFaT 3— WEE 7 #41 4,800 |$B&E
Ea—JLT«  [SHDPV AAURILNAEIIL Z=TL—RA 26,000 |D95
Ea—2JLT4« SHF-HYGE2 |/N\A/PZRkFalLwhk #9E2 6,000 |55
Ea—JLT«  [SHG31/32 AZN—H)LFalyb T—)LRTY [HEE 31/32 #2 5,000 |$E& &
Ea—JLT« SHG6/7 Ar—5— d—)LEI> HEE 6/7 #2 5,000 |$5&; %
Ea—JLT« SHG6/76 Ar—5— d—)LET> HEE 6/7 #6 5,600 |$5&) 5%
Ea—JLT« SHG6/77 Ar—5— d— LRI HEE 6/7 #7 5,600 |$5&; 5%
Ea—JLT« SHG6/78 Ar—5— d— LR WA 6/7 #8 5,600 |$5&; 5%
Ea—7JLT+4 SHTMBH AAIRILNAVERIL ZZTL—FKE F4> 32,000 (D95
Ea—JLT«  |SHU1/2 INYTF Ay TEE 1/2 #2 5,000 [C22
Ea—2JLT«  [SINCI HAFAXaLYk 146 12,000 |D108
Ea—JL7T4  |SINCIX HYA4FAF¥ 2Ly 1BL 13,000 |D108
Ea—JLT«  [SINC2 HAFAF LYk 2 #6 12,000 |D108
Ea—JL7T4  |SINC2X HYA4FAF¥alLyb2BL 13,000 |D108
Ea—2JLT+4 SIU13/14 AZN—HIILFaLyb AOT4T7FKREE W5E 13/14 #2 5,000 (C8
Ea—JLT«  [SIU13/146 A=ZN—HYIFLYS AOTAT7FREE WHEE 13/14 #6 5,600 |C8
Ea—2JLT+4 SIU17/18 AZN—HYIILFaLyb A T4TFKREE WEE 17/18 #2 5,000 (C8
Ea—2JLT«  [SIU17/186 A=ZN—HYIFaLYb AOTAT7FREE WHE5E 17/18 #6 5,600 |C8
Ea—JLT« SIU17/187 AZN—HIILFaLyb A T4T7FKREE WEE 17/18 #7 5,600 |$5&; 5%
Ea—2JLT«  [SIU17/188 A=ZN—HYILFa2LYS AOTAT7FREE! WHEE 17/18 #8 5600 |$5& &
Ea—2JLT+4 SIUFW204 A —Z5— IUFW T EE 204 #2 5,000 |$E& &
Ea—7JLT«  [SIUFW2046 |R4—5— IUFW fljE 204 #6 5600 |$E& &
Ea—2JLT+4 SIUFW2047 AAr—Z— IUFW TEE 204 #7 5600 |$EH &
Ea—7JLT«  [SIUFW2048 |R4—5— IUFW fljE 204 #8 5600 |$5& &
Ea—JLT« SIUFW2049E2 [R4—5— IUFW T&EE 204 #9E2 6,000 |$5&; %%
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Ea—JLT« SPR1/2 RYAHY—=TH)FaLyb TYFv—F WEE 1/2 #2 5,600 (D27
Ea—JL7~« SPR1/26 RYAHY—=TH)FaLyb TYFv—F WEE 1/2 #6 5,600 |D27
Ea—JLT« SPR1/29 RYAHY—=TH)FaLyb TYFv—F WEE 1/2 #9 6,000 (D27
Ea—JLT« SPR1/2S6 RYAH—=THh)FaLyk TYFv—F HEE 1/2 #6S 5,600 |$5&) %%
Ea—2JLT«  |SPSDET Rr—5—RE2AS—484T FEE 1 #1 4,000 |C4
Ex—2JLT« |[SPSDE2 Ry—5— RE2AS—4A4T K58 2 #1 4,000 |C4
Ea—JLT«  |SPSDE3 Rr—5— RE2AS—44T FEE 3 #1 4,000 |C4
Ea—JLT«  |SPSPV [F&H w420 DAPAE—T3 AL AR A 62,000 |$5E &
Ea—JLT« SPSPV45 [F&H ¥4 0 DRAAE—T3 RAARIJF 45° 69,000 |$5HE
Ex—JLT+« SPT31 DY RARINF1T WHEE 31 6,200 [F21
Ea—JLT«  [SPTPDAPV [F4wiaTdS4¥— 34980 XA ARYF 56,000 |{5& &
Eai—7JLT«  [SPTPDSSPV |F4vyiadS54v¥— 34490 XA ARYF 7Fr3HIL 56,000 |$5& &
Ea—2JLT+4 SPV [XEH ¥4 0 hRLAE—T3 B PV 62,000 |D97
Ea—JLT1  |SPVX (FEH TIVIT540 R—N\—hyk 490 hA+OE—T3 Bl PV 69,000 [D97
Ea—JLT« [SQBL16 IJ7—r—arv¥xabyb T2 BHEEA W5E 1 #6 6,000 |$E& &
Ea—JLT« SQBL26 I7—r—av¥albyk T4 JAEEA ME 2 46 6,000 |$5&) 5
Ea—JLT«  |SQLL36 IJ7—r—arv¥xalbyb 71> FEER W5E 3 #6 6,000 |$E& &
Ea—JLT« SQMD16 I7—r—av¥albybk T im0 A @EE 1 46 6,000 |$5&) 5
Ea—JLT« SQMD26 I7—r—a Fxalbyk T4 RO A WEE 2 #6 6,000 |$5&; %%
Ea—2L7T«  |SRI Y—CHIINSIE— 1 18,000 |D85
Ea—7JLT+4 SR2 Y—2hNWINSHB— 2 18,000 |D85
Ea—JL7T« |SR3 Y—CHII NS5 — 3 18,000 |D85
Ea—JLT« SR3/4 aA=N—H)LFalyb JL—)L TEE 3/4 #2 5,000 |$5&; %
Eai—JLT« |SR3/46 A=N—H)LFalybk JL—)L [HEE 3/4 #6 5600 |$E& &
Ea—JLT«  [SR50 Y—ThIILNS593— 50 23,000 |15 &
Ea—JL7T« |SR8 Y—CHI NS5 —8 18,000 |D85
Ea—2L7«  |SR9 =AW 93— S LR 9 18,000 |D85
Ea—2L7T« |SRC3M Y—CHIL NS5 95— C3M 18,000 |D86
Ea—2JLT+4 SRM10 Y AFR)S9%— 2y a 10 #504 12,000 |D86
Ea—JLT4 |SRMI15 YAFRYNSUR— Sy a 15 #504 12,000 |D86
Ea—JLT« SRM3/4 Alr—5— LIUbY ThEE 3/4 #2 5,000 |$5&; %%
Ea—JLT« SRM3/46 Rir—Z— LEUbY THEE 3/4 #6 5,600 |$5&) %%
Ea—2L7« |SRP1/2R6 J—i—Falbybk 7I48—0747 YUK ThEE 1/2 #6 5,600 [C14
Ea—JL7+« SRP1/2R7 JL—o—Falbyk 7I73—0747 )Yk WhEE 1/2 #7 5600 |C14
Ea—JLT« SRP1/2R8 JL——Falbyk 7I9—0747 YUk THEE 1/2 #8 5,600 |$5&) 5%
Ea—7JLT4 [SRP1/2R9E2 |JL—1—Falyk 7IE2—T747 YK MEE 1/2 #9E2 6,000 |$5& &
Ea—2JLT«  [SRP1/2RC8E2 (4 L—L—Falyb 7I8—TJ747 YK TEE 1/2 #C8E2 5800 |1E& &
Ea—7JLT4 [SRP1/2RXE2 |JL—>—Falwk FIE2—T747 )k MEE 1/2 #XE2 6,400 |55 5%
Ea—2JLT+4 SRP11/12C8E4 4/ L—>—Falbyk PIA—T747 RAF—NK B8 11/12 #C8E2 5800 |1BH &
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Ea—JLT« SRP11/12E6 [JL—L—Falyk 7I9—T747 EXUD UK [EE 11/12 #6 5,600 |$5&; 5%
Ea—JLT«  [SRP11/12E7 |HJL—>—Falybk 7I72—0747 EXYD VR TEE 11/12 #7 5,600 [C15
Ea—JLT« SRP11/12E8 [JL—L—Falwybk 7I9—T747 EXUD UK [MEE 11/12 #8 5,600 |$5&; %%
Ea—2JLT+4 SRP11/12R6 [JL—>—Falbyk TI9—T747 Y yk BB 11/12 #6 5,600 |C15
Ea—JL7~« SRP11/12R7 |(JL—>—Falbyk 7I9—T747 Y vk WEE 11/12 #7 5,600 |C15
Ea—JLT« SRP11/12R8 | L—>—Falbyk FI2—T747 Yk WEE 11/12 #8 5,600 |$5&; %%
Ea—2LT«4  |SRP11/12R9EAS L ——FaLyb FIE—T7A4T YTyl MEE 11/12 #9E2 6,000 |$5& &
Ea—JLT« SRP11/12RC8{ ' L——Falyk 7I72—T747 ) yk WEE 11/12 #C8E2 5800 |1E& &
Ea—2LT«4  |SRP11/12RXEdSL——FaLyb 7I7E—T74T YD K MEE 11/12 #XE2 6,400 55 &
Ea—7JLT« |SRP13/14C8EQJL——Falwk 7I74—T7470 RAA—K ThEE 13/14 #C8E2 5800 |5 &
Ea—JLT« SRP13/14E6 |[JL—L—Falwybk 7I79—T747 EXUD UK [MEE 13/14 #6 5,600 |$5&) 5%
Ea—2JLT+4 SRP13/14E7 |(JL—L—Falyk 7I42—T747 EXUD UK HEE 13/14 #7 5,600 |C15
Ea—JLT« SRP13/14E8 [JL—L—Falwybk 7I79—T747 EXUD UK [MEE 13/14 #8 5,600 |$5&; 5
Ea—JLT« [SRP13/14R6 |[JL—1—Falyb 7I74—T747 YD UK WEE 13/14 #6 5,600 [C15
Ea—JL7~« SRP13/14R7 |(JL—>—Falyk 7I9—T747 )k WEE 13/14 #7 5,600 |C15
Ea—JLT« SRP13/14R8 |JL—>—Falyh FI2—T747 )k WEE 13/14 #8 5,600 |$5&; 5%
Ea—2LT«4 |SRP13/14R9EAH L ——FalLyb 7I4—T74A4T YT wK MEE 13/14 #9E2 6,000 |$5& &
Ea—JLT« SRP13/14RC8{ ' L——Falyk 7I742—T747 ) yk WEE 13/14 #C8E2 5800 |1E& &
Ea—2LT4 |SRP13/14RXE4SL—L—FaLyb 7I7E—T74F YT K MEE 13/14 #XE2 6,400 55 &
Ea—2JLT+4 SRP15/16C8E4 4/ L—>—Falwyk FIA—T747 RAF—K B8 15/16 #C8E2 5,800 |1BH; &
Ea—7JLT4 [SRP15/16R6 |JL—>—Falwk FIE2—T747 )k MHEE 15/16 #6 5,600 [C15
Ea—2JLT«  [SRP15/16R7 |[JL—L—Falyb 7I4—T747 YUK WEE 15/16 #7 5,600 [C15
Ea—JLT« SRP15/16R8 [/ L—>—FalLyk FI2—T747 )k MEE 15/16 #8 5,600 |$5&; 5%
Ea—JLT«  [SRP15/16R9E4S L——Falybk 7I7E—D747 YOk WlEE 15/16 #9E2 6,000 |5 &
Ea—JLTF« SRP15/16RC8{ ' L—L—Falyk 7I74—T747 )UK WEE 15/16 #C8E2 5,800 |$5&; %
Ea—JLT«  [SRP15/16RXE]S L—L—Falyb 7I8—TJ747 YUK EE 15/16 #XE2 6,400 55 &
Ea—JLT+ [SRP3/4R6 J—o—Falbyk 7I748—0747 YR ThEE 3/4 #6 5,600 [C14
Ea—2JLT+4 SRP3/4R7 JL—o—Falbyk 7I73—0747 )Py hEE 3/4 #7 5600 |C14
Ea—JLT« SRP3/4R8 JL——Falbyk FI9—0747 )k THEE 3/4 #8 5,600 |$5&; 5%
Ea—JLT«  [SRP3/4R9E2 | L—1—Falyk 7I5—T747 YK WEE 3/4 #9E2 6,000 |5 &
Ea—2LT4  |SRP3/4RC8E2 | L—L—FalLyb 7I74—T74F Y wK MiEE 3/4 #C8E2 5800 |1B& &
Ea—JLT«  [SRP3/4RXE2 |[JL—L—Falyb 7I4—T747 YR el 3/4 #XE2 6,400 55 &
Ea—JLT« SRP5/6E6 JL—o—Falbyk 7I73—T747 EXP UK THEE 5/6 #6 5,600 |$5&) 5%
Ea—7JLT+4 SRP5/6E7 JL—o—Falbyk 7I73—T747 EX)P YR A 5/6 #7 5600 |C14
Ea—JLT« SRP5/6ES JL—o—Falbyk 7I73—T747 EXP UK THEE 5/6 #8 5,600 |$5&; 5%
Ea—7JLT+4 SRP5/6R6 JL——Falbyk 7I73—J747 )P wK THiEE 5/6 #6 5600 |C14
Ea—JLT+ [SRP5/6R7 J—o—Falbyk 7I74—T747 YR ThEE 5/6 #7 5,600 [C14
Ea—JLT« SRP5/6R8 JL——Falbyk 7I9—0747 )k THEE 5/6 #8 5,600 |$5&; 5%
Ea—7JLT4 [SRP5/6RIE2 |JL—>—Falyk 7IE2—T747 YK MEA 5/6 #9E2 6,000 |$5& &
Ea—2JLT«  |[SRP5/6RC8E2 |4 L—L—Falybk 7I8—TJ747 YK TEE 5/6 #C8E2 5800 |5 &
Ea—7JLT4 [SRP5/6RXE2 |JL—>—Falwk FI2—T747 )k MEE 5/6 #XE2 6,400 55 &
Ea—JLT« |SRP7/8E6 J—i—Falbybk 7I748—T747 EXUS UK [EE 7/8 #6 5600 |5 &
Ea—7JLT« [SRP7/8E7 J—i—Falbyk 7I74—T747 EXUS UK [EE 7/8 #7 5,600 [C14
Ea—JLT« SRP7/8E8 JL——Falbyk 7I73—T747 EXYP UK THEE 7/8 #8 5,600 |$5&; 5%
Ea—JLT« [SRP7/8R6 J—o—Falbybk 7I748—0747 YR ThEE 7/8 #6 5,600 [C14
Ea—2L7«  |SRP7/8R7 J—i—Falbybk 7I748—0747 YUK ThEE 7/8 #7 5,600 |C14
Ea—JLT« SRP7/8R8 JL——Falbyk 7I9—0747 )k THEE 7/8 #8 5,600 |$5&) 5%
Ea—JLT« [SRP7/8RIE2 |HJL—1—Falyk 7I5—T747 YK WhEE 7/8 #9E2 6,000 |5 &
Ea—2LT«4 |SRP7/8RC8E2 |SL—L—FalLyb 7I74—T74T YTk MiEE 7/8 #C8E2 5800 |1B& &
Ea—JLT«  [SRP7/8RXE2 |[JL—L—Falyb 7I4—T747 YR TEE 7/8 #XE2 6,400 |55 &
Ea—JLT« [SRPG1/2 JL——Falbyb PIA—T74T RAF—K [MEE 1/2 #2 5,000 [C14
Ea—2LT«  |SRPG1/26 JL——Fabyb 7I2—T747 RAF—K [5E 1/2 #6 5,600 |C14
Ea—JLT4  [SRPG1/27 JL——Fabyb FIA—T74T RAF—K MEE 1/2 #7 5,600 [C14
Ea—JLT« SRPG1/28 JL——Fabyb FIA—T74T RRAF—NK [M5E 1/2 #8 5,600 |$5&; %%
Ex—7JLT« [SRPG1/29E2 |JL—>—Falyk FIE2—T747 RE5—K [MiEE 1/2 #9E2 6,000 |$E& &
Ea—JLT«  [SRPG1/2C8E2 |4/ L—L—Falybk 7I2—DJ747 RBUS—K 58 1/2 #C8E2 5800 |5 &
Ea—7JLT4 [SRPG1/2R |JL—>—Falyk TIE2—T747 YK EE 1/2 #2 5,000 [C14
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Ea—JLT«  [SRPG1/2XE2 |JL—L—Falyb 7I8—0747 RBUS—K [EE 1/2 #XE2 6,400 55 &
Ea—JL7~« SRPG11/12 |[JL—1—Falybk 7I9—0747 R3S —K HEE 11/12 #2 5,000 |C15
Ea—2JLT+4 SRPG11/126 |[JL—L—Falybk 7I9—T747 R3S —FK HEE 11/12 #6 5,600 |C15
Ea—JL7~« SRPG11/127 |[JL—L—Falybk 7I9—0747 RASF—K HEE 11/12 #7 5,600 |C15
Ea—2LT«4 |SRPGI1/128 |HL—L—Falbyb FI8—T74T RZUA—K 58 11/12 #8 5600 |$5& &
Ea—7JLT4 [SRPGI1/129E35L—>—Falyk 7I2—T747 RZ5—K M58 11/12 #9E2 6,000 |$5& &
Ea—2JLT+4 SRPG11/12R | L—>—Falbyk FI2—T747 YD yk WEE 11/12 #2 5,000 |C15
Ex—7JLT4 [SRPGI1/12XE]SJL—>—Falyk 7IE3—D747 RBF—K {58 11/12 #XE2 6,400 55 &
Ea—JLT« [SRPGI1/14 |[FL—L—Falyb PI8—T0747 RAUF—K HEE 11/14 #2 5,000 |$E& &
Ea—2LT« |SRPGI1/146 |FL—L—FalLyb FI8—T74T REUA—K THEE 11/14 #6 5600 |$E& &
Ea—JLT« [SRPGI1/147 |[JL—L—Falyb PI8—D0747 RAUF—K WEE 11/14 #7 5600 |$E& &
Ea—2LT« |SRPG11/148 |HJL—L—FalLyb FI8—T74T REA—K THEE 11/14 #8 5600 |$5& &
Ea—2JLT+4 SRPG11/149E3 45 L—>—F albybh PIA—T74 7 RAA—NK [MBE 11/14 #9E2 6,000 |$EH &
Ea—JLTF« SRPG11/14C8{ 4 L—>—Falbyk FIA—T747 R F—K [EE 11/14#C8E2 5,800 |$5&; %
Ea—JLT« [SRPG12/13 |[JL—L—Falyb 7I8—D0747 RAUS—K HEE 12/13 #2 5,000 |$E& &
Ea—JLTF« SRPG12/136 |[JL—L—Falyk 7I9—T747 R3S —FK THEE 12/13 #6 5,600 |$5&) %%
Ea—JLT« [SRPG12/137 |[JL—L—Falyb 7I8—D0747 RAUS—K W58 12/13 #7 5600 |1E& &
Ea—JL T« SRPG12/138 |[JL—L—Falybk 7I9—T747 R3S —K THEE 12/13 #8 5,600 |$5&; 5%
Ea—JLT«  [SRPG12/139E445'L—L—Falyb PI8—DJ747 RAUSF—NK HEE 12/13 #9E2 6,000 |$5& &
Ea—JLTF« SRPG12/13C8{ 4 L—>—Falbyk 7IA—T747 R F—K W88 12/13#C8E2 5,800 |$5&; %
Ea—JLT« [SRPG13/14 |[JL—L—Falyb 7I8—T0747 RAUS—NK [HEE 13/14 #2 5,000 [C15
Eai—7JLT« [SRPG13/146 |FL—>—Falyk 7I8—DT747 REUS—K [MEE 13/14 #6 5,600 [C15
Ea—JLT« [SRPG13/147 |[JL—L—Falyb 7I8—D0747 RAUS—NK EE 13/14 #7 5,600 [C15
Ea—JLT« SRPG13/148 |[JL—L—Falyk 7I9—T747 R3S —K THEE 13/14 #8 5,600 |$5&; 5%
Ea—JLT«  [SRPGI3/149E445'L—L—Falyb PI8—TJ747 RAUSF—NK THEE 13/14 #9E2 6,000 |$5& &
Ea—JL7~« SRPG13/14R |(JL—>—Falbyk FI2—T747 Yk WEE 13/14 #2 5,000 |C15
Ea—JLT«  [SRPGI3/14XE]S L—L—Falybk PIR—D747 RBUA—K [EE 13/14 #XE2 6,400 55 &
Eai—7JLT« [SRPGI5/16 |FL—>—Falyk 7IE—T747 REUH—K M58 15/16 #2 5,000 [C15
Ea—2JLT+4 SRPG15/166 |[JL—L—Falwyk 7I9—T747 R3S —FK THEE 15/16 #6 5,600 |C15
Ea—JL7~« SRPG15/167 |[JL—L—Falyk 7I9—T747 RAHA—K HEE 15/16 #7 5,600 |C15
Ea—JLTF« SRPG15/168 |[JL—L—Falyk 7I9—T7A47 R3S —K THEE 15/16 #8 5,600 |$5&; 5%
Ex—7JLT4 [SRPGI5/169E35 L—>—Falyk 7IE—T747 RBS—K M58 15/16 #9E2 6,000 |$5& &
Ea—JLT«  [SRPGI5/16R |[JL—1—Falyk 7I75—DT747 YI vk MEE 15/16 #2 5,000 [C15
Exi—7JLT« [SRPGI5/16XE]SJL—>—Falyk 7IE2—T747 RBS—K 58 15/16 #XE2 6,400 55 &
Ea—JL7T4« |SRPG3/4 JL——Falbyb 7I2—T747 RAF—NK [EE 3/4 #2 5,000 [C14
Ea—7JLT« |SRPG3/46 J—i—Falbybk 7I4—T747 RA5—K WEE 3/4 #6 5,600 [C14
Ea—JLT«  [SRPG3/47 JL——Falbyb FI2—T747T RAF—NK [EE 3/4 #7 5,600 [C14
Ea—JLT« SRPG3/48 JL——Falbyb 7IA—T747T RAF—K [EE 3/4 #8 5,600 |$5&; 5%
Ea—JLT«  [SRPG3/49E2 [JL—L—Falyb 7I8—TJ747 RALSF—K 5E 3/4 #9E2 6,000 |$5& &
Ex—7JLT« [SRPG3/4C8E2 |/ L—>—Falyk 7I2—T747 RB5—K 58 3/4 #C8E2 5800 |1B& &
Ea—7JLT4  [SRPG3/4R J—i—Falbybk 7I48—T747 YUK TWEE 3/4 #2 5,000 [C14
Ea—2JLT«4 |SRPG3/4XE2 |JL—L—Falyb PIE—T74T RBUS—K 58 3/4 #XE2 6,400 55 &
Ea—2JL7+ [SRPG5/6 JL——Falbyb 7I2—T747T RRAF—NK [EE 5/6 #2 5,000 [C14
Ea—JLT+ [SRPG5/66 J—i—Falbybk 7I49—T747 RA5—K EE 5/6 #6 5,600 [C14
Ea—JLT«  |[SRPG5/67 JL——Falbybh 7I2—T747 RRAF—K [8E 5/6 #7 5,600 [C14
Ea—JLT« SRPG5/68 JL——Falbyb PIA—T74T RRAF—K [8E 5/6 #8 5,600 |$5&) 5%
Ea—JLT« |[SRPG5/69E2 |[JL—L—Falyb 7I8—TJ747 RALSF—K 58 5/6 #9E2 6,000 |$E& &
Ea—7JLT« [SRPG5/6C8E2 |/ L—>—Falyk 7I2—T747 RBS—K ifj58 5/6 #C8E2 5800 |1B& &
Ea—JLT4 [SRPG5/6R |JL—1—FalykT7I75—D0747 YP UK WhEE 5/6 #2 5,000 [C14
Ea—2LT«4 |SRPG5/6XE2 |JL—L—Falyb 7IE—T74T RBS—K 58 5/6 #XE2 6,400 |55 5%
Ea—JLT« [SRPG7/8 J—i—Falbybk 7I48—T747 RA5—K WEE 7/8 #2 5,000 [C14
Ex—JLT« [SRPG7/86 J—i—Falbybk 7I49—T747 RA5—K TEE 7/8 #6 5,600 [C14
Ea—2LT«  |SRPG7/87 JL——Falbyb 7I2—T747 RAF—K M58 7/8 #7 5,600 [C14
Ea—JLT« SRPG7/88 JL——Falbyh 7I2—T747T RAF—NK [EE 7/8 #8 5,600 |$5&; %%
Ea—JLT«  [SRPG1/89E2 [4JL—L—Falyb 7I8—T0747 RAUS—K H5E 7/8 #9E2 6,000 |$E& &
Ea—2JLT« |SRPG7/8C8E2 |SL—L—FalLybh 7I8—T74T REA—K HEE 7/8 #C8E2 5800 |1B& &
Ea—JLT« [SRPG1/8R |JL—1—FalybkTI5—T747 YI K WhEE 7/8 #2 5,000 [C14
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Ea—2JLT«4 |SRPG1/8XE2 |FL—L—Falyb PIE—T74T RBUS—K 58 7/8 #XE2 6,400 |55 &
Ea—JLT« SS11/12 RYFH—2SHhIFaLyb aH—< HEE 11S/12S #2 5,600 |$5&) %
Ea—JLT« SS11/126 RYFH—THhFalbyk a2 H—< WEE 11S/12S #6 5,600 |$5&; 5%
Ea—JLT«  [SS2 T—hoYRA— AR 2 4,800 |C29
Ea—JLT4  |SS299 T—hoYRA—2 AR 299 4,800 |C29
Ea—JLT«  [SS300 U¥y—T =5 A—2 HPA 300 3,200 |C31
Ea—JLT4  |SS301 Uy—T =5 A+—2 HPA 301 3,200 |C31
Ea—JLT«  [SS302 U¥—T =Y A—2 HPA 302 3,200 |C31
Ea—JLT4  |SS303 Uy —T =S A—2 HPA 303 3,200 |C31
Ea—JLT«  [SS304 U¥—T =S RA—2 HPA 304 3,200 |C31
Ea—JLT4  |SS305 Uy —T =S A—2 HPA 305 3,200 |C31
Ea—JLT«  [SS309 AT 47 Ab—2 309 4,800 |C29
Ea—2JL7« |SS3C +53yYR—> 3C 4,200 |C30
Exa—JLT4 [SS4 T—hoYRRAM—2 TS5k 4 4,200 |C30
Ea—2JLT4 [SS5 T—hoHYRAR—2 RAY 5 14,000 |C30
Ea—JLT« SS5/6 RYAH—=THNFalbyb a2 fi—<T WHEE 5S/6S #2 5,600 |$5&) %
Ea—JLT« SS5/66 RYAH—=THIFalbyb a2 f—<T WHEE 5S/6S #6 5,600 |$5&) %%
Ea—JLT«  |SS6 ATAT A= 9290 6 4,200 |C30
Ea—7JLT4 [SS6A T—hoYRAR—2 Hxyd 6A 4,200 |C30
Ea—JLT« SS9/10 RYAHY—=DHIFaLyb a2 H—T 2 HEE 9S/10S #2 5,600 |$5&) %
Ea—JLT4 [SS9/106 RYFH—SHIFalbyb Va2 Hi—< MEE 9S/10S #6 5600 |5 &
Ea—JLT«  [SSAS22 T7—HoHYRAR— 22 4,200 |C30
Ea—2JLT«  |SSDGRIT TaATF A= 5,000 [C29
Ea—JLT«  |SSFI ATAT A= 1 4,200 |C30
Ea—JLT«  [SSGO IMSL T 2 Fv—J1)vT 16 A 7)—b 1,400 [A7
Ea—JLT«  [SSGI IMSL T 2 Fv—J)vT 16 A JL— 1,400 [A7
Ea—JLT4 |SSG10 IMSL T 2 Fv—4J1)vT 16 A EVY 1,400 [A7
Ea—JLT«  [SSGIT IMSL TR Fv—J )T 16 A ST — 1,400 [A7
Ea—JLT« SSG12 IMSU T RFv—J 1)y T 16 A A—2 v T IL— 1,400 |A7
Ea—JLT«  |SSG2 IMSL T 2 Fv—J1)vT 16 A RITAk 1,400 [A7
Ea—JLT4  |SSG3 IMSL T2 Fv—J)vT 16 A AL 1,400 [A7
Ea—JLT«  [SSG4 IMSL T 2 Fv—J)vT 16 A TT50> 1,400 [A7
Ea—JLT4 |SSG5 IMSL T 2 Fv—41)vT 16 A 10— 1,400 (A7
Ea—7JLT« [SSG6 IMSL T 2 Fv—4J1)vT 16 A Lyk 1,400 [A7
Ea—JLT4  |SSG7 IMSL T2 Fv—J)vT 16 A J1)—> 1,400 [A7
Ea—JLT«  |SSGS IMSL T 2 Fv—J)vT 16 A TI)L— 1,400 [A7
Ea—JLT4 |SSGY IMSL T2 Fv—J)vT 16 A T5v9 1,400 [A7
Ea—JLT« SSGBLUES IMSYU TR F¥—o )T LI8HhS— 16 A TIL— 1,400 |A7
Ea—JLT« SSGGRAYS IMSL TR F¥—o)vT LIO8HhS— 16 A JL— 1,400 |A7
Ea—2JL7T4  |SSGGREEN8 |IMSL U xFv—41)vT LI8HhT— 16 A J1)—> 1,400 [A7
Ea—JLT« SSGLAVNDRS (IMSL T RF¥—J1)vT LIO8HT— 16 A IAUHF— 1,400 |A7
Ea—JLT«  [SSGMULTI IMSL T 2 Fv—41)vT 80A 7—b 5400 |A7
Ea—JLT« SSGORANGES (IMSL T R2F¥—4J1)vT LIO8HhT— 16 A ALY 1,400 |A7
Ea—JLT+4 SSGPURPLES (IMSL U RF¥—J)vT LI8HhT— 16 A /IS—T )L 1,400 |A7
Ea—JLT« SSGREDS IMSY T R F¥—51)vT LP8HhS— 16 A LK 1,400 |A7
Ea—JLT4  |SSGYELLOWS |IMSL U xFv—41)vT LI8HhT5— 16 A /1T O— 1,400 |A7
Ea—JLT« SSKC EIIVIR— HER 5200 |D35
Ea—JLT«  |SSKITA =TT F I T—hoY R 11,000 |C31
Ea—JLT« SSKITC =T %Ik 539Y 11,000 |C31
Ea—JLT« SSLUX vIIVHRN—=2 Wo—T 4T 4,000 |C29
Ea—JLT4  |SSMS22 AT AT A—> MS22 4,200 |C30
Ea—JLT« SSO In—TZTF AN 2,600 |C31
Ea—JLT« [SSP16 RIF—75— ATV T4—)LK FEE i 1 #6 5600 |$E& &
Ea—JLT« SSP2/3 ARr—5— RS2 T4—)LK [EE 2/3 #2 5,000 |$5&; %%
Ea—JLT« SSP2/36 ARr—5— XTI 4— )UK [EE 2/3 #6 5,600 |$5&; 5%
Ea—JLT«  [SSPRI HAFRAVIRURAYILAUE OURY Z/F 25 TEE #6 12,000 |D108
Ea—2JL7T«  |ST2/3 ARr—5— TA5— MBE Bt 2/3 #2 5,000 |$5& &

63/68 R—




Ea—ILF 1T N —T Rk

(FidR) 20244%3A21BKYER

Ea—JLT« ST2/36 Rir—35— TA5— MR Btk 2/3 #6 5,600 |$5&) %
Ea—JLT«  |ST2/37 ARr—2— TA5— MBE Bt 2/3 #7 5600 |$E& &
Ea—2JL7«  |ST2/38 Rr—5— T45— WEE A 2/3 #8 5600 |$5& &
Ea—JLT«  |STG11/12 R—TF JL——34T WA 11/12 #2 5,000 |$E& &
Ea—2JLT«  [STG11/126 |A—SA JL—2—34A 7 MEE 11/12 #6 5600 |1E& &
Ex—2JLT« [STG13/14 R—TF JL——347 WEE 13/14 #2 5,000 |$E& &
Ea—JLT« |STG13/146 |A—SH2 JL—1—434A 7 WEE 13/14 #6 5600 |1E& &
Ea—JLT« |STG5/6 A—TF2 JL——45AT THEE 5/6 #2 5,000 |$E& &
Ea—JLT«  [STG5/66 A—TF2 JL——45A7 THEE 5/6 #6 5600 |1E& &
Ea—JLT4 |STMI13/14S |3—A2 wya—ILAAT 58 13/14S #4 5600 |$E& &
Ea—JLT«  |STM13/14S6 |A—#A> 9va— LA T WEE 13/14S #6 5600 |$E& &
Ea—JLT« |STM17/18S |3—T#AL vya— LA WEE 17/18S #2 5,000 |$5& &
Ea—JLT« |STM17/18S6 |4—S#A> vva— LA WEE 17/18S #6 5600 |$E& &
Ea—2L7«  |STMBH [F&H v(H0 hRrOE—T3 #i 742 130,000 |D97
Ea—JLT« SU15/30 Rlr—5— 8—F—/T /v WEE 15/30 #2 5,000 |$5&; %
Ea—JLT«  [SU15/306 R—5— 3—F—/T ¥y WEE 15/30 #6 5600 |5 &
Ea—JLT« SU15/307 Rlr—5— Z3—F—/2 %'y WEE 15/30 #7 5,600 |$5&) %
Ea—JLT« |SU15/308 Ry—5— 3—F—/T ¥y WEE 15/30 #8 5600 |5 &
Ea—JLT« SU15/309E2 (R —5— B—F—/T¥/ryb MEE 15/30 #9E2 6,000 |$5&; %%
Ea—7JLT4 [SU15/30C8E2 | R4y —S5— A—F—/x4ryh EE 15/30 #C8E2 5800 {5 &
Ea—JLT« SU15/33 Rbr—5— 8—F—/T /v WEE 15/33 #2 5,000 |$5&; %
Ea—JLT« [SU15/336 R—5— 3—F—/T ¥y HEE 15/33 #6 5600 |5 &
Ea—JLT« SU15/337 Rlr—5— Z3—F—/T %'y WEE 15/33 #7 5,600 |$5&) %
Ea—JLT« |SU15/338 R—5— 3—F—/T ¥y WEE 15/33 #8 5600 |5 &
Ea—JLT« SU15/339E2 (R —5— B—F—/T¥/ryb MEE 15/33 #9E2 6,000 |$5&; %%
Ea—7JLT4  [SU15/33C8E2 | Ry —S5— #—F—/x4ryh ThEE 15/33 #C8E2 5800 {5 &
Ea—2JLT+4 SU156 Rly—Z— 3—F— FEE 15 #6 4,200 |C2
Ea—JLT4  |SU157 ARly—5— 8—F— FEE 15 #7 5400 |5 &
Ea—JLT« SuU158 Rir—5— 53—} — REE 15 48 5,600 |$5&; 5%
Ea—JLT« SUCR3/46 A=/N\—H)LFalyk FhDY)T MEE 3/4 #6 5,600 |$5&; %%
Ea—JLT« SUCR3/48 A=/N\—H)LFalyk F80)T HEE 3/4 #8 5,600 |$5&; 5%
Eai—7JLF« |SUCR3/49E2 |a=/"—H)LFaLyb ST THEE 3/4 #9E2 6,000 |5 &
Ea—JLT« SUSC1286 AR/r—7— USC FBE i 128 #6 5,600 |$5&; 5%
Ea—JLT« SWV1/2 R—Rr—5— W8 WV1/2 #2 5,000 |$5&; %%
Ea—7JLT+4 SXS156 R—Rr—5— Z—F— RFEE 15 #6 5,600 |C25
Ea—2JL7T« |SYBG R—=2FZTR2 )02 Tmm 24,000 |D109
Ea—JLT« SYG15 RF—5— X H— 9k FEE 15 #1 4,200 |$B&E
Ea—JLT« |SYG156 Rir—25— X H—% vk FEE fiEA 15 #6 5600 |$E& &
Ea—JLT« SYG7/8 A=N—HY)LFalyk XYoH—5 VK THEE 7/8 #2 5,000 |$5&; %
Ea—JLTF« SYG7/86 A=N—HYI)LFalyk YoH—5 K THEE 7/8 #6 5,600 |$5&) 5%
Ea—JLT« SYG7/87 A=N—YI)LFalbyk YoH—5 YK THEE 7/8 #7 5,600 |$5&; 5%
Ea—JLT« SYG7/88 A=N—HYI)LFalyk XYoH—4 UK THEE 7/8 #8 5,600 |$5&; 5%
Ea—JLT« SYG7/89E2  [A=/\—H)LFalLybk Y H—S YK MEE 7/8 #9E2 6,000 |C8
Ea—JLT« SYG7/8C8E2 |1=/\—H)LFalvb ¥H—4 vk HEE 7/8 #C8E2 5,800 |$5&; M
Ea—JLT« [SYRA TREL—Ta2T )02 34TA 7,800 |$EHE
Ea—JLT« [SYRCW TREL—Ta2T )02 34T CW 7,800 (D109
Ea—JL7T4s  [SZ6 FEWRG—5— Y —T42%7 REE #6 5,000 |$E& &
Ea—JLT«  |TABANELLA1 |RUZARF—)L B\ [HEE #6 7,200 (D8O
Ea—7JLT4  |TABANELLA2 |RUARUBRILT7AIL B/\HS FHEE #6 9,800 |D39
Ea—JL7+« TABANELLA3 |RUFRUAILFEIL Z/31T WEE 1 #6 8,200 |D23
Ea—2JL7T4  |TABANELLA4 |RUFRUARJLFEIL F/\1%S TEE 2 #6 8,200 (D23
Ea—2L7T«  |TBARREF Fa1—RIRTTAVIT— Z|FVT T/13— 3A 3,600 |F24
Ea—JLT4«  [TC3 BAINISUT 1INIINIR 3 12,000 |D25
Ea—JLT4 [TC5 BAINISUT 1INvIINIR 5 12,000 |D25
Ea—2JL7« |TFB Tavad+—tvT T NEq 23,000 |5 &
Ea—2JL7« |TFS TavaTr—wyT FUJUE 21,000 |$BEH &
Ea—2JL7T«  |TKO18 oA I—F T F— 9,800 |G19

64 /68 R—




Ea—ILF 1T N —T Rk

(FidR) 20244%3A21BKYER

Ea—JLT4  |TK020S T4 —T4LY5— E 9,800 [G19
Ea—JL7T4  |TKNI FoRUT AT 1 46 10,600 |D59
Ea—JLT4  |TKNIX bR F+H42 1 BL 11,600 |D59
Ea—JL7T4  |TKN2 FoR)T AT 2 #6 10,600 |D59
Ea—JLT4  |TKN2X bR F+47 2BL 11,600 |D59
Ea—JL7T+4 |TKSTEIG FoRIDTFAT RTATRY I INT 492 RT)yA— #SS 10,600 (D60
Eai—7JLT«  |TKSTEIG2 bR TF AT RTFAT R VIT a2 R T )yS— B RE #SS| 10,600 |D60
Ea—2JLT4  [TNANTKIT 2RO YMERFTIESS XTS b At A 544 28,000 |15 &
Ea—JL7« |TNBB18 AVRDYMER T IESR XTS /A=y v— 18 5,800 [F4
Ea—2JLF« |TNBB21B VR YMER FEIESS XTS 21B 5,800 [F4
Ea—7JLT« |[TNBB27/29 |3 ROwNERLFEIESS XTS BB27/29 5800 |F4
Ea—2JL7+4  |TNBBL2 VRO YMERFTIESRR XTS SRE7 2 5,800 |1BH; &
Ea—2JLF«  |TNBBL3 AR yMER FIESS XTS SKE7 3 5,800 [F4
Ea—2JL7T+4 |TNBBS/M AVRDYMERFEIESR XTS /A=y v— S/M 5,800 [F4
Ea—JL 7T«  |TNCCIA AR YMERFEIESS XTS T—ILRI4—4IL A 5,800 |F5
Ea—2JL7+s |TNCCIB ARy MERFEIESS XTS T—ILR74+—4 )L B 5,800 |F5
Ea—2JL7«  |TNCCIC ARy MERFEIESS XTS T—ILRI4+—4IL C 5,800 |F5
Ea—2JL7«  |TNCCID ARy MERFEIESS XTS I—ILKI4+—4 )L D 5,800 |F5
Ea—JL7T«  |TNCCIE ARy MERFEIESRS XTS I—ILRI+—4ILE 5,800 |F5
Ea—2JL7+  |TNCCIF AR YMERFEIESS XTS I—ILRIA—4ILF 5,800 |F5
Ea—2JL7«  |TNCCIG AR YMERFEIESS XTS T—ILRI74A—4IL G 5,800 |F5
Ea—2JL7+  |TNCCIH ARy MERFEIESS XTS T—ILRI74—4 L H 5,800 |F5
Ea—JL 7T«  |TNCCI AR YMERFTIESS XTS T—ILRI74—4 )L | 5,800 |F5
Ea—2JLT4  |[TNCFIM/L VR YMERFTIESRR XTS M/L 5,800 |$5&; %%
Ea—2JLF«  |TNCFIR/L VR YMERFTIESS XTS R/L 5,800 |$5&; %
Ea—2JL74  |TNCFIS/M VR YMERKFTIESRR XTS S/M 5,800 |$5&; %%
Ea—2JLF«  |TNCIGFTI AR YMER FEIESE XTS T—ILFREAY TLF I 5,800 [F2
Ea—2JL7+s  |TNCIGFT2 aVUROYMNER FEIESE XTS T—ILRRZAY TLFS Y 2 5,800 [F2
Ea—2JLF«  |TNCIGFT3 AVRSYMNER FIESS XTS T—ILFRZA> ILFI 0 3 5,800 [F2
Ea—2JL7+  |TNCIGFT4 aUROYNMER FEIESE XTS T—ILRRAM4Y ¥4 5,800 [F2
Ea—2JLF«  |TNCIGFT5 AR YMNER FIESE XTS T—ILFRZAY TLFI U5 5,800 [F2
Ea—2JL74  |TNCIGFT6 aUROYMNER FEIESE XTS T—ILRRZA4Y TLES 6 5,800 [F2
Ea—JLT«  [TNCIGFTMI1 |3 RIYMRRLFEIERS XTS T—ILRRAA2 TLF I 221 5,800 [F2
Ea—JLT«  |TNCIGFTMI3 [3YROYMERFEESRS XTS T—ILF X212 JLF T 223 5,800 [F2
Ea—7JLT«  [TNCIGFTMI4 |3 ROYMRRLFEIESRS XTS T—ILFRAAD TLF I 224 5,800 [F2
Ea—7LT«  |TNCIPCL AVRDYMERFTIESR XTS —2 5800 |1E& &
Ea—2JL T«  |TNCIPCM AR yMER FIESS XTS ST47 L 5,800 |$5&; M
Ea—2JL7+s  |TNCIPCS aURSyMERK FEIESE XTS I— LK R4/ TLEF L2 MMI 5,800 [F2
Ea—2JLF«  |TNCVIPC aARDyNE R FE1E 2§ XTS IPC 5,800 |F3
Ea—7LF«  |[TNCVIPCL 2RI YMERFTIESR XTS IPC OV Y 5800 |1E& &
Ea—2LT«  |TNFCIL ARy MERFEIESRS XTS 7Y—K<> Lavgyk 5,800 [F4
Ea—2JL7+s  |TNFCIS ARy MERFTIESS XTS 7U—K<> savayk 5,800 [F4
Ea—2LT4  |TNGMPI AR YMERFEIESS XTS I—ILRREAY (4490 5,800 |F3
Ea—2JL7T4  |TNMASSIT AR YMERFEIESS XTS ¥y O—= FE /L 1.2mm 5,800 |$5&; %
Ea—2JL 7T+«  |TNMASS2 AVRDYMERFTIESR XTS vy 0—= FHE /L 1.5mm 5,800 |$5&; M
Ea—2LT« TNPCCI VRO YMERFTTIESR XTS 7U—RT2 FvIAYR 5,800 |F4
Ea—2JL T«  |TNPFISA ORI YMERFTIESR XTS 8A 5,800 |F3
Ea—2JLF+4  |TNPFIA6 VR YMERKFTIESR XTS A6 5800 |F3
Ea—2LT«  |TNPFIAB1 ORI YMERKTTIESR XTS RIS 72 ABT 5,800 |F3
Ea—2JL7+  |TNPFIAB2 aRDYMER FEIESR XTS RIS 7> AB2 5,800 [F3
Ea—2JLT«  |TNPFIG4/5 VR YMERKFTIESRR XTS G4/5 5,800 |F3
Ea—2JLF+4  |TNPFIW3 VRO YMER FTIESS XTS W3 5800 |F3
Ea—2JLF«  |TNPLGOT AVRDYMER T IESR XTS 27— 0T 5,800 |$5&; %
Ea—2JL7+s  |TNPLG5A 2RI YMERFTIESRR XTS 5A 5,800 |$5&; %
Ea—2JLF«  |TNPLGH3 ROy MER FEIESS XTS h—L /3w 3 5,800 |$5&) M
Ea—7LF4  |[TNPOSKIT 2RO YMERFTIESS XTS Bl A F vk 544 28,000 |15 &
Ea—JLT« |TP16 TFA4v 1TS54 —Ea—TL T4 16 13,000 |$8E &
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Ea—JL74  |TP3H T4 1TS54V — vLFTA5— 31 E £ 9,800 (D114
Ea—JL7T«  |TP32 T4 1TS54V — v LFTA5— 32 B E 9,800 (D114
Ea—2JLT+4 TP33 TAvo 1TS54V — v LXTA45— 33 E A 9,800 |D114
Ea—JLT« |TP34 T4 1TS54V — v LFTA5— 34 81 B 9,800 (D114
Ea—2JLT+4 TP41 TAvaTS5Av— TR 41 i 9,800 |D114
Ea—JLT«  |TP42 TAvaTS54Y— TRYL 42 Fif 9,800 (D114
Ea—JLT4 |TP43 TAvaTS5ANY— FRYVT S92 43 TILF 13,000 |D114
Ea—2JLT«  |TP43A TAv 1TS54 — FRYLT SO0 43 B TILF 13,000 |$8E&
Ea—JLT«  |TP50 TAv 1TS54 — T+vI X 50 13,000 |$BE &
Ea—JLT«  |TP5041 T4 1TS54V — 18— ¥—T 7RV 5041 25,000 |D112
Ea—JLT4  |TP5042 T4 1TS54V — 18— ¥—T 7RV 5042 FHf 28,000 |D112
Ea—JLT«  |TP5043 T2 T4 — "= %—T FRYL TS5 50437 LF 29,000 |D112
Ea—2JLT+4 TP5050 T4 1TS54 — 18— ¥%—T DxF)LF 5050 & 38,800 (D112
Ea—7JLT«  |TP5051 TAvo 1TS54 — 8= v—T OxF)LK 5051 Hif 39,800 |D112
Ea—2JLT4  |[TP5060 T2 T4 — =3I v—T 21— 5060 Fin 30,000 |D113
Ea—2JLT«  |TP5061 T2 T4 — =3 v—T £2—227% 5061 i Eéa 28,000 |1B# &
Ea—JLT+« TP5062 T2 T4 — "= %—T £2—225 A7k 5062 &6 29,000 |D113
Ea—JL7«  |TP5070 T2 T4 — IN—I%—T DxF)L 5070 i 25,000 |D113
Ea—JL74  |TP5071 T2 T4 — "= %—T DxF)L 5071 Hin 27,000 |$BEE
Ea—JL7T«  |TP5080 TAvo 1TS54 — 8= v —T Ry YRIR 5080 £én 25,000 |15 &
Ea—2JLT+4 TP5090 TA4va T4 — "= v—T RRALF— 5090 T/LF 37,000 ($5& &
Ea—2JLT«  |TP5091 T2 T4 — "= %—T FRLF— 5091 T/)LF OV 39,000 |1B# &
Ea—2JLT+4 TP50L T4 1TS54 — Ty X 50L AVI R 17,000 |D115
Ea—JLT4  |TPAIS TAvaToA4Y—TRY 42 F Oy 13,000 |$8E &
Ea—2JLF4 |TPASTMBH |F4vy>aTdS54v— <4490 F42 ASTMBH & Eih 110,000 (D110
Ea—2LT«4 |TPCSTMBH |Ta4wiadS54¥— 490 FE82 AV EURS AL STMBH i A£| 110,000 |55
Ea—2JL7+  |TPDAPV TA4vaT5A4Y— 3490 AV EVRS X DAPV E Hif 56,000 |D110
Ea—JL7«  |TPDSCPV TA4vaT5A4Y— 340 FLVYEURS X DSCPV i F#4 56,000 |D110
Ea—2JLT+4 TPG1 T4y T54Y— DxIILR 1 & 13,000 |D115
Ea—2JL7«  |TPG3 T4y TS54Y— DIk 3 HE 13,000 |$8E &
Ea—JL7T4 |TPG4 T4y T54Y— DI 4 B 13,000 |1BE &
Ea—JL7T«  |TPKN T2 TS5A4Y— LAY —-REVX Bh Hif 12,000 (D115
Ea—2JLT4 TPMSA Ta4vaTS5A4¥— TR 7490 B 12,000 |D115
Ea—JL7+« TPR6 T4y TS54v— a7 6 12,000 |D115
Ea—2JLT« |TPR8 TAvaTS54v— 0 T 8 12,000 |$8E &
Ex—JLT+« TPSLCOCMN |F 4y 2754 — ¥4%0LCOCMN B < )LF 56,000 |[D111
Ea—JLT+4 TPSLCOSM  |F4v> 2754 — ¥4/~ 0LCOSM [E TILF 56,000 |D111
Ea—2JL7« |TPSSTMBH |74y ad5A4V— (490 FE22 FAVYERF XS STMBH E A1 110,000 (D111
Ea—JL7T4 |TRA2 TAv )T E8— F—R T4 2 12,000 |58
Eai—7JLT« |[TRARENST Ta4va)bZ5 95— FLUR BIEHR 1 12,000 |$8E &
Ea—JLT« |TRFB TAvARSHHE— TSN\ T YLV 2 A 12,000 |$8E &
Ea—JLT4  |TRHI T4l 58— ANF\ BB 1 #504 12,000 |D86
Ea—JLT4« TRH2 T4y ) SR — AF A\ BEE 2 #504 12,000 |D86
Ea—JL7T«  |TRH2/3 T4 )T B— ~NFIND 2/3 #522 12,000 |15
Ea—2LT« |TRH3 TA4va)Z958— NF/\> FEE 3 #504 12,000 |D86
Ea—JL7T«  |TTCR100 ZHAS 20KH F T IITvh— PJavAbysSi— 1 ALYR 400 ({5
Ea—JLT«  |TTCR101 ZHAS 20KA T ITvh— AV AbyR— 1 AT L— 400 (15 HE
Ea—2JL7«  |TTCR102 THAS 20K # T ILTyh— P aAkysS— 1 ARTA+ 400 (15
Ea—2LT« |TTCR103 THAS 20KA FTITvh— AV AMYN—1AF LD 400 |1BEE
Ea—2L7T«  |TTCR105 THAS 20K # T ILTyh— LA AkysS— 1 A(IO— 400 (15
Ea—2LT«  |TTCR106 RS 20KH FTIWNTvh— DAV AMIIS— I ASAUE — 400 |1BEE
Ea—2JL7« |TTCR108 ZHAS 20KA FTIILTvh— LAV AYIN—1AT )L— 400 (15
Ea—2LT«  |TTCR109 THAS 20KA FTILTvh— AV AyNR—1AT)—> 400 |1BEE
Ea—JLT4 |TTCR40 ZHAS 8AA AT ITvh— PJavAbysS— 1 ALYR 400 (15
Ea—JLT«  |TTCRA4T THAS 8AR F T INTyh— P UavAkySs—1AYTL— 400 ({5 E
Ea—JLT« |TTCR42 KHAS 8K FITITyvh— DA RAby/S— 1 ARTA+ 400 (15
Ea—2JLT4  |TTCR43 TIAS 8RB AT ILTvh— )AVRbyN— 1 AF LD 400 |1BEE
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Ea—JLT« |TTCR45 ZHAS 8AA AT ITvh— PJavAbyS— 1A/ T O— 400 ({5 &
Ea—JLT4  |TTCR46 REAS 8RR AT ILTyvh— D)AVRIYIN— 1T ASGRUS — 400 |1BEE
Ea—JLT« |TTCR48 THAS 8AR F T INTyh— PUarvAkyS— 1 AT IL— 400 ({5
Ea—2JLT4  |TTCR49 REAS 8RB AT INTvh— DAV RMyN—1AT)—> 400 |1BEE
Ea—2JLT4 |TTCR70 ZEAS 14KR 4T IVTvh— 2JavRAbyss— 1 ALYR 600 |1BH &
Ea—2JLT«  |TTCR71 TAS 14KA ZFTINTvh— P)AVAMYN— 1 AT L— 600 |$B&E
Ea—JLT« |TTCR72 THAS 14KR F T INTyh— PJarAbysS— 1 ARTA+ 600 |1BH &
Ea—2JL7T4  |TTCR73 RS 14KR FTIINTvh— PavAbyR— 1 AF LD 600 |$B&E
Ea—2JL7T« |TTCR75 THAS 14KA FTINTyvh— PJarvAky/S— 1 A(IO— 600 |1BH &
Ea—2JLT4 |TTCR76 RIAS 14KA FTINTvh— DVAVAMIIS— I ASAUE — 600 |$B&E
Ea—2JL7T« |TTCR78 ZEAS 14KR AT ILTvh— 2)avAyR— 1 AT )L— 600 |1BH &
Ea—2JLT4  |TTCR79 RS 14KR FTITvh— YAV RAyIR—1AT)—> 600 |$B&E
Ea—2JLT«  [TTIR100 ZHAS 20KA 4T ILTvh— L—IL 1 ALYE 800 |1B# &
Ea—2JL7T«  |TTIR101 TEAS 20KA 4T ILTvh— L—IL 1T AT L— 800 |1B# &
Ea—JLT«  |TTIR102 ZHAS 20KA 4T ILTvh— L—IL 1 AKRTA+ 800 |1B# &
Ea—2JLT«  |TTIR103 THEAS 20KA 4T ILTvh— L—IL I AFLID 800 |1B# &
Ea—JLT«  [TTIR105 RHAS 20KA # T I Tvh— L—IL 1 A/TA— 800 |1B# &
Ea—2JLT«  |TTIR106 KHAS 20KH T ILTYvH— L—IL TASRUE — 800 |1B# &
Ea—JL7«  [TTIR108 XHEAS 20KA 4T ILTvh— L—IL 1T AT IIL— 800 |1B# &
Ea—2JLT4  |TTIR109 HEAS 20K # T ILTYvh— L—IL 1AT)—> 800 |1B# &
Ea—JLT«  |TTIR40 XHAS AR 4T ILTvh— L—IL 1 ALYE 600 |1BH &
Ea—JLT«  |TTIR41 XEAS 8KA AT ITvh— L—ILIATL— 600 |1BH &
Ea—JLT4  |TTIR42 KHAS AR 4TI Tvh— L—IL 1 AFRTAL 600 |1BH &
Ea—JLT«  |TTIR43 KAS SKA FTINTYvh— L—IL 1AFLID 600 |1BH &
Ea—JLT4  |TTIR45 XAS 8KA F I ILTyvh— L—IL 1 A/TA— 600 |1BH &
Ea—JLT«  |TTIR46 XAS SKA FTINTYH— L—IL TASRUE— 600 |1BH &
Ea—2JL7T«  |TTIR48 XEAS KA AT ILTvh— L—ILIATIIL— 600 |1BH &
Ea—JLT«  |TTIR49 XEAS SKA F T ILTVvh— L—IL 1AT)—> 600 |1BH &
Ea—2L7«  |TTIR70 XEAS 14KRA 4T ILTvh— L—IL 1 ALYE 600 |1BH &
Ea—JLT«  |TTIRT1 XEBAS 14KRA AT ILTYvh— L—IL 1T AT L— 600 |1BH &
Ea—JLT4  |TTIR72 XEAS 14KRA 4T ILTvh— L—IL 1 AKRTA+ 600 |1BH &
Ea—JLT«  |TTIR73 XEBAS 14KRA AT ILTvh— L—IL I AFLID 600 |1BH &
Ea—JLT4 |TTIR75 XPEAS 14KA 4T ILTvh— L—IL 1 A/TA— 600 |1BH &
Ea—JLT«  |TTIR76 KEAS 14KA FTINTYH— L—IL TASRUE — 600 |1BH &
Ea—2JL7« |TTIR78 XEAS 14KRA 4T ILTYvh— L—ILIATIIL— 600 |1BH &
Ea—JLT«  |TTIR79 XPEAS 14KA FTILTvh— L—IL 1AT)—> 600 |1BH &
Ea—JL7T«  |TWLA YHF¥—TFT)r—45— 5,000 [G17
Ea—2JLT+«  |VENSTAB TL—Y— Fvia-TA45—HEE #h #6 5,800 |$5&; M
Ea—JL7T«  |VENSTABS TL—HY— Fvia-TA5—HEE E #6 5,800 |$5&; M
Ea—JLT«  [WBI-M/R VAN —ROTATT4LU5— M/R 9,000 |G19
Ea—JL7T+  |WCS VAN —HDITA T =X T 22,000 |D118
Ea—2JL74  |WCSS DAX—HIT4 T F—X AZR 22,000 |D118
Ea—JLT4  [WS7 DYYRARINF 1T TWEE T 5,800 [F21
Ea—2JL74 |XP17/0W IXRTODU94)F LXK THEE 17/0W #31 4,800 |$B&E
Ea—2JLF«  |XP17/0W6 IXRTO L 94)7 LXK THEE 17/0W #6 5,000 |$5&; %%
Ea—2JLT4« XP17/PH6 IXRTOHS5—E1— THEE 17 #6 4,000 |B9
Eai—7JLT« [XP20F/QOW |TFRT0O S rroq))7 LX [EE 20F/QOW #31 4800 |$BEH &
Ea—2JLF«4 |XP20F/QOW6 |T¥ RO L roq)7 L X ThEE 20F/QOW #6 5,000 |$5&; %%
Ea—JLF«  |XP23/11 I&XR7J0OHEE 23/CP11 #31 4,800 |$5&E
Ea—2JLF4 |XP23/1156 |I¥RT0MEE 23/CP11.5B #6 5,000 |$5&; %%
Ex—JLT+« XP23/1157 |ITFARTJ0OMEE 23/CP115B #7 5,000 |$E& &
Ex—JLT+« XP23/1158 |THFRTJO M5E 23/CP11.5B #8 5,000 |$E& &
Ex—JLT+« XP23/115B |TFRXTJO fM5E 23/CP11.5B #31 4,800 |5 &
Exa—JLT«  [XP23/116 IH X700 [MEE 23/CP11 #6 5,000 [B15
Ea—JLTF«  |XP23/12 I&XR7J0OHEE 23/CP12 #31 4,800 |$5&E
Exa—JLT«  [XP23/126 IH¥ X700 [MEE 23/CP12 #6 5,000 [B15
Ea—JLF«  |XP23/127 I&R7J0OHEE 23/CP12 #7 5,000 |$5&; %

67 /68 R—




Ea—ILF 1T N —T Rk

(FidR) 20244%3A21BKYER

Ea—JLF«  |XP23/128 I&R7J0OHEE 23/CP12 #8 5,000 |$5&E
Ex—JLT+« XP23/12XTS |THF RO XTS B 23/CP12 #6 5,000 (B7
Ea—JLT4  [XP23/8 I& X705 23/CP8 #31 4,800 |$B&E
Ea—JLTF«  |XP23/86 I+ RO HEE 23/CP8 #6 5,000 |$5&; %%
Ea—2L7T4  |XP23/GF IXRTAT—)LRTUT74+vY R THEE 23/GF #31 4,800 |$B&E
Ea—2LT«  |XP23/GF6 IFXFRTOT—ILRIUTA+vH R TEE 23/GF #6 5,000 |$E& &
Ea—JLT4  [XP23/NC127 |T# X770 UNC 38 23/UNC12 #7 5,000 |$5&; %
Ea—2JLF«  |XP23/NC128 |T#* X0 UNC ifEE 23/UNC12 #8 5000 |5 &
Ea—2JL74 |XP23/0 IXRTOIDH EE 23/0 #31 4,800 |$B&E
Ea—2LT4  |XP23/06 IXRTOIUH HEE 23/0 #6 5,000 |$5&; %%
Ea—JL7T4  |XP23/0W IFXRTO LU 94)F L X THEE 23/0W #31 4,800 |$B&E
Ea—2LT« |XP23/0W6 |ITFXFRTO P47 LX WEE 23/0W #6 5,000 |$5& &
Ea—2JLT+4 XP23/PH6 IFRTOH5—E1— HEE 23 #6 4,000 |B9
Ea—2JLT« |XP23/QOW |IHXTJ 0O MEEE 23/QOW #31 4,800 |1BEE
Ea—JLT« |[XP23/QOW6 |THRXT0O [MEEE 23/QOW #6 5,000 |$E& &
Ea—2JLT« |XP23/QOW7 |IHXT0O [MEEE 23/QOW #7 5,000 |$5& &
Ea—JL T« |XP23/QOW8 |TF 70 f5E 23/QOW #8 5,000 |$5&E
Ea—2LT«4  |XP23/QW I&XRJ0OEE 23/QW #31 4,800 |1BEE
Ea—JLT«  |XP23/QW6 I& X705 23/QW #6 5,000 |$5&; %
Ex—JLT+« XP23/UNC12 |T&H R0 UNC {8 23/UNC12 #31 4,800 |5 &
Ea—7JLT« [XP23/UNC15 |T¥ X0 UNC fjg8 23/UNC15 #31 4,800 |$B&E
Ea—2JLT« |XP23/UNC6 |T ¥ X0 UNC ifi5E 23/UNC15 #6 5,000 [B15
Ea—7JLT« [XP23/UNC7 |T# X710 UNC 38 23/UNC15 #7 5,000 |$5&; %
Ea—2JLT« |XP23/UNC8 |T¥ XA UNC ijgd 23/UNC15 #8 5,000 |1B# &
Ea—2JL74  |XP23/W IXRTA )7 LX [EEE 23/W #31 4,800 |$B&E
Ea—JLF«  |XP23/W6 IFXRTO94)7 LR THEE 23/W #6 5,000 |$5&; %%
Ea—JLT4  |XP23/W7 IXRTA D)7 LX TEE 23/W #7 5,000 |$5&; %
Ea—JLF«  |XP23/W8 IFXRTO94)7 LR HEE 23/W #8 5,000 |$5&E
Ea—7JLT4 |[XP3A/NC156 |T¥ X710 UNC f3E 3A/UNC15 #6 5,000 [B15
Ex—JLT+« XP3A/UNC15 |TH R0 UNC iijEE 3A/UNC15 #31 4,800 |5 &
Ea—JLT4  [XP6/0W IXRTO L 94)7 L X THEE 6/0W #31 4,800 |$B&E
Ea—JLT1  [XP6/0W6 IFRTA 94T LX THEE 6/0W #6 5,000 |$5& &
Ea—2JLT4  [XP6/W IXRTA D)7 LX [EE6/W #31 4,800 |$B&E
Ea—2JLT4  |XP6/W6 IXRTO94)7 LR THEE 6/W #6 5,000 |$5&; %%
Ea—2JL7T4 |XPC5574 I&RTJOHEE 23/CP11 #7 5,000 |$5&; %
Ea—JL7T+  |XPNT3 I{RT0O /Ty WEE NT3/CP12 #31 4,800 |$5&E
Ea—2JL7T4  |XPNT36 IFRTA /AT vY HEE NT3/CP12 #6 5,000 |$5&; %
Ex—JLT+« XPTU17/15 |T¥ X700 MEE TU17/UNC15 #31 4,800 |5 &
Ea—JLT« |XPTU17/156 |THRTF0 [MEE TU17/UNCI5 #6 5,000 [B15
Ea—7JLF« [XPTU17/PH6 |T¥RXF0O H5—E 21— [H5E TU1T #6 4,000 |1BEE

68/68 R—




